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✢■➛t❻ ☞t❻❾➝✝✞ ➞✝➠➡❿ � ➞✝➁✂✡ ❿★✁✘✄➩➠➡❻➡➞✝➁➙➠➡❿ ➛✜✢■↕ ➝✝✞➡➞ ✁➙❿★✷➡➁ ↕ ➝✝✞➡➞ ✩✾➞✔✷➡➁ ↕ ➛✙✡ ➞✰✚❥➛✫✡➜❿ ➞✔✢■❿✍➁✿➛●➞✂✁ ❻➡➠ ➞
✄ ❻➡➝❾➠ ➞✔✢■➛t➝✱❽➟➞✝↕✠✁✫✻➩❺ ✆✍➁➀➞✝➠❾➛✫✍t❿■➞ ✚➡➁ ➛✫✁➙➛❨➝✝✍➏➞ ☞t❿✝➝✝✁ ❽➀➞✝➝✱❽➀➛●➛✾➞ ✷❥➛t➝✱✍✑✏✝❿ ✴➲❻➡➛✌✁✣✏✝❿ ➛✙✢ ✢ ↕➜➝✝✞ ➞
✟✴↕ ➠➡➞✱✻✢❺✭✆✝➁➀➞✝➠➡➛✙✍t❿❄❽➀➞✔✢ ✷✆☎✫✢q➞❄❽➀❿✴➠ ➞ ✢ ↕➜➝✝✞ ➞ ✄ ➞✎✢ ↕✠✡ ↕ ➞✞✝ ✚➡➁➙↕➜➝✝☞t↕✠✚ ➞✔✡✵✢■➛t➝✱❽➙➛✶✢■➛t❻ ✚➡➁➙↕✠✢ ❿
✕ ➞✫➝➡↕ ➛✙✡✳✲❾➛●➞ ✢■↕ ➝✝✞ ➞♦❽➙↕ ➞ ✄✓✡ ❿✍↕✠✁➀➞✠✟☎✚ ➛✙✡ ❿ ➞✔✚❥❿✍↕ ❿❆➛✙✢❴❽➀❿✴➠➡❿★✁❡❿★✁ ✢■❿★✢■➛t➝✱❽➀❿✔✁✫✻

❺✔❿ ✕ ➛✫✚ ➞✫➁ ❽➟➞✎✢ ➛❨➝➲❽➙❿❼➠❾➛✥✄✓✁ ❽➙➁➙❻❾❽➙❻➡➁➀➞✎✁s➠ ➞ ✬➎➞✔☞t❻✱✡ ➠ ➞✝➠❾➛ ➠❾➛✥✄➩➝✝✆✍➛❨➝✝✞ ➞✝➁ ↕ ➞ � ↕✠✟✴↕✵✡ ✮☛✡✌☞✌✍✳✮
� ❺ ✗ ✤ ✚ ➛✙✡ ➞✕↕➜➝ ✄ ➁➀➞✝➛✙✁ ❽➙➁➙❻❾❽➙❻➡➁➀➞✱✻

✎ � ❺ ✤✪✄ ❁ ✚❥➛✫✡ ➞ ✷ ❿✔✡✵✁➀➞❆➠➡➛✾➛✙✁ ❽➀❻❾➠➡❿★✁✫✻
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❽➙❿➇➠➡❿ ✁ ➛t❻❏➞✔✚ ❿✝↕ ❿✝✻
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↔ ➛✙✁ ❽➀❻❾➠➡❿ ➠➡❿ ☞t❿★✢✶✚❥❿✍➁ ❽➀➞✔✢ ➛❨➝✱❽➀❿✙➠➡➛ ✚✱✡ ➞✔☞t➞✔✁■❽➙➛✫✢✜➠➡➛✙✁✖✚❥➛t➁ ❽➟➞✝➠➡❿ ✆✍➁➀➞✝➝❾➠➡➛❏↕➜➝✱❽➀➛t➁ ➛✫✁✂✁➙➛❄➛
↕➜➝✝☞t➛❨➝➲❽➙↕✠✟✫➞✝➠➡❿ ✟✁�✝➁ ↕ ➞✔✁ ✚❥➛✫✁✂✴➲❻➡↕✵✁➙➞✔✁ ➝❾➛✫✁✖✁➙➞✂�✝➁ ➛➏➞✱✲☎✚➡➁ ↕ ➝✝☞❨↕✵✚ ➞✔✡✠✢ ➛❨➝✱❽➀➛✼➞✎✚ ✦★✁ ❿✪➠➡➛✙✁➙➛t➝ ✟✝❿★✡✠✟✴↕ ✮
✢■➛t➝✱❽➀❿✡➠➡❿✔✁ ✢ ➞✫❽➙➛t➁➙↕ ➞✝↕✵✁ ☞t❿★✢✶✚❥❿★✁ ❽➙❿★✁✜✴➲❻➡➛ ✚❾❻➡➠➡➛t➁➙➞✔✢ ✁ ➛t➁✾❻✝✁➀➞✫➠➡❿★✁●➝ ➞ ☞t❿✍➝✝✁ ❽➀➁ ❻✝✍✑✏✝❿✲➠➡❿★✁
➛✙✡ ➛✫✢■➛t➝✱❽➙❿★✁✔➠➡➛✌✚✝✡ ➞✎☞➏➞✔✁✙✻
✄ �✝➁➙↕➜❿★✁ ✚❥➛✫✁✂✴✴❻❾↕✵✁➀➞✫➠➡❿✍➁➙➛✙✁ ➠➡➛✫✁ ➛t➝ ✟✍❿★✡ ✟✍➛❨➁➀➞✔✢④➛✙✁ ❽➀❻❾➠➡❿★✁ ➛ ✄ ❿✍➁✖✢♦❻✝✡ ➞✔✍✆☎➇➛✙✁❳➠➡↕ ✟✍➛❨➁✖✁➀➞✎✁☎✚➡➞✝➁➀➞ ❽➙➛t➝✯✮
❽➀➞✝➁❆➠➡➛✫✁✂☞t➁ ➛✙✟✍➛❨➁ ➠❾➛ ✄ ❿✝➁✖✢ ➞ ✢⑩➞✝↕✠✁✕➞✔✚❾➁➙❿✞✝➇↕✵✢ ➞✝➠ ➞ ✚❥❿★✁✖✁✂✸✠✟✍➛✙✡✔❿ ☞t❿★✢✶✚ ❿✝➁ ❽➟➞✎✢ ➛❨➝➲❽➙❿✢➠➡➛✙✁ ❽➟➞✎✁
✚✝✡ ➞✔☞➏➞✎✁ ✁➙❻✝✷✝✢■➛❨❽➙↕ ➠ ➞✎✁❡➞■➠➡↕ ✄ ➛t➁ ➛t➝✱❽➀➛✙✁❡❽➙↕✵✚❥❿★✁✔➠➡➛✌✁➙❿✔✡ ↕✵☞❨↕➜❽➀➞✔✍✟☎✴➛✫✁✙✻
✤❖❿✍➁ ☎✙✢ ✲①➛✙✁✖✁➙➞✔✁ ✄ ❿✍➁✖✢♦❻✝✡ ➞✔✍✆☎➇➛✙✁✹✷ ➞✎✁➙➛t↕ ➞✔✢ ✮ ✁➙➛■➛✫✢ ✞➡↕✵✚ ✦✝❽➙➛✫✁➙➛✙✁ ✁➙↕✠✢ ✚✱✡ ↕✡✠✝☞➏➞✝➠➡❿✝➁➀➞✔✁✌✴➲❻➡➛✼➁ ➛✫✁ ✮
❽➙➁➙↕ ➝✱✆✍➛✫✢✈❿ ✁➙➛❨❻✕❻✝✁ ❿ ✛❡➠➡➛❨❽➙➛t➁✖✢■↕ ➝➡➞✝➠ ➞✔✁ ☞t❿✝➝➡➠➡↕✵✍✆☎➇➛✙✁✫✲✎✢✕❻➡↕➜❽➀➞✔✁ ✟✍➛ ✔t➛✫✁ ✡ ❿✍➝✝✆✝➛➩➠ ➞✔✁❃☞t❿✍➝➡➠❾↕✵✍✟☎✴➛✫✁
➛❨➝✝☞t❿✍➝✱❽➙➁➀➞✝➠ ➞✎✁✹➝ ➞✼➁➙➛t➞✔✡ ↕➜➠ ➞✝➠➡➛✎✲ ➛☛✝✯✚✝✡ ↕✠☞➏➞✝➝➡➠❾❿ ✁➙❿★✡➜❻✝✍✟☎✴➛✫✁ ➛t➝✝☞❨❿✍➝✱❽➀➁➀➞✫➠ ➞✔✁✹❻✝✢ ✚❥❿✍❻✝☞t❿✭➠❾↕✵✁ ❽➙❿✎✮
➞✝➝✱❽➙➛✫✁❡➠ ➞✔✁❡➛t➝✱☞t❿✍➝✱❽➀➁➙➞✝➠ ➞✔✁ ➝ ➞ ✚➡➁☞�✫❽➀↕✠☞➏➞✱✻
✕ ➛✙✁ ❽➙➛✜✢ ❿✴➠➡❿✝✲ ✚➡➁➙➛❵❽➀➛❨➝➡➠➡➛✽✮ ✁➙➛✾➝➡➛✙✁ ❽➀➛✹❽➙➁➀➞✔✷➡➞✔✡✵✞➡❿♦➠➡➛✫✁ ➛t➝ ✟✍❿★✡ ✟✍➛❨➁ ❻✱✢❴➛✫✁ ❽➀❻➡➠❾❿■➠❾❿❆➛✫✁ ❽➀➞✝➠➡❿❆➠➡➛
❽➙➛t➝✝✁✌☎➇➛✙✁✹✟✍➛❨➁➙↕✡✠✝☞➏➞✝➠ ➞✎✁✕➝➡❿✒↕ ➝✱❽➙➛t➁➙↕➜❿✍➁✾➠➡➛✼❻✝✢ ✢ ➞✫❽➀➛❨➁➙↕ ➞✎✡➩➠➡➛ ✚✝✡ ➞✔☞➏➞ ✝ ✢ ❿✝➝➡❿❄❿✍❻ ✢✕❻✝✡➜❽➙↕✵☞t➞ ✮
✢ ➞✝➠ ➞✠✟ ✴➲❻ ➞✝➝➡➠❾❿✭➛✫✁ ❽➙➛ ✁➙➛♦➛t➝✝☞❨❿✍➝✱❽➀➁➀➞ ✁ ❻✝✷✝✢■➛❨❽➙↕ ➠➡❿⑩➞⑩➠➡➛❨❽➙➛t➁✂✢ ↕➜➝ ➞✝➠➡❿★✁ ❽➀↕✠✚ ❿★✁ ➠➡➛✕➛✙✁ ✄ ❿✍➁✂✍t❿★✁
✝ ☞t❿✍➁ ❽➟➞✝➝✱❽➀➛✙✁✫✲➇➝➡❿✍➁✖✢ ➞✝↕✠✁✉➛ ✢ ❿★✢■➛t➝✱❽➙❿★✁☞➞✎✚✝✡ ↕✠☞➏➞✝➠➡❿✔✁ ✟✽✻ ✤❳➞✝➁➙➞❊❽➟➞✎✡ ➛✙✁ ❽➀❻❾➠➡❿✝✲❾❻➇❽➀↕✵✡➜↕ ✔❨❿✍❻✯✮ ✁ ➛❡❻✝✢⑩➞
✄ ❿✍➁✂✢✕❻✝✡ ➞✔✍✑✏✝❿ ✷ ➞✔✁ ➛➏➞✝➠ ➞❃➝ ➞ ❽➙➛t❿✍➁ ↕ ➞ ➠❾➛✔➛✫✡ ➞✎✁ ❽➀↕✠☞t↕➜➠ ➞✝➠➡➛ ❽➀➁➙↕➜➠➡↕✵✢■➛t➝✱✁➙↕ ❿✝➝ ➞✔✡✳✻ ✄ ➛❨➁➙↕✍✠ ☞t❿✍❻ ✮ ✁➙➛ ✴➲❻➡➛
❿✶✚➡➁➙❿ ☞t➛❨➠➡↕✵✢■➛t➝✱❽➙❿ ➠➡➛✰☞✞�✔✡✠☞t❻✝✡➜❿ ☞t❿✍➝ ✟✍➛❨➁✖✆✍↕➜❻✢➛✫✢✺✚❥❿✍❻✝☞t➞✔✁ ↕➜❽➀➛❨➁➀➞✔✍✆☎➇➛✙✁✫✲❂✚❥➛t➁✖✢■↕➜❽➙↕ ➝➡➠❾❿❆❿ ☞✞�✎✡ ✮
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☞❨❿★✢❷↕✠✁✖✁ ❿✼❿★✷❾❽➙➛t➁ ✁ ❿★✡ ❻✝✍✆☎➇➛✙✁✹➁➙➛t➞✝↕✵✁❼❿✍❻ ✢✕❻❾↕➜❽➀❿ ✚➡➁✖✦✞✝➇↕✵✢ ➞✔✁ ✛✔✁✹➛t➝✱☞t❿✍➝✱❽➀➁➙➞✝➠ ➞✔✁❃➝➡➞ ✚➡➁✏�✫❽➙↕✵☞t➞✱✻
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✷➡↕➜➛t➝✱❽➀➛✭☞t❿★✢✶✚➡❻❾❽➀➞✔☞t↕➜❿✍➝ ➞✔✡❥➠➡➛✫✁ ➛t➝ ✟✍❿✔✡✠✟✴↕ ➠➡❿ ✚❥❿✍➁ ✕ ➛✙✟ ✡ ❿✴❿❆➛✜☞t❿★✡ ➞✔✷❥❿✍➁➀➞✝➠❾❿✍➁➙➛✙✁✫✲✴➠➡➛t➝➡❿✔✢ ↕➜➝ ➞✝➠➡❿
✤✓✒ ✲ ✴➲❻➡➛ ❻❾❽➙↕✵✡➜↕ ✔➏➞ ➞ ✡ ↕➜➝✝✆✍❻ ➞✔✆✝➛✫✢ ☞t❿★✢✶✚➡❻❾❽➀➞✔☞t↕➜❿✍➝ ➞✔✡ �✕✔✖✔ ➛ ➞✗✠ ✡➜❿★✁➙❿✘✠ ➞⑩➠➡➛❆❿✍➁ ↕ ➛t➝✱❽➀➞✔✍✑✏✝❿
➞♦❿✔✷ ✁ ➛❨❽➙❿★✁✫✲✝☞❨❻ ✁➙➞✔✁ ☞✙✡ ➞✔✁✂✁➙➛✙✁ ✚ ➛❨➁✖✢■↕➜❽➀➛✙✢④➛t➝✱❽➀➁ ➛❃❿✍❻❾❽➙➁➀➞✔✁✔➞✎✚✝✡ ↕✠☞➏➞✔✍✆☎➇➛✙✁✉❿✕➛✙✁ ❽➙❻➡➠➡❿ ➠➡➛ ✚✝✡ ➞✔☞➏➞✎✁✫✻
↔ ✢⑩➞➳❽➀➛t➁ ↕ ➞✔✡❖❿✍➁ ❽➀❿✝❽➙➁✖✦★✚➡↕✠☞t❿ ✄ ❿✝↕❳❻❾❽➙↕✵✡ ↕✑✔➏➞✝➠❾❿⑩➝ ➞ ✄ ❿✍➁✂✢✕❻✝✡ ➞✎✍✑✏✝❿ ➠ ➞✔✁✜✚➡➁ ❿★✚➡➁➙↕➜➛t➠ ➞✫➠➡➛✫✁✜☞❨❿✍➝✝✁ ❽➙↕ ✮
❽➙❻❾❽➀↕ ✟✝➞✎✁✔➠ ➞✔✁✘✚✝✡ ➞✎☞➏➞✔✁✙✲➡➠➡➛✌✢ ❿✴➠➡❿ ➞❆➠➡➛❵❽➀➛t➁✂✢ ↕➜➝ ➞✝➁✔❿ ✁➙➛❨❻ ☞❨❿★✢ ✚❥❿✍➁ ❽➟➞✔✢■➛t➝✱❽➀❿✱✻
✄ ➛❨➁➙↕✡✠✝☞t❿✍❻✯✮ ✁➙➛ ✴➲❻➡➛♦❿ ✚➡➁➙❿ ☞t➛❨➠➡↕✵✢■➛t➝✱❽➀❿⑩➠➡➛ ☞✞�✎✡✵☞t❻✱✡ ❿ ☞❨❿✍➝ ✟✍➛❨➁✖✆✍↕➜❻ ☞❨❿★✢ ✚ ❿✍❻✱☞➏➞✔✁✹↕ ❽➀➛❨➁➀➞✔✍✆☎➇➛✙✁✫✲
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✚✝✡ ➞✔☞➏➞ ✢✕❻✝✡ ❽➀↕✵☞t➞✔✢ ➞✝➠ ➞✱✲ ✁➀➞➳❽➀↕✵✁ ✄ ➞ ✔t➛❨➝➡➠➡❿✢❽➀➞✝➝✱❽➀❿✒➞✔✁❊➛✫✴➲❻ ➞✔✍✆☎➇➛✙✁❆➠➡➛⑩➛✙✴➲❻➡↕✵✡✠✸✵✷➡➁ ↕ ❿ ✴✴❻➡➞✝➝✱❽➀❿✒➞✔✁
➁ ➛✫✡ ➞✎✍✟☎✴➛✫✁ ☞t❿✝➝✝✁ ❽➙↕➜❽➀❻➇❽➀↕✠✟✫➞✔✁✙✻
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☞❨❿✍➝➡➠➡↕ ❽➀↕ ❿✝➝✝✁ ✄ ❿✍❻➡➝❾➠❏↕➜➝✡❽✖✞➡➛✾➁➙➛t➞✔✡ ↕ ❽ ✒★✻
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✍ ❽☞↕✵✁✒✟✝➛t➁ ↕✡✠ ➛❨➠✡❽✖✞ ➞✫❽✉❽✣✞➡➛ ✚❾➁➙❿ ☞t➛t➠❾❻➡➁➙➛✹❿ ✄ ☞➏➞✔✡✠☞t❻✝✡ ➞✫❽➀↕➜❿✍➝ ☞❨❿✍➝ ✟✍➛❨➁✖✆✍➛✙✁✡✄❡↕ ❽✣✞ ✄ ➛☛✄☎↕➜❽➀➛❨➁➀➞✔☞❵❽➀↕➜❿✍➝✝✁
➞✔✡✠✡ ❿☞✄❡↕ ➝✱✆✼❽✣✞➡➛■❽➀➛t➝✱✁➙↕ ❿✝➝ ✁ ❽➀➞✫❽➀➛✶☞➏➞✎✡✵☞t❻✱✡ ➞✫❽➙↕ ❿✍➝ ✄ ❿✍➁❊➞✝➝✠✒ ☞t❿✍➝ ✠ ✆✍❻➡➁➙➞✫❽➀↕➜❿✍➝❯❿ ✄ ✢✕❻✝✡ ❽➀↕✵✡ ➞ ✒✍➛t➁ ➛t➠
✚✝✡ ➞✫❽➀➛✎✲✥✁➙➞✫❽➀↕✠✁ ✄ ✒✴↕ ➝✝✆ ➞✔✁ ❽✣✞➡➛❏➛✫✴➲❻➡↕✵✡➜↕✵✷➡➁ ↕ ❻✝✢ ➛✫✴➲❻ ➞✫❽➙↕ ❿✍➝✥➞✔✁ ❽✣✞➡➛ ☞t❿✍➝✝✁ ❽➀↕ ❽➀❻❾❽➙↕✠✟✍➛✲➁➙➛✙✡ ➞✫❽➙↕ ❿✍➝✱✁ ✟
✄❡↕ ❽✣✞➡❿✍❻➇❽❄➞✫➝ ✒✂➁ ➛✫✁ ❽➀➁➙↕✠☞❨❽➙↕ ❿✍➝✝✁✡↕✠✢ ✚❥❿★✁➙➛❨➠✟❽➀❿✯❽✖✞➡➛ ✁ ❽➀➁ ➛✫✁✂✁➙➛✫✁✢➞✝➝➡➠ ✁ ❽➀➁➙➞✝↕ ➝✱✁✫✲❃↕ ➝✂❿✍➁ ➠➡➛t➁✡❽➀❿
❿★✷➇❽➟➞✝↕➜➝✡➞ ✄ ❿✝➁✖✢✕❻✝✡ ➞✫❽➀↕➜❿✍➝✌✄✘✞❾↕✵☞ ✞ ✚➡➁➙❿ ✟✴↕ ➠❾➛✫✁❡➁➙➛✙✁➙❻✝✡ ❽✣✁ ✟✍➛❨➁ ✒ ☞✙✡ ❿★✁ ➛✹❽➀❿❆❽✣✞➡➛❃➁ ➛➏➞✔✡ ☞❨❿✍➝➡➠➡↕ ❽➀↕➜❿✍➝✝✁
✄ ❿✍❻❾➝➡➠✡↕ ➝ ✚➡➁➀➞➳❽➀↕✵☞t➞✔✡❝➛❨➝✝✆✍↕ ➝❾➛t➛t➁ ↕ ➝✝✆ ✚➡➁ ❿★✷✝✡➜➛✫✢✶✁✫✻
✂ ✞➡➛ ✠ ➝➡↕➜❽➙➛ ➛✙✡ ➛✫✢■➛t➝✱❽✥✢ ➛❵❽✣✞➡❿✴➠⑩↕✠✁☞↕✵✢✶✚✝✡➜➛✫✢■➛t➝✱❽➀➛❨➠⑩↕ ➝■❽✣✞➡➛ ✤ ✒❄➛❨➝ ✟➇↕➜➁➙❿✍➝✱✢ ➛❨➝➲❽✿➠➡➛✙✟✝➛✫✡ ❿✔✚ ➛❨➠
✷✠✒ ✕ ➛✽✟ ✡ ❿✴❿❼➞✫➝➡➠✰☞❨❿★✡✵✡ ➞✔✷❥❿✍➁➀➞✫❽➙❿✍➁✖✁✙✲➏❻✝✁ ↕ ➝✝✆✔❽✣✞❾➛ �✕✔✖✔ ✡ ➞✝➝✝✆✍❻➡➞✔✆✍➛ ➞✝➝➡➠❃❽✖✞➡➛ ❿★✷ ✁ ➛✫☞❵❽❳❿✝➁➙↕ ➛❨➝✱❽➀➛t➠
✚✝✞❾↕✵✡ ❿✔✁➙❿★✚✝✞✠✒✔✲✍✄✘✞➡❿✔✁➙➛ ☞✙✡ ➞✔✁✂✁➙➛✫✁♦➞✔✡✵✡➜❿☞✄ ❽✣✞❾➛ ✁ ❽➙❻➡➠ ✒✙❿ ✄ ✡ ➞✔✢■↕ ➝ ➞✫❽➙➛t➠ ✚✝✡ ➞✫❽➀➛✙✁✰☞❨❿★✢ ✚❥❿★✁ ➛t➠ ❿ ✄
❿✍➁ ❽✣✞➡❿✫❽➀➁➙❿✔✚➡↕✵☞ ✢ ➞✫❽➙➛t➁➙↕ ➞✔✡✵✁✙✻
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�✂✁☎✄ ✆✞✝✠✟☛✡

☞ �❨➄ ➆➉➌➍➈❋➐❖➒✍✌✏✎➡➈ ☞
✑ ✻✼➃✱➵❛→✓✒✔✎➡➈ ➯❆→✓✕s➦ →➣➈✗✖➎➌✙✘✛✚✢✜✍➅ ✣
✤ ➊❋➈➎➌✫➫✪➒❖➦➧➅✥✌✏✦❝➃✧✒■➐❛➅❯✽☞➃➲➈❥➌➳→➣➅✪➐❖➃❄✸♦➦➣➅★✜✍➅★✒ ❀❁➈❥➄❖➈✩✜✍➅➡➫ ➅ ➐❛➅★✒ ✪

✫ ✻✢❞ ✍ ➝✱❽➀➁ ❿➇➠❾❻✝✍✑✏✝❿ ✻ ✻ ✻ ✻ ✻✰✻ ✻✰✻ ✻ ✻✰✻ ✻✌✻✰✻ ✻✰✻ ✻ ✻✰✻ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ✬
✫ ✻ ✾ ✗❏❿✴➠➡➛✙✡ ❿ ➠➡➛✌✚✝✡ ➞✎☞➏➞✔✁✔➠➡➛✮✭❃↕ ➁✂☞ ✞✝✞➡❿ ✁ ➂ ✻✰✻ ✻✰✻ ✻ ✻✰✻ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ✯
✫ ✻ ✫ ✗❏❿✴➠➡➛✙✡ ❿ ➠➡➛✌✚✝✡ ➞✎☞➏➞✔✁✔➠➡➛ �❡➛t↕✠✁✖✁➙➝❾➛t➁ ✮ ✗❏↕ ➝❾➠✝✡ ↕➜➝❝➂ ✻ ✻✰✻ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ❞ ✿
✫ ✻ ❀ ✂ ↕✵✚ ✦✝❽➀➛✙✁➙➛✫✁✘☞❨↕ ➝➡➛✙✢ �✫❽➙↕✵☞t➞✔✁✔➞✝➠➡❿✫❽➟➞✝➠ ➞✎✁ ✻✰✻ ✻✰✻ ✻ ✻✰✻ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ❞❳❞

✫ ✻ ❀✝✻✢❞ ✂ ↕✠✚ ✦✝❽➙➛✫✁ ➛✫✁✘☞t↕➜➝➡➛✫✢ �✫❽➀↕✠☞➏➞✔✁☞➠➡➛✰✭❃↕➜➁✖☞ ✞✝✞➡❿ ✁ ✻ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ❞❳❞
✫ ✻ ❀✝✻ ✾ ✂ ↕✠✚ ✦✝❽➙➛✫✁ ➛✫✁✘☞t↕➜➝➡➛✫✢ �✫❽➀↕✠☞➏➞✔✁☞➠➡➛ �❡➛t↕✠✁✖✁ ➝➡➛t➁ ✮ ✗❏↕➜➝➡➠✝✡ ↕➜➝ ✻✰✻ ✻ ✻✰✻ ✻✰✻ ❞ ✾

✫ ✻✲✱ ✕ ➛ ✄ ❿✍➁✖✢ ➞✔✍✆☎➇➛✙✁ ➛✾➁ ➛✫✡ ➞✎✍✟☎✴➛✫✁ ☞t❿✝➝✝✁ ❽➙↕➜❽➀❻➇❽➀↕✠✟✫➞✔✁ ✻ ✻ ✻✰✻ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ❞ ✾
✫ ✻✲✱✯✻✢❞ ✕ ➛✳✭✾↕➜➁✖☞ ✞✝✞❾❿ ✁ ✻ ✻✰✻ ✻ ✻✰✻ ✻✌✻✰✻ ✻✰✻ ✻ ✻✰✻ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ❞ ✾
✫ ✻✲✱✯✻ ✾ ✕ ➛ � ➛❨↕✵✁✖✁ ➝➡➛t➁ ✮ ✗❏↕➜➝➡➠✝✡➜↕ ➝ ✻ ✻✌✻✰✻ ✻✰✻ ✻ ✻✰✻ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ❞ ✫

✣ ✴♦➦➧➅✥✒✵✒➏→✶✚✢✜✍➅★✌✏✎❾➈⑥➐❛➃✒✽☞➃➲➈➎➌✫→➣➅★✒ ☞ ✣
❀✝✻✢❞ ✂❖➛t❿✍➁ ↕ ➞❆➠➡➛✰✗❏❿✍➝❾❿✯☞t➞✔✢⑩➞✫➠ ➞ ✄✪✴➲❻➡↕ ✟✫➞✔✡ ➛❨➝➲❽➙➛ ✻✰✻ ✻ ✻✰✻ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ❞✸✷

❀✝✻✢❞★✻✢❞ ✂s➛❨❿✍➁➙↕ ➞ � ✡ �✔✁✂✁➙↕✵☞t➞❆➠➡➛ ✤✪✡ ➞✔☞➏➞✎✁✺✹❖➞✎✢ ↕➜➝ ➞✝➠ ➞✔✁ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ❞✼✻
❀✝✻✢❞★✻✣❞✔✻✣❞ ✤❳➞✝➁ ❽➀➛ � ↕ ➝❾➛✫✢ �✫❽➀↕✠☞➏➞ ✻ ✻✰✻ ✻ ✻✰✻ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ❞✼✻
❀✝✻✢❞★✻✣❞✔✻ ✾ ✤❳➞✝➁ ❽➀➛ � ❿✍➝✝✁ ❽➀↕ ❽➀❻❾❽➙↕✠✟✫➞ ✻✰✻ ✻ ✻✰✻ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ❞✸✬

❀✝✻✢❞★✻ ✾ ✂s➛❨❿✍➁➙↕ ➞❆➠➡➛ ✤✪✡ ➞✔☞➏➞✎✁ ➠❾➛✰✤➩➁ ↕✵✢■➛t↕ ➁➙➞ ↔ ➁➙➠➡➛✙✢ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ✾✔✿
❀✝✻✢❞★✻ ✾ ✻✣❞ � ↕ ➝➡➛✙✢ �➳❽➀↕✵☞t➞ ✡ ↕➜➝➡➛➏➞✝➁✌✻ ✻✰✻ ✻ ✻✰✻ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ✾✔✿
❀✝✻✢❞★✻ ✾ ✻ ✾ � ↕ ➝➡➛✙✢ �➳❽➀↕✵☞t➞✕➝ ✏✝❿ ✡ ↕➜➝➡➛➏➞✫➁ ✻ ✻✰✻ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ✾✳❞
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❀✝✻ ✾ ✄✓✁ ❽➙❻➡➠➡❿ ➠➡➛❨❽➀➞✔✡✵✞ ➞✫➠➡❿ ➠➡➞■↕✠✢ ✚✝✡➜➛✫✢■➛t➝✱❽➟➞✎✍✑✏✝❿❆➠➡❿■➛✫✡➜➛✫✢■➛t➝✱❽➀❿ ➠➡➛ ✚✝✡ ➞✔☞➏➞❆➠➡➛
�❡➛t↕✠✁✖✁➙➝❾➛t➁ ✮ ✗❏↕ ➝❾➠✝✡ ↕➜➝ ✻✰✻ ✻✰✻ ✻ ✻✰✻ ✻✌✻✰✻ ✻✰✻ ✻ ✻✰✻ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ✾★✾
❀✝✻ ✾✯✻✢❞ ✬ ❿✍➁✖✢✕❻✱✡ ➞✔✍✫✏✝❿✁❞ ✻✰✻ ✻ ✻✰✻ ✻✌✻✰✻ ✻✰✻ ✻ ✻✰✻ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ✾✎❀

❀✝✻ ✾✯✻✣❞✔✻✣❞ ✂ ↕✠✚ ✦✝❽➙➛✫✁ ➛✫✁✘☞t↕➜➝➡➛✫✢ �✫❽➀↕✠☞➏➞✔✁ ✻ ✻✰✻ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ✾✏✱
❀✝✻ ✾✯✻✣❞✔✻ ✾ ✕ ➛ ✄ ❿✝➁✖✢ ➞✔✍✟☎✴➛✫✁ ✻✌✻✰✻ ✻✰✻ ✻ ✻✰✻ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ✾✏✻
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✷✱✻✲✱✯✻✢❞ � ✡ ➞✔✁✂✁➙➛ ✂✘✤✓✒ ✗❏❻✝✡➜❽➙↕✵☞t➞✔✢⑩➞✫➠ ➞ ↔ ➁ ❽✖✞➡❿✝❽➀➁ ❿★✚➡↕✠☞ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ✻ ✷
✷✱✻✲✱✯✻ ✾ � ✡ ➞✔✁✂✁➙➛ ✂✘✤✓✒ ✤✪✡ ➞✔☞➏➞ ↔ ➁ ❽✣✞➡❿✫❽➀➁➙❿✔✚➡↕✵☞ ✻✰✻ ✻ ✻✰✻ ✻✰✻ ✻✌✻✰✻ ✻ ✻✰✻ ✻✰✻ ✻ ✷
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☞ ➛✫✁✖✁➙➞ ✚ ➛✙✁✖✴➲❻➡↕✵✁➙➞⑥➛✫✁ ❽➀❻➡➠ ➞✎✢ ✮ ✁➙➛✪➞✔✡✠✆✍❻✝✢ ➞✔✁ ➠➡➞✔✁ ✚➡➁ ↕ ➝✝☞❨↕✵✚ ➞✝↕✠✁■❽➙➛t❿✍➁ ↕ ➞✔✁ ➠➡➛ ✚✝✡ ➞✔☞➏➞✔✁✙✲✘✁➙❻ ➞✔✁
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✄ ❿✍➁✂✢ ➛✙✁✾➝➡❿❄➠➡❿✔✢ ✸➜➝➡↕ ❿✡➠➡➛■❻✝✢ ✢⑩➞➳❽➀➛t➁ ↕ ➞✔✡❳➠➡➛ ✚✝✡ ➞✔☞➏➞✯✲✧✷ ➞✎✁➙➛➏➞✫➠➡❿❄➝ ➞✡❽➀➛❨❿✍➁➙↕ ➞✲➠ ➞✲➛✫✡ ➞✔✁ ❽➙↕✵☞t↕ ✮
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✢✕❻❾↕➜❽➀❿ ✢■➛t➝❾❿✍➁❡➠➡❿ ✴✴❻❾➛♦➞ ✡ ➞✝➁✂✆✍❻➡➁➙➞✕➛❊❿ ☞t❿✔✢ ✚➡➁ ↕✵✢■➛t➝✱❽➀❿✱✻ ↔ ✁➙➛❨❻ ☞t❿✔✢ ✚❥❿✍➁ ❽➀➞✔✢■➛t➝✱❽➀❿✕❽➙➛✫✢
✁ ↕ ➠➡❿✭❿★✷ ✁ ➛❨❽➀❿✡➠➡➛ ✟✁�✝➁ ↕ ❿★✁❼➛✫✁ ❽➀❻➡➠➡❿✔✁✫✲ ✚ ❿✝↕✵✁ ✁✖✏✝❿ ☞t❿✍➝✝✁ ❽➟➞✝➝✱❽➙➛✫✢■➛t➝✱❽➀➛ ❻❾❽➙↕✵✡ ↕✑✔➏➞✝➠➡➞✔✁❼➛✙✢ ✟✁�✝➁➙↕ ➞✔✁
�✝➁ ➛➏➞✔✁❊➠ ➞❏➛❨➝✝✆✍➛❨➝✝✞ ➞✝➁ ↕ ➞✱✻ ☞ ➞✲❽➀➛t➝✱❽➀➞✫❽➀↕ ✟✝➞✡➠➡➛ ✁ ➛⑩➠➡➛✙✁✖☞❨➁➙➛✙✟✝➛t➁❆➠➡➛ ✢ ❿✴➠➡❿ ☞➏➞✝➠➡➞ ✟✍➛ ✔ ✢⑩➞✫↕✵✁
➠➡➛❵❽➟➞✔✡✠✞ ➞✝➠➡❿✭❿ ☞❨❿★✢✶✚ ❿✍➁ ❽➟➞✔✢■➛t➝✱❽➙❿✭➠➡➛✫✁ ❽➀➛✫✁✾➛✙✡ ➛✫✢■➛t➝✱❽➙❿★✁✫✲ ✁✖✏✝❿ ✚➡➁➙❿★✚❥❿★✁ ❽➟➞✔✁✜✚❥❿✍➁❃➞✔✡✠✆✍❻➡➝✝✁ ➛✫✁ ✮
❽➙❻➡➠➡↕ ❿✔✁➙❿★✁ ➞✔✡✠✆✍❻✝✢ ➞✔✁s❽➙➛t❿✍➁ ↕ ➞✔✁➩➠❾➛ ✚✱✡ ➞✔☞t➞✔✁✫✲ ☞t➞✝➠ ➞❃❻✝✢ ➞✹➛✫✢ ✷ ➞✎✁➀➞✝➠ ➞❃➛✙✢ ➠➡➛❨❽➙➛t➁✂✢ ↕➜➝ ➞✝➠ ➞✔✁✓✞❾↕ ✮
✚ ✦✝❽➀➛✙✁➙➛✙✁ ✁ ↕✵✢✶✚✝✡ ↕✍✠ ☞➏➞✫➠➡❿✍➁➀➞✎✁☎✟✴↕✵✁➙➞✝➝➡➠➡❿ ➞✎✆✍↕✵✡➜↕ ✔➏➞✫➁✉❿ ✁ ➛t❻ ☞✞�✔✡✠☞t❻✝✡➜❿✝✻ ✤❖❿➇➠➡➛✌✁ ➛t➁ ☞t↕ ❽➟➞✝➠❾❿✝✲❾➠➡➛✙✁✖✁ ➛
✢■❿➇➠❾❿✝✲ ✭❃↕ ➁✂☞ ✞✝✞➡❿ ✁ ✝✼❞✵✬ ✱✔✿✠✟ ✲❡➞✝❻❾❽➙❿✍➁ ➠➡➞ ➆➉➃➲➈➎➌✫→➣➅✐➐❛➃✩➨s➦➧➅★✜✍➅✥✒✏➐❛➃✖✕❏→➧➌✙✜➳➥s➥❛➈✘✗ ✙ ❞✼✻✛✚
✝ ❽➟➞✔✢ ✷✆☎✫✢ ☞t❿✝➝✝✞➡➛✫☞❨↕ ➠ ➞ ☞❨❿★✢■❿✕❽➀➛t❿✝➁➙↕ ➞✰☞✫✡ �✎✁✖✁➙↕✠☞➏➞✠✟ ✲✱☞❨❻ ✁➙➞ ✞➡↕✵✚ ✦✝❽➀➛✙✁➙➛ ✷ �✔✁➙↕✠☞➏➞❆➞✝➠➡❿✫❽➟➞✝➠ ➞ ☞❨❿✍➝✯✮
✁ ↕✵✁ ❽➙➛ ➛✙✢ ➠❾➛✫✁✖✚❾➁➙➛ ✔t➞✝➁ ✮ ✁➙➛✹❿♦➛ ✄ ➛t↕ ❽➀❿❊➠➡➛ ✄ ❿✍➁✂✍➏➞✔✁✒☞t↕✠✁➀➞✔✡✠✞ ➞✝➝✱❽➀➛✙✁✉➝ ➞❊➠➡➛ ✄ ❿✍➁✂✢⑩➞✎✍✑✏✝❿❊➞✔✁✖✁ ❻✝✢■↕ ➝➡➠➡❿
✴➲❻➡➛❃➁ ➛❨❽➟➞✎✁✔➝➡❿✍➁✖✢ ➞✝↕✠✁ ✛ ✁➙❻✱✚ ➛❨➁ ✄ ✸✵☞❨↕ ➛✹↕➜➝➡➠➡➛ ✄ ❿✍➁✖✢ ➞✝➠ ➞✹✚❥➛t➁✂✢⑩➞✫➝➡➛✫☞❨➛✫✢❴➝❾❿✍➁✖✢ ➞✝↕✵✁☞➞✔✚ ✦★✁✔➞ ✁➙❻➡➞
➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✫✏✝❿✝✻ ✕ ➛✫✁✖✁ ➛ ✢■❿➇➠➡❿✱✲✠☎ ➞✔✁✂✁➙❻✝✢■↕ ➠❾❿❊❿●➛✫✁ ❽➟➞✝➠➡❿✰✚✝✡ ➞✫➝➡❿❊➠❾➛ ❽➙➛t➝✝✁✖✏✝❿✝✲✯✛✰✢■➛t➠➡↕➜➠ ➞❃➛✫✢
✴➲❻➡➛ ✁✣✏✫❿ ☞❨❿✍➝✝✁ ↕ ➠➡➛❨➁➀➞✝➠ ➞✎✁✜✁➙❿★✢■➛t➝✱❽➀➛❆❽➙➛t➝✝✁✌☎➇➛✙✁ ☞❨❿★✚✝✡ ➞✝➝ ➞✝➁ ➛✫✁✌✛✔✁✜✁ ❻✝✚ ➛❨➁ ✄ ✸✠☞t↕ ➛✙✁❃➛ ✝✴❽➀➛❨➁➙➝ ➞✎✁❊➠ ➞
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✚✝✡ ➞✔☞➏➞✯✻ ❁ ✦ ☎✶✟✁�✔✡➜↕ ➠ ➞✭➞✲➞✔✚✝✡➜↕✵☞t➞✔✍✑✏✝❿✡➠➡➛✙✁✖✁➙➞❏❽➀➛❨❿✍➁➙↕ ➞ ✁ ➛ ➛✙✁ ❽➙↕✠✟✍➛❨➁✖✢■❿★✁❊➞✝➝ ➞✔✡➜↕✵✁➀➞✫➝➡➠➡❿ ✚✝✡ ➞✎☞➏➞✔✁
✠ ➝➡➞✔✁✫✲✍❿✝❻ ✁➙➛ ✁➙➞✯✲★✚✝✡ ➞✎☞➏➞✔✁ ☞❨❻ ✁➙➞ ➛✙✁✖✚❥➛✫✁✖✁ ❻➡➁➀➞✌✁➙➛ ✁➙➞✹➠ ➞ ❿✍➁ ➠➡➛✫✢ ➠➡➛ 1
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➝➡❿ ✢ � ✝➇↕✵✢■❿ ➠➡➞✭✢ ➛❨➝➡❿✍➁
➠➡↕✠✢ ➛❨➝✝✁✣✏✫❿❆➝➡❿ ✚✱✡ ➞✝➝➡❿✱✻
✤s➞✝➁➀➞✜✚✝✡ ➞✔☞➏➞✔✁➩➛✙✁✖✚❥➛✫✁✂✁➀➞✔✁✙✲✱☞t❻✂✁➙➞✾➛✙✁✖✚❥➛✫✁✂✁➙❻➡➁➙➞❊❻✝✡ ❽➀➁➀➞✎✚ ➞✔✁✖✁ ➛❡➞✜✢ ➛❨➠➡↕ ➠ ➞❃➞✎☞t↕✵✢ ➞✹➁➙➛ ✄ ➛t➁ ↕ ➠ ➞✱✲✱➛✙✁✖✁➙➞
❽➙➛t❿✍➁ ↕ ➞ ➝ ✏✝❿ ✄ ❻➡➝✝☞t↕➜❿✍➝ ➞✶✷ ➛✙✢ ➛♦➠➡↕ ✟✍➛t➁✂✁➀➞✔✁❼❿✍❻❾❽➙➁➀➞✔✁❡❽➀➛❨❿✍➁➙↕ ➞✔✁✔❽ ✏✫✢ ✁ ↕ ➠➡❿✶✚➡➁➙❿✔✚ ❿★✁ ❽➟➞✔✁ ☞t❿✔✢ ❿
↕➜➝➲❽➙❻➡↕➜❽➙❿❏➠❾➛ ✢ ➛✙✡✵✞➡❿✝➁●➁ ➛✫✚➡➁ ➛✫✁ ➛t➝✱❽➟➞✝➁ ✢ ➞✫❽➙➛✫✢ ➞✫❽➀↕✠☞➏➞✔✢■➛t➝✱❽➀➛❆❿ ☞t❿★✢✶✚ ❿✝➁ ❽➟➞✎✢ ➛❨➝➲❽➙❿❏➁ ➛➏➞✔✡ ➠ ➞✔✁
✚✝✡ ➞✔☞➏➞✎✁✫✻ ✄➩➝✱❽➀➁ ➛⑩➛✫✁✂✁➀➞✔✁✰✚ ❿✴➠➡➛✙✢ ✮ ✁➙➛ ☞t↕ ❽➟➞✝➁●➞✔✁✾❽➀➛❨❿✍➁➙↕ ➞✔✁❊➠❾➛ �❡➛t↕✠✁✖✁➙➝❾➛t➁●➛ ✗❏↕➜➝➡➠✝✡ ↕➜➝ ✝✼❞✸✯✔❀✔❀✝✲
❞✸✯✏✱✳❞✂✟ ✴➲❻➡➛✡➠➡➛✙✁➙➛❨➝ ✟✝❿★✡✠✟✝➛t➁➙➞✔✢ ➞ ➆➉➃➲➈❥➌➳→➣➅☎➐❖➃✑➨s➦➣➅★✜✍➅★✒✙➐❖➃✟✻✼➃✴→✓✒✵✒➏➄❛➃➲➌✁�➀❀✐→ ➄❖➐❖➦ →➧➄ ✴➲❻➡➛
↕➜➝✝☞✫✡➜❻➡↕➑❿★✁❡➛ ✄ ➛t↕➜❽➙❿★✁✔➠ ➞ ➠➡➛ ✄ ❿✝➁✖✢ ➞✔✍✑✏✝❿ ✚❥❿✍➁ ☞❨❿✍➁ ❽➀➞✝➝✱❽➀➛✾➠➡➛✫✁✂✚➡➁➙➛ ✔➏➞✝➠➡➞✔✁✭✚❥❿✍➁✺✭❃↕ ➁✂☞ ✞✝✞➡❿ ✁ ✻
✕ ➛✙✁✖✁ ➛ ✢ ❿✴➠➡❿✝✲ ✁ ➛ ☞t❿✝➝✝✁➙↕➜➠➡➛t➁➙➞✝➁✖✢■❿★✁♦➁ ➛❨❽➀➞✔✁✕➝➡❿✍➁✂✢⑩➞✫↕✵✁✰✛ ✁➙❻✝✚❥➛t➁ ✄ ✸✵☞❨↕ ➛⑩➠➡➞ ✚✝✡ ➞✎☞➏➞❄↕➜➝➡➠➡➛ ✄ ❿✝➁ ✮
✢ ➞✝➠ ➞✱✲➇➞✔✚ ✦★✁✿➞✕➠❾➛ ✄ ❿✍➁✂✢⑩➞✔✍✫✏✝❿♦➛✙✡ ➞✔✁✥☞t❿✍➝✱❽➀↕➜➝➲❻ ➞✔✢❈↕ ➝➡➛☛✝✴❽➀➛t➝✱✁✖✸✠✟✝➛t↕✠✁✔➛✹➁➙➛❵❽➟➞✔✁✙✲➡➞✔✚➡➁ ➛✫✁ ➛t➝✱❽➟➞✝➝❾➠➡❿
❻✝✢ ➞ ➁ ❿✝❽➟➞✎✍✑✏✝❿ ❽➟➞✔✡❃✴➲❻➡➛♦➝✝✏✝❿ ✠ ✴➲❻➡➛✙✢❷➝➡➛✙☞t➛✙✁✖✁➀➞✫➁➙↕ ➞✎✢ ➛❨➝➲❽➙➛♦➝➡❿✝➁✖✢ ➞✝↕✵✁ ✛ ❽➀➞✝➝✝✆✍➛❨➝➲❽➙➛♦➠ ➞✶✁➙❻✯✮
✚❥➛t➁ ✄ ✸✵☞t↕➜➛✹➠➡➛ ✄ ❿✍➁✖✢ ➞✝➠ ➞✱✻
❁ ➛●➠➡➛❊❻✝✢✺✡ ➞✝➠❾❿ ➠➡➛✙✁➙➛❨➝ ✟✝❿★✡✠✟✝➛t➁➙➞✔✢ ✮ ✁➙➛●❽➀➛t❿✝➁➙↕ ➞✎✁ ✚ ➞✫➁➀➞ ✁➙➛♦➠❾➛✫✁✖☞❨➁➙➛✽✟✍➛t➁❃❿✶☞t❿✔✢ ✚❥❿✍➁ ❽➀➞✔✢■➛t➝✱❽➀❿
➠➡➛✥✚✝✡ ➞✔☞t➞✔✁✫✲✫➠➡➛✿❿✍❻➇❽➀➁➙❿ ➠➡➛✫✁ ➛t➝ ✟✍❿★✡ ✟✍➛❨➁➀➞✔✢ ✮ ✁ ➛✔➠➡↕✠✟✝➛t➁✖✁ ❿★✁❳❽➙↕✵✚❥❿★✁s➠❾➛ ✢⑩➞➳❽➀➛t➁ ↕ ➞✝↕✠✁ ☞t❿★✢ ☞➏➞✝➁➙➞✔☞❨❽➙➛✽✮
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➛❨➝➲❽➙➁➙➛●➞✔✁✕✠ ✷➡➁➙➞✔✁❡➛●➞ ✢ ➞✫❽➙➁➙↕ ✔✎✻
↔ ✁ ✡ ❽➀↕✵✢■❿ ❽➀↕✵✚❥❿ ☞❨↕➜❽➀➞✝➠➡❿ ☞❨❿✍➁➙➁ ➛✫✁✖✚❥❿✍➝➡➠❾➛ ➞✝❿ ✢ ➞✝↕✵✁ ❻❾❽➀↕✠✡ ↕✑✔➏➞✝➠➡❿■➝ ➞✔✁✹➞✔✚✝✡ ↕✠☞➏➞✔✍✆☎➇➛✙✁ ✚❾➁✏�✫❽➙↕✵☞➏➞✎✁✫✻
� ➞✔✁ ❿✹➞✔✁ ✠ ✷➡➁➙➞✔✁❃✁➙➛ ✁➙➞✎✢❁➠➡↕✵✁✂✚ ❿★✁ ❽➟➞✔✁❖➝➲❻✝✢ ➞ ✁ ➝➡↕✠☞➏➞❡➠➡↕ ➁ ➛✫✍✫✏✝❿✝✲✫➞ ✡☎✂✔✢ ↕➜➝ ➞ ☎☎☞ ✞ ➞✔✢ ➞✝➠ ➞❡➠➡➛ ➦✝✆✞�
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➝ ➞ ➠➡↕ ➁ ➛✫✍✑✏✫❿⑩➠ ➞✔✁ ✠ ✷➡➁➀➞✎✁✫✲ ✢ ➞✔✁ ✄ ➁➀➞✔☞t➞✔✁✭✴➲❻ ➞✝➝❾➠➡❿ ✁➙❿★✡➜↕✵☞❨↕➜❽➟➞✫➠ ➞✔✁❡➝ ➞⑩➠➡↕➜➁➙➛✙✍✑✏✝❿ ✚❥➛t➁✂✚ ➛❨➝➡➠➡↕✠☞t❻✯✮
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➁ ❿★✁✫✻✪✤❖❿➇➠➡➛✙✢✺✁➙➛❨➁ ❻❾➝➡↕ ➠ ➞✎✁❡❽➀➞✔✢ ✷✆☎✫✢ ✠ ✷➡➁➀➞✎✁ ➠❾➛●➠❾↕ ✄ ➛t➁ ➛t➝✱❽➀➛✙✁✘✢⑩➞✫❽➙➛t➁ ↕ ➞✝↕✠✁✫✲✱✚❥❿★✁✂✁➙↕✵✷❾↕✵✡ ↕ ❽➟➞✝➝❾➠➡❿
➞✝❿ ➛❨➝✝✆✍➛t➝✱✞➡➛t↕➜➁➙❿ ☞t➁ ↕ ➞✝➁ ✟✁�✝➁ ↕ ❿★✁✿❽➙↕✵✚❥❿★✁✿➠➡➛✌✢ ➞✫❽➀➛❨➁➙↕ ➞✫↕✵✁✫✻
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↔ ➛✙✁ ❽➙❻➡➠➡❿♦➠❾➛ ✚✝✡ ➞✔☞➏➞✎✁ ➛ ☞➏➞✎✁✖☞➏➞✎✁✥☞t❿✔✢ ✚➡➁ ➛t➛❨➝➡➠➡➛❼➞●❻❾❽➙↕✵✡➜↕ ✔➏➞✎✍✑✏✝❿❃➠➡➛ ✢ ☎❨❽➀❿✴➠➡❿★✁ ➝➲❻✝✢ ☎t➁ ↕✵☞t❿✔✁ ➛
➠➡➛✜✞❾↕✵✚ ✦✝❽➀➛✙✁➙➛✫✁ ✁ ↕✵✢✶✚✝✡ ↕✍✠ ☞➏➞✫➠➡❿✍➁➀➞✎✁✥✴➲❻➡➛✾❿★✷ ✁ ➛❵❽➀↕✠✟✫➞✔✢ ➠➡↕✠✁✖☞t➁ ➛❨❽➙↕ ✔➏➞✫➁✿❿ ☞t❿★✢✶✚ ❿✝➁ ❽➟➞✎✢ ➛❨➝➲❽➙❿✕➠➡❿★✁
➛✙✡ ➛✫✢■➛t➝✱❽➙❿★✁ ☞t↕ ❽➟➞✝➠➡❿✔✁✫✻
❺ ✡✵✆✍❻✝✢ ➞✔✁ ❽➙➛t❿✍➁ ↕ ➞✔✁✜✚❾➁➙❿★✚❥❿★✁ ❽➀➞✔✁❃❻❾❽➙↕✵✡ ↕✑✔➏➞✔✢❷➞ ✚ ➛✙✴➲❻➡➛t➝ ➞✲➠➡↕✵✢■➛t➝✱✁✣✏✝❿✭➠ ➞✡➛✫✁✂✚ ➛✙✁✖✁ ❻➡➁➀➞ ✚ ➞✝➁➀➞
➠➡➛✙✁✖☞❨➁➙➛✙✟✝➛t➁✉❻✝✢ ☞t❿★✢✶✚❥❿✍➁ ❽➀➞✔✢ ➛❨➝✱❽➀❿✜✢ ➞✫❽➀➛✙✢ �✫❽➙↕✵☞❨❿❃❿✍➝➡➠➡➛❡❿●➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✾➠➡➛❡❻✝✢ ✚❥❿✍➝✱❽➀❿
✆✍➛❨➝ ☎t➁ ↕✵☞❨❿ ✚❥➛t➁ ❽➀➛❨➝✝☞t➛❨➝➲❽➙➛ ✛ ✚✝✡ ➞✔☞➏➞ ☎ ➠ ➞✝➠➡❿✘☞❨❿★✢ ❿ ✄ ❻➡➝✱✍✑✏✝❿❼➞✔✚❥➛t➝ ➞✔✁❛➠ ➞ ☞❨❿➇❿✍➁ ➠➡➛t➝➡➞✝➠ ➞✔❽➀➁➀➞✫➝✝✁ ✮
✟✝➛t➁✖✁➙➞✔✡ ✔✎✲ ✚❥➛t➁✖✢■↕➜❽➙↕ ➝➡➠❾❿ ✴➲❻➡➛✕❿ ☞➏➞✔✁ ❿✼❽➀➁➙↕➜➠➡↕✵✢■➛t➝✱✁➙↕ ❿✝➝ ➞✔✡ ✁ ➛ ✁➙➞✼➁➙➛❨➠➡❻ ✔❨↕ ➠➡❿✭➞ ❻✝✢ ✷❾↕ ➠➡↕✠✢ ➛❨➝✯✮
✁ ↕ ❿✍➝ ➞✎✡✳✻
✂s➞✝↕✵✁✜✞❾↕✵✚ ✦✝❽➀➛✙✁➙➛✫✁ ✁➙↕✠✢ ✚✱✡ ↕✡✠✝☞➏➞✝➠➡❿✝➁➀➞✔✁❼➁➙➛✫✁ ❽➀➁ ↕ ➝✝✆✍➛✙✢ ❿✲❻✝✁➙❿✲➠➡➛✫✁✂✁➀➞✔✁ ✄ ❿✍➁✖✢♦❻✝✡ ➞✔✍✆☎➇➛✙✁✾➞✭➠➡➛❨❽➙➛t➁ ✮
✢■↕ ➝ ➞✫➠ ➞✔✁☎☞t❿✍➝➡➠❾↕✵✍✟☎✴➛✫✁ ✝ ❽➀➛❨➝✝✁☞☎✴➛✫✁✔➝➲❻✝✡ ➞✔✁ ✚❥➛t➁✖✚❥➛t➝❾➠➡↕✵☞❨❻✝✡ ➞✝➁ ➛✫✁✥✛ ✁➙❻✝✚❥➛t➁ ✄ ✸✵☞t↕➜➛✹➠ ➞ ✚✝✡ ➞✔☞➏➞ ✟ ❽➀❿✝➁ ✮
➝ ➞✫➝➡➠➡❿ ✁ ❻ ➞✔✁⑩➞✔✚✝✡ ↕✠☞➏➞✔✍✆☎➇➛✙✁ ✷ ➛✙✢ ➛✫✁✖✚❥➛✫☞✙✸✡✠ ☞t➞✔✁✫✻ ↔ ↕➜➝✝✸✵☞❨↕ ❿✒➠➡❿❯➛✫✁ ❽➙❻➡➠➡❿ ✁ ↕✵✁ ❽➀➛✫✢ �✫❽➙↕✵☞t❿✪➠➡➛
✚✝✡ ➞✔☞➏➞✎✁ ✄ ❿✍↕❃✚➡➁ ❿★✚ ❿✔✁ ❽➀❿ ✚ ❿✍➁ ✭❃↕ ➁✖☞ ✞✱✞➡❿ ✁ ➛✫✢ ❞✸✬ ✱✔✿ ✙ ❞✑✿✛✚➩➞✫➠✝✢ ↕ ❽➀↕➜➝➡➠➡❿❆❽➀➁ ✏✫✁ ☞❨❿★✢ ✚❥❿✍➝➡➛❨➝✱❽➀➛✫✁
✚ ➞✫➁➀➞ ❿✜✁ ➛t❻ ☞➏➞✔✢✶✚❥❿✹➠➡➛✿➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁✙✻❳❺ ✁ ❻ ➞ ✚➡➁➙↕➜➝✝☞t↕✠✚ ➞✔✡ ☞➏➞✝➁➙➞✔☞❨❽➙➛t➁✂✸✵✁ ❽➙↕✵☞t➞ ☎✔➞ ✄ ❿✍➁✂✢✕❻✯✮
✡ ➞✔✍✑✏✝❿❃➠❾❿ ✚❾➁➙❿★✷✝✡➜➛✫✢ ➞✭✷➡↕➜➠➡↕✵✢■➛t➝✝✁ ↕ ❿✍➝➡➞✔✡✵✢■➛t➝✱❽➀➛✉❻❾❽➀↕✠✡ ↕✑✔➏➞✝➝➡➠❾❿✹➞✔✁✪✁➙↕✠✢ ✚✱✡ ↕✡✠✝☞➏➞✔✍✆☎➇➛✙✁❳➠➡❿✾➛✫✁ ❽➟➞✝➠❾❿
✚✝✡ ➞✝➝➡❿❆➠➡➛❃❽➙➛t➝✝✁✌☎➇➛✙✁✫✲ ☞t❿✝➝✝✁➙↕➜➠➡➛t➁➙➞✝➝➡➠➡❿■➠➡➛✫✁ ❽➟➞ ✄ ❿✍➁✂✢⑩➞ ✴➲❻➡➛●➞✕❽➀➛❨➝✝✁✣✏✝❿■➝➡❿✍➁✂✢⑩➞✎✡ ❽➀➁➙➞✝➝✝✁ ✟✍➛t➁✂✁➀➞✔✡
➛⑩➞✔✁♦➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✆☎➇➛✙✁❊❽➀➁➙➞✝➝✝✁ ✟✍➛t➁✂✁➀➞✝↕✠✁ ☞t↕✠✁➀➞✔✡✠✞ ➞✝➝✱❽➀➛✙✁✹✁✖✏✝❿❄❽➀❿✴➠ ➞✔✁❊➝➲❻✝✡ ➞✔✁✙✻ ✂s➞✔✡ ❽➀➛t❿✝➁➙↕ ➞ ✚ ❿✴➠➡➛
✁ ➛t➁✭☞❨❿✍➝✝✁ ↕ ➠➡➛❨➁➀➞✝➠ ➞✶☞t❿★✢■❿✼➞✶✷ ➞✔✁ ➛✹✚ ➞✝➁➙➞ ❿✼➠❾➛✫✁➙➛❨➝ ✟✍❿★✡ ✟➇↕✠✢ ➛❨➝✱❽➀❿✼➠➡➛❊➠➡↕✠✟✝➛t➁✂✁➀➞✔✁❼❿✍❻❾❽➀➁➙➞✔✁✭✴➲❻➡➛
✟✴↕ ➁ ↕ ➞✔✢ ➞ ✁➙➛✙✆✍❻➡↕➜➁✫✻①❺ ✁✖✁➙↕✠✢ ✲✱➝❾❿★✁ ➞✝➝➡❿★✁➩➠❾➛✬❞✵✯✔❀ ✿❃➞❲❞✸✯ ✱✔✿✯✲ � ➛❨↕✵✁✂✁➙➝➡➛❨➁ ➛ ✗❏↕➜➝➡➠✝✡➜↕ ➝ ✙ ✷✱✲ ✱✯✲ ✾★✾✛✚
➞✔✚❾➁➙➛✫✁ ➛t➝✱❽➟➞✫➁➀➞✔✢ ❻✝✢ ➞ ➝➡❿ ✟✫➞ ✄ ❿✍➁✂✢✕❻✝✡ ➞✎✍✑✏✝❿■➝➡❿ ✴➲❻➡➛✰✁➙➛ ☞❨❿✍➝ ✟✍➛t➝✱☞t↕ ❿✝➝➡❿✍❻ ☞ ✞ ➞✔✢ ➞✝➁❼➠➡➛❊❽➙➛t❿✎✮
➁ ↕ ➞ ➠❾➛ ✚✝✡ ➞✎☞➏➞✔✁✹➠❾➛ � ➛❨↕✵✁✂✁➙➝➡➛❨➁ ✮ ✗✲↕ ➝➡➠✝✡➜↕ ➝ ✲❂☞❨❻ ✁➙➞ ✚➡➁➙↕➜➝✝☞t↕✠✚ ➞✔✡❖➝➡❿ ✟✴↕ ➠ ➞✝➠❾➛ ✄ ❿✍↕s➞⑩↕ ➝✝☞✙✡ ❻✝✁✖✏✝❿✼➠➡❿
➛ ✄ ➛t↕➜❽➙❿❃➠ ➞✾➠➡➛ ✄ ❿✍➁✂✢⑩➞✎✍✑✏✝❿❃➠➡➛✽✟✴↕ ➠➡❿●➞✜☞t❿✍➁ ❽➟➞✝➝✱❽➙➛ ☞❨❿✍➝✝✁ ↕ ➠➡➛❨➁➀➞✝➝➡➠❾❿●➠❾➛✫✁ ❽➙➛ ✢■❿✴➠➡❿✾➞✔✁➩➠➡➛ ✄ ❿✍➁✖✢ ➞ ✮
✍✆☎➇➛✙✁ ☞t↕✵✁➙➞✔✡✵✞➡➞✝➝✱❽➀➛✫✁✉❽➀➁➀➞✫➝✝✁✂✟✝➛t➁✖✁➙➞✝↕✵✁✔➠❾➛✫✁✖✚❾➁➙➛ ✔t➞✝➠ ➞✔✁ ✚❥❿✍➁ ✭❃↕ ➁✂☞✫☞ ✞➡❿ ✁ ✲➡➞✫↕ ➝➡➠ ➞❊❻❾❽➀↕✠✡ ↕ ✔t➞✝➝➡➠➡❿❊❻✝✢
✢ ➞✫❽➀➛❨➁➙↕ ➞✔✡➩➠➡➛ ☞❨❿★✢✶✚ ❿✍➁ ❽➟➞✔✢■➛t➝✱❽➙❿ ☞❨❿✍➝✝✁ ❽➙↕➜❽➙❻❾❽➀↕ ✟✍❿❄➛✙✡ �✔✁ ❽➀↕✠☞t❿✎✮ ✡ ↕ ➝❾➛➏➞✝➁❃➛ ↕✵✁✖✦✫❽➀➁➙❿✔✚ ❿✝✻ ✂s➞✔✡➩↕ ➠ ☎❨↕ ➞
❽➀➞✔✢ ✷✆☎✫✢ ✚❥❿✴➠➡➛ ✝ ✁ ➛✫✆✍❻➡➝❾➠➡❿ �❡➛t➠➡➠ ✒ ✙ ✾✎✿ ✚ ✟✥✁ ➛t➁ ➛t➝✝☞❨❿✍➝✱❽➀➁➙➞✝➠ ➞ ➛✫✢✺❄✿➞✎✁✖✁➙➛❵❽ ✙ ❞ ✚✼✻
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✤❖❿★✁ ❽➙➛t➁➙↕➜❿✍➁✖✢■➛t➝✱❽➙➛✔✲ ☞t❿★✢ ❿ ➠➡➛✫✁ ➛t➝ ✟✍❿★✡ ✟✴↕✵✢■➛t➝✱❽➀❿✼➠❾➛♦➝➡❿ ✟✍❿✔✁ ❽➀↕✠✚ ❿★✁❡➠➡➛✰✢⑩➞➳❽➀➛t➁ ↕ ➞✝↕✠✁✔➛❊➝❾❿ ✟✫➞✔✁
❽➙➛✫☞t➝❾❿★✡ ❿★✆✝↕ ➞✔✁✙✲➑➞✔✁✜✚✱✡ ➞✔☞t➞✔✁✹➠➡➛❨↕✍✝❾➞✝➁➀➞✎✢❷➠➡➛✹✁➙➛t➁✜✁ ↕✵✢✶✚✝✡ ➛✙✁✹➛✫✡➜➛✫✢■➛t➝✱❽➀❿✔✁ ✢ ❿✝➝➡❿✯☞t➞✔✢ ➞✝➠ ➞✔✁ ✞➡❿✎✮
✢■❿★✆ ✏❨➝➡➛t❿★✁❊➠ ➞✝➝➡➠❾❿ ✡ ❻✝✆✍➞✝➁♦➞❏➝➡❿ ✟✍❿★✁♦❽➙↕✵✚❥❿★✁●➠➡➛ ✢ ➞✫❽➀➛❨➁➙↕ ➞✫↕✵✁✾➛ ☞❨❿★✢ ✚❥❿★✁ ↕✵✍✟☎✴➛✫✁✰☞t❿★✢■❿ ✚❥❿✍➁
➛☛✝❾➛✙✢ ✚✱✡ ❿ ❿★✁s➛✙✡ ➛✙✢ ➛❨➝➲❽➙❿★✁❖➠➡➛✒✚✱✡ ➞✔☞t➞✔✁✧✢♦❻✝✡➜❽➙↕✵☞➏➞✎✢⑩➞✝➠➡➞✔✁ ✄ ❿✍➁✂✢⑩➞✝➠➡➞✔✁ ✚ ❿✝➁❃✟✁�✝➁ ↕ ➞✔✁ ✡✄✂✎✢ ↕➜➝ ➞✔✁❝➠➡➛
➠➡↕ ✄ ➛t➁ ➛t➝✱❽➀➛✙✁ ❽➙↕✵✚❥❿★✁➩➠➡➛ ✢⑩➞✫❽➙➛t➁ ↕ ➞✝↕✠✁✫✻ � ❿★✢④↕✵✁✂✁➙❿✝✲➲➝➡❿ ✟✫➞✔✁➩❽➀➛❨❿✍➁➙↕ ➞✔✁ ➠➡➛✙✟✝➛t➁ ↕ ➞✔✢ ✁ ➛t➁✪✚➡➁➙❿✔✚ ❿★✁ ❽➟➞✔✁
✟✴↕✵✁➙➞✝➝➡➠➡❿ ✛✡➠➡➛✫✁✂☞t➁➙↕✠✍✑✏✝❿ ☞t❿✍➁ ➁➙➛❵❽➟➞❏➠❾➛ ✁ ➛t❻ ☞❨❿★✢✶✚ ❿✍➁ ❽➟➞✔✢■➛t➝✱❽➙❿✝✻ ☞ ➛✫✁✂✁➙➛ ✁ ➛t➝✱❽➀↕➜➠➡❿✝✲❃✚ ❿✴➠➡➛ ✮ ✁➙➛
☞❨↕➜❽➟➞✫➁✉❿❆➞✎✚ ➞✝➁➙➛✙☞t↕✠✢ ➛❨➝➲❽➙❿✕➠➡➛ ❽➀➁ ✏✙✁ ✆✍➁➙➞✝➝➡➠➡➛✙✁ ✆✍➁➙❻✱✚ ❿★✁☞➠➡➛❼❽➙➛t❿✍➁ ↕ ➞✔✁ ✙ ❞✸✷✛✚✳✲❾➞✹✁➀➞✔✷❥➛t➁❨➂ ➆➉➃➲➈➎➌➳→➧➅★✒
➐❛➃✲➫ ➈❥➄❖➈✩✜✍➅➡➫ ➅ ➐❛➅★✒✕➃✠✟❝➒s→ ➵➡➅➡➦➧➃✴➄ ➆➉➃✧✒✁�❋➆➉➃➲➈➎➌➳→➧➅❄➐❖➃ ✜✍➅ ➫❯➅ ➐❖➅✥✒■➫✄✂❖➦➣➆➉→➧➨s➦➧➅✥✒✁�➑➆➉➃➲➈➎➌➳→➧➅
✜✍➈❥➄ ➆✆☎➧➄❝➒❛➅✒➆➉➌➳→ ➐❖→ ➫❯➃➇➄ ✒➏→➣➈❥➄❖➅ ➦ ✻
☞❼➞✔✁①❽➀➛❨❿✍➁➙↕ ➞✔✁ ➐❖➃⑩➫ ➈❥➄❖➈☛✜✍➅ ➫ ➅ ➐❛➅★✒❃➃✠✟❝➒s→ ➵➡➅➡➦➧➃✴➄ ➆➉➃✧✒✞✝✠✟☛✡✠☞ ✲✱❿★✁➩➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿★✁ ❿✍❻❆❽➙➛t➝✯✮
✁✌☎➇➛✙✁ ✁✣✏✝❿✭➛☛✝✯✚ ➞✝➝➡➠➡↕➜➠➡❿★✁ ☞❨❿★✢■❿✼❻✝✢ ➞ ☞t❿★✢✹✷➡↕ ➝ ➞✎✍✑✏✝❿ ✡➜↕ ➝➡➛t➞✝➁ ➠ ➞ ☞t❿✴❿✍➁ ➠➡➛t➝ ➞✫➠ ➞ ➓ ✝ ☞❨❿✍➁➙➁ ➛✫✁ ✮
✚❥❿✍➝➡➠➡➛❨➝✱❽➀➛ ✛✭➛✫✁✂✚ ➛✙✁✖✁➙❻❾➁➀➞✡➠ ➞ ✚✝✡ ➞✔☞t➞✠✟ ➛❆➠❾➛ ✄ ❻➡➝✝✍✟☎✴➛✫✁❃↕➜➝➡➠➡➛❵❽➀➛t➁✂✢ ↕➜➝ ➞✝➠ ➞✎✁ ✴➲❻ ➞✝↕✵✁✂✴➲❻➡➛t➁✙✻♦❺✭✁
❽➙➛t❿✍➁ ↕ ➞✔✁①➠❾➛ ✚✝✡ ➞✔☞t➞✔✁①➠➡➛ ✢■❿✍➝➡❿ ☞➏➞✎✢⑩➞✝➠➡➞✔✁❳➛✙✴✴❻❾↕✠✟✫➞✔✡ ➛❨➝✱❽➀➛✫✁ ➞✫➠✝✢ ↕ ❽➀➛✙✢ ✴➲❻➡➛❡❻✝✢ ➞ ✚✝✡ ➞✎☞➏➞✭✢✕❻✱✡ ✮
❽➙↕✵☞➏➞✎✢⑩➞✝➠➡➞ ✚❥❿★✁✖✁➙➞ ✁➙➛❨➁✿➛✫✁ ❽➀❻➡➠ ➞✫➠ ➞ ☞t❿★✢■❿ ✁ ➛✹➛✫✁ ❽➟➞ ✄ ❿★✁✂✁➙➛ ☞❨❿★✢ ✚❥❿★✁ ❽➟➞✰✚❥❿✍➁✉❻✝✢ ✁ ➝➡↕✵☞❨❿♦❽➀↕✠✚ ❿
➠➡➛✌✢ ➞✫❽➀➛❨➁➙↕ ➞✔✡ ✁ ➛t➝➡➠➡❿✶✁➙➛❨❻ ☞❨❿★✢✶✚ ❿✍➁ ❽➟➞✔✢■➛t➝✱❽➙❿✝✲➡➛t➝✱❽➙➁➙➛❨❽➀➞✝➝✱❽➀❿✝✲ ✢ ➞✝↕✠✁ ☞t❿★✢✶✚✝✡➜➛ ✝➇❿✝✻
↔ ☞➏➞✔✁ ❿✰✢ ➞✝↕✵✁✓✁ ↕✵✢✶✚✝✡ ➛✙✁①➠➡➛❡❽➀➛❨❿✍➁➙↕ ➞ ➐❖➃⑩➫ ➈❥➄❖➈✩✜✍➅➡➫ ➅ ➐❛➅★✒ ☞❨❿★✢ ✚❾➁➙➛t➛❨➝➡➠➡➛❼➞✹❽➀➛t❿✝➁➙↕ ➞❃➠➡➛❨➝➡❿✎✮
✢■↕ ➝ ➞✫➠ ➞ ✽✉➃✴➈➎➌➳→➣➅ ✴♦➦✓✘✥✒✵✒➏→✓✜✍➅➋➐❖➃✪✸❊➦➧➅✥✜✍➅✍✌ ➅➡➫⑥→ ➄❛➅ ➐❛➅ ✲➑➛✙✁ ❽➙❻➡➠ ➞✝➠ ➞ ✚❥❿✍➁ ✂✔↕✵✢■❿★✁✖✞❾➛t➝ ✝✫❿
➛✏✎ ❿✍↕➜➝➡❿☞✄✘✁✞✝✠✒ ✮ ✭❃➁➙➛❨↕✵✆✍➛❨➁☞➛✙✢ ❞✵✯✏✷✛❞ ✙ ✾✏✻✛✚✼✲✴❿✍➝➡➠➡➛ ➞✔✁✿➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✟☎✴➛✫✁ ➝➡❿✍➁✂✢⑩➞✎✡❥➛ ☞t↕✠✁➀➞✔✡✠✞ ➞✝➝✱❽➀➛
❽➙➁➀➞✝➝✝✁ ✟✍➛❨➁✖✁➀➞✎✡✒✁✖✏✝❿✢➠➡➛✙✁✖✚➡➁ ➛ ✔➏➞✫➠ ➞✔✁✫✲❳➠➡➛ ✢■❿➇➠❾❿❄➞✡❿★✷❾❽➙➛t➁ ✮ ✁➙➛⑩➞✔✁✰✞❾↕✵✚ ✦✝❽➀➛✙✁➙➛✫✁❊➠➡➛✫✁✂☞t➁ ↕➜❽➟➞✎✁ ✝ ✁➙➛✽✮
✆✍❻❾➝➡➠➡❿✶✤❳➞✔☞✙☞t❿★✡ ➞ ✙ ✾✏✱ ✚ ✟✥✚ ❿✍➁✺✭❃↕➜➁✖☞ ✞✝✞➡❿ ✁ ➛✫✢ ❞✵✬ ✱✔✿✱✻
✂s➞✔✡➲❽➀➛t❿✝➁➙↕ ➞ ✄ ❿✍↕✴❿✍➁➙↕✠✆✍↕ ➝➡➞✔✡✵✢■➛t➝✱❽➀➛➩➠❾➛✫✁➙➛❨➝ ✟✍❿★✡ ✟➇↕➜➠ ➞✭✚ ➞✫➁➀➞✭✚✝✡ ➞✔☞➏➞✎✁✧✞➡❿✔✢ ❿★✆ ✏t➝➡➛t➞✔✁❳↕✠✁➙❿✝❽➙➁✖✦★✚➡↕✠☞➏➞✔✁✙✻
☞ ❿ ➞✝➝❾❿❼➠➡➛✖❞✸✯✔❀ ✱✯✲ ✄ ❿✍↕✱↕ ➝✱❽➀➁ ❿➇➠❾❻ ✔t↕➜➠➡❿✘✚ ❿✍➁ �❡➛t↕✠✁✖✁➙➝❾➛t➁ ✙ ❀ ✚➇❿ ➛ ✄ ➛❨↕➜❽➙❿ ➠➡➞ ➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✫✏✝❿❼➠❾➛✙✟✴↕ ➠➡❿
➞ ☞❨❿✍➁ ❽➀➞✝➝✱❽➀➛✔✲ ❿✍➁ ↕✵✆✍↕➜➝ ➞✝➝➡➠➡❿ ➞ ☞t❿✍➝❾➠➡↕✵✍✫✏✝❿⑥➠➡➛ ✴➲❻➡➛✒➛✙✡ ➛✫✢■➛t➝✱❽➙❿★✁✼➁➙➛❵❽➀↕✠✡✵✸ ➝❾➛t❿★✁ ➝➡❿✍➁✖✢ ➞✝↕✠✁⑩➞✝❿
✚✝✡ ➞✝➝➡❿✰✢ ☎❨➠➡↕ ❿●➠ ➞✹✚✝✡ ➞✔☞➏➞ ☞t❿✍➝✱❽➙↕ ➝➲❻ ➞✔✢ ✲❾➞✎✚ ✦★✁✉➞♦➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✫✏✝❿✝✲➲➁➙➛❵❽➀↕✵✡✠✸ ➝➡➛❨❿★✁✫✲➲➠➡➛ ❽➟➞✔✡ ✄ ❿✍➁✂✢⑩➞
✴➲❻➡➛ ➝ ✏✝❿ ✠ ☞➏➞✔✢④❿✔✷➡➁➙↕✠✆✱➞✫❽➀❿✝➁➙↕ ➞✎✢ ➛❨➝➲❽➙➛✿➝➡❿✍➁✂✢⑩➞✫↕✵✁✪✛❃❽➟➞✝➝✝✆✝➛t➝✱❽➀➛ ➠ ➞✰✁ ❻✝✚❥➛t➁ ✄ ✸✠☞t↕➜➛ ➠❾➛ ✄ ❿✍➁✂✢⑩➞✝➠➡➞✱✻
✂s➞✔✡①↕➜➠ ☎t↕ ➞⑩❽➟➞✔✢ ✷✆☎✫✢ ✚ ❿✴➠➡➛ ✝ ✁➙➛✫✆✝❻➡➝➡➠➡❿ � ➛❨➠➡➠ ✒ ✙ ✾✔✿✛✚ ✟✭✁➙➛❨➁❊➛❨➝✝☞t❿✝➝➲❽➙➁➀➞✝➠➡➞✡➛✙✢ ❄✿➞✔✁✂✁➙➛❵❽ ✙ ❞ ✚
➛ ✄ ❿✝↕❼➠➡➛❨➝➡❿★✢■↕ ➝ ➞✫➠ ➞ ✚❥❿✍➁ �❡➛t➠➡➠ ✒✑➠➡➛ ✽✉➃✴➈➎➌➳→➣➅ ➐❛➃❁➐❛➃➲➢ ➈➎➌✫➫❯➅★✌✏✎➡➈ ✜✱→✓✒t➅ ➦➧➥❖➅➡➄ ➆➉➃✈➐❛➃
➨❖➌➳→ ➫ ➃✴→➣➌➍➅☎➈➎➌➳➐❛➃➇➫ ✲☎✁ ➛t➝➡➠❾❿⑥➞✢❽➀➛❨❿✍➁➙↕ ➞ ✢⑩➞✝↕✠✁ ✁➙↕✠✢ ✚✱✡ ➛✫✁ ➞ ☞❨❿✍➝✝✁➙↕➜➠➡➛t➁➙➞✝➁ ➞✪➠➡➛ ✄ ❿✍➁✂✢⑩➞✎✍✑✏✝❿
☞t➞✝❻✝✁➀➞✫➠ ➞✶✚❥❿✍➁ ☞❨❿✍➁ ❽➀➞✝➝✱❽➀➛✔✻
✤❖❿✍➁ ☎✙✢ ✲ ✞ �⑥❻✱✢⑩➞✙➠➡↕✵✁✂☞t➁➙➛✙✚ ✂✝➝✝☞❨↕ ➞ ➛❨➝✱❽➀➁➙➛✪➞✎✁ ✄ ❿✍➁✂✍➏➞✔✁ ☞t↕✵✁➙➞✔✡✵✞➡➞✝➝✱❽➀➛✫✁⑩➠ ➞✝➠ ➞✔✁ ✚ ➛✙✡ ➞❯❽➙➛t❿✍➁ ↕ ➞
✽☞➃➲➈➎➌➳→➧➅✙➐❛➃✒➐❛➃✴➢ ➈❥➌➳➫ ➅✥✌✏✎➡➈✰➐❖➃ ✜✱→ ✒t➅➡➦ ➥❛➅ ➄ ➆➉➃❏➨s➌➳→➧➫ ➃✴→➧➌➍➅✒➈➎➌➳➐❖➃✴➫ ✝ ✴➲❻➡➛❊➞✝➠✝✢■↕➜❽➙➛✹❻✝✢
➛✙✁ ❽➟➞✫➠➡❿❏➠❾➛■➠❾➛ ✄ ❿✍➁✂✢⑩➞✔✍✫✏✝❿ ☞t❿✝➝✝✁ ❽➀➞✝➝✱❽➀➛ ➞✝❿ ✡ ❿✍➝✝✆✝❿✭➠ ➞✭➛✫✁✖✚❥➛✫✁✂✁➙❻➡➁➙➞✠✟❃➛ ➞✎✁●➠➡➞✝➠ ➞✔✁✜✚❥➛✫✡ ➞✭❽➙➛✽✮
❿✍➁ ↕ ➞ ➛✫✡ �✔✁ ❽➙↕✵☞➏➞❆❽➀➁ ↕ ➠➡↕✠✢ ➛❨➝✝✁➙↕➜❿✍➝ ➞✔✡ ✝ ☞t❻✂✁➙➞✔✁❼➠❾➛ ✄ ❿✍➁✂✢⑩➞✔✍✆☎➇➛✙✁ ✟✫➞✝➁ ↕ ➞✔✢ ➝❾❿ ✢✶✸ ➝➡↕✠✢ ❿ ✴➲❻ ➞✝➠❾➁➀➞✫❽➙↕ ✮
☞t➞✔✢ ➛❨➝✱❽➀➛❃➞✝❿✹✡ ❿✍➝✝✆✝❿♦➠ ➞✕➛✙✁✖✚❥➛✫✁✖✁ ❻➡➁➀➞ ✟✽✲ ❿★✷➡➁ ↕✵✆✱➞✫➝➡➠➡❿✕➞✎✡✵✆✍❻➡➝✱✁☞➛✫✁ ❽➀❻➡➠❾↕ ❿★✁ ❿★✁✔➞♦↕➜➝➲❽➙➁➙❿✴➠➡❻ ✔❨↕ ➁➙➛✙✢
✄ ➞✫❽➙❿✍➁➙➛✙✁⑩➠➡➛ ☞t❿✍➁ ➁➙➛✙✍✑✏✝❿⑥➠❾➛ ☞t↕✠✁➀➞✔✡✠✞ ➞✔✢■➛t➝✱❽➀❿✱✲✿❿★✁ ✴➲❻ ➞✫↕✵✁⑩➠❾➛✫✚❥➛t➝➡➠➡➛✙✢ ➠➡➞✔✁ ✚➡➁ ❿★✚➡➁ ↕ ➛t➠➡➞✝➠➡➛✫✁
☞❨❿✍➝✝✁ ❽➙↕➜❽➙❻➡↕ ➝✱❽➀➛✙✁✿➠ ➞ ✡✄✂✎✢ ↕➜➝ ➞✱✲➲➠➡❿❆➛✫✁✂✴➲❻➡➛✫✢ ➞■➠❾➛✜✡ ➞✔✢■↕ ➝ ➞✎✍✑✏✝❿✝✲✱➠➡➞ ✆✝➛t❿★✢■➛❨❽➙➁➙↕ ➞✯✲➇➠ ➞✎✁ ☞t❿✍➝➡➠❾↕ ✮
✍✆☎➇➛✙✁ ➠❾➛ ☞❨❿✍➝✱❽➀❿✍➁ ➝➡❿✝✲ ➠➡➛❨➝✱❽➀➁➙➛✾❿✍❻➇❽➀➁➙❿✔✁✫✻
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☞ ❻✝✢⑩➞ ❽➀➛❨➝➲❽➀➞✫❽➀↕ ✟✫➞ ✚ ❿✔✁ ❽➀➛❨➁➙↕➜❿✍➁❼➠❾➛✹✁➙➛♦❿★✷❾❽➀➛❨➁✹❻✝✢ ➞ ✢■➛✫✡✠✞➡❿✍➁ ➠➡↕✵✁✂☞t➁➙➛❵❽➀↕✑✔➏➞✔✍✫✏✝❿⑩➠➡❿ ☞t❿★✢✶✚ ❿✝➁ ✮
❽➀➞✔✢ ➛❨➝✱❽➀❿✒➠ ➞✔✁ ✚✱✡ ➞✔☞t➞✔✁❆➛ ☞➏➞✔✁✂☞➏➞✔✁ ✄ ❿✍➁➙➞✔✢q➠➡➛✫✁ ➛t➝ ✟✍❿★✡ ✟✴↕ ➠ ➞✔✁ ❽➀➛❨❿✍➁➙↕ ➞✔✁✕➝ ➞✎✁ ✴✴❻➡➞✝↕✵✁❆❿★✁❆➠❾➛✫✁ ✮
✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁ ✁✣✏✝❿⑩➛ ✝✯✚ ➞✝➝➡➠❾↕ ➠➡❿★✁ ➝ ➞ ✄ ❿✍➁✂✢⑩➞■➠➡➛ ✚❥❿✝❽ ✏❨➝✝☞t↕ ➞✔✁✭✴➲❻ ➞✝➠❾➁✏�✫❽➙↕✵☞➏➞✎✁ ❿✍❻✢➠❾➛✕❿✍➁➙➠❾➛✫✢
✁ ❻✝✚ ➛❨➁➙↕➜❿✍➁✫✲❖➞✔✆✍➁ ❻✝✚ ➞✝➠➡➞✔✁✾➠➡➛■➞✔☞t❿✍➁ ➠➡❿ ☞t❿★✢❹❿✡➝➡❿★✢■➛ ✽☞➃➲➈➎➌✫→➣➅★✒✲➐❖➃➋➨s➦➣➅★✜✍➅★✒❄➐❛➃✰➐❛➃✴➢ ➈❥➌ �
➫ ➅✥✌✏✎➡➈ ✜✱→✓✒t➅ ➦➧➥❖➅➡➄ ➆➉➃✢➐❛➃✢➈➎➌➳➐❖➃✴➫ ✒➏➒❛➨➩➃➲➌✫→➣➈➎➌➲➤
✕ ➛ ❽➀❿✴➠ ➞✔✁✉➞✔✁ ❽➀➛t❿✝➁➙↕ ➞✎✁ ➠❾➛ ❿✍➁ ➠➡➛✫✢ ✁➙❻✱✚ ➛❨➁➙↕ ❿✝➁✉➞●➠➡➛ �❡➛t➠❾➠ ✒ ✝✼❞✸✯✏✬✎❀ ✟ ✙ ❞ ✫ ✚ ✄ ❿✍↕➎➞ ✚➡➁➙↕✠✢ ➛❨↕ ➁➙➞●➞
❿★✷➇❽➀➛t➁ ➞✔✁ ➛✙✴✴❻➡➞✔✍✟☎✴➛✫✁✉➠➡➛❡➛✫✴➲❻➡↕✵✡✠✸✵✷➡➁ ↕ ❿❃➠➡➛❡❻✝✢ ➞✜✢⑩➞✫➝➡➛t↕➜➁➀➞✜☞t❿✍➝✱✁➙↕✵✁ ❽➀➛❨➝➲❽➙➛✰✲➲➠ ➞✫➝➡➠➡❿●➛✫✴➲❻ ➞✔✍✆☎➇➛✙✁
➞✝❻➇❽➀❿✎✮ ➞✂✁ ❻✝✁ ❽✏�✑✟✍➛t↕✠✁✫✲❝❿✝➝➡➠➡➛❆➞ ✄ ❿✍➁✂✢⑩➞■➛✕❿✼❽➀↕✠✚ ❿ ➠➡➛ ☞❨❿✍➝➡➠➡↕✠✍✟☎✴➛✫✁✹➠➡➛ ☞❨❿✍➝✱❽➀❿✍➁ ➝➡❿ ☞t❿✝➝ ✟✝➛t➁✂✆✍➛✫✢
❻➡➝❾↕✵☞➏➞✎✢ ➛❨➝➲❽➙➛✔✻✧✤➩➁➙❿★✚✁�★✁❋❽➟➞✔✢✹✷ ☎✙✢ ✲➍➝➡❿❼➞✝➝➡❿❡➠➡➛✖❞✸✯✏✯★✿ ✙ ❞✼✱✛✚❂✲➳❻✝✢ ➞✘✢■❿✴➠➡↕✡✠ ☞t➞✔✍✑✏✫❿✔➝ ➞❡❽➙➛t❿✍➁ ↕ ➞
✚➡➁ ❿★✚❥❿★✁ ❽➀➞ ✚ ❿✝➁ ✹❋❿✼➛❨❽❃➞✔✡ ✙ ❞✸✬ ✚ ✙ ✻ ✚✥✲ ➝ ➞ ✴➲❻ ➞✔✡❳❿✔✁✹➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿★✁ ➝➡❿ ✚✱✡ ➞✝➝➡❿ ➠ ➞ ✚✝✡ ➞✔☞➏➞
✁✖✏✝❿⑥➛ ✝✯✚ ➞✫➝➡➠➡↕ ➠❾❿★✁✭➛✫✢ ✄ ❿✍➁✖✢ ➞❯➠❾➛ ✚ ❿✫❽ ✏t➝✱☞t↕ ➞✎✁ ☞ ✁ ✷❾↕✵☞➏➞✎✁ ✝➧➛✙✢ ➁ ➛✫✡ ➞✎✍✑✏✝❿ ✛ ☞t❿✴❿✍➁➙➠➡➛❨➝ ➞✝➠ ➞
✔ ✟✽✲❋➛t➝✱✴✴❻➡➞✝➝✱❽➀❿ ✴➲❻➡➛ ❿✭➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✼❽➙➁➀➞✝➝✱✁✂✟✍➛❨➁✖✁➙➞✔✡ ☎✕➛ ✝✯✚ ➞✫➝➡➠➡↕ ➠❾❿ ✁ ➛✫✆✍❻❾➝➡➠➡❿ ✚ ❿✫❽ ✏t➝✱☞t↕ ➞
✴➲❻ ➞✝➠❾➁✏�✫❽➙↕✵☞➏➞✭➠➡➛ ✔ ✝➣➠➡➛t➝➡❿✔✢ ↕➜➝ ➞✝➝➡➠➡❿ ✮ ✁➙➛ ✽✉➃✴➈➎➌➳→➣➅ ✖➎➃➲➌➍➅ ➦❃➐❛➃ ➆➉➃➲➌✙✜✍➃➇→➣➌➍➅✰➈❥➌➳➐❛➃✴➫ ✟✽✻ ✂s➞✔✡
✢■❿➇➠❾↕✡✠ ☞t➞✔✍✑✏✝❿✭☞t❿✍➝✝✁ ↕✵✁ ❽➀↕ ❻ ➛✙✢④➞✝➝➲❻✝✡ ➞✫➁ ✮ ✁ ➛✔➞✹❽➀➛❨➝✝✁✣✏✝❿ ☞t↕✠✁➀➞✔✡✠✞ ➞✝➝✱❽➀➛✿❽➙➁➀➞✝➝✱✁✂✟✍➛❨➁✖✁➙➞✔✡➎➝➡❿★✁✓✚✝✡ ➞✝➝➡❿★✁
✁ ❻✝✚ ➛❨➁➙↕➜❿✍➁①➛❡↕ ➝ ✄ ➛❨➁➙↕➜❿✍➁❳➠ ➞✜✚✝✡ ➞✔☞➏➞✯✲✍➁➙➛✙✁➙❻✝✡ ❽➟➞✝➝➡➠❾❿●➝➡➞❃❽➙➛t❿✍➁ ↕ ➞✹➠➡➛✔❽➙➛t➁✖☞❨➛t↕➜➁➀➞❃❿✍➁➙➠❾➛✫✢ ➠❾➛ �❡➛t➠❾➠ ✒★✲
✁ ↕✵✢ ✷❥❿★✡ ↕✑✔➏➞✝➠➡➞✰✚❥❿✍➁ ✽☞➃➲➈➎➌✫→➣➅✪➃✧✒t➨➩➃✧✜✱→➧➅ ➦☞➐❖➃✲➆➉➃➲➌ ✜✍➃✴→➣➌➍➅✒➈❥➌➳➐❛➃✴➫ ✻
❺ ✁ ❽➀➛❨❿✍➁➙↕ ➞✔✁ ☞❨❿✍➁➙➁ ➛✫✁✂✚ ❿✍➝❾➠➡➛t➝✱❽➀➛✙✁✡➞✝❿ ✆✍➁ ❻✝✚❥❿ ➐❛➅★✒✯➫❯➈ ➄❛➈✩✜✍➅ ➫❯➅ ➐❖➅✥✒ ➠➡➛✫✁✂☞t➁➙↕ ❽➀❿➋➞✫➝➲❽➙➛t➁ ↕ ✮
❿✍➁✂✢ ➛❨➝✱❽➀➛❄➝✝✏✝❿✰➞✔✚➡➁ ➛✫✁➙➛❨➝✱❽➟➞✔✢ ✷ ❿✍➝✱✁✼➁➙➛✙✁➙❻✝✡ ❽➟➞✝➠➡❿✔✁ ✴➲❻ ➞✝➝➡➠❾❿✰➞ ✚✝✡ ➞✔☞t➞ ☎ ☞❨❿★✢✶✚ ❿★✁ ❽➟➞ ✚❥❿✍➁
✟✁�✝➁ ↕ ➞✔✁✓☞t➞✔✢⑩➞✫➠ ➞✔✁✫✲ ✄ ❿✍➁✂✢⑩➞✫➠ ➞✔✁✪✚ ❿✝➁ ➠❾↕ ✄ ➛t➁ ➛t➝✱❽➀➛✙✁✉❽➙↕✵✚❥❿★✁➩➠➡➛✭✢ ➞✫❽➙➛t➁➙↕ ➞✝↕✵✁✙✲✍❿★✷➡➁ ↕✵✆✱➞✫➝➡➠➡❿✾➝➡➛✫✁ ❽➀➛✙✁
☞t➞✔✁➙❿★✁✙✲☞➞✢❻➇❽➀↕✵✡➜↕ ✔t➞✔✍✑✏✝❿❏➠➡➛✲➞✔✚➡➁ ❿ ✝➇↕✠✢⑩➞✔✍✆☎➇➛✙✁ ☞t❿✔✢❬➁➙➛✙✡ ➞✔✍✫✏✝❿❄❽➀➞✝➝✱❽➀❿ ✛✢❽➀➛t➝✱✁✣✏✝❿ ✴➲❻ ➞✝➝✱❽➀❿✙➞✝❿
➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿■➞✝❿✶✡ ❿✍➝✝✆✝❿■➠➡➞■➛✙✁✖✚❥➛✫✁✖✁ ❻➡➁➀➞ ➠ ➞✶✚✱✡ ➞✔☞t➞ ✢♦❻✝✡➜❽➙↕✵☞➏➞✎✢⑩➞✝➠➡➞✱✻ ✂s➞✝↕✵✁✔❽➀➛❨❿✍➁➙↕ ➞✔✁✘✁✣✏✝❿
➞✔✆✝➁➙❻✝✚ ➞✫➠ ➞✔✁ ✚❥➛✫✡ ❿ ➝➡❿✔✢ ➛ ✽☞➃➲➈➎➌➳→➧➅✪➐❛➃ ✜✍➅ ➫❯➅ ➐❖➅✥✒ ✲➎➠➡➛●➞✔☞t❿✍➁ ➠➡❿ ☞t❿★✢ � ➛❨➠➡➠ ✒ ✙ ✾✔✿ ✚✼✻
☞ ➛✫✁ ❽➙➛✥✁ ➛t➝✱❽➀↕➜➠➡❿✝✲ ✚ ❿✴➠➡➛✫✢ ✁ ➛t➁❃☞t↕ ❽➟➞✝➠➡❿✔✁✫✲➳➠➡➛✿➞✔☞❨❿✍➁➙➠❾❿ ☞❨❿★✢ � ➛❨➠➡➠ ✒✔✲✍➞✔✡✠✆✍❻➡➝✝✁ ✚❥➛✫✁✖✴➲❻➡↕✠✁➀➞✝➠❾❿✍➁➙➛✙✁
☞❨❿★✢ ❿ ✤➩➁ ✒✍❿✍➁✾➛✶❄✿➞✝➁ ✝✝➛t➁ ✙ ✾✎❀ ✚ ✲ ☞❨❻ ✁➙➞✼❽➀➛t❿✝➁➙↕ ➞✭➞✎✚➡➁➙➛✙✁➙➛t➝✱❽➀➞ ✟✫➞✲❻✝✢ ✢■❿➇➠➡➛✙✡ ❿ ✷➡➞✔✁➙➛t➞✝➠➡❿✲➛✫✢
➛✙✡ ➛✫✢■➛t➝✱❽➙❿★✁ ✠ ➝➡↕➜❽➙❿★✁✪☞t❻ ✁➙➞✎✁ ✄ ❻➡➝✝✍✆☎➇➛✙✁ ✄ ❿✝➁➀➞✔✢ ☞❨❿✍➝✝✁ ↕ ➠➡➛❨➁➀➞✝➠ ➞✎✁✒✡➜↕ ➝➡➛t➞✝➁➙➛✙✁ ➛✙✢ ☞➏➞✝➠➡➞ ☞t➞✔✢⑩➞✫➠ ➞✱✲
➞✔✡✑☎✫✢ ➠➡➛✾❿✍❻❾❽➀➁ ❿★✁ ✚❥➛✫✁✖✴➲❻➡↕✠✁➀➞✝➠❾❿✍➁➙➛✙✁✫✻
❁ ➁ ↕ ➝➡↕ ✟✫➞✔✁ ✙ ✾ ✷✛✚s➠❾➛✫✁✖☞❨➁➙➛✽✟✍➛t❻✪❿ ☞➏➞✔✢✶✚ ❿ ➠➡➛♦➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿★✁ ☞t❿✔✢ ❿ ✄ ❻➡➝✝✍✆☎➇➛✙✁✭✁➙❻➡➞ ✟✝➛✫✁ ✝➣➛✫✢
☞t➞✝➠ ➞ ☞t➞✔✢ ➞✝➠ ➞✠✟✹➛ ☞❨❿✍➝✱❽✣✸➜➝✴❻➡➞✔✁✹✚ ➞✫➁➀➞❏❻✱✢❹➝ ✁ ✢ ➛❨➁➙❿✒➞✝➁✂✷➡↕➜❽➙➁✏�✝➁ ↕ ❿✭➠➡➛ ☞➏➞✔✢ ➞✝➠ ➞✎✁✫✲❳➠❾➛✫✁✖✚❾➁➙➛✽✮
✔t➞✝➝➡➠➡❿ ➞✝↕ ➝❾➠ ➞ ✴➲❻ ➞✔✡✵✴➲❻➡➛❨➁ ✄ ➞✫❽➀❿✍➁✔➠❾➛ ☞❨❿✍➁➙➁ ➛✫✍✫✏✝❿ ➠➡➛✌☞t↕✵✁➙➞✔✡✵✞➡➞✔✢ ➛❨➝✱❽➀❿✝✻
↔ ❻❾❽➙➁➙❿★✁✒✚ ➛✙✁✖✴➲❻➡↕✵✁➙➞✝➠➡❿✍➁ ➛✫✁ ✴➲❻➡➛ ☞t➞✔✷❥➛✫✢ ✁➙➛t➁✥✢ ➛❨➝✝☞t↕➜❿✍➝ ➞✝➠➡❿✔✁☞➝➡➛✙✁ ❽➀➛✜✆✝➁➙❻✝✚❥❿ ✁✣✏✫❿ ✕ ↕ ❁ ☞t↕ ❻✯✟✝➞
✙ ❞✸✯✛✚☎✴➲❻➡➛✶✚➡➁➙❿✔✚✂�★✁✾❻✝✢ ☞➏➞✔✢✶✚ ❿✡➠➡➛■➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿★✁✌✴➲❻➡➛ ✚❥➛t➁✂✢ ↕ ❽➀➛ ➞ ✟✫➞✝➁➙↕ ➞✔✍✑✏✝❿ ✡➜↕ ➝➡➛t➞✝➁
➠➡❿✔✁✓☞t❿★✢✶✚ ❿✝➝➡➛t➝✱❽➀➛✙✁ ➠➡➛❡➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁✓☞t❿★✚✝✡ ➞✝➝ ➞✝➁ ➛✫✁✙✲➇➞✎✁✖✁➙❻✱✢ ↕➜➝➡➠➡❿✜✴➲❻➡➛ ➞✜☞t❿★✢✶✚ ❿✝➝➡➛t➝✱❽➀➛
➠➡➛ ➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿❏❽➀➁➙➞✝➝✝✁ ✟✍➛t➁✂✁➀➞✔✡ ❽➀➛✙✢ ✟✫➞✔✡➜❿✍➁✌☞t❿✍➝✝✁ ❽➟➞✝➝✱❽➙➛✔✻❄❺ ☞t❿✍➝✱❽➙↕ ➝➲❻➡↕ ➠➡➞✝➠➡➛⑩➠➡➞✔✁❊❽➙➛t➝✯✮
✁✌☎➇➛✙✁✧☞❨↕✵✁➀➞✎✡✵✞ ➞✝➝✱❽➙➛✫✁❖➝ ➞✔✁❖↕ ➝✱❽➀➛❨➁ ✄ ➞✔☞❨➛✫✁❃✡ ➞✔✢■↕ ➝ ➞✫➁➙➛✫✁ ☎ ✄ ❿✍➁✂✍➏➞✝➠ ➞✯✻ ✤❖❿★✁ ❽➙➛t➁➙↕➜❿✍➁✖✢■➛t➝✱❽➙➛✔✲ ✕ ↕ ❁ ☞t↕ ❻✯✟✝➞
❻❾❽➙↕✵✡➜↕ ✔➏➞●➛✫✁ ❽➟➞ ✄ ❿✍➁✂✢✕❻✝✡ ➞✎✍✑✏✝❿✰✚ ➞✝➁➀➞✕➠❾➛✫✁➙➛❨➝ ✟✍❿★✡ ✟✍➛t➁ ❻✝✢ ➛✫✡ ➛✙✢ ➛❨➝✱❽➀❿❆➠➡➛ ✚✱✡ ➞✔☞t➞ ✢✕❻✝✡➜❽➙↕✵☞t➞✔✢⑩➞✫➠ ➞
➞✝➝❾↕✵✁➙❿✫❽➀➁✖✦✔✚➡↕✵☞❨❿✝✲ ☞t❿✍➝✝☞✙✡ ❻➡↕➜➝➡➠➡❿ ✴➲❻➡➛✾➞✰✁➙❿★✡➜❻✝✍✑✏✝❿♦➠➡❿ ✚➡➁➙❿✔✷✝✡ ➛✙✢⑩➞ ☎ ✁➀➞✫❽➙↕✵✁ ✄ ➞✫❽✣✦✍➁ ↕ ➞❃❽➟➞✝➝✱❽➙❿ ✚ ➞✝➁➀➞
✚✝✡ ➞✔☞➏➞✎✁ ✠ ➝➡➞✔✁✭✴➲❻ ➞✝➝✱❽➙❿ ✚ ➞✝➁➙➞ ✆✍➁ ❿★✁✖✁➙➞✔✁✭✁ ❿★✷✒➞✔✍✫✏✝❿⑩➠➡➛✰☞➏➞✝➁✂✆✱➞ ➛✙✁ ❽✏�✫❽➀↕✠☞➏➞✱✻ ↔ ❻❾❽➀➁ ❿★✁✭✚❥➛✫✁✂✴➲❻➡↕ ✮
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✁➙➞✝➠➡❿✍➁ ➛✫✁ ➞✝↕ ➝❾➠ ➞ ✚➡➁➙❿★✚❾❻✝✁➙➛❨➁➀➞✔✢♥❿✝❻❾❽➀➁➙➞✔✁❡➠➡↕✠✟✝➛t➁✖✁➙➞✔✁✔❽➀➛❨❿✍➁➙↕ ➞✔✁✫✻
☞ ❿✭➞✝➝➡❿✼➠❾➛ ✾✔✿★✿✔✿✱✲ ✕ ➛✙✟ ✡ ❿✴❿✼➛ ✗✲➛t➝➡➛ ✔t➛✫✁ ✙ ✯ ✚❳➞✔✚➡➁➙➛✙✁➙➛❨➝➲❽➀➞✝➁➀➞✎✢❷➠➡❻➡➞✔✁ ✄ ❿✍➁✂✢✕❻✝✡ ➞✎✍✟☎✴➛✫✁ ✚ ➞✝➁➀➞
➞✝➝ �✔✡ ↕✠✁➙➛✕➠➡➛ ✚✝✡ ➞✔☞➏➞✎✁✜✢✕❻✝✡➜❽➙↕✵☞t➞✔✢⑩➞✫➠ ➞✔✁✫✲ ✁➙↕✠✁ ❽➀➛✙✢⑩➞➳❽➀↕ ✔t➞✝➝➡➠➡❿✡➞✭❿★✷➇❽➀➛t➝✱✍✑✏✝❿✲➠➡❿★✁✜☞❨❿➇➛ ✠ ☞t↕➜➛t➝✱❽➀➛✙✁
➠ ➞ ✢ ➞✫❽➀➁ ↕ ✔✕➠❾➛■➁ ↕✵✆✍↕➜➠➡➛ ✔♦➛■➠➡➞ ☞❨❿✍➝✱❽➀➁➙↕✠✷➡❻➡↕✠✍✑✏✝❿✭➠ ➞ ☞➏➞✫➁✖✆✱➞✭➝➡❿✴➠ ➞✔✡①➛✙✴➲❻➡↕✠✟✫➞✔✡➜➛t➝✱❽➀➛❆➛✙✢ ☞➏➞✝➠ ➞
➝✝✦ ✚ ➞✝➁➀➞ ❿ ✟✍➛❵❽➀❿✍➁✹➠❾➛✹☞➏➞✫➁✖✆✱➞⑩➠❾❿ ✁➙↕✠✁ ❽➀➛✙✢⑩➞ ➛✫✁ ❽➙➁➙❻❾❽➙❻➡➁➀➞✎✡✳✲ ✚❥❿✴➠➡➛t➝➡➠❾❿✭➞✔✆✍➁ ❻✝✚ ➞✝➁❼❿★✁❼❽➙➛t➁✖✢■❿★✁
✴➲❻➡➛ ✢✕❻✝✡➜❽➙↕✵✚✝✡➜↕✵☞t➞✔✢❬➞✎✁ ✄ ❿✍➁✂✢⑩➞✔✁ ✴➲❻ ➞✝➠❾➁✏�✫❽➙↕✵☞➏➞✎✁ ➠➡❿✔✁⑩➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿★✁✫✲✔➝➡➞ ✄ ❿✍➁✂✢⑩➞✪➠➡➛ ✯
✢ ➞✫❽➀➁ ↕ ✔❨➛✫✁❆➠➡➛ ☞t❿✝➝➲❽➙➁➙↕✠✷➡❻➡↕✵✍✫✏✝❿✝✻ ✄✓✁✖✁➙➞✙❽➙➛t❿✍➁ ↕ ➞ ✚➡➁➙❿✔✚ ☎✴➛✽✮ ✁➙➛✭❽➟➞✔✢✹✷ ☎✙✢ ✛ ✢ ❿✴➠➡➛✫✡ ➞✔✆✍➛✙✢ ➠➡➛
✚✝✡ ➞✔☞➏➞✎✁ ✝➧➛✌☞➏➞✔✁✂☞➏➞✔✁ ✟ ✡ ➞✔✢■↕ ➝ ➞✫➠ ➞✔✁✥☞❨❿★✢✶✚ ❿★✁ ❽➟➞✔✁❡➠➡➛✌☞t➞✔✢⑩➞✫➠ ➞✔✁✔❿✍➁ ❽➀❿✝❽➙➁✖✦★✚➡↕✠☞➏➞✔✁✙✻
✂ �❄➞✝↕➜➝➡➠ ➞❄➞❏❻❾❽➀↕✠✡ ↕ ✔t➞✔✍✑✏✫❿✲➠❾➛ ❀❁➈❋➐❛➃➇➦➣➈ ✒✁�❄→➣➃➲➌✙✘❾➌ ✟➑➒s→✓✜✍➈ ✒ ✴➲❻➡➛✼❻➇❽➀↕✵✡➜↕ ✔t➞✔✢ ✁ ➛✫✴➲❻ ✏t➝✱☞t↕ ➞✎✁
✞➡↕➜➛t➁☞�✝➁✖✴➲❻➡↕✠☞➏➞✔✁❼➠➡➛❆➞✔✚➡➁ ❿✞✝❾↕✠✢⑩➞✎✍✑✏✝❿ ☞t❿✍➝✝✁ ❽➀➁ ❻✝✸ ➠ ➞✎✁✹➠➡➛♦❽➀➞✔✡✧✢■❿✴➠➡❿ ✴➲❻➡➛❆➞ ✁ ❿★✡ ❻✝✍✫✏✝❿✭➞✔✚❾➁➙❿✞✝➇↕ ✮
✢ ➞✝➠ ➞ ☞t❿✝➁➙➁➙➛✙✁✖✚❥❿✍➝➡➠➡➛❨➝✱❽➀➛✼➞✫❿ ✢■❿➇➠❾➛✫✡ ❿ ✞❾↕ ➛t➁☞�✝➁✖✴➲❻➡↕✠☞t❿ ☞t❿✝➝ ✟✝➛t➁✂✆✍➛ ✚ ➞✫➁➀➞✲➞ ✁ ❿★✡ ❻✝✍✫✏✝❿✡➛ ✝❾➞✫❽➀➞
➠➡❿✹✢ ❿✴➠➡➛✫✡➜❿●❽➙➁➙↕➜➠➡↕✵✢■➛t➝✝✁ ↕ ❿✍➝➡➞✔✡ ☞t❿★✢✶✚✝✡➜➛❨❽➀❿ ➤ ☞ ➛✫✁ ❽➙➛✜✁➙➛❨➝➲❽➙↕ ➠➡❿♦❻✝✢ ↕✠✢ ✚❥❿✍➁ ❽➟➞✝➝✱❽➀➛ ➝➡❿★✢■➛✭✴➲❻➡➛
✚❥❿➇➠❾➛✒✁ ➛t➁ ☞❨↕➜❽➀➞✝➠➡❿ ☎ ❁ ✔t➞✔✷ ❿ ✴➲❻➡➛☞➠➡↕✠✁✖☞❨❻❾❽➀➛✉➛✫✢ ✙ ❞❵❞ ✚➇➞ ☞t❿✝➝✝✁ ❽➙➁➙❻✝✍✫✏✝❿✹➠➡➛✒✢ ❿✴➠➡➛✫✡➜❿★✁ ✞➡↕➜➁✏�✝➁✂✴✴❻❾↕ ✮
☞❨❿★✁✪✚ ➞✝➁➀➞✜✚✝✡ ➞✔☞➏➞✎✁✓✞➡❿★✢■❿★✆ ✏t➝❾➛➏➞✔✁➩↕✠✁➙❿✝❽➙➁✖✦★✚➡↕✠☞➏➞✔✁❳❻❾❽➀↕✠✡ ↕ ✔t➞✝➝➡➠➡❿✹➞ ✄ ❿✝➁✖✢✕❻✝✡ ➞✔✍✑✏✫❿❃➠➡➛❡➛✫✡ ➛✙✢ ➛❨➝✱❽➀❿★✁
✠ ➝❾↕➜❽➀❿✔✁✭➛✒↕✵✢✶✚✝✡ ➛✙✢ ➛❨➝➲❽➀➞✔✍✑✏✫❿ ☞t❿★✢✶✚➡❻❾❽➀➞✔☞t↕➜❿✍➝ ➞✔✡❼➠➡➛ ✁➙➛✙✴✴❻ ✏t➝✝☞❨↕ ➞✔✁ ✞➡↕➜➛t➁✏�✫➁✖✴➲❻➡↕✵☞t➞✔✁✭❿✍➝➡➠❾➛❯➞
➁ ➛✫✚➡➁ ➛✫✁➙➛❨➝✱❽➟➞✔✍✫✏✝❿✕❽➀➁ ↕ ➠➡↕✠✢ ➛❨➝✝✁➙↕➜❿✍➝ ➞✔✡ ☎ ➛ ✝➇↕✠✆✍↕ ➠ ➞✯✻ ✤s❿✔✁ ❽➀➛❨➁➙↕➜❿✍➁✖✢■➛t➝✱❽➀➛✎✲❾➛✙✢ ✙ ❞ ✾ ✚ ✁✖✏✝❿✕➞✔✚❾➁➙➛✫✁ ➛t➝✯✮
❽➀➞✝➠➡❿★✁❼❿★✁ ✚➡➁ ↕ ➝✝☞✙✸✵✚➡↕➜❿★✁ ✴➲❻➡➛✹✆✍❿ ✟✍➛t➁ ➝ ➞✔✢ ➞ ✁➙➛✙✴✴❻ ✏t➝✝☞❨↕ ➞✭➠➡➛ ✢■❿➇➠❾➛✫✡ ❿✔✁ ✞➡↕➜➛t➁☞�✝➁✖✴➲❻➡↕✠☞t❿★✁ ✚ ➞✝➁➀➞
☞❨❿★✢ ✚❥❿★✁ ❽➀❿★✁ ✡ ➞✔✢■↕ ➝ ➞✝➠❾❿★✁✫✻ ↔ ❻❾❽➀➁➙➞✔✁ ✄ ❿✍➁✂✢✕❻✝✡ ➞✎✍✟☎✴➛✫✁ ✞➡↕➜➛t➁☞�✝➁✖✴➲❻➡↕✠☞➏➞✔✁ ✁✖✏✝❿✡➠➡➛✫✁ ➛t➝ ✟✍❿✔✡✠✟✴↕ ➠ ➞✎✁●➛
❻❾❽➙↕✵✡➜↕ ✔➏➞✫➠ ➞✔✁☞➛✙✢ ✙ ✫ ✚✳✻
☞ ❿ ☞t➞✔✁➙❿✲➠ ➞✔✁❃❽➙➛t❿✍➁ ↕ ➞✔✁✹➠❾➛t➝➡❿★✢■↕ ➝➡➞✝➠ ➞✔✁ ✽☞➃➲➈➎➌➳→➧➅ ✜✍➈❥➄ ➆✆☎➧➄❝➒❛➅ ✲❝❽➀❿✴➠ ➞✔✁❃❽➙➁➙↕ ➠❾↕✵✢■➛t➝✝✁ ↕ ❿✍➝ ➞✫↕✵✁✫✲
✚❥❿➇➠❾➛✽✮ ✁ ➛✌☞t↕➜❽➀➞✝➁ ☞t❿✔✢ ❿ ✚➡↕➜❿✍➝➡➛t↕➜➁➙❿ ✄ ✡ ➞✔✁ ❿ ✟ ✙ ✾ ✚✳✲❂✴➲❻➡➛●➞✔✚➡➁ ➛✫✁➙➛❨➝✱❽➀❿✍❻✢❻✱✢⑩➞ ✁➙❿✔✡ ❻✝✍✫✏✝❿ ➛✫✡ �✎✁ ❽➀↕✠☞➏➞
❽➙➁➙↕ ➠❾↕✵✢■➛t➝✝✁ ↕ ❿✍➝ ➞✎✡✓✚ ➞✝➁➀➞❏❿ ☞➏➞✔✁ ❿✒➠➡➛ ✚✝✡ ➞✎☞➏➞✔✁❊↕✵✁➙❿✫❽➀➁✖✦✔✚➡↕✵☞t➞✔✁✹✞➡❿✔✢ ❿★✆ ✏t➝➡➛t➞✔✁✹✁ ↕✵✢✶✚✝✡ ➛✙✁✖✢■➛t➝✱❽➀➛
➞✔✚❥❿✍↕ ➞✝➠ ➞✔✁✙✻ ✤❖❿★✁ ❽➙➛t➁➙↕➜❿✍➁✖✢■➛t➝✱❽➙➛✔✲❃☞t❿★✢❹❿✲➠➡➛✫✁ ➛t➝ ✟✍❿✔✡✠✟✴↕✵✢■➛t➝✱❽➀❿❄➠➡➛ ✢ ➞✫❽➙➛t➁➙↕ ➞✝↕✵✁✭☞t❿★✢✶✚ ❿✔✁ ❽➀❿✔✁✫✲
✁ ❻➡➁✖✆✍↕➜➁➀➞✔✢ ❿✍❻❾❽➙➁➙❿★✁✔➛✙✁ ❽➀❻❾➠➡❿★✁✫✲❂✚➡➁ ❿✯☞❨❻➡➁➀➞✫➝➡➠➡❿■➠➡➛✫✁✂☞t➁➙➛✽✟✍➛❨➁ ➠➡➛ ✄ ❿✍➁✂✢⑩➞ ✢ ➞✝↕✵✁✿➞✔✚➡➁➙❿✞✝➇↕✵✢ ➞✝➠ ➞✕❿
☞❨❿★✢ ✚❥❿✍➁ ❽➟➞✔✢■➛t➝✱❽➀❿❆➠❾➛✾❽➀➞✝↕✵✁ ✢ ➞✫❽➙➛t➁➙↕ ➞✝↕✵✁✙✻
✕ ➛✙✁✖✁ ➛✜✢ ❿✴➠➡❿✝✲➇➞✔✡✵✆✝❻➡➝✝✁☎✚ ➛✙✁✖✴➲❻➡↕✵✁➙➞✝➠➡❿✍➁ ➛✫✁✔➛✙✁ ❽➀❻❾➠ ➞✝➁➀➞✎✢ ❿ ☞❨❿★✢✶✚ ❿✍➁ ❽➟➞✔✢■➛t➝✱❽➙❿❊➠➡↕➜➝ ✂✔✢■↕✵☞❨❿❊➠➡➛
✚✝✡ ➞✔☞➏➞✎✁✿➁➙➛❵❽➟➞✝➝✝✆✝❻✝✡ ➞✝➁ ➛✫✁✙✲ ➞✔✚➡➁ ➛✫✁➙➛❨➝✱❽➟➞✝➝➡➠❾❿ ✁ ❿★✡ ❻✝✍✆☎➇➛✙✁✔➞✝➝ ➞✎✡✵✸➜❽➙↕✵☞t➞✔✁✒✚➡➞✝➁➀➞❆❿ ☞➏➞✎✁➙❿ ➠➡➛✄✂ ➛☛✝✝✏✫❿■➛
✟✴↕✵✷❾➁➀➞✔✍✫✏✝❿⑩➠➡➛✹✚✝✡ ➞✔☞t➞✔✁ ➁ ➛❨❽➀➞✝➝✝✆✍❻✝✡ ➞✝➁➙➛✙✁ ➞✫➝➡↕✵✁ ❿✝❽➀➁✂✦★✚➡↕✵☞t➞✔✁ ✢✕❻✝✡➜❽➙↕✵☞t➞✔✢⑩➞✫➠ ➞✔✁✫✲➎❿✍❻❄➠➡➛✫✁ ➛t➝ ✟✍❿★✡ ✟✍➛ ✮
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✴➲❻ ➞✝➝❾➠➡❿✹☞❨❿★✢ ✚➡➞✝➁➀➞✝➠➡➞✰✛✔✁✉❿✍❻❾❽➙➁➀➞✔✁ ➠➡❻ ➞✔✁ ➠➡↕✠✢ ➛❨➝✝✁☞☎✴➛✫✁ ➠➡❿♦➛✙✡ ➛✙✢ ➛❨➝➲❽➙❿ ✝ ✡ ➞✝➁✂✆✍❻➡➁➀➞❃➛ ☞t❿★✢✶✚➡➁➙↕ ✮
✢■➛t➝✱❽➀❿✠✟✽✻ ✂❳➞✔✢✹✷ ☎✙✢ ☎ ➝❾➛✫☞t➛✙✁✖✁☞�✝➁➙↕➜❿ ✴➲❻➡➛✉➠❾➛✫✁➙➛✙✢ ✚❥➛t➝✱✞➡➛ ✄ ❻➡➝✱✍✑✏✝❿ ➛✫✁ ❽➀➁➙❻➇❽➀❻➡➁➙➞✔✡✳✲✎✁➙❻✝✚❥❿✍➁ ❽➀➞✝➝➡➠➡❿
☞t➞✝➁✖✆✱➞✎✁✓✴✴❻❾➛ ✚❥❿✴➠➡➛✫✢ ➛✙✁ ❽➀➞✝➁ ➞✔✚✝✡➜↕✵☞➏➞✫➠ ➞✔✁ ✚❥➛t➁✂✚ ➛❨➝➡➠➡↕✵☞❨❻✝✡ ➞✫➁✖✢■➛t➝✱❽➀➛❡➞✝❿✜✁ ➛t❻ ✚✝✡ ➞✝➝❾❿✜✢ ☎❨➠➡↕ ❿❃❿✍❻
✢■➛✫✁✂✢ ❿♦➞✔✚✝✡ ↕✠☞➏➞✝➠➡➞✔✁✒✚➡➞✝➁➀➞✔✡➜➛✫✡ ➞✔✢ ➛❨➝✱❽➀➛ ➞♦➛✫✁ ❽➀➛ ✚✱✡ ➞✝➝➡❿ ✝➧❿✍❻ ✁➙➛ ✁➙➞✯✲✱✚❥➛t➁✖✚❥➛t➝❾➠➡↕✵☞❨❻✝✡ ➞✝➁✒✛♦➛✙✁✖✚❥➛✫✁ ✮
✁ ❻➡➁➀➞✙➠ ➞ ✚✱✡ ➞✔☞t➞✠✟✽✲☎☞➏➞✔✁ ❿ ➛✙✢ ✴✴❻❾➛ ✚❥❿➇➠❾➛✲❻➇❽➀↕✵✡➜↕ ✔t➞✝➁ ✮ ✁➙➛✭❿✙➛✫✁ ❽➀➞✝➠➡❿ ✚✝✡ ➞✝➝❾❿✙➠❾➛✲❽➙➛t➝✝✁✖✏✝❿ ➝ ➞
➞✝➝ �✔✡ ↕✠✁➙➛✹➠➡➛✌✁ ➛t❻ ☞❨❿★✢✶✚ ❿✍➁ ❽➟➞✔✢■➛t➝✱❽➙❿✝✻
✕ ➛✙✁➙↕✠✆✍➝ ➞✔✢■❿★✁ ☞➏➞✎✢⑩➞✝➠➡➞ ❻✱✢✺☞t➛t➁ ❽➀❿■➠➡❿★✢✶✸ ➝➡↕➜❿ ✝ ➞✎✡➜❽➀❻❾➁➀➞✱✲✯✡ ➞✝➁✂✆✍❻➡➁➀➞✯✲✝☞t❿★✢✶✚➡➁ ↕✵✢■➛t➝✱❽➀❿ ✟☎☞t❻ ✁ ❿★✁
✚❥❿✍➝✱❽➀❿★✁ ✚❥➛t➁ ❽➀➛t➝✱☞t➛t➝✱❽➙➛✫✁①➞✫❿ ✢■➛✫✁✂✢ ❿✔➛✙✁ ❽ ✏✫❿✭✁➙❻✂✁ ➛t↕➜❽➙❿★✁ ✛✔✁ ✢■➛✫✁✖✢ ➞✔✁❛➁➙➛✙✡ ➞✔✍✆☎➇➛✙✁ ☞t❿✍➝✱✁ ❽➀↕ ❽➀❻❾❽➙↕✠✟✫➞✔✁
✚❥❿✍↕✵✁ ☞t❿✍➁ ➁➙➛✙✁✖✚❥❿✍➝➡➠➡➛✙✢❹➞✝❿ ✢■➛✫✁✂✢ ❿⑩❽➙↕✵✚❥❿✼➠➡➛ ✢ ➞✫❽➀➛❨➁➙↕ ➞✔✡✳✻❼❺ ✚✝✡ ➞✎☞➏➞ ✚❥❿➇➠➡➛✹✁➙➛t➁✭☞t❿★✢✶✚ ❿✔✁ ❽➟➞
✚❥❿✍➁❖❻✝✢⑩➞ ✁ ➝➡↕✠☞➏➞ ☞t➞✔✢ ➞✝➠ ➞ ✝ ☞➏➞✎✁➙❿✹➛✙✢ ✴➲❻➡➛✉❿★✁s❽➙➛t➁✂✢ ❿★✁❃✚✝✡ ➞✔☞➏➞ ➛✥☞➏➞✎✢⑩➞✝➠➡➞ ✁ ➛✥☞t❿✝➝ ✄ ❻➡➝➡➠➡➛✙✢ ✟
❿✍❻ ✚❥❿✍➁ ✟✁�✝➁➙↕ ➞✔✁ ☞➏➞✎✢⑩➞✝➠➡➞✔✁ ✝ ✚✝✡ ➞✔☞➏➞✎✁ ✢✕❻✝✡➜❽➙↕✵☞t➞✔✢⑩➞✫➠ ➞✔✁ ✟ ✻
✕ ➛ ❻✝✢ ✢■❿✴➠➡❿✘✆✍➛t➁➙➞✔✡ ✚ ❿✴➠➡➛✙✢ ❿★✁ ☞✙✡ ➞✔✁✂✁➙↕✡✠✝☞➏➞✝➁❖➞✔✁ ✚✝✡ ➞✔☞➏➞✔✁ ☞❨❿★✢ ❿✕✠ ➝➡➞✔✁s❿✝❻❊➛✙✁✖✚❥➛✫✁✖✁➙➞✔✁✫✲ ✁ ➛t➝➡➠❾❿
✴➲❻➡➛ ✁✣✏✝❿ ☞ ✞ ➞✔✢ ➞✝➠ ➞✔✁ ➠➡➛ ✠ ➝ ➞✔✁☞➞✔✁☎✚✝✡ ➞✔☞t➞✔✁✪☞t❻ ✁➙➞●➁➙➛✙✡ ➞✔✍✫✏✝❿❊➛❨➝✱❽➀➁➙➛❼➞❊➛✙✁✖✚❥➛✫✁✂✁➙❻➡➁➙➞✕➛ ➞✌✢ ➛❨➝➡❿✍➁
➠➡↕✠✢ ➛❨➝✝✁✣✏✫❿✲➝❾❿ ✚✝✡ ➞✝➝➡❿✡➝ ✏✝❿❏❻✝✡➜❽➙➁➀➞✔✚ ➞✎✁✖✁➙➛ 1
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✻ ☞ ➛✫✁ ❽➀➛ ☞t➞✔✁➙❿✱✲ ✚❥❿➇➠➡➛ ✮ ✁ ➛ ❻❾❽➙↕✵✡➜↕ ✔➏➞✫➁❃➞✡❽➙➛t❿✍➁ ↕ ➞
➠➡➛ ✚✝✡ ➞✔☞➏➞✔✁ ➠➡➛ ✭❃↕ ➁✖☞ ✞✱✞➡❿ ✁ ✝➧❿✍❻■❽➀➛❨❿✍➁➙↕ ➞✌☞✙✡ �✔✁✂✁➙↕✠☞➏➞✠✟ ✲✯✴➲❻➡➛ ➠➡➛✫✁✂✚➡➁➙➛ ✔➏➞✕❿★✁ ➛ ✄ ➛❨↕➜❽➙❿★✁✉➠❾➛ ❽➙➛t➝✝✁✌☎➇➛✙✁
☞❨↕✵✁➀➞✎✡✵✞ ➞✝➝✱❽➙➛✫✁❳➛✿➞✭✚✝✡ ➞✎☞➏➞ ✚❥❿✴➠➡➛ ✁➙➛❨➁①➛✫✁ ❽➀❻➡➠➡➞✝➠ ➞ ☞t❿✔✢ ❿❼❻✝✢ ☞t➞✔✁➙❿❃➠❾➛✿➛✫✁ ❽➟➞✝➠➡❿✭✚✝✡ ➞✝➝❾❿✹➠➡➛☞❽➙➛t➝✯✮
✁✖✏✝❿✝✻ � ➞✔✁ ❿⑩➛✫✁ ❽➟➞⑩➁ ➛✫✡ ➞✔✍✑✏✝❿■❻✝✡ ❽➀➁➀➞✎✚ ➞✔✁✖✁ ➛❊❿✶✟✫➞✔✡ ❿✍➁❡➛✙✁ ❽➟➞✎✷ ➛✙✡ ➛✫☞❨↕ ➠➡❿✱✲ ➞✶✚✝✡ ➞✎☞➏➞ ☎✰☞✙✡ ➞✔✁✂✁➙↕✡✠✝☞➏➞✝➠ ➞
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☞❨❿★✢ ❿❆➛✙✁✖✚❥➛✫✁✂✁➀➞ ✝➧➛✫✢✹✷ ❿✍➁➙➞ ✞ ➞✂✁➙➞ ➞✔✡✠✆✍❻➡➝✝✁✔➞✫❻❾❽➀❿✍➁ ➛✫✁ ✴➲❻➡➛✌✚➡➁ ❿★✚ ❿✝➝✝✞ ➞✔✢ ❿✍❻❾❽➀➁➙➞✔✁ ☞✫✡ ➞✔✁✖✁ ↕✡✠ ☞t➞ ✮
✍✆☎➇➛✙✁ ↕➜➝✱❽➀➛t➁✂✢ ➛❨➠➡↕ �✫➁➙↕ ➞✎✁ ✟✽✲✴➛✾❻❾❽➀↕✠✡ ↕✑✔➏➞ ✮ ✁➙➛✹➞❆❽➀➛❨❿✍➁➙↕ ➞✕➠➡➛✌✚✝✡ ➞✎☞➏➞✔✁✔➠➡➛ �❡➛t↕✠✁✖✁➙➝❾➛t➁ ✮ ✗❏↕ ➝❾➠✝✡ ↕➜➝ ✻
✕ ❿✝↕✵✁❼❽➙➛t➁✂✢ ❿★✁ ✢✕❻➡↕ ❽➀❿⑩❻✱✁➀➞✝➠➡❿✔✁✹➝➡❿✼➛✙✁ ❽➀❻❾➠➡❿✭➠➡➛ ✚✝✡ ➞✔☞➏➞✎✁✭✢✕❻✝✡ ❽➀↕✠☞➏➞✔✢ ➞✝➠ ➞✔✁ ☞❨❿✍➁➙➁ ➛✫✁✂✚ ❿✍➝❾➠➡➛✫✢
➞✝❿✁�✵✚✝✡ ➞✝➝➡❿ ✢ ☎❨➠➡↕ ❿✂� ➛✄�✠✚✝✡ ➞✫➝➡❿❏➠❾➛✼➁➙➛ ✄ ➛t➁ ✏❨➝✝☞t↕ ➞☎�✳✻ ✂s➞✝↕✵✁✰✚✝✡ ➞✝➝❾❿★✁✹✁✖✏✝❿✢↕✵✢✶✚❥❿✍➁ ❽➀➞✝➝✱❽➀➛✫✁ ✚❥❿✍↕✵✁
✁✖✏✝❿✼➝➡➛✙✡ ➛✫✁ ✴➲❻➡➛❆➞✫❽➙➁➙↕✵✷❾❻➡➛✫✢ ✮ ✁ ➛❊❿★✁ ✁➙↕✠✁ ❽➀➛✙✢⑩➞✎✁ ➠➡➛✰☞t❿✴❿✍➁➙➠➡➛❨➝ ➞✝➠ ➞✎✁ ➝➡➛✙☞t➛✫✁✂✁✏�✝➁ ↕ ❿★✁✹➞✝❿✼➛✫✁ ❽➀❻➡➠❾❿
➠➡➛ ❽➀➛❨➝✝✁☞☎✴➛✫✁✿➛✙✢❈➠➡➛❨❽➙➛t➁✖✢■↕ ➝➡➞✝➠➡❿✹✚❥❿✍➝✱❽➀❿✰✚ ➛❨➁ ❽➙➛t➝✝☞❨➛t➝✱❽➀➛✾➞✝❿❊➠➡❿★✢✶✸ ➝➡↕➜❿✾➠ ➞✹☞➏➞✎✢⑩➞✝➠➡➞✱✻ ✕ ➛✙✁ ❽➙➛
✢■❿➇➠❾❿✝✲①❽➀➛✙✢ ✮ ✁➙➛ ✴➲❻➡➛✡❿ ✚✝✡ ➞✝➝❾❿ ✢ ☎❨➠➡↕ ❿✒➁ ➛ ✄ ➛t➁ ➛✽✮ ✁➙➛✲➞✝❿ ✚✝✡ ➞✝➝➡❿ ✚ ➛❨➁ ❽➙➛t➝✝☞❨➛t➝✱❽➀➛ ✛ ☞➏➞✔✢ ➞✝➠ ➞
➞✝➝➡➞✔✡ ↕✠✁➀➞✝➠ ➞✰✴✴❻❾➛❊➞ ✷➡↕✠✁➙➛✙☞✫☞t↕➜❿✍➝ ➞❆➝ ➞ ✢■➛❨❽➟➞✫➠➡➛❃➠➡➛✌✁➙❻ ➞❆➛✙✁✖✚❥➛✫✁✖✁ ❻➡➁➀➞✝✆ ☞t➞✝➠ ➞ ☞➏➞✔✢ ➞✝➠ ➞ ✚❥❿★✁✂✁➙❻➡↕
❿✜✁ ➛t❻✶✚➡➁✖✦★✚❾➁➙↕ ❿✭✚✝✡ ➞✝➝❾❿ ✢ ☎❨➠➡↕ ❿✱✻ ↔ ✚✝✡ ➞✝➝❾❿✹➠➡➛✔➁➙➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞✾➞✝❿✜☞t❿✝➝➲❽➙➁✏�✝➁ ↕ ❿✝✲ ☎ ✁ ➝➡↕✵☞❨❿❃➛ ✚ ❿✴➠➡➛
✁ ➛✭✡ ❿ ☞➏➞✎✡ ↕ ✔t➞✝➁➩➛✫✢ ✴➲❻ ➞✔✡✠✴➲❻➡➛t➁✔➞✎✡➜❽➀❻❾➁➀➞✾➛✫✢❈➁➙➛✙✡ ➞✔✍✫✏✝❿✕➞✝❿✰☞t❿✍➝✂✁ ❻➡➝✱❽➀❿❆➠➡➛ ✚✝✡ ➞✔☞t➞✔✁☎✢✕❻✝✡➜❽➙↕✵☞t➞✔✢⑩➞ ✮
➠ ➞✎✁✫✻ ☞❼❿ ☞t➞✔✁➙❿ ➛✫✁✖✚❥➛✫☞❨↕ ➞✔✡❖➠➡➛❊❻✝✢ ☞t❿✍➝ ✁ ❻❾➝➲❽➙❿✼➠➡➛✰✚✝✡ ➞✔☞t➞✔✁ ✢✕❻✝✡➜❽➙↕✵☞t➞✔✢⑩➞✫➠ ➞✔✁✫✲✱☞➏➞✝➠ ➞ ☞➏➞✔✢ ➞✝➠ ➞
✚❥❿➇➠❾➛❼➞✎✚➡➁➙➛✙✁➙➛t➝✱❽➀➞✝➁✥☞t➞✝➁➀➞✔☞❵❽➀➛❨➁✖✸✵✁ ❽➀↕✠☞➏➞✔✁ ➠➡↕✠✁ ❽➀↕➜➝✱❽➟➞✔✁ ❻✝✢ ➞✔✁ ➛✫✢④➁ ➛✫✡ ➞✎✍✑✏✝❿✰✛✔✁ ❿✍❻❾❽➀➁➙➞✔✁✌✝ ✁ ➛ ✁➙➞✰✚❥❿✍➁
☞❨❿★✢ ✚❥❿★✁ ↕✵✍✑✏✫❿❆➠➡➛❃➠➡↕ ✄ ➛❨➁➙➛❨➝➲❽➙➛✫✁❡❽➀↕✠✚ ❿★✁☞➠➡➛✌✢⑩➞✫❽➙➛t➁ ↕ ➞✝↕✠✁✫✲ ✁➙➛ ✁➙➞ ✚❥❿✍➁✔➠➡↕✵✁✂✚ ❿✔✁➙↕✵✍✫✏✝❿❆➠➡↕✠✁ ❽➀↕➜➝✱❽➟➞✕➠ ➞✔✁
✠ ✷❾➁➀➞✔✁ ✟✽✲✱✚❥❿✍➁ ↕✵✁ ❽➀❿✝✲ ✞ �❊➝❾➛✫☞t➛✙✁✖✁ ↕ ➠ ➞✝➠❾➛❃➠➡➛ ➠➡❿✝↕✵✁ ❽➀↕✵✚❥❿★✁ ➠➡➛✭✁ ↕✵✁ ❽➀➛✫✢ ➞✔✁✉➠➡➛ ➛❨↕✍✝➇❿★✁✥✚➡➞✝➁➀➞●❿ ✁➙➛❨❻
➛✙✁ ❽➀❻❾➠➡❿➡➂✓✁➙↕✠✁ ❽➙➛✫✢ ➞●➠➡➛❼➁➙➛ ✄ ➛t➁ ✏❨➝✝☞t↕ ➞✹✡ ❿ ☞➏➞✎✡✳✲✍➛ ✁➙↕✵✁ ❽➀➛✙✢⑩➞●➠➡➛ ➁ ➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞ ✆★✡ ❿★✷➡➞✔✡✳✻ ↔ ✁➙↕✠✁ ❽➀➛✙✢⑩➞
➠➡➛❆➁ ➛ ✄ ➛❨➁ ✏t➝✱☞t↕ ➞ ✡➜❿✯☞t➞✔✡❖➛t➝✝☞❨❿✍➝✱❽➀➁➀➞ ✮ ✁➙➛ ✡➜❿✯☞t➞✔✡ ↕✑✔➏➞✝➠❾❿ ➝➡❿ ✚✱✡ ➞✝➝➡❿ ✢ ☎❨➠➡↕ ❿✼➠➡➞ ☞➏➞✔✢ ➞✝➠ ➞✼➛ ☞❨❿★✢
➛✙✡ ➛✌✁✣✏✝❿ ➠➡➛✫✁✂☞t➁ ↕➜❽➟➞✎✁✹➞✔✁❡❽➀➛❨➝✝✁☞☎✴➛✫✁✙✲ ➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✆☎➇➛✙✁❼➠➡➛✙✁ ❽➀➞ ☞➏➞✎✢⑩➞✝➠➡➞✶✁ ❿★✢ ➛❨➝✱❽➀➛☎✆ ☞t❿★✢■❿✶☞➏➞✝➠ ➞
☞t➞✔✢⑩➞✫➠ ➞✕❽➀➛✫✢ ✁➙➛t❻ ✚➡➁✖✦✔✚➡➁➙↕➜❿✶✁ ↕✵✁ ❽➀➛✫✢ ➞❆➠➡➛✾➛t↕ ✝❾❿✔✁ ✡➜❿✯☞t➞✔✡❝↕➜➝➡➠➡➛✫✚❥➛t➝❾➠➡➛t➝✱❽➀➛✙✁✫✲❥❿★✁✘✁➙➛❨❻✝✁❼➁ ➛✫✁ ❻✝✡ ✮
❽➀➞✝➠➡❿★✁✘✚➡➁ ➛✫☞t↕✠✁➀➞✔✢ ✁➙➛t➁✘☞❨❿✍➝ ✟✍➛t➁ ❽➀↕➜➠➡❿★✁ ✚ ➞✝➁➀➞❆❿✶✁➙↕✠✁ ❽➀➛✙✢⑩➞❆➠➡➛✾➛❨↕✍✝➇❿★✁✘✆★✡ ❿✔✷ ➞✔✡ ✝ ✡ ❿ ☞➏➞✔✡➜↕ ✔t➞✝➠➡❿✕➝➡❿
✚✝✡ ➞✝➝➡❿❊➠➡➛✹➁➙➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞✠✟ ✲✱✚ ➞✝➁➙➞ ✴➲❻➡➛✹❿★✁✿➁ ➛✫✁ ❻✝✡➜❽➀➞✝➠➡❿★✁✉➠➡➛✹❽➀❿✴➠ ➞✔✁☞➞✔✁ ☞➏➞✎✢⑩➞✝➠➡➞✔✁✥✚❥❿★✁✖✁➙➞✔✢ ✁➙➛t➁
➛❨➝➲❽✣✏✝❿■➛✫✁ ❽➙❻➡➠ ➞✝➠❾❿★✁ ✁ ❻➡➝✱❽➟➞✔✢■➛t➝✱❽➀➛✎✻
� ➞✔✁ ❿■➞ ☞t➞✔✢ ➞✝➠ ➞ ✁➙➛ ✁➙➞ ☞t❻➡➁ ✟✝➞✯✲➡❽➀➛✫✢ ✮ ✁ ➛✹❻✝✢ ➞ ☞➏➞✔✁✂☞➏➞✞✆ ☞t➞✔✁➙❿■➞✕➛✫✁✂✚ ➛✙✁✖✁ ❻➡➁➀➞■➠ ➞ ✚✝✡ ➞✔☞t➞ ✁➙➛ ✁➙➞
✢✕❻❾↕➜❽➀❿ ✢■➛t➝❾❿✍➁✔➠➡❿ ✴➲❻➡➛ 1
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➠ ➞ ✢ ➛❨➝➡❿✍➁✔➠➡↕✠✢ ➛❨➝✝✁✣✏✫❿✝✲❾❽➀➛✙✢ ✮ ✁➙➛❃❻✝✢ ➞ ☞ ✞ ➞✔✚ ➞✯✻

✝✟✞✠✟ ❫ ◗■P✭❚✔❭❵◗ P✭❚q❦✡❭t❘●❪✿❘●▲♥P✭❚☛✡❹❲ ❱①❪✌☞✍☞✭◗✏✎✑❣
☞❼➞❃❽➙➛t❿✍➁ ↕ ➞✹➠➡➛✘✚✝✡ ➞✔☞➏➞✎✁➩➠➡➛ ✕❄→➣➌ ✜➳➥❖➥❖➈✘✗ ✁➙❻✝✚❥❿★✢■❿★✁✓✴➲❻➡➛❼❿✌✁ ↕✵✁ ❽➙➛✫✢ ➞✜☞➏➞✝➁ ❽➀➛✫✁ ↕ ➞✝➝❾❿●➠❾➛ ☞❨❿➇❿✝➁ ✮
➠➡➛❨➝ ➞✝➠ ➞✎✁s➛✙✁ ❽➀➛ ✁➙➞❼➠➡↕✠✁✖✚❥❿★✁ ❽➙❿❼➠❾➛ ❻✱✢ ✢ ❿✴➠➡❿✔❽➟➞✔✡ ✴➲❻➡➛ ❿★✁❖➛t↕ ✝❾❿✔✁

x
➛
y
✚ ➛❨➁ ❽➀➛❨➝✝✍➏➞✎✢✐➞✝❿ ✚✱✡ ➞✝➝➡❿

✢ ☎t➠➡↕➜❿❼➠➡➞✭☞➏➞✔✢ ➞✝➠ ➞✯✻ ✂s➞✔✢ ✷✆☎✫✢ ✁✣✏✫❿ ✄ ➛t↕ ❽➟➞✔✁❳➞✔✡✵✆✍❻✱✢⑩➞✔✁ ✞➡↕✠✚ ✦✫❽➀➛✫✁ ➛✫✁✧✁➙↕✵✢✶✚✝✡➜↕✡✠ ☞t➞✝➠➡❿✍➁➙➞✔✁ ✚ ➞✝➁➀➞
✁ ➛❊➞✫➝ ➞✔✡ ↕✠✁➀➞✝➁☞❿✶☞❨❿★✢✶✚ ❿✍➁ ❽➟➞✔✢■➛t➝✱❽➙❿❆➠ ➞✔✁✘✚✝✡ ➞✎☞➏➞✔✁ ☞❨❿★✢ ❿❾➂

❞✔✻ ❺✔➠❾❿✯✍✫✏✝❿ ➠➡➛✾❻✝✢♥➁➙➛✙✆✍↕✵✢■➛✹➛✙✡ �✔✁ ❽➀↕✵☞❨❿✎✮ ✡➜↕ ➝➡➛t➞✝➁✫✲ ✢ ➞✫❽➀➛❨➁➙↕ ➞✎✡ ✞➡❿✔✢ ❿★✆ ✏t➝➡➛❨❿■➛✾↕✠✁✖✦✝❽➙➁➙❿★✚❥❿
✾ ✻ ❁ ✏✝❿ ☞t❿✍➝✝✁ ↕ ➠➡➛❨➁➀➞✝➠➡➞✔✁✘✚ ➛✙✴✴❻❾➛t➝ ➞✔✁ ➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✟☎✴➛✫✁✔➛✌✚❥➛✫✴➲❻➡➛❨➝➡❿★✁ ➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁
✫ ✻ ↔ ✁✜☞❨❿★✢ ✚❥❿✍➝➡➛❨➝✱❽➀➛✫✁✾➠➡➛ ➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁✙✲ ✡ ❿ ☞➏➞✔✡➜↕ ✔➏➞✫➠➡❿★✁❼➞✝❿ ✡ ❿✍➝✝✆✝❿✭➠ ➞ ✚✝✡ ➞✔☞t➞✱✲ ✟✫➞ ✮
➁ ↕ ➞✔✢ ✡ ↕➜➝➡➛➏➞✫➁✖✢■➛t➝✱❽➀➛ ☞❨❿★✢ ➞ ➛✫✁✂✚ ➛✙✁✖✁➙❻❾➁➀➞✱✻

✯



❀✱✻ �❡➛❨❽➀➞✔✁ ➝➡❿✍➁✖✢ ➞✝↕✠✁ ➞✝❿✹✚✝✡ ➞✝➝➡❿ ✢ ☎❨➠➡↕ ❿✾➠ ➞ ✚✝✡ ➞✎☞➏➞ ✝➧➝ ➞ ✚ ❿★✁ ↕✵✍✫✏✝❿❊↕➜➝➡➠➡➛ ✄ ❿✍➁✖✢ ➞✝➠ ➞✠✟ ✲ ✚ ➛❨➁ ✮
✢ ➞✝➝➡➛✙☞t➛✙✢ ➝➡❿✍➁✂✢⑩➞✫↕✵✁❳➛✔↕➜➝➡➛ ✝✴❽➙➛t➝✝✁✂✸✠✟✍➛❨↕✵✁✪✢■➛✫✁✖✢■❿✾➞✔✚ ✦★✁➩➞❃➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✑✏✫❿❃➠ ➞ ✢ ➛✙✁✖✢ ➞✱✻
✕ ➛✫✁ ❽➀➞ ✄ ❿✍➁✖✢ ➞✱✲❂✚❥❿➇➠➡➛ ✮ ✁ ➛♦➠➡➛✙✁✖✚➡➁ ➛ ✔➏➞✫➁❃➞✔✁ ➠❾➛ ✄ ❿✍➁✂✢⑩➞✔✍✆☎➇➛✙✁✭☞t➞✝❻✝✁➀➞✫➠ ➞✔✁ ✚❥❿✍➁ ☞t❿✍➁ ❽➟➞✝➝✱❽➀➛
✝➣❿✍❻✥➠❾➛ ✄ ❿✍➁✂✢⑩➞✔✍✆☎➇➛✙✁ ☞❨↕✵✁➙➞✔✡✵✞ ➞✫➝➲❽➙➛✫✁ ❽➀➁➙➞✝➝✝✁✂✟✝➛t➁✂✁➀➞✝↕✠✁

γxz = γyz = 0
✟ ✲✔➞✝❿ ✢■➛✫✁✂✢ ❿

❽➙➛✫✢✶✚ ❿✾➛✙✢ ✴✴❻❾➛✭✁➙➛✘✟✍➛❨➁➙↕✍✠ ☞➏➞❊➞ ✡➜↕ ➝➡➛t➞✝➁➙↕➜➠ ➞✝➠➡➛✔➠ ➞✜✟✫➞✝➁➙↕ ➞✔✍✑✏✫❿●➠➡➞✔✁✒☞❨❿★✢✶✚ ❿✍➝❾➛t➝✱❽➀➛✙✁✉➠➡➛
➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿❃➞✫❿✜✡ ❿✍➝✝✆✝❿✹➠ ➞✹➛✫✁✂✚ ➛✙✁✖✁ ❻➡➁➀➞ ✝➧❿✍❻ ✁ ➛ ✁➙➞✱✲✱❿★✁❳➛✫✁ ✄ ❿✝➁✖✍t❿✔✁➩➝ ➞❃➠➡➛ ✄ ❿✍➁✂✢⑩➞✎✍✑✏✝❿
☞t➞✝❻✝✁➙➞✝➠ ➞ ✚ ❿✍➁ ✂➡➛ ✝✱✏✝❿✶✁✣✏✝❿ ☞t❿✝➝✝✁➙↕➜➠➡➛t➁➙➞✝➠➡❿★✁✔❽➟➞✎✢ ✷ ☎✙✢♥➝➲❻✝✡ ❿✔✁ ✟✽✻

✱ ✻ ❺ ✁❖❽➙➛t➝✝✁✌☎➇➛✙✁❳➠➡➛☎☞t↕✠✁➀➞✔✡✠✞ ➞✔✢■➛t➝✱❽➀❿ ➝ ➞✔✁ ✄ ➞✔☞❨➛✫✁❳➛☛✝✴❽➀➛t➁ ➝ ➞✔✁✙✲★✚ ➞✝➁➙➞✔✡ ➛✙✡ ➞✔✁❛➞✝❿ ✚✝✡ ➞✝➝➡❿ ✢ ☎❨➠➡↕ ❿
➠➡➞ ✚✝✡ ➞✔☞t➞⑩❽➟➞✔✢✹✷ ☎✙✢ ✚❥❿➇➠❾➛✫✢ ✁➙➛t➁✾➠➡➛✙✁✖✚➡➁ ➛ ✔t➞✝➠ ➞✔✁✙✲❃✚❥❿✴➠➡➛t➝➡➠❾❿✭➠➡➛✫✁ ❽➟➞ ✄ ❿✍➁✖✢ ➞ ❿★✷➇❽➀➛t➁
➞✎✁✔↕✵✆✍❻ ➞✎✡ ➠ ➞✝➠❾➛✫✁t➂

γxz = ∂u
∂z

+ ∂w
∂x

= 0
γyz = ∂v

∂z
+ ∂w

∂y
= 0

σz = 0
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❞✔✻
σz = 0
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❞ ✿
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U(x, y, z) =











u(x, y, z)
v(x, y, z)
w(x, y)











=











u0(x, y) + zα(x, y)
v0(x, y) + zβ(x, y)

w(x, y)











✝ ✫ ✻ ✾ ✟

❿✍➝❾➠➡➛
u0

➛
v0

✁✣✏✝❿✙❿★✁ ➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿★✁ ➝➡❿ ✚✱✡ ➞✝➝➡❿ ✢ ☎t➠➡↕➜❿✪➠ ➞ ✚✱✡ ➞✔☞t➞✱✲✉➛
α
➛
β
✁✣✏✝❿

➞✔✁ ➁ ❿✝❽➟➞✔✍✆☎➇➛✙✁ ➠➡➛✫✁✂☞t➁➙↕ ❽➟➞✔✁✶✚❥➛✫✡ ❿✪➛✙✡ ➛✫✢■➛t➝✱❽➙❿ ✡➜↕ ➝➡➛t➞✝➁✫✻ ✕ ➛✙✁ ❽➙➛ ✢■❿➇➠➡❿✱✲ ✠✝☞➏➞ ☞✙✡ ➞✝➁ ❿ ✴✴❻❾➛❏➝➡❿
☞t➞✔✁➙❿✕➠❾➛ ✭❃↕ ➁✖☞ ✞✱✞➡❿ ✁ ✲❾➞✹☞❨↕ ➝➡➛✙✢ �➳❽➀↕✵☞t➞ ✴➲❻➡➛❃➠❾➛✫✁✖☞❨➁➙➛✽✟✍➛❃❿ ☞❨❿★✢ ✚❥❿✍➁ ❽➟➞✔✢■➛t➝✱❽➀❿❊➠➡➛ ✂ ➛☛✝✱✏✝❿✕➠ ➞✔✁
✚✝✡ ➞✔☞➏➞✎✁☞➠➡➛✙✁✖✚➡➁ ➛ ✔➏➞❆❿✕➛ ✄ ➛t↕ ❽➀❿♦➠➡➞✔✁ ☞t❿✝➁ ❽➟➞✫➝➲❽➙➛✫✁✿➝➡➞✕➠➡➛ ✄ ❿✍➁✂✢⑩➞✎✍✑✏✝❿✰✚ ❿✍➁ ✂ ➛ ✝✱✏✝❿ ✝ ✁➙➛✙✍✑✏✝❿ ✚✝✡ ➞✝➝ ➞
✚❥➛t➁✂✢⑩➞✝➝❾➛✫☞t➛✌✚✝✡ ➞✝➝ ➞❆➞✔✚ ✦★✁ ➞❆➠➡➛ ✄ ❿✝➁✖✢ ➞✔✍✑✏✝❿✠✟✽✻
✕ ➞ ✞➡↕✠✚ ✦✝❽➙➛✫✁ ➛❃➠➡➛✌✴✴❻❾➛

γxz = γyz = 0
✲➡➁➙➛✙✁➙❻✝✡ ❽➟➞ ✴➲❻➡➛✝➂

γxz =

(

∂u

∂z
+
∂w

∂x

)

= 0
✝ ✫ ✻ ✫ ✟

❿✍❻

∂u

∂z
= −

∂w

∂x

✝ ✫ ✻ ❀ ✟
✕ ❿✶✢■➛✫✁✖✢■❿ ✢■❿➇➠➡❿ ✚➡➞✝➁➀➞

γyz

✲✝✟✝➛✫✢✺✴➲❻➡➛✫➂
∂v

∂z
= −

∂w

∂y

✝ ✫ ✻✲✱ ✟

✕ ➛❨➁➙↕ ✟✝➞✫➝➡➠➡❿✎✮ ✁➙➛❡❿✌☞➏➞✔✢✶✚ ❿✾➠➡➛❡➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁ ✫ ✻ ✾✹➛✫✢ ➁ ➛✫✡ ➞✎✍✑✏✝❿ ✛✜✟✝➞✫➁➙↕ �✑✟✝➛✫✡
z
❿★✷❾❽ ✏✙✢ ✮ ✁➙➛

∂u

∂z
= α(x, y)

∂v

∂z
= β(x, y)

✝ ✫ ✻✲✷ ✟
✕ ➛✙✁✖✁ ➛✰✢■❿➇➠❾❿■❿✔✷✝✁➙➛❨➁✂✟✫➞ ✮ ✁ ➛✌✴✴❻❾➛❊➞✎✁ ➁ ❿✝❽➟➞✎✍✟☎✴➛✫✁✫✲ ✁ ➛✫✆✍❻❾➝➡➠➡❿ ✄ ↕ ➝✱✁➙❿✍➝ ✲ ✁✖✏✝❿ ➠ ➞✝➠ ➞✎✁ ✚❥❿✍➁❨➂

α = −
∂w

∂x

✝ ✫ ✻✲✻ ✟

β = −
∂w

∂y

✝ ✫ ✻ ✬✠✟

❞❳❞
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➠➡➛■❻✝✢ ✚❥❿✍➝✱❽➀❿ ✆✝➛t➝ ☎❨➁➙↕✵☞❨❿ ✴➲❻ ➞✔✡✠✴➲❻➡➛t➁ ✟✌☞❨❿★✢■❿ ✁ ➛t➝➡➠➡❿❄➠ ➞✝➠ ➞ ✚ ➛✙✡ ❿ ☞➏➞✔✢✶✚ ❿ ✟✍➛❵❽➀❿✍➁ ↕ ➞✔✡ ➠➡➛
➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁

U(x, y, z)
➞✔✷ ➞✝↕ ✝➇❿➡➂

U(x, y, z) =











u(x, y, z)
v(x, y, z)
w(x, y)











=















u(x, y) − z ∂w(x,y)
∂x

v(x, y) − z ∂w(x,y)
∂y

w(x, y)















✝ ✫ ✻ ✯✠✟
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❺ ☞t↕➜➝➡➛✫✢ �✫❽➀↕✠☞➏➞ ✚➡➁ ❿★✚ ❿✔✁ ❽➟➞✶✚ ➛✙✡ ❿✶✢ ❿✴➠➡➛✙✡ ❿ ➠➡➛ � ➛❨↕✵✁✖✁ ➝➡➛t➁ ✮ ✗❏↕➜➝➡➠✝✡➜↕ ➝ ✚ ❿✴➠➡➛ ✁➙➛t➁✘✟✍➛❨➁➙↕✍✠ ☞➏➞✝➠➡➞
➞✫❽➙➁➀➞✑✟ ☎✙✁❼➠❾❿✶✁ ➛✫✆✍❻❾↕ ➝✱❽➀➛✌✢■❿➇➠➡➛✙✡ ❿❆➠ ➞✫➠➡❿ ✚ ❿✍➁❨➂

u(x, y, z) =







u(x, y, z) = u0(x, y) + zθy(x, y)
v(x, y, z) = v0(x, y) − zθx(x, y)

w(x, y, z) = w0(x, y)







✝ ✫ ✻✢❞ ✿✠✟

❿✍➝❾➠➡➛
u0

✲
v0

➛
w0

☞t❿✍➁ ➁➙➛✙✁✖✚❥❿✍➝➡➠➡➛✙✢ ➞✫❿★✁✡➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁❏➝ ➞✎✁✲➠❾↕ ➁➙➛✙✍✟☎✴➛✫✁
x
✲
y
➛
z➁ ➛✫✁✖✚❥➛✫☞❵❽➀↕ ✟✝➞✎✢ ➛❨➝➲❽➙➛✒➛

θx

➛
θy

✁✖✏✝❿✏➞✔✁✡➁➙❿✝❽➀➞✔✍✟☎✴➛✫✁✭➠➡➞✰➁ ➛❨❽➀➞✰➝❾❿✍➁✖✢ ➞✔✡❼❽➙➁➀➞✝➝✱✁✂✟✍➛❨➁✖✁➙➞✔✡✾➛✫✢
❽➙❿✍➁➙➝➡❿ ➠➡❿✔✁ ➛❨↕✍✝➇❿★✁

y
➛
x
➁➙➛✙✁✖✚❥➛✫☞❨❽➙↕✠✟✫➞✔✢■➛t➝✱❽➀➛✎✲ ➠ ➞✝➠ ➞✎✁ ✚❥❿✍➁

θx =
∂u(x, y)

∂z
θy =

∂v(x, y)

∂z

✝ ✫ ✻✢❞❳❞✂✟
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➞✕❽➀➛❨❿✍➁➙↕ ➞✕➠➡➛✌✚✝✡ ➞✎☞➏➞✔✁❡➠➡➛✮✭❃↕ ➁✂☞ ✞✝✞➡❿ ✁ ✚❥❿✴➠➡➛✫✢ ✁➙➛t➁ ➠ ➞✝➠➡➞✔✁ ✚ ❿✝➁t➂

{ε} =







































εx

εy

εz

γyz

γxz

γxy







































=











































∂u(x,y,z)
∂x

∂v(x,y,z)
∂y

0
0
0

(

∂u(x,y,z)
∂y

+ ∂v(x,y,z)
∂x

)










































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ε =







































εx

εy

εz
1
2
γxz

1
2
γyz

1
2
γxy







































=



















































∂u(x,y,z)
∂x

∂v(x,y,z)
∂y

0
1
2

(

∂w(x,y,z)
∂x

+ ∂u(x,y,z)
∂z

)

1
2

(

∂w(x,y,z)
∂y

+ ∂v(x,y,z)
∂z

)

1
2

(

∂u(x,y,z)
∂y

+ ∂v(x,y,z)
∂x

)



















































✝ ✫ ✻✢❞ ✾ ✟
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σz
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x
✲
y
➛
z
✻

σ =







































σx

σy

σz

τyz

τxz

τxy







































=











































Ex(εx+υyεy)
1−νxνy

Ey(εy+υxεx)
1−νxνy

0
Gxzγxz

Gyzγyz

Gxyγxy











































✝ ✫ ✻✢❞ ✫ ✟

❿✍➝❾➠➡➛✼➞✔✁✰☞t❿✍➝✱✁ ❽➟➞✫➝➲❽➙➛✫✁
Ex, Ey
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νx, νy

✲✫➞✔✁ ☞t❿✝➝✝✁ ❽➀➞✝➝✱❽➀➛✫✁
Gij
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✁

✝ ✲ ✒★✲ ✔✕✟
✁✖✏✝❿ ➠➡➛t➝➡❿✔✢ ↕➜➝ ➞✝➠➡❿★✁ ✢✶✦✴➠➡❻✝✡ ❿✔✁✿➠➡➛✾➛✫✡ ➞✔✁ ❽➙↕✵☞t↕➜➠ ➞✝➠➡➛❼❽➀➁➀➞✫➝✝✁✂✟✝➛t➁✖✁➙➞✝↕✵✁✙✻
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✄ �✝➁➙↕ ➞✔✁✥✁✖✏✝❿■➞✔✁☞❽➀➛❨❿✍➁➙↕ ➞✔✁ ✚➡➁ ❿★✚❥❿★✁ ❽➀➞✔✁ ✴➲❻➡➛ ✟✴↕✵✁➀➞✎✢♥➞✕➠➡↕✠✁✖☞t➁ ➛❨❽➙↕ ✔➏➞✫➁✿❿ ☞t❿★✢✶✚❥❿✍➁ ❽➀➞✔✢ ➛❨➝✱❽➀❿✕➠➡❿
✢ ➞✫❽➀➛❨➁➙↕ ➞✔✡➑➠➡➛ ✚✝✡ ➞✔☞➏➞✔✁✙✻ � ❿✔✢ ❿ ↕✵✁ ❽➀❿ ➝ ✏✝❿✶☞t❿✝➝✝✁ ❽➙↕➜❽➀❻❾↕❋❻✝✢⑩➞❆❽➟➞✫➁➙➛ ✄ ➞ ✄ �✔☞❨↕✵✡✼✲ ➞✔✁✔❽➀➛❨❿✍➁➙↕ ➞✔✁ ✝ ✟✴↕ ➞
➠➡➛ ➁➙➛✙✆✍➁➀➞ ✟✓✚➡➞✝➁ ❽➙➛✫✢ ➠➡➛ ✞➡↕✠✚ ✦✝❽➙➛✫✁ ➛✫✁✉➞✝➠➡❿✝❽➀➞✝➠ ➞✔✁✪✴➲❻➡➛✘✟➇↕✠✁➀➞✔✢ ✁ ↕✵✢✶✚✝✡ ↕✍✠ ☞➏➞✫➁❳❿ ✚➡➁➙❿★✷✱✡ ➛✫✢ ➞✱✲✱➠➡➛
✢■❿➇➠❾❿❆➞✕❿★✷❾❽➙➛t➁✿❻✝✢ ➛✫✴➲❻ ➞✔☞❨↕ ❿✍➝➡➞✔✢ ➛❨➝✱❽➀❿ ✁➙➞✫❽➀↕✠✁ ✄ ➞✫❽✖✦✍➁➙↕➜❿✝✻ ✕ ➛✙✁ ❽➙➛ ✢■❿✴➠➡❿ ✚❥❿➇➠➡➛ ✮ ✁ ➛❃➞✔✆✍➁ ❻✝✚ ➞✝➁
➞✔✁✉➠➡↕✠✟✝➛t➁✂✁➀➞✔✁☞❽➙➛t❿✍➁ ↕ ➞✔✁ ➠➡➛ ✚✱✡ ➞✔☞t➞✔✁✥✁ ➛✫✆✍❻➡➝❾➠➡❿❆➞✹☞✙✡ ➞✔✁✂✁➙↕✡✠✝☞➏➞✔✍✫✏✝❿ ✚➡➁ ❿★✚ ❿✔✁ ❽➟➞ ✚ ❿✝➁✁�❡➛t➠➡➠ ✒ ✙ ❞✸✷ ✚
↔ ❿★✷ ✁ ➛❵❽➀↕✠✟✝❿ ➠➡➛✫✁ ❽➀➛✜☞➏➞✎✚✝✸➜❽➙❻✝✡ ❿ ☎❃➠➡➞✝➁✿❻✝✢ ➞✹✟✴↕✵✁✣✏✫❿ ✆✍➛t➁➙➞✔✡➑➠➡➛✾➞✎✡✵✆✍❻✝✢ ➞✔✁✉➠ ➞✔✁✿❽➀➛❨❿✍➁➙↕ ➞✔✁✿➛☛✝❾↕✠✁ ✮
❽➙➛t➝✱❽➀➛✙✁ ☞t➁ ↕ ➞✝➠➡➞✔✁ ☞t❿★✢✐❿ ↕ ➝✱❽➀❻➡↕ ❽➀❿❡➠➡➛✒✁➙➛ ➠➡➛✫✁✂☞t➁➙➛✽✟✍➛❨➁➩❿ ☞❨❿★✢ ✚❥❿✍➁ ❽➟➞✔✢■➛t➝✱❽➀❿ ➠➡➛ ❻✝✢❁➛✫✡➜➛✫✢■➛t➝✱❽➀❿
➠➡➛ ✚✝✡ ➞✎☞➏➞ ✡ ➞✔✢■↕ ➝ ➞✫➠ ➞✱✻⑩❺ ✁❊❽➙➛t❿✍➁ ↕ ➞✔✁✾➠➡➛✙✁✖☞t➁ ↕➜❽➀➞✔✁♦➝➡❿ ☞➏➞✔✚✱✸➜❽➀❻✱✡ ❿❏➞✝➝✱❽➀➛t➁ ↕ ❿✍➁✌✁✖✏✝❿✢❻❾❽➙↕✵✡ ↕✑✔➏➞✝➠➡➞✔✁
☞❨❿★✢ ❿ ✷ ➞✎✁➙➛■➛ ✝✴❽➀➛❨➝➡➠➡➛t➝❾➠➡❿✪➞✔✁✖✁ ↕✵✢ ✁ ❻ ➞✔✁ ✞➡↕✵✚ ✦✝❽➙➛✫✁➙➛✙✁❊➛✶☞t❿✝➝✝☞✫✡➜❻✝✁☞☎✴➛✫✁✾➝➡❿✲❽➀➁➀➞➳❽➟➞✔✢■➛t➝✱❽➀❿✡➠➡➛
✚✝✡ ➞✔☞➏➞✎✁ ✢✕❻✝✡ ❽➀↕✵☞t➞✔✢ ➞✝➠ ➞✔✁✙✻ ❄✿➞✎✁➙↕✵☞t➞✔✢■➛t➝✱❽➀➛ ✁ ➛t➁✖✏✝❿❯➠❾➛✫✁✖☞❨➁➙↕ ❽➀❿★✁ ✷✒❿✍❻❾❽➙➁➙❿★✁ ✆✝➁➙❻✝✚❥❿★✁ ✝ ✁ ➛t➝➡➠❾❿
❻✝✢❷➠➡➛✫✡➜➛✫✁❃❻✝✢ ➞✼↕✵✢✶✚✝✡➜➛✫✢■➛t➝✱❽➟➞✔✍✫✏✝❿ ✟✔➛✫✢ ✴✴❻❾➛✶✁ ➛t➁✖✏✝❿✲➞✔✚➡➁➙➛✙✁➙➛❨➝➲❽➀➞✝➠ ➞✔✁✾➠➡➛ ✢■❿✴➠➡❿ ✁➙❻✱☞t↕ ➝✱❽➙❿
➞✔✁✘✁ ❻ ➞✔✁✘✞➡↕✵✚ ✦✝❽➙➛✫✁➙➛✙✁ ➞✝➠➡❿✝❽➀➞✝➠ ➞✔✁✔➛●➞✔✁✘✁➙❻➡➞✔✁✘☞➏➞✝➁➙➞✔☞❨❽➙➛t➁✖✸✠✁ ❽➙↕✵☞➏➞✎✁ ✆✍➛t➁➙➞✝↕✵✁

❞✔✻ ✂❖➛t❿✝➁➙↕ ➞✕➠❾➛✹✗✲❿✍➝➡❿ ☞➏➞✔✢ ➞✝➠ ➞ ✄✓✴➲❻➡↕✠✟✫➞✔✡➜➛t➝✱❽➀➛
✾ ✻ ✂❖➛t❿✝➁➙↕ ➞✕➠❾➛ ✕ ➛ ✄ ❿✍➁✂✢⑩➞✔✍✫✏✝❿ ➠➡➛ ✤➩➁➙↕✵✢■➛t↕➜➁➀➞ ↔ ➁ ➠➡➛✫✢
✫ ✻ ✍ ✢✶✚✝✡➜➛✫✢■➛t➝✱❽➟➞✔✍✫✏✝❿❆➠➡❿✶✄✓✡ ➛✙✢ ➛❨➝➲❽➙❿ ➠➡➛ ✤✪✡ ➞✔☞➏➞❆➠➡➛ �❡➛t↕✠✁✖✁➙➝❾➛t➁ ✮ ✗❏↕ ➝❾➠✝✡ ↕➜➝
❀✱✻ ✂❖➛t❿✝➁➙↕ ➞✕➠❾➛ ↔ ➁ ➠➡➛t➝✝✁ ❁ ❻✝✚❥➛t➁ ↕ ❿✍➁ ➛✫✁
✱ ✻ ✂❖➛t❿✝➁➙↕ ➞✕➠❾➛ ✄ �✝➁➙↕ ➞✔✁ � ➞✔✢ ➞✝➠ ➞✔✁
✷✯✻✭✗✲❿➇➠➡➛✙✡ ❿★✁ ✂ ↕ ➛❨➁✏�✝➁✂✴✴❻❾↕✵☞t❿✔✁
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↔ ↕ ➝✱❽➙❻➡↕➜❽➙❿ ☎✼❻✝✢ ➞❄➞✎✷ ❿✍➁ ➠ ➞✔✆✍➛✙✢ ➠➡➞✔✁✹☞t➞✝➁➀➞✔☞❵❽➀➛❨➁✖✸✵✁ ❽➀↕✠☞➏➞✔✁✰✆✍➛t➁➙➞✝↕✵✁❊➠➡➛ ☞➏➞✫➠ ➞ ✆✍➁➙❻✱✚ ❿✝✲ ✁➙❻ ➞✔✁
✴➲❻ ➞✔✡➜↕ ➠ ➞✫➠➡➛✫✁✔➛✾➠➡➛✙✁✖☞t➁ ↕✵✍✫✏✝❿ ➠ ➞✶☞❨↕ ➝➡➛✙✢ �➳❽➀↕✵☞t➞✕❻❾❽➀↕✠✡ ↕✑✔➏➞✝➠ ➞✯✻
❺ ✁✿➛✫✴➲❻ ➞✔✍✆☎➇➛✙✁✘✆✍❿ ✟✍➛t➁ ➝ ➞✝➝✱❽➀➛✙✁❡➠ ➞✔✁☞❽➙➛t❿✍➁ ↕ ➞✔✁✔➞✎✚➡➁➙➛✙✁➙➛t➝✱❽➀➞✝➠ ➞✔✁❡➞✔✴➲❻➡↕ ✚ ❿✴➠➡➛✫✢ ✁➙➛❨➁✔➁➙➛✙✁➙❿★✡ ✟➇↕➜➠ ➞✔✁
❽➀➞✝➝✱❽➀❿❊➞✝➝ ➞✔✡✠✸➜❽➀↕✠☞➏➞✭✴➲❻ ➞✫➝➲❽➙❿♦➝➲❻✝✢■➛t➁ ↕✵☞➏➞✎✢ ➛❨➝➲❽➙➛✘✚ ➞✝➁➀➞✾➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✟☎✴➛✫✁ ➛ ➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿★✁✪✆✍➛✽✮
➁➙➞✝↕✵✁✙✲ ✁➙➛❨➝➡➠➡❿✒➞✲❽➀➛t➝✱✁✣✏✝❿✢❿✔✷❾❽➀↕➜➠ ➞❏❿✍❻ ✚ ❿✍➁ ✢■➛t↕ ❿✲➠ ➞✔✁❊➛✫✴➲❻ ➞✔✍✆☎➇➛✙✁ ☞t❿✝➝✝✁ ❽➙↕➜❽➀❻➇❽➀↕✠✟✫➞✔✁●❿✍❻ ✚❥❿✍➁
✚❥❿✍➁ ✢■➛t↕➜❿✼➠ ➞✔✁❃➛✙✴✴❻➡➞✔✍✟☎✴➛✫✁●➠➡➛❆➛✫✴➲❻➡↕✠✡✵✸✠✷➡➁➙↕➜❿ ❽➀➁ ↕ ➠➡↕✠✢ ➛❨➝✝✁➙↕➜❿✍➝ ➞✝↕✠✁✫✻✌✤s➞✝➁➀➞✡➞✼➁➙➛✙✁➙❿★✡➜❻✝✍✑✏✫❿✡➞✝➝ ➞ ✮
✡✠✸➜❽➀↕✠☞➏➞ ✚ ❿✴➠➡➛ ✮ ✁➙➛ ☞❨↕➜❽➀➞✝➁✭✢ ☎❨❽➙❿➇➠➡❿✔✁ ☞t❿★✢■❿✭❿✭➠➡➛ ☞❼➞ ✟✴↕➜➛t➁✹➛❆❿✭➠➡➛ ✹ ☎✽✟ ✒✔✲❋➛ ☞t❿★✢■❿ ✢ ☎❨❽➀❿✴➠➡❿
➠➡➛ ✁ ❿★✡ ❻✱✍✑✏✝❿✡➝➲❻✝✢ ☎t➁➙↕✠☞➏➞✱✲ ✚ ❿✴➠➡➛✽✮ ✁➙➛ ☞t↕ ❽➟➞✝➁✭✢ ☎❵❽➀❿✴➠➡❿★✁ ☞❨❿★✢ ❿✭❿✡➠➡➛ � ➞ ✒✯✡➜➛t↕✠✆★✞✯✮ �❡↕➜❽ ✔✔✻ ✂s➞✝↕✵✁
✢ ☎❨❽➙❿➇➠➡❿✔✁●➝✝✏✝❿ ✁ ➛t➁✣✏✫❿✢➞✔✷❥❿✍➁➙➠➡➞✝➠➡❿★✁✙✲①➞✔✚❥➛t➝ ➞✎✁✰☞❨↕➜❽➟➞✫➠➡❿★✁ ✁➙❻✝☞❨↕ ➝✱❽➟➞✔✢■➛t➝✱❽➙➛✔✲ ✚❥❿✍↕✠✁ ✄ ❿✔✆✍➛✫✢ ➞✝❿
➛✙✁✖☞t❿✔✚ ❿■➠➡➛✫✁ ❽➀➛ ☞➏➞✔✚✱✸➜❽➀❻✱✡ ❿✝✻

❞✔✻✭✗ ☎❨❽➀❿✴➠➡❿✼➠❾➛ ☞ ➞✑✟✴↕ ➛t➁❨➂❼❻➇❽➀↕✵✡➜↕ ✔t➞✝➠➡❿✶✚ ➞✝➁➀➞ ✚✝✡ ➞✔☞t➞✔✁✹➁ ➛❨❽➟➞✫➝✝✆✍❻✝✡ ➞✝➁➙➛✙✁✫✲➑❿✝➝➡➠➡➛ ✁ ➛t❻✝✁✌✴➲❻ ➞ ✮
❽➙➁➙❿ ✡ ➞✝➠➡❿✔✁❖➛✙✁ ❽✣✏✝❿ ✁➙↕✠✢ ✚✱✡ ➛✫✁✂✢ ➛❨➝✱❽➀➛ ➞✔✚❥❿✍↕ ➞✝➠❾❿★✁✫✻ ↔ ➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿

w0

☎ ➛ ✝✯✚ ➞✫➝➡➠➡↕ ➠❾❿
✁ ➛✫✆✍❻❾➝➡➠➡❿ ✁ ☎t➁ ↕ ➛✫✁ ➠➡➛✰✬ ❿✍❻➡➁➙↕➜➛t➁✙✲ ❿✍➝➡➠➡➛❊➞■➛✙✁✖☞❨❿★✡✵✞ ➞ ➠➡➛✙✁ ❽➟➞✎✁ ✄ ❻➡➝✝✍✆☎➇➛✙✁ ❽➙➁➙↕✠✆✍❿✍➝➡❿★✢ ☎❨❽➙➁➙↕ ✮
☞t➞✔✁⑩➛✙✢ ✁ ☎t➁ ↕ ➛✫✁⑩➁➙➛✫✁ ❽➀➁ ↕ ➝✝✆✍➛ ✮ ✁ ➛ ✛ ✁➙➞✫❽➀↕✠✁ ✄ ➞✔✍✫✏✝❿ ➠ ➞✎✁ ☞t❿✍➝❾➠➡↕✵✍✆☎➇➛✙✁⑩➠➡➛ ☞t❿✍➝✱❽➀❿✝➁➙➝➡❿➋➠➡❿
✚❾➁➙❿★✷✝✡➜➛✫✢ ➞✱✻ ↔ ☞t➞✝➁➙➁ ➛✫✆✱➞✎✢ ➛❨➝➲❽➙❿✭❽➟➞✔✢ ✷✆☎✫✢ ☎✔✲❛➠➡➛✶✢ ❿✴➠➡❿ ✁➙➛✙✢ ➛✙✡✵✞ ➞✫➝➲❽➙➛■➞✝❿✡➠➡➛✫✁✂✡ ❿✎✮
☞t➞✔✢■➛t➝✱❽➀❿✝✲❾➛ ✝✯✚ ➞✝➝➡➠❾↕ ➠➡❿■➛✫✢ ✁ ☎t➁ ↕ ➛✫✁✔❽➙➁➙↕✵✆✝❿✍➝➡❿★✢ ☎❨❽➙➁➙↕✵☞t➞✔✁✫✻

✾ ✻✭✗ ☎❨❽➀❿✴➠➡❿➋➠➡➛ ✹ ☎✽✟ ✒ ➂ ❻❾❽➀↕✠✡ ↕ ✔t➞✝➠➡❿ ✚ ➞✝➁➙➞ ✚✝✡ ➞✔☞t➞✔✁✼➁ ➛❨❽➟➞✫➝✝✆✍❻✝✡ ➞✝➁➙➛✙✁ ☞t❿✔✢ ➠➡❿✍↕✠✁ ✡ ➞✝➠➡❿★✁
❿✔✚ ❿★✁ ❽➀❿★✁✶✁➙↕✠✢ ✚✱✡ ➛✫✁✂✢ ➛❨➝✱❽➀➛✲➞✔✚❥❿✍↕ ➞✝➠❾❿★✁ ➛❄❿★✁■❿✍❻❾❽➙➁➙❿★✁ ➠➡❿✍↕✵✁ ✁ ❻ ✁ ➛t↕ ❽➀❿★✁ ✛ ✴➲❻ ➞✝↕✠✁✖✴➲❻➡➛t➁
☞❨❿✍➝➡➠➡↕✠✍✟☎✴➛✫✁①➠❾➛ ☞t❿✍➝✱❽➀❿✝➁➙➝➡❿✾↕ ➝❾➠➡➛✫✚❥➛t➝➡➠❾➛t➝✱❽➀➛✙✁✉❻✝✢ ➠➡❿❃❿✍❻❾❽➙➁➙❿✝✻ ✡ ❽➙↕✵✡ ↕✑✔➏➞ ✮ ✁➙➛ ❻✝✢ ➞❃➞✔✚✝✡ ↕ ✮
☞t➞✔✍✑✏✫❿ ➠➡❿ ✢ ☎❵❽➀❿✴➠➡❿ ➠➡➛ ☞ ➞✑✟✴↕ ➛❨➁✧☞❨❿★✢✐➁➙➛✫✡ ➞✔✍✑✏✫❿✭✛ ☞t❿✍➝➡➠❾↕✵✍✑✏✫❿ ➠➡➛✒☞t❿✍➝✱❽➀❿✝➁➙➝➡❿❼↕✵✢✶✚ ❿★✁ ❽➟➞
➞✫❿★✁☞➠➡❿✝↕✵✁☎✡ ➞✝➠➡❿✔✁✉❿★✚❥❿★✁ ❽➀❿★✁✒✁➙↕✵✢✶✚✝✡➜➛✫✁✖✢■➛t➝✱❽➙➛ ➞✔✚❥❿✍↕ ➞✝➠➡❿★✁✙✲➇➁ ➛t➠➡❻ ✔❨↕ ➝➡➠❾❿❆➞❊➛✙✴✴❻➡➞✔✍✑✏✝❿❆➠❾↕ ✮
✄ ➛❨➁➙➛❨➝✝☞t↕ ➞✔✡ ✚ ➞✫➁✖☞t↕ ➞✔✡✧✛✡❻✱✢⑩➞⑩➛✙✴➲❻ ➞✔✍✑✏✫❿✲➠❾↕ ✄ ➛t➁ ➛t➝✝☞❨↕ ➞✔✡s❿✍➁➙➠❾↕ ➝ �✝➁ ↕ ➞■➛✫✢ ➁ ➛✫✡ ➞✔✍✑✏✝❿ ✛ ☞t❿✎✮
❿✝➁➙➠➡➛❨➝ ➞✝➠ ➞ ✝ ✲ ✴➲❻➡➛ ✚❥❿➇➠➡➛♦➛t➝✱❽ ✏✝❿ ✁ ➛t➁❃➁➙➛✙✁➙❿★✡ ✟✴↕ ➠ ➞⑩➛☛✝❾➞✫❽➟➞✭❿✍❻✪➞✔✚❾➁➙❿✞✝➇↕✵✢ ➞✝➠ ➞✔✢■➛t➝✱❽➀➛✎✻
↔ ➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿

w0

☎✡➁ ➛t➛✫✁✂☞t➁ ↕➜❽➀❿✪➛✙✢❬❽➀➛❨➁✖✢■❿★✁❆➠➡➛ ✁ ☎❨➁➙↕➜➛✫✁ ➠➡➛ ✬ ❿✍❻➡➁➙↕➜➛t➁❆➞✎✁✖✁➙↕✠✢
☞❨❿★✢■❿●❿ ☞➏➞✫➁➙➁➙➛✙✆✱➞✔✢■➛t➝✱❽➀❿✱✲✱➠➡➛❨❽➙➛t➁✖✢■↕ ➝➡➞✝➝➡➠➡❿✎✮ ✁➙➛ ➞❃➛✫✴➲❻ ➞✔✍✫✏✝❿♦➠❾↕ ✄ ➛t➁ ➛t➝✝☞❨↕ ➞✔✡❾➠➡➛ ✴➲❻ ➞✫➁ ❽➟➞
❿✝➁➙➠➡➛✙✢ ✻

✫ ✻✭✗ ☎❨❽➀❿✴➠➡❿✙➠➡➛ �❼➞ ✒ ✡ ➛❨↕✵✆★✞ ✮ �❡↕➜❽ ✔✫➂✼❻✝✁➙➞✝➠➡❿✙➝ ➞✙❿✔✷❾❽➀➛❨➝✝✍✑✏✝❿✙➠➡➛ ✁➙❿★✡➜❻✝✍✟☎✴➛✫✁■➞✔✚❾➁➙❿✞✝➇↕✵✢ ➞ ✮
➠➡➞✔✁✜✚ ➞✝➁➙➞ ☞t❿✍➝➡➠❾↕✵✍✟☎✴➛✫✁❃➠❾➛ ☞t❿✍➝✱❽➀❿✝➁➙➝➡❿ ✆✍➛❨➁➀➞✝↕✠✁✫✲❝❿✍➝❾➠➡➛ ➞ ✁➙❿★✡➜❻✝✍✑✏✝❿✭➠➡➞✡➛✙✴➲❻ ➞✔✍✑✏✫❿✲➠❾↕ ✮
✄ ➛❨➁➙➛❨➝✝☞t↕ ➞✔✡❡➠➡➛ ✴➲❻ ➞✝➁ ❽➟➞✙❿✍➁➙➠➡➛✙✢ ✚ ❿✴➠➡➛ ✁➙➛t➁ ➁➙➛❨➛✫✁✖☞❨➁➙↕ ❽➟➞ ➝ ➞ ✄ ❿✍➁✖✢ ➞✪➠➡❿ ✁ ❿★✢⑩➞➳❽✣✦✍➁ ↕ ❿
Wn(x) ≈

∑

cjϕj(x)
❿✍➝➡➠❾➛

ϕj(x)
✁✣✏✝❿✰➞✎✁ ✄ ❻➡➝✝✍✟☎✴➛✫✁✡➠➡➛✪➞✎✚➡➁➙❿✞✝➇↕✵✢ ➞✔✍✑✏✫❿ ✴✴❻❾➛

➠❾➛✙✟✍➛✙✢ ✁➀➞➳❽➀↕✵✁ ✄ ➞ ✔t➛❨➁ ➞ ✄ ❿✍➁✖✢ ➞ ✞➡❿✔✢ ❿★✆ ✏t➝➡➛t➞✢➠ ➞✔✁ ☞t❿✝➝➡➠➡↕✵✍✆☎➇➛✙✁❆➠➡➛ ☞t❿✝➝➲❽➙❿✍➁➙➝❾❿ ✆✝➛t❿✎✮
✢ ☎❨❽➙➁➙↕✠☞➏➞✔✁✙✻ ↔ ✁ ✚➡➞✝➁ ✂✔✢■➛❨❽➙➁➙❿★✁

cj
✁✣✏✝❿■➠➡➛❵❽➀➛t➁✂✢ ↕➜➝ ➞✝➠➡❿✔✁❼➞➳❽➀➁➀➞✑✟ ☎✫✁ ➠➡➞ ✁➀➞➳❽➀↕✵✁ ✄ ➞✔✍✑✏✫❿ ➠ ➞

✄ ❿✝➁✖✢ ➞ ✄ ➁➀➞✔☞t➞ ➠➡➞ ➛✙✴➲❻ ➞✔✍✑✏✫❿ ➠➡↕ ✄ ➛t➁ ➛t➝✝☞❨↕ ➞✔✡❝➠❾➛ ✴➲❻ ➞✫➁ ❽➟➞ ❿✍➁ ➠➡➛✫✢ ✻

❞✼✱
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ESL
✝✼✄✓✴➲❻➡↕✠✟✫➞✔✡➜➛t➝✱❽ ❁ ↕➜➝✝✆★✡➜➛ ✹❛➞ ✒✍➛t➁ ✟✓☎ ✷ ➞✔✁➙➛t➞✝➠ ➞✾➛✫✢ ✞➡↕✵✚ ✦✝❽➀➛✙✁➙➛✙✁

✁ ↕✵✢✶✚✝✡ ↕✍✠ ☞➏➞✝➠❾❿✍➁➀➞✔✁ ✝➣↕ ➝✝☞✙✡ ❻➡↕➜➝➡➠➡❿❡❽➟➞✝➝✱❽➙❿✹➞✭☞❨↕ ➝➡➛✙✢ �✫❽➙↕✵☞t➞ ➠ ➞ ➠➡➛ ✄ ❿✝➁✖✢ ➞✔✍✑✏✝❿✱✲✎✴➲❻ ➞✝➝✱❽➙❿❃❿ ➛✫✁ ❽➟➞✝➠❾❿
➠➡➛✾❽➀➛❨➝✝✁✣✏✫❿ ✟✽✲➎➠➡➛ ✢ ❿✴➠➡❿■➞ ➁➙➛t➠❾❻ ✔t↕➜➁❼❿■➛✫✴➲❻ ➞✔☞❨↕ ❿✍➝➡➞✔✢ ➛❨➝✱❽➀❿■➠➡➛❊❻✱✢✺✚➡➁➙❿★✷✱✡ ➛✫✢ ➞✕❽➀➁ ↕ ➠➡↕✠✢ ➛❨➝✯✮
✁ ↕ ❿✍➝ ➞✎✡❼➞ ✚ ➞✝➁ ❽➀↕ ➁■➠➡❿ ✴✴❻➡➞✔✡ ✁ ❻ ➞✔✁✼➛✙✴➲❻ ➞✔✍✟☎✴➛✫✁ ✄ ❿✍➁➀➞✔✢✜↕➜➝➡↕✵☞❨↕ ➞✔✡✠✢ ➛❨➝✱❽➀➛✼➠➡➛❨➁➙↕ ✟✝➞✫➠ ➞✔✁✫✲❡➞✙❻✝✢
✷➡↕➜➠➡↕✵✢■➛t➝✱✁➙↕ ❿✝➝ ➞✔✡✳✻ ❁ ✏✝❿✭❽➙➛t❿✍➁ ↕ ➞✔✁✜✴➲❻➡➛■❿ ✄ ➛t➁ ➛✫☞❨➛✫✢ ✷ ➞✫↕✍✝➇❿ ☞t❻✝✁ ❽➀❿ ☞t❿★✢✶✚➡❻❾❽➀➞✔☞t↕➜❿✍➝ ➞✔✡①➠❾➛✙✟✴↕ ➠➡❿
✛ ✁➙❻➡➞ ✁ ↕✵✢✶✚✝✡ ↕✠☞t↕➜➠ ➞✝➠➡➛✎✲➇❿ ✄ ➛❨➁➙➛✙☞t➛✫✢ ✷ ❿✱➞❆➞✎✚➡➁➙❿✞✝➇↕✵✢ ➞✔✍✑✏✫❿❆➝ ➞✔✁❡➠➡➛✫✁✂☞t➁ ↕✵✍✟☎✴➛✫✁❡➠ ➞✎✁ ☞➏➞✝➁➙➞✔☞❨❽➙➛t➁✖✸✠✁ ✮
❽➙↕✵☞➏➞✎✁ ✆★✡ ❿✔✷ ➞✝↕✵✁✒✚ ➞✝➁➙➞ ✚✱✡ ➞✔☞t➞✔✁✑✠ ➝ ➞✎✁✔❿✍❻ ✢ ❿✴➠➡➛t➁➙➞✝➠ ➞✔✢■➛t➝✱❽➙➛ ✠ ➝ ➞✔✁ ✝ ✚ ❿✍↕✠✁✔➞✔✁ ✁ ❿★✡ ❻✝✍✆☎➇➛✙✁ ✁✣✏✝❿
✢■➛t➝➡❿✔✁☞➞✔✚❾➁➙❿✞✝➇↕✵✢ ➞✝➠ ➞✔✁✙✲ ☞❨❿✍➝ ✄ ❿✍➁✂✢ ➛❼➞✰✚✱✡ ➞✔☞t➞ ✁ ➛ ❽➀❿✍➁ ➝ ➞✰✢ ➞✝↕✠✁➩➛✫✁✖✚❥➛✫✁✂✁➀➞✱✲❾➠➡➛✙✟✴↕ ➠❾❿ ✛✔✁☎✞➡↕✵✚ ✦✎✮
❽➙➛✫✁➙➛✙✁✿↕ ➝❾↕✵☞t↕ ➞✝↕✵✁ ➞✔✁✂✁➙❻✝✢■↕ ➠➡➞✔✁ ✟ ✆✯☞❨❿★✢ ❿❊➠➡➛✫✁ ✟✫➞✝➝✱❽➟➞✔✆✍➛✙✢ ✚❥❿➇➠❾➛✽✮ ✁ ➛ ➁ ➛✫✡ ➞✎☞t↕ ❿✝➝ ➞✝➁ ❿ ✄ ➞✫❽➙❿♦➠➡➛✙✁ ❽➟➞✎✁
❽➙➛t❿✍➁ ↕ ➞✔✁ ✁ ➛t➁ ➛✫✢♥↕➜➝✝☞➏➞✔✚➡➞ ✔t➛✙✁✔➠➡➛✾➠➡➛✫✁✂☞t➁➙➛✽✟✍➛❨➁❼❿ ➛✫✁ ❽➟➞✝➠❾❿■➠❾➛✹❽➀➛t➝✱✁✣✏✝❿■➛❃➠➡➛❃➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✑✏✫❿❆➛✫✢
➁ ➛✫✆✍↕✡☎➇➛✙✁✔➠➡➛✾➠➡➛✫✁✂☞t❿✍➝✱❽➀↕➜➝➲❻➡↕ ➠ ➞✫➠➡➛✫✁ ❿✍❻✡➛✫✢♥➁ ➛✫✆✍↕✡☎➇➛✙✁ ☞t❿★✢♥➞✔✡➜❽➀➞ ☞➏➞✝➁✂✆✱➞ ➞✔✚✝✡ ↕✠☞➏➞✝➠➡➞✱✻
✕ ➛✙✁ ❽➙➛ ✢■❿➇➠➡❿✱✲❖➝➡➞✔✁❊❽➙➛t❿✍➁ ↕ ➞✔✁✌✴➲❻➡➛ ☞❨❿★✢✶✚ ☎✴➛✫✢ ➛✙✁ ❽➙➛ ✆✍➁ ❻✝✚ ❿✱✲s❻✝✢ ✡ ➞✔✢■↕ ➝ ➞✝➠❾❿ ☞t❿★✢✶✚ ❿✔✁ ❽➀❿
✢✕❻✱✡➜❽➀↕✠☞➏➞✔✢ ➞✝➠ ➞ ☎✾➞✝➝ ➞✔✡➜↕✵✁➙➞✝➠➡❿ ☞❨❿★✢ ❿ ✁ ➛❃➛✫✁ ❽➙➛ ✄ ❿✔✁✖✁➙➛ ✄ ❿✝➁✖✢ ➞✝➠➡❿ ✚❥❿✍➁✔❻✝✢ ➞ ✁ ➝➡↕✵☞t➞ ☞➏➞✔✢ ➞✝➠ ➞
❽➙➛t➝➡➠➡❿❄❻✝✢ ☞❨❿★✢✶✚ ❿✍➁ ❽➟➞✔✢■➛t➝✱❽➙❿ ☞❨❿✍➝✝✁ ❽➙↕➜❽➙❻❾❽➀↕ ✟✍❿❄❻✱✢ ✚❥❿✍❻✝☞❨❿ ✢⑩➞✫↕✵✁✌☞t❿★✢✶✚✝✡➜➛ ✝➇❿✝✲ ✚❥❿➇➠❾➛t➝➡➠➡❿
➁ ➛t➠➡❻ ✔❨↕ ➁☞➞❊➛ ✝✯✚➡➁ ➛✫✁✂✁✣✏✝❿ ➠ ➞✹☞❨↕ ➝➡➛✙✢ �➳❽➀↕✵☞t➞ ☞❨❿★✢■❿✹✁➙➛❨➝➡➠➡❿❆➞✰☞t❿★✢ ✷❾↕ ➝ ➞✔✍✫✏✝❿✹✡➜↕ ➝➡➛t➞✝➁ ➠ ➞♦➛✙✁✖✚❥➛✫✁ ✮
✁ ❻➡➁➀➞ ✝➣❿✍➝➡➠➡➛⑩➞ ✟✫➞✝➁➙↕ �✑✟✍➛✫✡ ✔⑩➛✙✁ ❽✏�❄➠➡➛✫✁➙➞✔☞t❿✔✚✝✡ ➞✝➠➡➞❄➠ ➞✔✁❊❿✍❻❾❽➀➁➙➞✔✁♦➠❾❻ ➞✔✁✰✟✫➞✝➁ ↕ �✑✟✍➛❨↕✵✁✙✲ ✝❯➛ ✒ ✟✽✲
✢✕❻✱✡➜❽➀↕✠✚✝✡ ↕✠☞➏➞✝➠➡➞✰✚❥❿✍➁ ✄ ❻➡➝✝✍✆☎➇➛✙✁ ✴➲❻ ➞✫↕✵✁✖✴➲❻➡➛❨➁✫✲ ➠ ➞ ✁➙➛✙✆✍❻➡↕➜➝➲❽➙➛ ✄ ❿✍➁✖✢ ➞❾➂

ϕi(x, y, z) =
N
∑

j=0

(z)jϕj
i (x, y)

✝ ❀✱✻✣❞✂✟

❿✍➝❾➠➡➛♦➞✎✁ ✄ ❻➡➝✱✍✟☎✴➛✫✁
ϕi

☞❨❿★✢ ✚❥❿✍➝✝✞➡➞✔✢ ❿ ☞t➞✔✢✶✚ ❿■➠➡➛♦➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿★✁ ❿✍❻❏➠➡➛●❽➙➛t➝✝✁✌☎➇➛✙✁✫✲
z☞❨❿✍➁➙➁ ➛✫✁✖✚❥❿✍➝➡➠❾➛✌✛♦➛✫✁✂✚ ➛✙✁✖✁➙❻❾➁➀➞ ➠ ➞ ✚✝✡ ➞✎☞➏➞✱✲✴➛

ϕj
i

✁✣✏✝❿ ✄ ❻➡➝✱✍✟☎✴➛✫✁✔➠➡➛ ✄ ❿✝➁✖✢ ➞✰✷➡↕➜➠➡↕✵✢■➛t➝✝✁ ↕ ❿✍➝➡➞✝↕✵✁✙✻
✂ ❻ ➞✝➝❾➠➡❿ ➞✔✁ ✟✫➞✝➁➙↕ �✑✟✍➛t↕✠✁✔➞✔✁✂✁➙❿ ☞t↕ ➞✫➠ ➞✔✁✔➞

ϕi

✄ ❿✝➁➙➛✫✢ ➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿★✁✫✲ ➞✎✁ ✄ ❻➡➝✝✍✆☎➇➛✙✁ ✄ ❿✝➁✖✢ ➞ ✮
➠ ➞✎✁ ✚ ➛✙✡ ➞✔✁ ☞t❿★✢✹✷➡↕ ➝ ➞✎✍✟☎✴➛✫✁✭✡➜↕ ➝➡➛t➞✝➁➙➛✙✁ ➠➡➛

ϕi

✁✣✏✫❿✭➠➡➛❨❽➙➛t➁✖✢■↕ ➝➡➞✝➠ ➞✔✁ ➞✫❽➀➁➙➞ ✟ ☎✫✁❃➠➡❿ ✚❾➁➙↕ ➝✱☞✫✸✵✚❾↕ ❿
➠➡❿✔✁✿➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿★✁✥✟✴↕ ➁ ❽➀❻ ➞✝↕✠✁✫✻ ❁ ➛✫✆✍❻➡➝❾➠➡❿ ❿ ✚➡➁➙↕➜➝✝☞✫✸✠✚➡↕ ❿❊➠➡❿✕❽➀➁➙➞✔✷ ➞✔✡✠✞➡❿✰✟✴↕ ➁ ❽➀❻ ➞✎✡✳✲ ✴✴❻❾➛❃➛✫✁ ✮
❽➀➞✔✷ ➛✙✡ ➛✙☞t➛✜✴➲❻➡➛☎✄ ✁➙➛✾❻✝✢ ☞t❿✍➁✂✚ ❿✶☞t❿✝➝➲❽✖✸ ➝➲❻➡❿ ➛✫✁ ❽ � ➛✫✢♥➛✙✴➲❻➡↕✵✡✠✸✵✷➡➁ ↕ ❿✝✲✴❿❆❽➀➁➀➞✎✷ ➞✔✡✵✞❾❿ ✟➇↕➜➁ ❽➙❻ ➞✔✡❝➠➡➛
❽➙❿➇➠ ➞✎✁ ➞✔✁ ✄ ❿✍➁✂✍➏➞✔✁❼➛ ✝✴❽➀➛❨➁➙➝ ➞✔✁✌☎♦↕✠✆✍❻ ➞✔✡❛➞✝❿■❽➀➁➙➞✔✷ ➞✔✡✠✞➡❿✶✟✴↕➜➁ ❽➀❻➡➞✔✡❛➠ ➞✔✁ ✄ ❿✍➁✖✍t➞✔✁ ↕➜➝➲❽➙➛t➁ ➝ ➞✔✁ ✚ ➞✝➁➀➞
✴➲❻ ➞✔✡✠✴➲❻➡➛t➁❆➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿ ✟✴↕ ➁ ❽➀❻ ➞✎✡✆✄ ✲❳❿✍❻ ✁➙➛ ✁➙➞✱✲ ❿✪❽➙➁➀➞✔✷➡➞✔✡✵✞➡❿ ✟✴↕ ➁ ❽➙❻ ➞✔✡ ☎✭↕✵✆✍❻ ➞✎✡✥✛ ✁ ❿★✢⑩➞
➠ ➞✙➛t➝➡➛❨➁✖✆✍↕ ➞ ✟✴↕➜➁ ❽➀❻➡➞✔✡ ➞✔✁✖✁ ❿✯☞❨↕ ➞✝➠ ➞ ✛❯➠❾➛ ✄ ❿✍➁✂✢⑩➞✔✍✫✏✝❿

(δU)
☞❨❿★✢ ➛t➝➡➛❨➁✖✆✍↕ ➞ ✟✴↕ ➁ ❽➀❻ ➞✎✡

(δK)➞✔✁✂✁➙❿ ☞t↕ ➞✝➠ ➞✶✛ ✄ ❿✍➁✂✍➏➞✔✁ ➛ ✝✴❽➙➛t➁➙➝➡➞✔✁✫✻ � ❿★✢■❿ ➛✫✁ ❽➟➞✔✁ ✴✴❻➡➞✝➝✱❽➀↕ ➠➡➞✝➠➡➛✫✁ ➠➡➛✙✚ ➛❨➝➡➠➡➛✫✢❇➠ ➞✎✁ ❽➙➛t➝✝✁✌☎➇➛✙✁
✛ ✴✴❻❾➛⑩➛✫✁ ❽ � ✁ ❻✝✷✝✢■➛❨❽➙↕ ➠➡❿❏❿ ☞t❿✝➁✖✚❥❿❄➛⑩➠➡➞✔✁♦➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✆☎➇➛✙✁ ✟✴↕ ➁ ❽➀❻ ➞✫↕✵✁ ✝ ✴➲❻➡➛ ✚ ❿✍➁ ✁➙❻➡➞ ✟✍➛ ✔
➠➡➛✙✚ ➛❨➝➡➠➡➛✙✢❴➠ ➞✔✁ ✄ ❻➡➝✝✍✆☎➇➛✙✁✿➠➡➛✹➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁☞➞✔✁✖✁ ❻✝✢ ↕➜➠ ➞✔✁ ✟✽✲✱✚❥❿✴➠➡➛✽✮ ✁➙➛ ❻➇❽➀↕✵✡➜↕ ✔t➞✝➁ ❿ ✚➡➁➙↕➜➝✯✮
☞✙✸✵✚➡↕➜❿❊➠➡❿ ✤ ✂ ✄ ✚ ➞✝➁➀➞✰✁➙➛ ➠❾➛❨❽➀➛❨➁✖✢■↕ ➝ ➞✫➁✉➛✙✁ ❽➀➛✙✁✔➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿★✁✫✻✓✤s➞✝➁➀➞❊❻✝✢ ➛✙✡ ➛✙✢ ➛❨➝➲❽➙❿♦➠➡➛
✚✝✡ ➞✔☞➏➞ ✴➲❻ ➞✔✡✠✴➲❻➡➛t➁✙✲➎➞ ↕➜➝✱❽➀➛✫✆✝➁➀➞✔✍✫✏✝❿ ✁➙❿★✷➡➁ ➛❊❿ ➠➡❿✔✢ ✸➜➝➡↕ ❿ ✝ ✟✍❿★✡➜❻✝✢■➛✕✟☞➠ ➞ ✚✝✡ ➞✎☞➏➞ ☎✾➠ ➞✝➠ ➞ ✚ ➛✙✡ ➞
↕➜➝➲❽➙➛✫✆✍➁➙➞✔✍✑✏✫❿ ✁➙❿★✷❾➁➙➛✔❿✜✚✝✡ ➞✝➝➡❿✹➠➡➛✔➁ ➛ ✄ ➛❨➁ ✏t➝✱☞t↕ ➞✹➠➡➞✌✚✱✡ ➞✔☞t➞ ➛✿↕ ➝✱❽➙➛✫✆✍➁➙➞✔✍✑✏✝❿✜✁ ❿★✷➡➁ ➛❡➞✹➛✫✁✖✚❥➛✫✁✂✁➙❻➡➁➙➞

❞✸✷



➠ ➞ ✚✝✡ ➞✔☞➏➞✯✲➡➠➡➛✙✟✴↕➜➠➡❿ ✛❆➝ ➞➳❽➀❻➡➁ ➛ ✔➏➞ ➠➡❿ ☞➏➞✎✢ ✚❥❿ ➠➡➛✾➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁❡➞✝➠➡❿✝❽➀➞✝➠➡❿➡➂
∫

V ol
(.)dV =

∫ h
2

−h
2

∫

Ω0
(.)dΩdz

✝ ❀✝✻ ✾ ✟

❿✍➝❾➠➡➛
h
➁➙➛✙✚➡➁➙➛✙✁➙➛t➝✱❽➀➞⑥➞❯➞✎✡➜❽➀❻❾➁➀➞✢❽➀❿✝❽➀➞✔✡✿➠ ➞ ✚✝✡ ➞✔☞➏➞✱✲ ➛

Ω0

➁ ➛✫✚➡➁ ➛✫✁➙➛❨➝✱❽➟➞ ❿ ✚✝✡ ➞✫➝➡❿ ✢ ☎❨➠➡↕ ❿
✝➣↕ ➝➡➠➡➛ ✄ ❿✍➁✖✢ ➞✝➠➡❿✠✟ ➠ ➞ ✚✝✡ ➞✔☞➏➞✱✻ ✕ ➛✼➞✔☞❨❿✍➁➙➠➡❿ ☞t❿★✢q➞ ☞t↕ ➝❾➛✫✢ �✫❽➀↕✠☞➏➞✲➞✝➠➡❿✝❽➀➞✝➠ ➞✱✲❖❿★✁♦➛✙✁ ✄ ❿✍➁✂✍t❿★✁
✁ ❿★✡ ↕✠☞t↕➜❽➀➞✝➝✱❽➀➛✙✁ ✴➲❻➡➛♦➞➳❽➀❻ ➞✔✢ ➝ ➞ ✚✝✡ ➞✎☞➏➞ ✚ ❿✴➠➡➛✙✢ ✁➙➛❨➁ ☞t➞✔✡✵☞❨❻✝✡ ➞✫➠➡❿★✁❡➞✫❽➙➁➀➞✑✟ ☎✙✁ ➠➡➞■➛✙✴✴❻➡➞✔✍✑✏✝❿❾➂

R
(m)
ij =

∫ h
2

−h
2

(z)mσijdz
✝ ❀✱✻ ✫ ✟

❿✍➝❾➠➡➛❃➞✹✟✫➞✝➁➙↕ �✑✟✍➛✫✡
R

(m)
ij

☞❨❿✍➁➙➁ ➛✫✁✖✚❥❿✍➝➡➠❾➛✾➞✝❿✕➛✫✁ ✄ ❿✍➁✖✍❨❿ ✁➙❿★✡➜↕✵☞t↕ ❽➟➞✝➝✱❽➙➛ ➞✔✚✱✡ ↕✵☞t➞✝➠➡❿✹✛ ✚✝✡ ➞✔☞t➞✱✲✱✴➲❻➡➛
✚❥❿➇➠❾➛✫✢ ✁ ➛t➁ ➛✙✁✖☞❨➁➙↕➜❽➀➞✔✁❡➛✫✢ ✄ ❻➡➝✱✍✑✏✝❿ ➠➡❿★✁ ➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁ ✝

εi

✟✽✻✉❺✿❽➀➁➙➞ ✟ ☎✫✁❼➠ ➞✔✁ ➛✫✴➲❻ ➞✔✍✆☎➇➛✙✁
☞❨❿✍➝✝✁ ❽➙↕➜❽➙❻❾❽➀↕ ✟✝➞✎✁ ✝

σij = Cijklεkl

✲➩❿✍❻ ✁➙➛ ✁➙➞✢➁➙➛✙✡ ➞✔✍✆☎➇➛✙✁♦➛t➝✱❽➙➁➙➛⑩❽➙➛t➝✝✁✖✏✝❿✒➛✼➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✑✏✫❿ ✟✾➛
➠ ➞✎✁ ➁➙➛✙✡ ➞✔✍✆☎➇➛✙✁❼➠❾➛ ✄ ❿✍➁✂✢⑩➞✔✍✫✏✝❿✎✮ ➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿ ✝

εij = 1
2
(µi,j + µj,i)

✟✽✻ ✂ � ✟✁�✝➁➙↕➜❿★✁ ❽➙↕✵✚❥❿★✁
➠➡➛■❽➀➛❨❿✍➁➙↕ ➞✔✁❊➛❨➝✝✆★✡➜❿★✷ ➞✝➠ ➞✎✁✹✚❥➛✫✡ ➞

ESL
✲➩➞✔✁✂✁➙❻✝✢■↕ ➝❾➠➡❿❄❿❏➛✫✁ ❽➀➞✝➠➡❿ ✚✝✡ ➞✝➝➡❿❏➠➡➛ ❽➙➛t➝✝✁✖✏✝❿✢➛✼➞✎✁

➁ ➛✫✡ ➞✎✍✟☎✴➛✫✁ ☞t❿✍➝✝✁ ❽➀↕ ❽➀❻❾❽➙↕✠✟✫➞✔✁ ➠➡❿⑩➛✙✁ ❽➟➞✫➠➡❿ ✚✝✡ ➞✝➝➡❿■➠➡➛❊❽➙➛t➝✝✁✖✏✝❿ ✁✣✏✫❿ ❽➟➞✎✢ ✷ ☎✙✢ ➞✔✁✖✁ ❻✝✢ ↕➜➠ ➞✔✁ ✆ ❿✍❻
✁ ➛ ✁➙➞✱✲❋➝➡➛✙✁ ❽➙➛✶☞t➞✔✁➙❿✱✲❖➠❾➛✫✁✖✚❾➁➙➛ ✔t➞✔✢ ✮ ✁➙➛❆❽➙❿➇➠ ➞✎✁✾➞✔✁✹❽➀➛❨➝✝✁☞☎✴➛✫✁❃❽➀➁➙➞✝➝✝✁ ✟✍➛t➁✂✁➀➞✝↕✠✁ ✝➧❿✍❻ ✁➙➛ ✁➙➞✱✲

σ33 =
0
✟✽✲ ✢■❿✝❽➙↕✠✟✍❿ ✚ ➛✙✡ ❿ ✴➲❻ ➞✎✡ ✁✣✏✫❿✭↕ ➝➡➠➡❻ ✔t↕ ➠➡➞✔✁ ↕✠✢ ✚➡➁ ➛✫☞❨↕✵✁☞☎✴➛✫✁❼➝ ➞✔✁ ✁ ❿★✡ ❻✱✍✟☎✴➛✫✁✫✲ ✚ ❿✝↕✵✁✹➞✎✚ ➛✙✁➀➞✝➁✹➠❾➛
✁ ➛t➁➙➛✙✢ ✚❥➛✫✴➲❻➡➛t➝➡➞✔✁✌✴✴❻➡➞✝➝➡➠➡❿ ☞t❿✔✢ ✚ ➞✫➁➀➞✝➠ ➞✎✁ ✛✔✁✹❽➙➛t➝✝✁✌☎➇➛✙✁

σ11, σ22, σ12

✲❝➝ ✏✝❿ ✚❥❿✴➠➡➛✫✢ ✁➙➛t➁
➠➡➛✙✁✖✚➡➁ ➛ ✔t➞✝➠ ➞✔✁✙✲✝✚ ❿✝↕✵✁ ➞✔✁☎✚✝✡ ➞✔☞t➞✔✁ ➠➡➛✭✢ ➞✫❽➀➛❨➁➙↕ ➞✝↕✵✁ ☞❨❿★✢✶✚ ❿★✁ ❽➀❿★✁✙✲➇➝❾❿✍➁✖✢ ➞✔✡✵✢■➛t➝✱❽➙➛ ✁✣✏✝❿ ✄ ➁✏�✔✆✍➛❨↕✵✁
✴➲❻ ➞✝➝❾➠➡❿■➞❆❽➙➛t➝✝✁✖✏✝❿■➛✫✁ ❽➀➞ ➞✫❽➀❻ ➞✫➝➡➠➡❿■➞✝❿ ✡ ❿✍➝✱✆✍❿❆➠ ➞❆➛✫✁✂✚ ➛✙✁✖✁➙❻❾➁➀➞ ✝➣➠➡↕✵✁✂✚ ❿✔✁➙↕✵✍✫✏✝❿❆➠ ➞✔✁ ✠✝✷➡➁➀➞✔✁ ✟✽✻
✤s➞✝➁➀➞❄❽➙❿➇➠ ➞✎✁ ➞✔✁♦❽➀➛❨❿✍➁➙↕ ➞✔✁✕➠➡❿ ✆✍➁ ❻✝✚❥❿ ✄ ❁ ✹ ✷ ➞✔✁ ➛➏➞✝➠➡➞✪➝❾❿ ☞➏➞✔✢✶✚ ❿✒➠❾➛✭➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁✫✲
➞✔✁✂✁➙❻✝✢■➛✽✮ ✁➙➛✶✴➲❻➡➛ ➛✙✁ ❽➙➛✫✁ ✁✣✏✝❿ ✄ ❻➡➝✝✍✆☎➇➛✙✁✰☞❨❿✍➝✱❽✣✸ ➝➲❻ ➞✎✁❊➠ ➞ ☞t❿✴❿✍➁ ➠➡➛t➝ ➞✫➠ ➞

z
✲s➁ ➛✫✁➙❻✱✡➜❽➟➞✫➝➡➠➡❿✲➛✫✢

❻✝✢ ➞✕➠➡↕✠✁ ❽➀➁ ↕✵✷➡❻❾↕✵✍✑✏✫❿ ☞t❿✍➝✱❽✣✸➜➝➲❻ ➞❆➠ ➞✔✁❡➠➡➛ ✄ ❿✝➁✖✢ ➞✔✍✟☎✴➛✫✁✿❽➙➁➀➞✝➝✝✁ ✟✍➛❨➁✖✁➀➞✫↕✵✁❡➛✾➠➡➛✫✁✂☞t❿✍➝✱❽✣✸➜➝➲❻ ➞✔✁ ✚ ➞✝➁➀➞
➞✔✁❡➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✆☎➇➛✙✁ ☞t❿★✚✝✡ ➞✝➝ ➞✝➁ ➛✫✁✙✻

✞ ✆☛✡ ✆☛✡ ✓ ✓✖✱✒✮✯☞✜✦❴✘ ☎✜✤ ✕✗✕✗☞☛✘ ✦ ★✪✓✈✛ ☎✜✦✧✘✚✦✧✕✰✖ ✦ ✢✥☞✜✛✪✦✧★✪✦✧✕
✣❛➤ ☞ ➤ ☞ ➤ ☞ ✸ ➅➡➌➉➆➉➃ ✴♦→➧➄❖➃✴➫ ✘❾➆➉→ ✜✍➅
❺ ✢ ➞✝↕✵✁✓✁ ↕✵✢✶✚✝✡ ➛✙✁❳❽➀➛❨❿✍➁➙↕ ➞✜✴✴❻❾➛ ✄ ➞ ✔ ✚➡➞✝➁ ❽➙➛✔➠➡❿✰✆✝➁➙❻✝✚❥❿ ✄ ❁ ✹ ☞t❿✍➁ ➁➙➛✙✁✖✚❥❿✍➝➡➠➡➛❼➞✹❽➀➛t❿✝➁➙↕ ➞❃➠➡➛❨➝➡❿✎✮
✢■↕ ➝ ➞✫➠ ➞ ✂❖➛t❿✍➁ ↕ ➞ � ✡ �✔✁✖✁ ↕✵☞t➞♦➠➡➛✌✤✓✡ ➞✔☞t➞ ✹❛➞✔✢■↕ ➝ ➞✝➠➡➞ ✝➧❿✝❻ � ✹❃✤ ✂ ✟ ✲✝✴➲❻➡➛ ☎✹❻✝✢ ➞♦➛ ✝✴❽➙➛t➝✝✁✖✏✝❿
➠ ➞⑩❽➙➛t❿✍➁ ↕ ➞⑩➠❾➛ ✚✝✡ ➞✔☞t➞✔✁✹➠➡➛ ✭❃↕➜➁✖☞ ✞✝✞➡❿ ✁ ✚ ➞✝➁➙➞ ✡ ➞✔✢■↕ ➝➡➞✝➠➡❿★✁ ☞t❿★✢✶✚❥❿★✁ ❽➙❿★✁✫✻ ❁ ✏✝❿✡➞✝➠✱✢ ↕ ❽➀↕ ➠➡➞✔✁
➝➡➛✙✁ ❽➀➞ ❽➙➛t❿✍➁ ↕ ➞✱✲❾➞✔✁✘✢ ➛✙✁✖✢ ➞✔✁ ✞➡↕✵✚ ✦✝❽➙➛✫✁➙➛✙✁ ➞✝➠✝✢■↕➜❽➀↕➜➠ ➞✔✁✒✚ ➛✙✡ ➞✕❽➀➛❨❿✍➁➙↕ ➞ ☞✫✡ �✎✁✖✁➙↕✠☞➏➞✱✲❾❿✍❻ ✁ ➛ ✁➙➞
•
➁ ➛❨❽➟➞✎✁ ✚ ➛❨➁✖✚❥➛t➝➡➠➡↕✠☞t❻✝✡ ➞✝➁➙➛✙✁ ✛ ✁➙❻✱✚ ➛❨➁ ✄ ✸✵☞❨↕ ➛ ✢ ☎t➠❾↕ ➞ ✝➣➝➡❿✍➁✖✢ ➞✝↕✠✁❊❽➀➁➙➞✝➝✝✁ ✟✍➛t➁✂✁➀➞✝↕✠✁ ✟♦➠ ➞ ✚✱✡ ➞✔☞t➞

➞✝➝✱❽➙➛✫✁ ➠ ➞ ➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✫✏✝❿✝✲✝☞❨❿✍➝✱❽➀↕ ➝➲❻ ➞✎✢ ➁➙➛❨❽➀➞✔✁❼➞✔✚ ✦✔✁❼➞ ➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✑✏✫❿✝✲ ↕✵✢✶✚✝✡ ↕✠☞➏➞✝➝❾➠➡❿ ✴➲❻➡➛♦❿
➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿

w
➝ ✏✝❿ ☎ ✄ ❻➡➝✝✍✫✏✝❿ ➠ ➞✶☞❨❿➇❿✝➁➙➠➡➛❨➝ ➞✝➠ ➞ ✔✔✻

❞✼✻



•
➞✔✁♦➝➡❿✍➁✖✢ ➞✝↕✠✁❊❽➀➁➙➞✝➝✝✁ ✟✍➛t➁✂✁➀➞✝↕✠✁❆➝ ✏✝❿ ✁ ❿ ✄ ➁➙➛✙✢ ✟✫➞✝➁ ↕ ➞✔✍✫✏✝❿✢➝➡❿ ✁ ➛t❻ ☞t❿★✢✶✚➡➁ ↕✵✢■➛t➝✱❽➀❿✝✲s↕✵✢✶✚✝✡ ↕ ✮

☞t➞✝➝➡➠➡❿✶✴➲❻➡➛●➞ ➠❾➛ ✄ ❿✍➁✂✢⑩➞✔✍✫✏✝❿ ➝➡❿✍➁✂✢⑩➞✔✡❥❽➀➁➙➞✝➝✝✁✂✟✝➛t➁✂✁➀➞✔✡ ☎✾➝➲❻✝✡ ➞ ✝
εzz = 0

✟ ✻

•
➞✔✁☞➁➙➛❨❽➀➞✔✁✔➝➡❿✍➁✂✢⑩➞✫↕✵✁☞➁ ❿✝❽➟➞✎☞t↕ ❿✝➝ ➞✔✢ ✝ ➞✔✚ ✦★✁✔➞✕➠❾➛ ✄ ❿✍➁✂✢⑩➞✔✍✫✏✝❿ ✟ ✲➇➠➡➛✜✢■❿✴➠➡❿❆➞ ☞t❿✝➝➲❽➙↕ ➝➲❻ ➞✝➁ ➛✫✢

✚❥➛t➁✂✚ ➛❨➝➡➠➡↕✵☞❨❻✝✡ ➞✫➁➙➛✫✁✪✛❃❽➟➞✫➝✝✆✍➛t➝✱❽➙➛ ➠➡➞✌✁ ❻✝✚❥➛t➁ ✄ ✸✠☞t↕➜➛ ✢ ☎t➠❾↕ ➞✹➠➡➛ ✄ ❿✍➁✖✢ ➞✝➠ ➞✹↕✠✢ ✚✝✡➜↕✵☞t➞✝➝➡➠➡❿ ✴➲❻➡➛ ➞✔✁
➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✆☎➇➛✙✁✿❽➀➁➀➞✫➝✝✁✂✟✝➛t➁✖✁➙➞✝↕✵✁ ☞t↕✠✁➀➞✔✡✠✞ ➞✝➝✱❽➀➛✙✁ ✁✣✏✝❿■➝➲❻✝✡ ➞✎✁✫✲➡❿✍❻ ✁➙➛ ✁➙➞✱✲

εxz = εyz = 0
✻

❺✔➠➡❿✫❽➟➞ ✮ ✁➙➛⑩❿✔✁♦➛t↕ ✝➇❿★✁
xy

➝➡❿ ✚✝✡ ➞✝➝❾❿ ✢ ☎t➠➡↕➜❿❏➠ ➞ ✚✝✡ ➞✔☞t➞ ✝ ✁➙↕✵✢✹✷ ❿★✡➜↕ ✔t➞✝➠➡❿ ✚ ❿✝➁
Ω0

✟ ✁ ➛t➝➡➠❾❿
❿✢➠❾❿★✢ ✸➜➝➡↕ ❿✲❽➀❿✝❽➀➞✔✡ ➠➡❿ ✡ ➞✔✢■↕ ➝➡➞✝➠➡❿✲➠ ➞✝➠➡❿ ✚❥➛✫✡➜❿ ✚➡➁➙❿✴➠➡❻❾❽➙❿ ✟✍➛❵❽➀❿✍➁ ↕ ➞✔✡

Ω0 × (−h
2
, h

2
)
✻✒❺✭✁

✁ ❻✝✚ ➛❨➁ ✄ ✸✠☞t↕ ➛✙✁✌✢⑩➞✝↕✠✁❃➛ ✝✴❽➀➛❨➁➙➝ ➞✎✁❊➠➡❿ ✡ ➞✎✢ ↕➜➝ ➞✝➠➡❿ ✁ ➛■➛❨➝✝☞t❿✝➝➲❽➙➁➀➞✔✢ ➝ ➞✎✁❊➞✎✡➜❽➀❻❾➁➀➞✔✁❃➠➡➛✶☞t❿✴❿✍➁ ➠➡➛✽✮
➝ ➞✫➠ ➞✔✁

z = −h
2

➛
z = h

2

✻ ❁ ✏✝❿❆❽➀➞✔✢ ✷✆☎✫✢♥➞✫➠✝✢ ↕ ❽➀↕➜➠ ➞✔✁✔➞✔✁✘✁ ➛✫✆✍❻➡↕➜➝✱❽➀➛✫✁✘✞➡↕✠✚ ✦✫❽➀➛✫✁ ➛✫✁ ✚ ➞✝➁➙➞ ❿
✡ ➞✔✢ ↕➜➝ ➞✝➠➡❿❾➂
•
➞❆❻➡➝❾↕ ✏✝❿❆➛❨➝➲❽➙➁➙➛❊➞✔✁✘☞➏➞✔✢ ➞✝➠ ➞✎✁ ☎ ✚❥➛t➁ ✄ ➛t↕ ❽➟➞

•
❿✜✢ ➞✫❽➙➛t➁➙↕ ➞✔✡➲➠➡➛ ☞➏➞✫➠ ➞✜☞➏➞✔✢ ➞✝➠ ➞ ❽➙➛✫✢ ❻✱✢ ☞t❿✔✢ ✚❥❿✍➁ ❽➀➞✔✢■➛t➝✱❽➀❿❼➛✫✡ �✎✁ ❽➀↕✠☞t❿✎✮ ✡ ↕➜➝➡➛➏➞✝➁✙✲✝➞✎✚➡➁➙➛✙✁➙➛t➝ ✮
❽➀➞✝➝➡➠➡❿ ✾ ✚✝✡ ➞✫➝➡❿★✁✔➠➡➛✌✁➙↕✠✢ ➛❵❽➀➁ ↕ ➞
•
➞❆➛✙✁✖✚❥➛✫✁✖✁ ❻➡➁➀➞■➠➡➛✌☞➏➞✝➠➡➞✶☞t➞✔✢⑩➞✫➠ ➞ ☎✌☞t❿✍➝✝✁ ❽➟➞✝➝✱❽➙➛

•
➞✫➠✝✢ ↕ ❽➀➛ ✮ ✁➙➛✹➞❆❽➙➛t❿✍➁ ↕ ➞❆➠➡➛✌✚❥➛✫✴➲❻➡➛t➝➡➞✔✁❼➠❾➛ ✄ ❿✍➁✂✢⑩➞✔✍✆☎➇➛✙✁✔➛✌✚ ➛✙✴✴❻❾➛t➝➡❿★✁ ➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿★✁

•
❽➙➛t➝✝✁✌☎➇➛✙✁✔❽➀➁➀➞✫➝✝✁✂✟✝➛t➁✖✁➙➞✝↕✵✁✘☞❨↕✵✁➀➞✎✡✵✞ ➞✝➝✱❽➙➛✫✁❡➝ ➞✔✁ ✁ ❻✝✚ ➛❨➁ ✄ ✸✠☞t↕ ➛✙✁✘✁➙❻✝✚❥➛t➁ ↕ ❿✍➁✿➛✾↕➜➝ ✄ ➛t➁ ↕ ❿✍➁✒✁✣✏✝❿■➝➲❻✝✡ ➞✔✁
✕ ➛✾➞✎☞t❿✍➁ ➠➡❿ ☞t❿★✢❴➞✔✁ ✞➡↕✵✚ ✦✝❽➙➛✫✁➙➛✙✁✔➠➡➛ ✭❃↕ ➁✂☞ ✞✝✞➡❿ ✁ ✲➡❻✝✢ ✚ ❿✍➝✱❽➙❿■➠❾➛✜☞t❿✴❿✍➁➙➠➡➛❨➝ ➞✝➠ ➞✎✁

(x, y, z)➠➡➛✙✁✖✡➜❿✯☞t➞ ✮ ✁ ➛❏➞✎✚ ✦★✁ ➞✪➠➡➛ ✄ ❿✍➁✂✢⑩➞✎✍✑✏✝❿✝✲✒✚ ➞✝➁➙➞✙❻✝✢ ➞ ✚ ❿★✁ ↕✵✍✫✏✝❿ ✴✴❻❾➛ ✚❥❿➇➠➡➛ ✁ ➛t➁⑩➠➡➞✝➠ ➞ ✚ ➛✙✡ ➞✔✁
☞❨❿➇❿✍➁ ➠➡➛t➝➡➞✝➠ ➞✔✁

(x+ u, y + v, z + w)
✲✝✁ ➛t➝➡➠➡❿

(u, v, w)
➞✔✁

☞❨❿★✢ ✚❥❿✍➝➡➛❨➝✱❽➀➛✫✁❡➠➡❿ ✟✍➛❵❽➀❿✍➁❡➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿

U = uex + vey + wez

✝ ❀✝✻ ❀ ✟

❿✍➝❾➠➡➛✔➞✔✁ ☞❨❿★✢✶✚ ❿✍➝❾➛t➝✱❽➀➛✙✁
u
✲
v
✲
w
➠➡❿ ✟✝➛❨❽➀❿✝➁ ✁✣✏✝❿✜✢♦❻✝✡➜❽➙↕✵✚✝✡➜↕✵☞➏➞✫➠ ➞✔✁ ✚ ➛✙✡ ❿★✁❃✟✍➛❨➁✖✁➙❿✝➁➙➛✫✁ ➝ ➞✎✁➩➠➡↕ ✮

➁ ➛✫✍✟☎✴➛✫✁
x, y, z

➁ ➛✫✁✂✚ ➛✙☞❨❽➀↕ ✟✫➞✔✢ ➛❨➝✱❽➀➛✔✻ ↔ ✁❳➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁
u, v, w

✲✫➁➙➛✫✡ ➞✫❽➀↕ ✟✍❿★✁ ✛✔✁①➠➡↕➜➁➙➛✫✍✆☎➇➛✙✁
x, y, z

➁ ➛✫✁✖✚❥➛✫☞❵❽➀↕ ✟✝➞✎✢ ➛❨➝➲❽➙➛✔✲ ✚❥❿➇➠❾➛✫✢ ✁ ➛t➁❡➁➙➛✙✚➡➁➙➛✙✁➙➛t➝✱❽➀➞✝➠➡❿★✁ ✚ ❿✍➁❨➂

U(x, y, z) =











u(x, y, z)
v(x, y, z)
w(x, y)











=















u0(x, y) − z ∂w0(x,y)
∂x

v0(x, y) − z ∂w0(x,y)
∂y

w0(x, y)















✝ ❀✝✻✲✱ ✟

✣❛➤ ☞ ➤ ☞ ➤ ✑ ✸ ➅➡➌➉➆➉➃ ✴❊➈❥➄✍✒❵➆➍→➣➆➉➒❛➆➍→ ➵➡➅
❺ ✁✕➠➡➛ ✄ ❿✝➁✖✢ ➞✔✍✟☎✴➛✫✁ ✁✖✏✝❿✒❿★✷❾❽➙↕ ➠ ➞✎✁✕➠ ➞✢➁➙➛✙✡ ➞✔✍✫✏✝❿✢➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✫✏✝❿✎✮ ➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿ ✝➣❽➟➞✎✢ ✷ ☎✙✢
➠➡➛❨➝➡❿★✢■↕ ➝ ➞✫➠ ➞✒➛✫✴➲❻ ➞✔✍✫✏✝❿ ☞❨↕ ➝➡➛✙✢ �➳❽➀↕✵☞t➞✠✟✰✡➜↕ ➝➡➛t➞✝➁ ✝➧➝➡❿ ☞t➞✔✁➙❿❯➠➡❿ ✚❾➁➙➛✫✁ ➛t➝✱❽➀➛✲❽➀➛☛✝➇❽➙❿ ✟✽✲✉➠ ➞✝➠ ➞
✚❥➛✫✡ ➞✕➛✫✴➲❻ ➞✔✍✫✏✝❿

❞✸✬



εij =
1

2

(

∂ui

∂Xj

+
∂uj

∂Xi

)

✝ ❀✝✻ ✷✠✟

❿✍➝❾➠➡➛
εij

☎✕❽➟➞✔✢ ✷✆☎✫✢ ☞ ✞ ➞✎✢⑩➞✝➠❾❿✭➠➡➛♦❽➀➛❨➝✝✁➙❿✝➁❃↕ ➝✎✠ ➝❾↕➜❽➀➛✙✁➙↕✠✢⑩➞✔✡❋➛
ui

✁➙➛❆➁➙➛ ✄ ➛t➁ ➛✫✢ ✛✎✁ ☞t❿★✢ ✮
✚❥❿✍➝➡➛❨➝➲❽➙➛✫✁

(u, v, w)
✲ ☞❨❿✍➝ ✄ ❿✍➁✂✢ ➛✕❿ ✟✫➞✔✡➜❿✍➁ ➠❾❿ ✸ ➝➡➠➡↕✠☞t➛❊➠➡➛✁❞ ➞ ✫ ➛

Xi

☞t❿✍➁ ➁➙➛✙✁✖✚❥❿✍➝➡➠➡➛ ✛✔✁
☞❨❿★✢ ✚❥❿✍➝➡➛❨➝✱❽➀➛✫✁ ➠➡❿★✁✼➛❨↕✍✝➇❿★✁ ☞➏➞✝➁ ❽➀➛✫✁ ↕ ➞✝➝❾❿★✁✫✻ ❁ ➛t➝❾➠➡❿➋➞ ☞t➞✔✢⑩➞✫➠ ➞ ☞❨❿✍➝✝✁ ❽➙↕➜❽➙❻✝✸ ➠ ➞ ✚ ❿✝➁ ✢ ➞ ✮
❽➙➛t➁➙↕ ➞✔✡ ❿✍➁ ❽➙❿✝❽➀➁✂✦★✚➡↕✵☞❨❿✝✲✔➞✔✁ ❽➀➛t➝✱✁☞☎✴➛✫✁✼❽➀➁➙➞✝➝✝✁ ✟✍➛t➁✂✁➀➞✝↕✠✁ ☞t↕✠✁➀➞✔✡✠✞ ➞✝➝✱❽➀➛✙✁

σxz, σyz

❽➀➞✔✢ ✷✆☎✫✢ ✁✣✏✝❿
➝➲❻✝✡ ➞✔✁✫✲❝➠❾➛✙✟✴↕ ➠➡❿✡➞✫❿ ✄ ➞✫❽➀❿✼➠❾➛❆➠➡➛✫✚❥➛t➝➡➠❾➛t➁➙➛✙✢ ✝ ✚❥➛✫✡ ➞✔✁✹➛✙✴✴❻➡➞✔✍✟☎✴➛✫✁✌☞t❿✝➝✝✁ ❽➙↕➜❽➀❻➇❽➀↕✠✟✫➞✔✁ ✟ ➠ ➞✎✁❃➠➡➛✽✮
✄ ❿✍➁✂✢⑩➞✎✍✟☎✴➛✫✁

εxz, εyz

➝➲❻✝✡ ➞✔✁❡➠➡➛✙✟✴↕➜➠➡❿✶✛✔✁✘✞➡↕✵✚ ✦✝❽➀➛✙✁➙➛✙✁❼➞✫➠➡❿✝❽➟➞✫➠ ➞✔✁✫✻➩❺ ✁✖✁ ❻✝✢ ➛ ✮ ✁ ➛●❽➀➞✔✢ ✷✆☎✫✢♥➞
❽➙➛t➝✝✁✖✏✝❿
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✲➡➛✾➞ ✢ ➛✙✁✖✢ ➞♦➝ ✏✝❿ ☎❃❻❾❽➙↕✵✡➜↕ ✔➏➞✫➠ ➞❊➝ ➞ ✄ ❿✍➁✂✢✕❻✝✡ ➞✔✍✑✏✝❿❊➠➡❿✶✤✧✻ ✂✜✻ ✄ ✻✠✲➡❽➙➛t➝➡➠❾❿✎✮ ✁ ➛

➛❨➝➲❽✣✏✝❿✝✲ ☞t➞✔✁➙❿✶✚✝✡ ➞✫➝➡❿❆➠➡➛❃❽➀➛❨➝✝✁✣✏✝❿■➛✾➠➡➛✾➠➡➛ ✄ ❿✝➁✖✢ ➞✔✍✑✏✝❿✱✻
✕ ➛✙✁ ❽➙➛✰✢■❿➇➠❾❿✝✲ ➞✔✁❡➁➙➛✙✡ ➞✔✍✆☎➇➛✙✁ ☞t❿✍➝✱✁ ❽➀↕ ❽➀❻❾❽➙↕✠✟✫➞✔✁ ✡➜↕ ➝➡➛t➞✝➁➙➛✙✁✔❻✝✁➀➞✝➠➡➞✔✁ ✚➡➞✝➁➀➞❆❻✝✢ ➞ ☞➏➞✔✢ ➞✝➠ ➞ ✝ ✡☎✂ ✮
✢■↕ ➝ ➞ ✟●❿✍➁ ❽➀❿✝❽➙➁✖✦★✚➡↕✠☞➏➞✱✲❳➝➡❿ ✁➙↕✠✁ ❽➀➛✙✢⑩➞ ☞t➞✝➁ ❽➙➛✫✁ ↕ ➞✝➝➡❿✒➠❾➛ ☞❨❿➇❿✝➁➙➠➡➛❨➝ ➞✝➠ ➞✔✁ ✡➜❿✯☞t➞✝↕✵✁✙✲ ✁✣✏✫❿✒➠ ➞✝➠ ➞✔✁
✚❥❿✍➁t➂
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✝ ❀✝✻✲✻ ✟

➁ ➛✫✚➡➁ ➛✫✁➙➛❨➝✱❽➟➞✝➠ ➞✎✁①➝➡❿ ✁ ↕✵✁ ❽➙➛✫✢ ➞ ✡➜❿✯☞t➞✔✡✱➠➡➛✒☞t❿✴❿✍➁➙➠➡➛❨➝ ➞✝➠ ➞✎✁
(x1, x2, x3)

✡ ❿ ☞➏➞✔✡➜↕ ✔➏➞✫➠➡❿✔➝➡❿ ✚✝✡ ➞✝➝➡❿
✢ ☎t➠➡↕➜❿⑩➠ ➞ ✡☎✂✔✢ ↕➜➝ ➞ ☞t❿★✢ ❿★✁✹➛❨↕✍✝➇❿★✁

x1

➛
x2

❿✯☞❨❻✝✚ ➞✝➝❾➠➡❿✡➞✔✁✹➠➡↕➜➁➙➛✙✍✟☎✴➛✫✁✜✚ ➞✝➁➙➞✔✡ ➛✙✡ ➞■➛ ✚ ➛❨➁ ✮
✚❥➛t➝➡➠❾↕✵☞t❻✱✡ ➞✝➁✭✛✔✁ ✠ ✷➡➁➙➞✔✁✹➁➙➛✙✁✖✚❥➛✫☞❵❽➀↕✠✟✫➞✔✢■➛t➝✱❽➙➛✔✲❋❿✍➝➡➠❾➛

α
➁➙➛✙✚➡➁➙➛✙✁➙➛t➝✱❽➀➞❏➞

α
✮ ☎✫✁ ↕✵✢ ➞ ☞t➞✔✢⑩➞✫➠ ➞✱✻

↔ ✁➩❽➀➛❨➁✖✢■❿★✁
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✁✣✏✝❿❊➞✔✁✪☞t❿✝➝✝✁ ❽➀➞✝➝✱❽➀➛✫✁✉➛✫✡ �✔✁ ❽➙↕✵☞➏➞✎✁➩➠➡❿✰✢ ➞✫❽➙➛t➁➙↕ ➞✔✡➡➛✘✚❥❿➇➠➡➛✙✢ ✁➙➛❨➁ ➠➡➞✝➠➡❿★✁☎✚ ❿✝➁t➂

C11 = E1

1−ν12ν21

C12 = ν12E2

1−ν12ν21

C22 = E2

1−ν12ν21

C66 = G12

✝ ❀✝✻ ✬✠✟

✁ ➛t➝➡➠➡❿
E1

➛
E2

❿★✁ ✢✶✦✴➠➡❻✝✡ ❿✔✁ ➠➡➛❄➛✫✡ ➞✎✁ ❽➀↕✠☞t↕➜➠ ➞✝➠➡➛ ✡ ❿✍➝✱✆✍↕➜❽➙❻➡➠➡↕ ➝➡➞✔✡✳✲
G12

❿ ✢ ✦✴➠➡❻✝✡➜❿❯➠➡➛
✡➜➛➏➞✔✁ ❽➀↕✵☞❨↕ ➠ ➞✫➠➡➛✹❽➀➁➙➞✝➝✝✁✂✟✝➛t➁✂✁➀➞✔✡❖➛

νij

❿★✁ ☞t❿✴➛✆✠ ☞❨↕ ➛t➝✱❽➙➛✫✁ ➠❾➛✹✤❖❿✍↕✵✁✂✁➙❿✍➝ ✲➎❽➀❿✴➠➡❿★✁❡➛✙✢ ➁➙➛✫✡ ➞✔✍✑✏✫❿⑩➞✝❿
✁ ↕✵✁ ❽➙➛✫✢ ➞❆➠➡➛✌☞t❿✴❿✍➁➙➠➡➛❨➝ ➞✝➠ ➞✎✁ ✡➜❿✯☞t➞✝↕✵✁

(x1, x2, x3)
✻

� ❿★✢■❿❼➞✔✁ ☞➏➞✔✢ ➞✝➠ ➞✔✁ ✁✖✏✝❿ ❿✍➁ ❽➀❿✝❽➙➁✖✦★✚❾↕✵☞➏➞✎✁✓✲✝➛✉➞✔✁❛➠➡↕ ➁ ➛✫✍✟☎✴➛✫✁❖➠ ➞✔✁ ✠ ✷➡➁➙➞✔✁ ✟✝➞✫➁➙↕ ➞✎✢✩➠➡➛✒☞➏➞✔✢ ➞✝➠ ➞
✚ ➞✫➁➀➞ ☞➏➞✎✢⑩➞✝➠➡➞✱✲ ➞✔✁✔➛✙✴✴❻➡➞✔✍✟☎✴➛✫✁✘☞t❿✝➝✝✁ ❽➙↕➜❽➀❻➇❽➀↕✠✟✫➞✔✁☞➠➡➛✌☞➏➞✝➠ ➞ ☞t➞✔✢⑩➞✫➠ ➞✕➠➡➛✙✟✝➛✫✢✺✁ ➛t➁✿❽➀➁➙➞✝➝✝✁ ✄ ❿✍➁ ✮
✢ ➞✝➠ ➞✔✁ ✚➡➞✝➁➀➞✪❿ ✁➙↕✵✁ ❽➀➛✙✢⑩➞✒➠➡➛ ☞t❿✴❿✍➁➙➠❾➛t➝ ➞✝➠➡➞✔✁ ✆★✡ ❿★✷➡➞✔✡ ✝➧➠❾❿ ✡ ➞✔✢■↕ ➝ ➞✝➠❾❿ ✟✽✲➩❻❾❽➙↕✵✡➜↕ ✔➏➞✫➝➡➠➡❿✒➞✔✁
✢ ➞✫❽➀➁ ↕ ✔❨➛✫✁✿➠➡➛✾➁ ❿✝❽➟➞✔✍✫✏✝❿✝✲➡➠❾➛ ✢■❿✴➠➡❿■➞ ➁ ➛✫✁ ❻✝✡➜❽➀➞✝➁
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❺ ✟✫➞✝➁ ↕ ➞✔✍✫✏✝❿✰➠ ➞✔✁✡➠➡➛ ✄ ❿✝➁✖✢ ➞✔✍✟☎✴➛✫✁✡➞✝❿ ✡➜❿✍➝✝✆✍❿➋➠ ➞✰➛✫✁✂✚ ➛✙✁✖✁ ❻➡➁➀➞✏➠➡❿ ✡ ➞✔✢■↕ ➝ ➞✝➠❾❿ ☎ ✡ ↕➜➝➡➛➏➞✝➁✙✲
➞✔✚❾➁➙➛✫✁ ➛t➝✱❽➟➞✫➝➡➠➡❿✢❻✝✢ ➞✡↕ ➝✝☞✙✡ ↕ ➝➡➞✔✍✑✏✝❿✭➠❾➛ ➁ ➛❨❽➟➞ ✁ ➝➡↕✠☞➏➞✱✲❖➛✫✢ ❽➙❿➇➠ ➞✎✁♦➞✔✁ ☞➏➞✎✢⑩➞✝➠➡➞✔✁✫✻ ❺ ✟✫➞✝➁ ↕ ✮
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➠➡↕➜➁➙➛✙✍✟☎✴➛✫✁

x, y
✻











Mxx

Myy

Mxy











(α)

=
N
∑

α=1

∫ zα+1

zα











σxx

σyy

τxy











zdz =
N
∑

α=1

∫ zα+1

zα







C̄11 C̄12 C̄16

C̄12 C̄22 C̄26

C̄16 C̄26 C̄66







(α)

z











εxx

εyy

γxy











(α)

✝ ❀✝✻✢❞❳❞✂✟
❿✍➝❾➠➡➛✰✗ ☞❨❿✍➁➙➁ ➛✫✁✖✚❥❿✍➝➡➠❾➛✫✢ ✛✔✁ ✁ ❿★✡ ↕✠☞t↕➜❽➀➞✔✍✟☎✴➛✫✁☞➠➡➛✌✢ ❿★✢■➛t➝✱❽➙❿✝✻

✞ ✆☛✡ ✆✁� ✓ ✓✖✱✒✮✯☞✜✦ ★✪✓✈✛ ☎✜✦✧✘✚✦✧✕ ★✪✓✣✛ ✮✯☞☛✢✥✓✖☞✁✮✯✦♥✵ ✮ ★✪✓✣✢
✣❛➤ ☞ ➤ ✑ ➤ ☞ ✴♦→➧➄❖➃✴➫ ✘➇➆➍→ ✜✍➅✪➦➧→➧➄❖➃➲➅➡➌
� ❿✍➝✱✁ ❽➀↕ ❽➀❻➡↕ ✮ ✁ ➛●➝➲❻✝✢ ➞ ➛☛✝✴❽➀➛t➝✱✁✣✏✝❿✼➠➡➞ ❽➙➛t❿✍➁ ↕ ➞ ➠➡➛✰✚✱✡ ➞✔☞t➞✔✁❼➠❾➛ �❡➛t↕✠✁✖✁➙➝❾➛t➁ ✮ ✗❏↕ ➝❾➠✝✡ ↕➜➝ ✲ ❿★✷❾❽➙↕ ➠ ➞
➞✫❽➙➁➀➞✑✟ ☎✙✁♦➠➡❿❏➁➙➛✙✡ ➞ ✝❾➞✔✢■➛t➝✱❽➀❿✲➠ ➞✭❽➀➛❨➁✖☞t➛❨↕ ➁➙➞ ✞➡↕✠✚ ✦✝❽➙➛✫✁ ➛⑩➞✝➠❾❿✝❽➟➞✝➠➡➞ ✚❥❿✍➁✮✭❃↕ ➁✖☞ ✞✱✞➡❿ ✁ ✲✧✁ ↕✵✆✍➝➡↕✍✠✱✮
☞t➞✝➝➡➠➡❿✌✴➲❻➡➛ ❻✝✢ ➛✙✡ ➛✫✢■➛t➝✱❽➙❿ ✡➜↕ ➝➡➛t➞✝➁①➁ ➛❨❽➀↕✠✡✵✸➜➝➡➛t❿ ❽➙➁➀➞✝➝✱✁✂✟✍➛❨➁✖✁➙➞✔✡❂✚ ➛❨➁✖✚❥➛t➝➡➠➡↕✠☞t❻✝✡ ➞✝➁✓✛✜✁➙❻✱✚ ➛❨➁ ✄ ✸✵☞❨↕ ➛
✢ ☎t➠➡↕ ➞✹➠ ➞✌✚✝✡ ➞✔☞t➞❃➝ ✏✝❿ ✠ ☞➏➞✾❿★✷➡➁ ↕✵✆✱➞➳❽➀❿✍➁ ↕ ➞✔✢■➛t➝✱❽➀➛✥✚ ➛❨➁✖✚❥➛t➝➡➠➡↕✠☞t❻✝✡ ➞✝➁ ➞❃➛✫✁ ❽➟➞✌✢ ➛✙✁✖✢ ➞✌✁ ❻✝✚❥➛t➁ ✮
✄ ✸✠☞t↕ ➛✎✲✱➞✔✚ ✦★✁ ➞❃➠➡➛ ✄ ❿✍➁✂✢⑩➞✎✍✑✏✝❿✝✻ ✤s❿✍➁ ☎✫✢ ✲ ☞t❿✍➝✱❽➀↕➜➝➲❻ ➞✔✢ ↕➜➝➡➛ ✝✴❽➀➛❨➝✝✁✖✸ ✟✍➛❨↕✵✁ ↕✵✢✶✚✝✡ ↕✠☞➏➞✝➝➡➠❾❿ ➛✫✢ ✴➲❻➡➛

✾✔✿



❿✕➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿
w
➝ ✏✝❿❆➠➡➛✙✚ ➛❨➝➡➠➡➛❃➠ ➞ ☞❨❿➇❿✍➁ ➠➡➛t➝➡➞✝➠ ➞

z
✻ ❺ ☞t↕ ➝❾➛✫✢ �✫❽➀↕✠☞➏➞✰✴➲❻➡➛❃➠❾➛✫✁✖☞❨➁➙➛✽✟✍➛

❿ ☞➏➞✎✢ ✚❥❿ ➠➡➛✾➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁✔➠ ➞✶✚✱✡ ➞✔☞t➞ ☎●➠➡➞✝➠ ➞ ➞✔✷ ➞✝↕ ✝➇❿

u(x, y, z) = u0(x, y) + zθx(x, y)
v(x, y, z) = v0(x, y) − zθy(x, y)

w(x, y, z) = w0(x, y)

✝ ❀✝✻✢❞ ✾ ✟

❿✍➝❾➠➡➛
u0, v0, w0

➛
θx,−θy

✁✣✏✝❿ ✄ ❻❾➝✝✍✟☎✴➛✫✁❃➞✶✁➙➛❨➁➙➛✫✢ ➠➡➛❵❽➀➛t➁✂✢ ↕➜➝ ➞✝➠ ➞✎✁✫✲ ✁➙➛t➝❾➠➡❿ ✴➲❻➡➛✕➛✫✁ ❽➟➞✔✁
➠➡❻➡➞✔✁ ✁ ✡ ❽➀↕✠✢⑩➞✔✁ ☞❨❿✍➁➙➁ ➛✫✁✂✚ ❿✍➝❾➠➡➛✫✢ ✛✔✁ ➁ ❿✝❽➟➞✎✍✟☎✴➛✫✁ ➠➡➞ ➝➡❿✍➁✂✢⑩➞✎✡❛❽➙➁➀➞✝➝✱✁✂✟✍➛❨➁✖✁➙➞✔✡❳➛✙✢❇❽➙❿✍➁➙➝❾❿⑩➠➡❿★✁
➛❨↕✍✝➇❿★✁

y
➛
x
➁➙➛✫✁✂✚ ➛✙☞❨❽➙↕✠✟✫➞✔✢■➛t➝✱❽➀➛✎✲ ➛ ✁✖✏✝❿ ➠ ➞✝➠ ➞✎✁ ✚❥❿✍➁

θx =
∂u

∂z
θy =

∂v

∂z

✝ ❀✝✻✢❞ ✫ ✟
✤s➞✝➁➀➞ ✚✝✡ ➞✎☞➏➞✔✁✘✢✕❻➡↕ ❽➀❿ ✠ ➝➡➞✔✁ ✝ ✴➲❻ ➞✝➝➡➠➡❿⑩➞✶✢■➛t➝❾❿✍➁✔➠ ➞✔✁ ➠➡❻ ➞✔✁❡➠➡↕✠✢ ➛❨➝✝✁☞☎✴➛✫✁❡➛❨➝➲❽➙➁➙➛✰☞t❿★✢✶✚➡➁➙↕ ✮
✢■➛t➝✱❽➀❿✡➛ ✡ ➞✝➁✖✆✍❻❾➁➀➞ ✄ ❿✍➁❃➠➡➞✡❿✝➁➙➠➡➛✙✢ ➠➡➛ ✱✔✿ ✟✍➛ ✔t➛✙✁✰✢ ➞✝↕ ❿✝➁ ➠➡❿ ✴➲❻➡➛■➞✭➛✫✁✖✚❥➛✫✁✂✁➙❻➡➁➙➞✠✟✹➛t➝✱❽ ✏✫❿
➞✔✁ ✄ ❻❾➝✝✍✟☎✴➛✫✁✘❀✝✻✢❞ ✫ ➠➡➛✽✟✍➛✫✢❇➞✎✚➡➁➙❿✞✝➇↕✵✢ ➞✝➁ ✮ ✁➙➛❼➠ ➞✔✁❡➁➙➛✙✁✖✚❥➛✫☞❨❽➙↕✠✟✫➞✔✁ ☞❨❻➡➁✂✟✫➞✫❽➙❻➡➁➀➞✔✁❡➠➡➛✄✂➡➛ ✝✱✏✝❿✝✲ ❿✍❻
✁ ➛ ✁➙➞

θx = −
∂w0

∂x
θy = −

∂w0

∂y

✝ ❀✝✻✢❞✑❀ ✟

✣❛➤ ☞ ➤ ✑ ➤ ✑ ✴♦→➧➄❖➃✴➫ ✘➇➆➍→ ✜✍➅✪➄ ✎➡➈➋➦➧→➧➄❖➃➲➅➡➌
❺❼➝ ➞✔✡ ↕✠✁➀➞✝➝❾➠➡❿✾➞✔✁ ➠➡➛ ✄ ❿✝➁✖✢ ➞✔✍✟☎✴➛✫✁➩➝ ✏✫❿✎✮ ✡➜↕ ➝➡➛t➞✝➁➙➛✙✁➩➞✔✁✖✁ ❿✯☞❨↕ ➞✝➠➡➞✔✁ ➞✝❿✌☞➏➞✔✢✶✚ ❿✾➠➡➛❡➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✯✮
❽➙❿★✁

εx = ∂u0

∂x
+ 1

2

(

∂w0

∂x

)2
+ z ∂φx

∂x

εy = ∂v0

∂y
+ 1

2

(

∂w0

∂y

)2
+ z ∂φy

∂y

γxy =
(

∂u0

∂y
+ ∂v0

∂x
+ ∂w0

∂x
∂w0

∂y

)

+ z
(

∂φx

∂y
+ ∂φy

∂x

)

γxz = ∂w0

∂x
+ φx

γyz = ∂w0

∂y
+ φy

εz = 0

✝ ❀✝✻✢❞✼✱ ✟

✟✝➛t➁➙↕✍✠ ☞➏➞ ✮ ✁➙➛ ✴➲❻➡➛❏➞✔✁ ➠➡➛ ✄ ❿✝➁✖✢ ➞✔✍✟☎✴➛✫✁
εx, εy, γxy

✁✖✏✝❿ ✡ ↕ ➝❾➛➏➞✝➁ ➛✫✁❆➛✫✢✜➁ ➛✫✡ ➞✔✍✑✏✝❿ ✛ ☞t❿✴❿✍➁ ➠➡➛✽✮
➝ ➞✫➠ ➞

z
✲ ➛t➝✝✴➲❻ ➞✝➝✱❽➙❿ ✴➲❻➡➛✪➞✎✁✼➠➡➛✫✢ ➞✝↕✠✁⑩➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✟☎✴➛✫✁ ✁✣✏✝❿ ☞❨❿✍➝✝✁ ❽➟➞✝➝✱❽➀➛✙✁✲➞✝❿ ✡ ❿✝➝✝✆✍❿⑥➠ ➞

➛✙✁✖✚❥➛✫✁✖✁ ❻➡➁➀➞✒➠➡❿ ✡ ➞✔✢■↕ ➝➡➞✝➠➡❿✝✲ ➁➙➛✙✁➙❻✝✡ ❽➟➞✝➝➡➠❾❿✲➛✙✢q❽➙➛t➝✝✁✌☎➇➛✙✁♦❽➀➁➙➞✝➝✝✁ ✟✍➛t➁✂✁➀➞✝↕✠✁ ☞t↕✠✁➀➞✔✡✠✞ ➞✝➝✱❽➀➛✙✁✕➞ ✁➙➛✽✮
➁ ➛✫✢❴❽➀➞✔✢ ✷✆☎✫✢ ☞❨❿✍➝✝✁ ❽➟➞✝➝✱❽➀➛✙✁ ✝➣➠➡➛✙✟✴↕ ➠❾❿ ✛ ➛✫✴➲❻ ➞✎✍✑✏✝❿✶☞t❿✍➝✱✁ ❽➀↕ ❽➀❻❾❽➙↕✠✟✫➞❆➠➡❿ ✢⑩➞➳❽➀➛t➁ ↕ ➞✔✡ ❿✍➁ ❽➙❿✝❽➀➁✂✦✎✮
✚➡↕✠☞t❿ ✟ ✻ ✤❖❿✍➁ ☎✙✢ ✲ ✁➀➞✔✷❥➛✽✮ ✁➙➛❼➞✫❽➀➁➙➞✑✟ ☎✫✁✉➠ ➞●❽➙➛t❿✍➁ ↕ ➞✾➠➡➛ ✷ ➞✝➁➙➁➙➞✔✁☎✞➡❿★✢■❿★✆ ✏t➝❾➛➏➞✔✁☎✴➲❻➡➛ ➞✎✁ ❽➙➛t➝✝✁✌☎➇➛✙✁

✾✳❞



☞❨↕✵✁➀➞✎✡✵✞ ➞✝➝✱❽➙➛✫✁ ❽➙➁➀➞✝➝✱✁✂✟✍➛❨➁✖✁➙➞✝↕✵✁ ✟✫➞✝➁ ↕ ➞✔✢ ✚ ➞✝➁➀➞✎✷ ❿★✡➜↕✵☞t➞✔✢ ➛❨➝✱❽➀➛✲➞✝❿ ✡➜❿✍➝✝✆✍❿✙➠ ➞ ➛✙✁✖✚❥➛✫✁✖✁ ❻➡➁➀➞➋➠ ➞
✷ ➞✫➁➙➁➀➞✯✻ ✕ ➛✙✁ ❽➙➛ ✢ ❿✴➠➡❿✝✲✧✚ ➞✝➁➀➞ ✷ ➞✝➁➙➁➙➞✔✁♦➛ ✚✝✡ ➞✎☞➏➞✔✁✰✡ ➞✔✢■↕ ➝ ➞✫➠ ➞✔✁✜☞t❿✔✢ ✚❥❿★✁ ❽➀➞✔✁✫✲①➞✔✁❊❽➙➛t➝✝✁✌☎➇➛✙✁
☞❨↕✵✁➀➞✎✡✵✞ ➞✝➝✱❽➙➛✫✁❃❽➀➁➙➞✝➝✝✁✂✟✝➛t➁✂✁➀➞✝↕✠✁❊➠➡➛✽✟✍➛✙✢ ✟✫➞✝➁ ↕ ➞✝➁ ➝➡❿ ✢✶✸ ➝❾↕✵✢■❿ ✴➲❻ ➞✝➠➡➁➙➞✫❽➀↕✠☞➏➞✔✢■➛t➝✱❽➀➛■➞✝❿ ✡➜❿✍➝✝✆✍❿
➠ ➞❏➛✫✁✖✚❥➛✫✁✂✁➙❻➡➁➙➞✒➠ ➞ ☞➏➞✎✢⑩➞✝➠➡➞✱✻ ✂ �❏➠➡➛✙✁ ❽➙➛ ✢ ❿✴➠➡❿✲❻✝✢⑩➞❏➠➡↕✵✁✂☞t➁➙➛✙✚ ✂✝➝✝☞❨↕ ➞✲➛t➝✱❽➀➁ ➛✼❿✢➛✫✁ ❽➟➞✝➠❾❿
➠➡➛■❽➀➛❨➝✝✁☞☎✴➛✫✁✰☞t❿✍➝✝✁ ❽➟➞✝➝✱❽➙➛✼➞✝➠✝✢■↕➜❽➙↕ ➠➡❿ ✚❥➛✫✡ ➞✡❽➙➛t❿✍➁ ↕ ➞✡➠➡➛ ✚✝✡ ➞✔☞➏➞✎✁❊➠➡➛✶✚➡➁ ↕✵✢■➛t↕ ➁➙➞✭➛ ✁➙➛✙✆✍❻➡➝➡➠➡➞
❿✍➁ ➠➡➛t➝✱✁✫✲❖➛■❿✲➛✫✁ ❽➟➞✝➠❾❿❏➠➡➛❆❽➙➛t➝✝✁✌☎➇➛✙✁✰✚ ➞✫➁➀➞✔✷ ✦★✡ ↕✠☞t❿ ✟✝➛t➁ ↕✡✠ ☞t➞✝➠➡❿❄➝➡➞ ✚❾➁✏�✫❽➙↕✵☞➏➞✯✲❋❿★✷➡➁➙↕✠✆✱➞✝➝➡➠❾❿❏➞
↕➜➝➲❽➙➁➙❿✴➠➡❻✝✍✫✏✝❿✕➠➡➛❃❻✝✢ ✄ ➞✫❽➙❿✍➁☞➠➡➛✜☞❨❿✍➁➙➁ ➛✫✍✫✏✝❿

k
➠➡➛❨➝➡❿★✢■↕ ➝ ➞✝➠❾❿ ☞t❿✴➛✆✠ ☞❨↕ ➛❨➝➲❽➙➛❃➠➡➛✜☞t❿✝➁➙➁➙➛✙✍✑✏✝❿❆➠❾➛

☞❨↕✵✁➀➞✎✡✵✞ ➞✔✢■➛t➝✱❽➙❿ ✴✴❻❾➛ ✢♦❻✝✡➜❽➙↕✵✚✝✡➜↕✵☞➏➞❊➞✔✁ ➞✔✍✟☎✴➛✫✁✘☞❨❿✍➁ ❽➀➞✝➝✱❽➀➛✫✁
Vy, Vx

➠ ➞✫➠ ➞✔✁✘✚ ❿✝➁
{

Vx

Vy

}

=
∫ h

2

−h
2

{

σxz

σyz

}

dz
✝ ❀✝✻✢❞✸✷✠✟

❿★✁♦➛✫✁ ✄ ❿✝➁✖✍t❿✔✁ ✁➙❿★✡➜↕✵☞❨↕➜❽➟➞✫➝➲❽➙➛✫✁●➝➡❿ ✡ ➞✎✢ ↕➜➝ ➞✝➠➡❿ ✁✣✏✫❿✝✲➩➠➡➛✫✁ ❽➟➞ ✄ ❿✍➁✂✢⑩➞✯✲❳➠ ➞✝➠➡➞✔✁ ✚❥➛✫✡ ➞✎✁✹✢■➛✫✁✖✢ ➞✔✁
➛✙✴✴❻➡➞✔✍✟☎✴➛✫✁●➠➡➛❨❽➙➛t➁✂✢ ↕➜➝ ➞✝➠ ➞✔✁✾➝ ➞✼❽➙➛t❿✍➁ ↕ ➞✡➞✝➝✱❽➀➛❨➁➙↕ ❿✝➁✫✲❖➞✔☞t➁ ➛✫✁✂☞t↕ ➠➡➞✔✁✾➠➡❿★✁●➛✫✁ ✄ ❿✝➁✖✍t❿✔✁✰☞❨❿✍➁ ❽➀➞✝➝✱❽➀➛✫✁
✝➣↕ ➝✝☞✙✡ ❻➡↕➜➝➡➠➡❿✎✮ ✁➙➛✹❿★✁ ✄ ➞➳❽➀❿✍➁ ➛✫✁❡➠➡➛✌☞t❿✍➁ ➁➙➛✙✍✑✏✝❿ ✟

{

Vy

Vx

}

= k
N
∑

α=1

∫ zα+1

zα

{

σyz

σxz

}

dz
✝ ❀✝✻✢❞✼✻ ✟

❿✍➝❾➠➡➛✿❿ ✄ ➞✫❽➙❿✍➁
k
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➛ ✚❥❿➇➠➡➛✒✟✝➞✫➁➙↕ ➞✫➁✫✲✝➠❾➛✫✚❥➛t➝➡➠➡➛❨➝➡➠➡❿●➠ ➞✔✁ ✚❾➁➙❿✎✮
✚➡➁ ↕ ➛❨➠ ➞✝➠➡➛✙✁☞➠ ➞ ✡✄✂✔✢■↕ ➝ ➞❃➛❼➠➡❿♦➛✙✁✖✴➲❻➡➛✫✢ ➞✕➠➡➛ ✡ ➞✔✢■↕ ➝ ➞✎✍✑✏✝❿✝✻❃✤s➞✝➁➀➞✕➞✾❽➀➛❨❿✍➁➙↕ ➞●➠➡➛ ✚➡➁➙↕✠✢ ➛❨↕ ➁➙➞✾➛
✁ ➛✫✆✍❻➡➝❾➠ ➞✼❿✍➁➙➠❾➛t➝✝✁✙✲❛➞✔✁✹➛✫✴➲❻ ➞✎✍✟☎✴➛✫✁✜☞t❿✝➝✝✁ ❽➙↕➜❽➀❻➇❽➀↕✠✟✫➞✔✁❼➠➡❿ ✡ ➞✎✢ ↕➜➝ ➞✝➠➡❿ ✁✣✏✫❿✡➞✔✁ ✢■➛✫✁✖✢ ➞✔✁ ➞✝➠➡❿✎✮
❽➀➞✝➠ ➞✔✁☎✚ ➞✝➁➙➞❊➞✾❽➀➛t❿✝➁➙↕ ➞✜☞✙✡ �✔✁✂✁➙↕✵☞t➞●➠❾➛✭✚✝✡ ➞✔☞➏➞✔✁✪✡ ➞✔✢ ↕➜➝ ➞✝➠ ➞✎✁✫✲✱➞✔☞❨➁➙➛✙✁✖☞t↕➜➠ ➞✔✁✉➠ ➞✔✁ ➛✫✴➲❻ ➞✔✍✆☎➇➛✙✁☞➠ ➞✔✁
❽➙➛t➝✝✁✌☎➇➛✙✁ ☞❨↕✵✁➀➞✎✡✵✞ ➞✝➝✱❽➙➛✫✁✿❽➀➁➙➞✝➝✝✁ ✟✍➛t➁✂✁➀➞✝↕✠✁✫✲➎➠➡➛✙✁✖✚➡➁ ➛ ✔➏➞✫➠ ➞✔✁❼➞✝➝✱❽➀➛t➁ ↕ ❿✍➁✂✢ ➛❨➝✱❽➀➛

{

σyz

σxy

}(α)

=

[

C̄44 C̄45

C̄45 C̄55

](α) {

γ(0)
yz

γ(0)
xy

}

✝ ❀✝✻✢❞✸✬✠✟

✚ ➞✫➁➀➞✿❻✝✢ ➞ ☞➏➞✔✢ ➞✝➠ ➞✿➝ ➞ ✝★✮ ☎✙✁➙↕✠✢⑩➞✥✚❥❿★✁ ↕✵✍✑✏✫❿✔➝➡❿✘✁➙↕✵✁ ❽➀➛✙✢⑩➞✔➠➡➛✓☞❨❿➇❿✍➁ ➠➡➛t➝➡➞✝➠ ➞✔✁❛➠➡❿ ✡ ➞✔✢ ↕➜➝ ➞✝➠➡❿✱✻

� ✞✠✟ ❑✣▲❝▼❖◆✡P✭◗❴P✭❚✿▼❖❘✾❭ ☞✡❘●P✭◗❇P✲❘❈❲❨❜ ❦✲❭❵❚❡❜ ❚❡❞❆▼❖❘❊❧✿❢✾◗♥P✭◗ ❚✔❭❨❚ ✁

❜ ❚❡❞ ▼❛◗ P✭❚ ❦✡❭❨❘❊❪✿❘ P✭❚ ♠♥❚✔❲t▲❛▲❛❞✭❚✿❱ ✁➡❫ ❲t❞✡P✭❭❨❲❨❞
☞❼➞✕↕✵✢✶✚✝✡ ➛✙✢ ➛❨➝➲❽➀➞✔✍✑✏✫❿♦➠➡❿ ➛✫✡➜➛✫✢■➛t➝✱❽➀❿❆➠❾➛ ✚✝✡ ➞✎☞➏➞✕➠➡➛✙✁✖☞t➁ ↕➜❽➀➞❆➞ ✁ ➛✫✆✍❻❾↕ ➁✿❻❾❽➙↕✵✡➜↕ ✔t❿✝❻✯✮ ✁ ➛ ➞✕➝➡❿✫❽➟➞ ✮
✍✫✏✝❿ ↕ ➝✱❽➀➁ ❿➇➠➡❻ ✔t↕ ➠➡➞ ✚ ❿✍➁ ✕ ➛✙✟ ✡ ❿✴❿ ➛ ✗✲➛t➝➡➛ ✔t➛✫✁ ✙ ✯✛✚✳✻
☞ ➛✫✁ ❽➙➛✕➛✫✁ ❽➀❻➡➠❾❿✭➠➡➛ ✚✝✡ ➞✔☞➏➞✔✁ ✚➡➁➙❿✔✚ ❿★✁ ❽➀❿ ✚ ❿✍➁ ✕ ➛✙✟ ✡➜❿➇❿✼➛ ✗❏➛t➝❾➛ ✔t➛✙✁✫✲ ✁✣✏✫❿ ✚➡➁➙❿✔✚ ❿★✁ ❽➟➞✔✁❼➠➡❻ ➞✔✁
✄ ❿✍➁✂✢✕❻✝✡ ➞✔✍✟☎✴➛✫✁ ✚➡➞✝➁➀➞✌✢ ❿✴➠➡➛✙✡ ➞✔✆✍➛✙✢ ➠❾➛ ✚✱✡ ➞✔☞t➞✔✁ ❿✍➁ ❽➙❿✝❽➀➁✂✦★✚➡↕✵☞t➞✔✁ ✡ ➞✔✢ ↕➜➝ ➞✝➠ ➞✎✁✫✲✱➞✝➠✱✢ ↕ ❽➀↕ ➝❾➠➡❿✎✮ ✁ ➛

✾★✾



✴➲❻➡➛ ➞✔✁✪☞➏➞✎✢⑩➞✝➠➡➞✔✁✓✚ ❿✔✁✖✁➀➞✎✢ ❽➀➛t➁✪✚➡➁ ❿★✚➡➁ ↕ ➛t➠➡➞✝➠➡➛✫✁ ➛✙✡ �✔✁ ❽➀↕✵☞t➞✔✁①➛❡❿✍➁ ↕ ➛t➝✱❽➀➞✔✍✑✏✝❿✾➠ ➞✎✁ ✠✝✷➡➁➀➞✔✁ ➠➡↕✠✁ ✮
❽➙↕ ➝✱❽➟➞✔✁✙✲ ✚❥➛t➁✂✢ ↕ ❽➀↕ ➝❾➠➡❿⑩➠➡➛✙✁ ❽➙➛ ✢ ❿✴➠➡❿✼➞✭➞✫➝ �✔✡ ↕✠✁➙➛●➠➡➛ ✢ ➞✫❽➀➛❨➁➙↕ ➞✝↕✵✁ ➛ ✓ ❿✝❻ ☞t❿★✢✶✚ ❿✝➁ ❽➟➞✎✢ ➛❨➝➲❽➙❿★✁
➞✝➝❾↕✵✁➙❿✫❽➀➁✖✦✔✚➡↕✵☞❨❿★✁✫✻s❺✭✁✔➛ ✝✯✚➡➁ ➛✫✁✂✁☞☎✴➛✫✁❡➠➡➛✹❽➀➛❨➝✝✁☞☎✴➛✫✁✙✲➡➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✟☎✴➛✫✁☞➛✹➠➡➛t➝✱✁➙↕ ➠➡➞✝➠➡➛❃➠➡➛✹➛❨➝➡➛t➁✂✆✍↕ ➞
➛✥✟✫➞✔✡➜❿✍➁➙➛✙✁➩➞✝➝ ➞✎✡✵✸➜❽➙↕✵☞❨❿★✁❛➠ ➞✔✁ ✚ ➞✫➁✖☞t➛✙✡ ➞✔✁ ✴✴❻❾➛ ✁➙➛ ✁➙❻✱✚ ➛❨➁✖✚ ☎➇➛✙✢ ✚ ➞✝➁➙➞ ✄ ❿✍➁✖✢ ➞✝➁❖❿★✁ ☞❨❿➇➛ ✠ ☞t↕➜➛t➝✱❽➀➛✙✁
➠➡➛ ➁➙↕✠✆✍↕ ➠❾➛ ✔ ✄ ❿✍➁➙➞✔✢ ➛✫✁ ❽➀❻➡➠➡➞✝➠ ➞✔✁✉➠➡➛✘✢ ❿✴➠➡❿❊➞●➠➡➛❨➠➡❻ ✔❨↕ ➁ ❿★✁☎☞t❿✴➛✆✠ ☞❨↕ ➛t➝✱❽➙➛✫✁☞➠❾➛ ☞❨❿✍➝✱❽➀➁➙↕✠✷➡❻➡↕✠✍✑✏✝❿
✚ ➞✫➁➀➞❃➞✔✁✪✢ ➞✫❽➀➁ ↕ ✔t➛✙✁①➠➡➛✔➁ ↕✵✆✍↕➜➠➡➛ ✔✿➛ ✟✝➛❨❽➙❿✍➁➙➛✙✁✉➠➡➛✘☞t➞✝➁✖✆✱➞✹➠❾➛ ❻✱✢ ➛✫✡➜➛✫✢■➛t➝✱❽➀❿ ✠ ➝❾↕➜❽➀❿❃➠❾➛ ✚✝✡ ➞✔☞t➞✱✲
☞❨❿★✢ ❿✒➞✝❻ ✝✯✸✵✡➜↕ ❿✲➠➡❿ ✚➡➁ ❿★✆✍➁➙➞✔✢⑩➞ ✗❄➞✫❽✖✞➡➛✫✢ ➞✫❽➙↕✵☞➏➞✯✲①➞✔✆✍➁ ❻✝✚ ➞✝➝❾➠➡❿✢❿★✁●❽➀➛t➁✂✢ ❿✔✁✹✴➲❻➡➛ ✢✕❻✱✡➜❽➀↕ ✮
✚✝✡➜↕✵☞t➞✔✢ ➞✔✁ ✄ ❿✝➁✖✢ ➞✔✁✰✴➲❻ ➞✫➠➡➁✏�✫❽➙↕✵☞t➞✔✁✕➠➡❿★✁❊➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿★✁✫✲ ✁ ❻ ➞✔✁✹✟✫➞✝➁ ↕ ➞✔✍✆☎➇➛✙✁✫✲①➠❾➛t➁➙↕ ✟✫➞✝➠ ➞✔✁
✚ ➞✫➁✖☞t↕ ➞✝↕✵✁❳➠➡❿★✁ ➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁✫✲➲➠➡➛t➁ ↕✠✟✫➞✝➠ ➞✎✁☎✚➡➞✝➁✖☞❨↕ ➞✝↕✠✁①➠ ➞✔✁✪✟✫➞✝➁➙↕ ➞✔✍✟☎✴➛✫✁➩➠➡❿✔✁✉➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✯✮
❽➙❿★✁✫✲➎➞✔✆✝➁➙❻✝✚ ➞✫➠➡❿★✁✔➛✫✢ ✯ ✢ ➞✫❽➙➁➙↕ ✔❨➛✫✁✔➠➡↕✠✁✖☞❨➁➙➛❨❽➙↕ ✔t➞✝➠ ➞✔✁ ➞✝➠➡↕ ➞✝➝✱❽➀➛✎✻
✤s➞✝➁➀➞✡↕✵✁✂✁➙❿✝✲❛❻❾❽➙↕✵✡ ↕✑✔t❿✍❻ ✮ ✁➙➛♦❻✝✢ ✚➡➁ ❿★✆✍➁➀➞✎✢⑩➞ ☞t❿✔✢ ✚➡❻➇❽➟➞✔☞❨↕ ❿✍➝ ➞✎✡❳➠➡➛❨➝➡❿★✢■↕ ➝ ➞✝➠❾❿ ✤✓✒ ✲❋➛✙✢❹➠➡➛✽✮
✁ ➛t➝ ✟✍❿★✡ ✟✴↕✵✢■➛t➝✱❽➀❿■➝➡❿ ✕ ➛✫✚ ➞✫➁ ❽➟➞✎✢ ➛❨➝➲❽➙❿ ➠❾➛✹✄✓✁ ❽➙➁➙❻❾❽➙❻➡➁➀➞✎✁❼➠ ➞✶✬➎➞✔☞t❻✱✡ ➠ ➞✝➠❾➛●➠❾➛✰✄➩➝✝✆✝➛t➝✝✞ ➞✫➁➙↕ ➞
� ↕ ✟➇↕✠✡☞❺❼➁✖✴➲❻➡↕➜❽➙➛❨❽➙❻➡➁➀➞✒➛ ✡❼➁✂✷ ➞✝➝➡↕✠✁✖✢■❿✒➠ ➞ ✡❼➝➡↕✠☞➏➞✔✢✶✚ ✝ ✁➙❿★✷ ☞t❿✴❿✍➁➙➠❾➛t➝ ➞✔✍✫✏✝❿✪➠➡➛ ✕ ➛✽✟✯✡➜❿➇❿✠✟✽✲
✴➲❻➡➛✙❻❾❽➀↕✠✡ ↕✑✔➏➞➋➞ ✠ ✡ ❿★✁ ❿✘✠➎➞➋➠➡➛ ✚➡➁➙❿✔✆✍➁➀➞✔✢ ➞✔✍✫✏✝❿➋❿✍➁➙↕➜➛t➝✱❽➟➞✫➠ ➞✯➞✰❿★✷ ✁ ➛❵❽➀❿★✁✲➛✙➞ ✡➜↕ ➝✝✆✝❻ ➞✔✆✍➛✙✢
�✕✔✖✔ ✲✘✚ ➛❨➁✖✢■↕➜❽➀↕➜➝➡➠➡❿ ☞✞�✔✡✠☞t❻✝✡➜❿★✁ ➠❾➛✒➛✫✡ ➞✎✁ ❽➀↕✠☞t↕➜➠ ➞✝➠➡➛ ✡ ↕➜➝➡➛➏➞✝➁ ✟✴↕ ➞⑥➛✙✡ ➛✫✢■➛t➝✱❽➙❿★✁ ✠ ➝❾↕➜❽➀❿✔✁ ✞✯✮ ✚
➞✝➠➡➞✔✚❾❽➟➞➳❽➀↕✠✟✝❿★✁✫✻
❺ ✁ ➠❾❻ ➞✔✁ ✄ ❿✍➁✖✢♦❻✝✡ ➞✔✍✆☎➇➛✙✁ ✷ ➞✔✁ ➛t↕ ➞✔✢ ✮ ✁➙➛❃➛✙✢ ✞➡↕✵✚ ✦✝❽➙➛✫✁➙➛✙✁✘☞t↕ ➝❾➛✫✢ �✫❽➀↕✠☞➏➞✔✁✿➠❾↕✵✁ ❽➙↕ ➝✱❽➟➞✎✁

❞✔✻✁�✄✂✆☎✞✝✠✟☛✡✌☞✎✍✑✏✒✂ ✟✔✓✖✕ ✡✌☞✒✗✘☞✙✗✚✂✆✝✛☎✜✂✆✢✣☞✎✍✑✏✒✂✤✗✚✂✆✥✧✦★✢✩☞✪✥✫✢✭✬✮✬✰✯✌✱✪✟✲☞✪✡ ✕ ☞✪☎✳☞✴✢✭✂✶✵✔☞✆✦✷☞✆✦✮✗✘☞✪✸
✝✹☞✔✵✔☞✆✦ ✓ ➞✝➠✝✢■↕➜❽➙➛✽✮ ✁➙➛ ✴➲❻➡➛ ❿★✁✾➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿★✁ ✄ ❻➡➝➡➠➡➞✔✢ ➛❨➝✱❽➟➞✝↕✠✁✹➝➲❻✝✢⑩➞✭➠ ➞✫➠ ➞ ✁➙➛✽✮
✍✫✏✝❿ ❽➙➁➀➞✝➝✱✁✂✟✍➛❨➁✖✁➙➞✔✡✧✁✖✏✝❿✼➞✎✁ ❽➙➁➀➞✝➝✝✁✂✡ ➞✔✍✆☎➇➛✙✁

u(x, y)
✲
v(x, y)

✲
w(x, y)

➛✾➞✔✁ ➁ ❿✝❽➟➞✎✍✟☎✴➛✫✁
θx(x, y)

✲
θy(x, y)

✲
θz(x, y)

☞t➞✔✡✵☞❨❻✝✡ ➞✝➠➡➞✔✁ ➝➲❻✝✢ ➞ ✁➙❻✱✚ ➛❨➁ ✄ ✸✵☞❨↕ ➛❊➠➡➛✕➁➙➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞ ✚ ➞ ✮
➁➙➞✔✡ ➛✙✡ ➞ ✛✔✁✓☞➏➞✎✢⑩➞✝➠➡➞✔✁❳➠ ➞ ✚✱✡ ➞✔☞t➞✭✡ ➞✔✢■↕ ➝➡➞✝➠ ➞✱✻ ✂ �✹❻✝✢⑩➞❼➁➙❿✝❽➀➞✔✍✑✏✝❿ ✁ ➝➡↕✵☞t➞✭✚ ➞✝➁➙➞ ❽➀❿✴➠ ➞✔✁
➞✎✁ ☞t➞✔✢⑩➞✫➠ ➞✔✁❡❿✍❻ ✁ ➛ ✁➙➞✱✲ ✞ � ✷■➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁ ↕ ➝➡➠❾➛✫✚❥➛t➝➡➠➡➛❨➝✱❽➀➛✫✁✭☞t❿★✢■❿✶✟✫➞✝➁ ↕ �✑✟✍➛❨↕✵✁
✄ ❻❾➝➡➠ ➞✔✢■➛t➝✱❽➟➞✫↕✵✁❡➞✔✁✂✁➙❿ ☞t↕ ➞✫➠ ➞✔✁❡➞ ☞➏➞✝➠➡➞✶✚❥❿✍➝✱❽➀❿ ✆✍➛❨➝ ☎t➁ ↕✵☞t❿✶✤❃✻

✾ ✻✁�✄✂✆☎✞✝✠✟☛✡✌☞✎✍✑✏✒✂✻✺ ✓ ✗✚✂✆✝✼☎✚✂✆✢✣☞✎✍✾✽✿✬✚✦❀✯❁✥❂✵✒✬ ✕ ✬★✥❂✵✒✬★✥✫✢✭✬✚✦❀❃✶✟✫✬❀❄✆☞✪☎★✯❅☞✪✝❆✵✒✬❇✗✘☞✪✝✹☞✔✵✔☞ ✕ ☞✪☎✳☞
✗✘☞✪✝✹☞✔✵✔☞ ✓ ➞✫➠✝✢ ↕ ❽➀➛ ✮ ✁➙➛ ✴➲❻➡➛ ➝✴❻✱✢⑩➞✡➠ ➞✝➠ ➞ ✁➙➛✙✍✑✏✝❿❄❽➙➁➀➞✝➝✱✁✂✟✍➛❨➁✖✁➙➞✔✡✳✲❳➞✔✁❊➁ ❿✝❽➟➞✎✍✟☎✴➛✫✁●➛✫✢
☞t➞✝➠ ➞ ☞t➞✔✢ ➞✝➠ ➞ ✁✖✏✝❿✼↕ ➝❾➠➡➛✫✚❥➛t➝➡➠❾➛t➝✱❽➀➛✙✁✫✲ ✁➙➛❨➝➡➠➡❿ ✴➲❻➡➛❆➝➡➛✙✁ ❽➙➛ ☞➏➞✔✁ ❿✭❿★✁✹➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✯✮
❽➙❿★✁ ✄ ❻➡➝➡➠➡➞✔✢ ➛❨➝✱❽➟➞✝↕✠✁ ➛✙✢♥❻✝✢ ➞❆➠ ➞✝➠ ➞ ✁➙➛✙✍✑✏✝❿ ✁✣✏✝❿ ☞❨❿★✢ ✚❥❿★✁ ❽➀❿★✁✘✚❥❿✍➁✿❽➀➁➙➞✝➝✝✁✖✡ ➞✔✍✟☎✴➛✫✁✔➛
➁ ❿✝❽➟➞✎✍✟☎✴➛✫✁ ✝➧➞✔✷✝✁➙❿✔✡ ❻❾❽➀➞✔✁♦➛✭➁ ➛✫✡ ➞➳❽➀↕✠✟✫➞✔✁ ✟✌✞➡➞ ✟✝➛t➝➡➠❾❿❯➠➡➛✙✁ ❽➀➞ ✄ ❿✍➁✖✢ ➞✱✲ ✫ ☞❨❿★✢ ✚❥❿✍➝➡➛❨➝✱❽➀➛✫✁
➠❾➛✲❽➙➁➀➞✝➝✝✁✂✡ ➞✔✍✫✏✝❿ ✢■➛t➠❾↕ ➠ ➞✔✁ ➝ ➞ ☞➏➞✔✢ ➞✝➠ ➞✪➠➡➛❄➁ ➛ ✄ ➛❨➁ ✏t➝✱☞t↕ ➞✙➛ ✫ ☞t❿★✢✶✚ ❿✝➝➡➛t➝✱❽➀➛✙✁⑩➠➡➛
➁ ❿✝❽➟➞✎✍✑✏✝❿❆➛✙✢✺☞➏➞✝➠ ➞ ☞t➞✔✢⑩➞✫➠ ➞✱✻

❁ ✏✫❿✼❻❾❽➀↕✠✡ ↕✑✔➏➞✝➠ ➞✎✁❡➞✝↕ ➝➡➠➡➞⑩➞✔✁ ✞❾↕✵✚ ✦✝❽➀➛✙✁➙➛✫✁ ➞✝➠➡❿✝❽➀➞✝➠ ➞✔✁ ✚ ❿✝➁ �❡➛t↕✵✁ ➝➡➛t➁ ✮ ✗❏↕➜➝➡➠✝✡➜↕ ➝ ✚ ➞✝➁➙➞ ✚✝✡ ➞✎☞➏➞✔✁
➛✙✁✖✚❥➛✫✁✖✁➙➞✔✁☎☞t❿✍➝✝✁ ↕ ➠➡➛❨➁➀➞✝➝❾➠➡❿✰✢ ➞✫❽➙➛t➁➙↕ ➞✝↕✵✁s❿✍➁ ❽➙❿✝❽➀➁✂✦★✚➡↕✠☞t❿★✁①➝➡➞✔✁✪☞➏➞✔✢ ➞✝➠ ➞✔✁✙✲ ✚ ❿✴➠➡➛❨➝➡➠➡❿ ☞ ✞➡➛✫✆✱➞✫➁✉➞
❻✝✢ ➞✹☞❨❿✍➝✎✠ ✆✍❻❾➁➀➞✔✍✫✏✝❿❆➠➡➛❃➞✝➝❾↕✵✁➙❿✫❽➀➁➙❿✔✚➡↕ ➞✰✛ ✢ ➛❨➠➡↕ ➠ ➞❊➛✫✢ ✴✴❻❾➛✜✁➙➛❃❻❾❽➙↕✵✡ ↕✑✔➏➞✾➛✫✁ ❽➟➞ ✄ ❿✍➁✖✢♦❻✝✡ ➞✔✍✫✏✝❿

✾ ✫



✚ ➞✫➁➀➞ ✚✝✡ ➞✔☞t➞✔✁✘✡ ➞✔✢■↕ ➝➡➞✝➠ ➞✔✁✙✻ ❺ ✚ ➞✝➁ ❽➀↕➜➁✔➠➡➛✫✁ ❽➟➞⑩➞✫➝ �✔✡ ↕✠✁➙➛✎✲ ✁➙❻➡➁✂✆✍➛♦➞ ✄ ❿✍➁✂✢✕❻✝✡ ➞✎✍✑✏✝❿ ➠➡➛ ✚✝✡ ➞✎☞➏➞✔✁
✢✕❻✱✡➜❽➀↕✠☞➏➞✔✢ ➞✝➠ ➞✎✁✫✻
↔ ✁✹➠➡❿✝↕✵✁ ☞t➞✔✁➙❿★✁✾➞✎☞t↕✵✢ ➞ ☞❨↕➜❽➟➞✫➠➡❿★✁✫✲ ✡ ➛✙✟✫➞✔✢❇➛✙✢ ☞t❿✝➝✝✁➙↕➜➠➡➛t➁➙➞✔✍✑✏✝❿✡➞✼➁ ❿✝❽➟➞✎✍✑✏✝❿✭➛✙✢❷❽➀❿✝➁➙➝➡❿✭➠➡❿
➛❨↕✍✝➇❿ ✟✍➛❨➁ ❽➀↕✠☞➏➞✔✡✼✻✪❺✔➠✝✢ ↕ ❽➀➛ ✮ ✁➙➛ ✴➲❻➡➛ ☞t➞✝➠ ➞ ☞➏➞✎✢⑩➞✝➠➡➞ ☎ ✄ ❿✍➁✖✢ ➞✝➠ ➞ ✚ ❿✍➁♦❻✝✢ ✢ ➞✫❽➀➛❨➁➙↕ ➞✔✡ ❿✍➁ ✮
❽➙❿✝❽➀➁✂✦★✚➡↕✵☞❨❿✝✲ ✁ ➛t➝➡➠➡❿ ✴➲❻➡➛■➞✔✁✌✚➡➁➙❿★✚❾➁➙↕ ➛❨➠ ➞✝➠➡➛✙✁✾➛✫✡ �✎✁ ❽➀↕✠☞➏➞✔✁❃➠❾➛✶☞t➞✝➠ ➞ ☞➏➞✎✢⑩➞✝➠➡➞✡➛ ✢■➛✫✁✂✢ ❿✡➞✔✁
❿✍➁ ↕ ➛❨➝➲❽➀➞✔✍✟☎✴➛✫✁❃➠❾➛ ✁➙❻ ➞✔✁ ✠ ✷❾➁➀➞✔✁✙✲❃✚❥❿✴➠➡➛✫✢ ✁➙➛t➁✾➠➡↕✠✁ ❽➙↕ ➝✱❽➟➞✔✁ ➠➡➛ ❻✝✢⑩➞ ☞t➞✔✢ ➞✝➠ ➞ ✚ ➞✝➁➙➞✭❿✍❻❾❽➀➁➙➞✱✲
✚❥➛t➁✂✢ ↕ ❽➀↕ ➝❾➠➡❿✒➞✪➞✝➝ �✔✡➜↕✵✁ ➛✼➠➡➛ ✢⑩➞➳❽➀➛t➁ ↕ ➞✝↕✠✁✕➞✝➝❾↕✵✁➙❿✫❽➀➁✖✦✔✚➡↕✵☞❨❿★✁✫✻⑥❺ ✁ ☞➏➞✔✢ ➞✝➠ ➞✔✁✹✴✴❻❾➛ ✄ ❿✍➁✂✢⑩➞✎✢
❿✶✢⑩➞➳❽➀➛t➁ ↕ ➞✔✡ ✢✕❻✝✡ ❽➀↕✵☞t➞✔✢ ➞✝➠ ➞✹✁✖✏✝❿ ☞❨❿✍➝✝✁ ↕ ➠➡➛❨➁➀➞✝➠ ➞✎✁ ➛✙✁✖✚❥➛✫✁✂✁➀➞✔✁✙✲➑➁➙➛✙✁✖✚❥➛t↕ ❽➟➞✝➝➡➠❾❿ ❿ ☞t❿✔✢ ✚❥❿✍➁ ❽➀➞ ✮
✢■➛t➝✱❽➀❿ ✚➡➁ ❿★✚❥❿★✁ ❽➙❿✶✚❥➛✫✡ ➞✕❽➀➛t❿✝➁➙↕ ➞✕➠❾➛ �❡➛t↕✠✁✖✁ ➝➡➛t➁ ✮ ✗❏↕➜➝➡➠✝✡ ↕➜➝ ✻

✞ ✆✁� ✆☛✡ ✤✠✱✒✮✯✢✁� ☎✜✦✄✂✆☎✧✱ ✡

✛ ☎✜✦✧✘✚✦ ★✪☞✜✕✗✍✏✱✧✕ ✑✔✦ ✰✪✱✒✮✯☞✞✝ ✱ ✛ ✑ ✦ ☎☛✢✥✓✖✛ ✑✔✓ ✓ ✟✡✠✪✮✯✦✧✕ ✱✧✮ ☞✜✓✖✛ ✑✔✦ ★✠✦✧✕ ✕✔✓ ✂
☛ �✪✛✠★✪✱✥✦ ★✠☞✁✮✯✓☞✂✌☎✧✱ ★✠✱ ✓✖☞✎✍ ✱✑✏✒✍✓✏

❺✔➠✝✢■↕➜❽➙➛✽✮ ✁➙➛☞➝❾➛✫✁ ❽➀➞❃➞✝➝ �✔✡➜↕✵✁ ➛✒✴➲❻➡➛✿❿✔✁①➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿★✁ ✄ ❻➡➝❾➠ ➞✔✢■➛t➝✱❽➟➞✝↕✠✁✫✲✱➞✫➠✝✢ ↕ ❽➀↕➜➠➡❿★✁❛➝➲❻✝✢⑩➞
➠ ➞✫➠ ➞ ✁ ➛✫✍✑✏✫❿❄❽➀➁➙➞✝➝✝✁✂✟✝➛t➁✂✁➀➞✔✡✼✲ ✁✣✏✝❿❏➠➡➛❨❽➙➛t➁✂✢ ↕➜➝ ➞✝➠➡❿★✁ ✚❥➛✫✡ ➞✎✁●❽➙➁➀➞✝➝✝✁✂✡ ➞✔✍✆☎➇➛✙✁

u(x, y)
✲
v(x, y)

✲

w(x, y)
➛✼➞✔✁●➁➙❿✫❽➟➞✔✍✆☎➇➛✙✁

θx(x, y)
✲
θy(x, y)

✲
θz(x, y)

✲s❿✍➝❾➠➡➛✼➞✔✁❊➠➡❻ ➞✔✁✰✚➡➁➙↕✠✢ ➛❨↕ ➁➙➞✔✁❃➁➙❿✎✮
❽➀➞✔✍✟☎✴➛✫✁✞✝ ✢⑩➞✝↕✠✁✼➞ ❽➙➁➀➞✝➝✝✁✂✡ ➞✔✍✫✏✝❿

w(x, y)
✟ ✲ ✁✖✏✝❿✏➞✝➠✝✢■↕➜❽➙↕ ➠ ➞✔✁✶☞t❿✝➝✝✁ ❽➀➞✝➝✱❽➀➛✫✁✲➞✝❿ ✡➜❿✍➝✝✆✍❿➋➠➡➞

➛✙✁✖✚❥➛✫✁✖✁ ❻➡➁➀➞■➠ ➞ ✚✝✡ ➞✔☞t➞ ✚ ➞✝➁➙➞❆❽➙❿➇➠➡➞✔✁ ➞✔✁ ☞➏➞✔✢ ➞✝➠ ➞✎✁✫✻
✕ ➛✙✁ ❽➙➛✰✢■❿➇➠❾❿ ✁✣✏✝❿ ➞✝➠✝✢■↕➜❽➙↕ ➠ ➞✔✁☞➞✔✁✘✁➙➛✙✆✍❻➡↕ ➝✱❽➙➛✫✁✘✞➡↕✵✚ ✦✝❽➙➛✫✁➙➛✙✁t➂

❞✔✻ � ❿✝➝✝✁➙↕➜➠➡➛t➁➙➞✔✢ ✮ ✁➙➛ ✚✝✡ ➞✔☞➏➞✎✁●➛✙✁✖✚❥➛✫✁✂✁➀➞✔✁✙✲ ✚ ➞✝➁➙➞❏➞✎✁ ✴➲❻ ➞✫↕✵✁✌✁✣✏✝❿ ✟✁�✔✡ ↕➜➠ ➞✔✁❃➞✎✁ ✞❾↕✵✚ ✦✝❽➀➛✙✁➙➛✫✁
➞✫➠➡❿✝❽➟➞✫➠ ➞✔✁ ✚ ❿✍➁ � ➛❨↕✵✁✂✁➙➝➡➛❨➁ ✮ ✗✲↕ ➝➡➠✝✡➜↕ ➝ ✲➎❿✍❻ ✁➙➛ ✁➙➞✯✲ ☞t❿✝➝✝✁➙↕➜➠➡➛t➁➙➞✝➝➡➠➡❿✼❻✱✢ ➛✙✡ ➛✙✢ ➛❨➝➲❽➙❿ ✡ ↕ ✮
➝❾➛➏➞✝➁ ✚❥➛t➁✂✚ ➛❨➝➡➠➡↕✠☞t❻✝✡ ➞✝➁✹➞✝❿ ✚✱✡ ➞✝➝➡❿⑩➠ ➞ ✚✝✡ ➞✎☞➏➞✱✲❝➛✙✁ ❽➙➛ ➞✔✚➡➁➙➛✙✁➙➛❨➝➲❽➀➞✭❻✝✢⑩➞ ➁➙❿✝❽➀➞✔✍✑✏✝❿✼❽➀➞✔✡
✴➲❻➡➛⑩➝ ✏✝❿ ✠✝☞➏➞✢❿★✷➡➁ ↕✵✆✱➞➳❽➀❿✍➁ ↕ ➞✔✢■➛t➝✱❽➀➛ ✚❥➛t➁✂✚ ➛❨➝➡➠➡↕✠☞t❻✝✡ ➞✝➁✹✛✲❽➟➞✝➝✝✆✝➛t➝✱❽➀➛ ➠ ➞ ✁➙❻✱✚ ➛❨➁ ✄ ✸✵☞❨↕ ➛
➠❾➛ ✄ ❿✍➁✂✢⑩➞✝➠➡➞✱✻

✾ ✻ ➠❾➛✙✟✍➛ ✮ ✁ ➛⑩↕✵✢✶✚❥❿✍➁❃➞✝↕➜➝➡➠ ➞✡➞ ✁ ➛✫✆✍❻❾↕ ➝✱❽➀➛ ☞t❿✝➝➡➠➡↕✵✍✫✏✝❿✝✲ ➠➡➛✙✟✴↕➜➠➡❿❄➞✡❿✍➁ ❽➀❿✝❽➙➁➙❿★✚➡↕ ➞❾➂
E1ν2 =

E2ν1

✫ ✻ ✬ ❿✍➁➙➞✔✢④➞✝➠✱✢ ↕ ❽➀↕ ➠➡➞✔✁ ✚➡➁ ❿★✚➡➁➙↕➜➛t➠ ➞✫➠➡➛✫✁ ❿✍➁ ❽➙❿✝❽➀➁✂✦★✚➡↕✠☞➏➞✔✁✪✚ ➞✝➁➙➞●❿✔✁✒✢ ➞✫❽➀➛❨➁➙↕ ➞✝↕✵✁ ✴➲❻➡➛ ☞t❿★✢ ✮
✚ ☎✴➛✫✢ ☞t➞✝➠ ➞ ☞➏➞✔✢ ➞✝➠ ➞✯✻

❀✱✻ ✬ ❿✍➁➙➞✔✢♥➞✫➠✝✢ ↕ ❽➀↕➜➠ ➞✔✁✥✡➜➛t↕✠✁ ☞t❿✍➝✝✁ ❽➀↕ ❽➀❻❾❽➙↕✠✟✫➞✔✁✔➠➡➛✾➁➙➛✙✆✍↕✵✢■➛✹➛✙✡ �✔✁ ❽➀↕✵☞❨❿ ✡ ↕ ➝❾➛➏➞✝➁✙✲❾➛✌☞t↕➜➝➡➛✫✢ � ✮
❽➙↕✵☞t➞✕➠➡➛✌✚ ➛✙✴✴❻❾➛t➝➡❿★✁ ➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿★✁❡➛✌✚ ➛✙✴✴❻❾➛t➝ ➞✔✁ ➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✟☎✴➛✫✁✙✻

✱ ✻ ❺✔➠✱✢ ↕ ❽➀➛✽✮ ✁➙➛ ➞✔✁❃✁➙↕✠✢ ✚✱✡ ↕✡✠✝☞➏➞✔✍✆☎➇➛✙✁❝➠➡❿ ➛✫✁ ❽➀➞✝➠➡❿ ✚✝✡ ➞✝➝❾❿ ➠❾➛ ❽➙➛t➝✝✁✌☎➇➛✙✁✫✲✍➝➡➞ ✴➲❻ ➞✔✡➲➞✔❽➀➛❨➝✝✁✣✏✫❿
➝❾❿✍➁✖✢ ➞✔✡❝➞✫❿✶✚✱✡ ➞✝➝➡❿ ➠ ➞ ✚✝✡ ➞✔☞➏➞ ☎✾➝➲❻✝✡ ➞✯✻

✾✎❀



↔ ✚✝✡ ➞✫➝➡❿ ✢ ☎t➠➡↕➜❿✼➠ ➞ ☞➏➞✎✢⑩➞✝➠➡➞
α
✝ ☞❨❻ ✁➙➞✭➛✫✁✂✚ ➛✙✁✖✁➙❻❾➁➀➞ ☎

h
✟ ➛✫✁ ❽✏� ✛✼➠➡↕✵✁ ❽ ✂✝➝✱☞t↕ ➞

f
➠➡➛❆❻✝✢

✚✝✡ ➞✝➝➡❿✾➠➡➛❡➁➙➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞●➞✝➠➡❿✝❽➀➞✝➠➡❿ ✚ ➞✝➁➀➞✎✡ ➛✫✡➜❿✌✛✔✁✪☞➏➞✔✢ ➞✝➠ ➞✎✁✫✻ ↔ ✚✝✡ ➞✝➝❾❿●➠❾➛❼➁ ➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞✌✚ ❿✴➠➡➛
✁ ➛t➁❃➞✝➠❾❿✝❽➟➞✝➠❾❿✼➛✫✢ ✴➲❻ ➞✔✡✵✴➲❻➡➛❨➁✹➠➡↕✠✁ ❽ ✂✫➝✝☞t↕ ➞ ➛✫✢ ➁➙➛✙✡ ➞✔✍✫✏✝❿ ✛ ✚✝✡ ➞✔☞t➞✱✲➑➛✕➞⑩➛ ✝✯☞t➛❨➝✱❽➀➁➙↕✠☞t↕➜➠ ➞✝➠➡➛

f❽➙➛✫✢✺✁➙↕➜➝ ➞✔✡❝➠❾➛❨❽➀➛❨➁✖✢■↕ ➝ ➞✫➠➡❿ ☞t❿✍➝ ✄ ❿✝➁✖✢■➛●❿✶✚✝✡ ➞✝➝➡❿ ✢ ☎❨➠➡↕ ❿ ➠ ➞ ☞➏➞✎✢⑩➞✝➠➡➞■➞✫➝ ➞✔✡ ↕✠✁➀➞✝➠➡➞✱✲➡➛✫✁ ❽➀➛ ✁➙➞
➞✔☞❨↕✵✢ ➞ ❿✝❻❆➞✔✷ ➞✝↕ ✝➇❿❼➠➡❿✭✢ ➛✙✁✖✢■❿✝✻ ❁ ✏✝❿❃➞✝➠✝✢■↕➜❽➙↕ ➠ ➞✎✁✫✲ ✁➙➛✙✆✍❻➡➝➡➠➡❿ ✤❳➞✔☞✙☞t❿★✡ ➞ ✙ ✾ ✱✛✚✳✲✫❻✝✢ ✁➙↕✠✁ ❽➀➛✙✢⑩➞
➠➡➛✔➛❨↕✍✝➇❿★✁

x, y, z
➝➡❿✜✚✝✡ ➞✫➝➡❿ ✢ ☎t➠➡↕➜❿✹➠ ➞ ☞➏➞✎✢⑩➞✝➠➡➞✹➠ ➞ ✚✝✡ ➞✎☞➏➞✹➞✝➝➡➞✔✡ ↕✠✁➀➞✝➠ ➞✯✲✝❿✍➝➡➠❾➛✿❿★✁➩➛t↕ ✝➇❿★✁

x➛
y
✁✣✏✝❿✰☞t❿★✚✱✡ ➞✝➝ ➞✫➁➙➛✫✁✉➞❊➛✙✁ ❽➙➛✭✚✝✡ ➞✝➝➡❿●➛ ➞✎✁✓✠ ✷❾➁➀➞✔✁✉➛✫✁ ❽✣✏✝❿♦❿✝➁➙↕ ➛❨➝✱❽➟➞✝➠ ➞✎✁✒✁ ➛✫✆✍❻➡➝❾➠➡❿✕➞●➠➡↕ ➁ ➛✫✍✑✏✫❿

x
✻✾❺✿❽➀➁➙➞✑✟ ☎✫✁✾➠➡❿ ✚❾➁➙❿✴➠➡❻❾❽➀❿ ✟✝➛❨❽➙❿✍➁➙↕ ➞✔✡❳➛❨➝➲❽➙➁➙➛❆➛✙✁ ❽➀➛✙✁✾➠➡❿✍↕✵✁❼➛t↕ ✝❾❿✔✁✫✲❋❿★✷❾❽ ✏✫✢ ✮ ✁ ➛♦❻✝✢ ❽➀➛t➁✂☞t➛❨↕ ➁➙❿
➛❨↕✍✝➇❿ ✝ ✔✕✟ ✲✝✟✍➛❨➁ ❽➀↕✠☞➏➞✔✡❋➛❃❿✝➁➙↕ ➛❨➝✱❽➟➞✝➠➡❿ ✚ ➞✫➁➀➞ ☞t↕✠✢⑩➞✱✻
☞ ❿✰✚✝✡ ➞✝➝➡❿❃➠➡➛ ➁➙➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞✱✲✴➞✝➠➡❿✫❽➟➞ ✮ ✁➙➛❡❻✝✢ ✁ ↕✵✁ ❽➙➛✫✢ ➞✜☞➏➞✝➁ ❽➀➛✫✁ ↕ ➞✝➝❾❿

xryrzr

☞❨❿★✢ ➛t↕ ✝➇❿★✁
xr

➛
yr

☞❨❿★✚✝✡ ➞✝➝ ➞✝➁ ➛✫✁ ➛✰✚❥➛t➁ ❽➀➛t➝✱☞t➛t➝✱❽➙➛✫✁❃➞■➛✫✁ ❽➙➛✹✚✝✡ ➞✝➝➡❿✝✲ ✁ ➛t➝➡➠❾❿✼❿⑩➛❨↕✍✝➇❿
zr

✟✍➛❨➁ ❽➙↕✵☞➏➞✎✡❖❿✝➁➙↕ ➛❨➝✱❽➟➞✝➠➡❿
✚ ➞✫➁➀➞ ☞t↕✠✢⑩➞✱✲✯☞t❿✍↕➜➝✝☞t↕➜➠➡↕ ➝❾➠➡❿ ☞t❿★✢❴❿■➛❨↕✍✝➇❿

z
✻

☞❼➞❃➞✝➝ �✔✡➜↕✵✁➙➛✒✚➡➁➙❿✔✚ ❿★✁ ❽➟➞✜✚❥➛✫✡ ❿✔✁➩➞✝❻❾❽➙❿✍➁➙➛✙✁✫✲✠☎❡➞✔✚➡➁ ➛✫✁ ➛t➝✱❽➟➞✝➠➡➞✱✲➲➛✫✢ ✚❾➁➙↕✵✢■➛t↕➜➁➙❿ ✡ ❻✝✆✱➞✫➁✫✲✍➞✎✁✓✞➡↕✵✚ ✦✎✮
❽➙➛✫✁➙➛ ☞t↕➜➝➡➛✫✢ �✫❽➀↕✠☞➏➞✔✁✓✴➲❻➡➛ ✚ ➛❨➁✖✢■↕➜❽➙➛✫✢ ✴➲❻➡➛ ✁➙➛ ✁➙➞✔✢ ✢ ❿✝➝➲❽➀➞✝➠ ➞✔✁✉➞✔✁ ➛✫✴➲❻ ➞✔✍✆☎➇➛✙✁☞➠➡➛ ➠➡➛ ✄ ❿✍➁✖✢ ➞ ✮
✍✆☎➇➛✙✁ ✲✴➠➡➛❡❽➀➛t➝✱✁☞☎✴➛✫✁☞➛❡➠➡➛❼➛✫✁ ✄ ❿✍➁✖✍❨❿★✁✒✁ ❿★✡ ↕✠☞t↕ ❽➟➞✝➝✱❽➀➛✙✁✪✚ ➞✝➁➀➞✾❻✝✢ ✚❥❿✍➝✱❽➀❿ ✆✍➛t➝ ☎t➁➙↕✠☞t❿

P
✻ ✡ ❽➀↕✠✡ ↕✑✔➏➞

❿ ✤ ✂ ✄ ✙ ❞✸✷ ✚ ➠❾➛✫✚❥❿✍↕✵✁✙✲❃✚❾➁➙❿ ☞t➛✫✁✂✁➙❿ ✴✴❻❾➛ ✚❥➛t➁✂✢ ↕ ❽➀➛ ✴➲❻➡➛✶✁➙➛ ✁➙➞✔✢❹❿★✷❾❽➙↕ ➠ ➞✔✁✾➞✎✁ ✢ ➞✫❽➙➁➙↕ ✔❨➛✫✁❃➠➡➛
☞❨❿✍➝✱❽➀➁➙↕✠✷➡❻➡↕✠✍✑✏✝❿ ➞✔✁✖✁ ❿✯☞❨↕ ➞✝➠➡➞✔✁✭✛✎✁ ☞t➞✔✢⑩➞✫➠ ➞✔✁ ➛✫✢ ✴➲❻➡➛✫✁ ❽ ✏✝❿✝✲ ✚ ➞✝➁➙➞ ✁ ➛t➁➙➛✙✢❇❻✝✁➀➞✝➠➡➞✔✁ ➝➡❿✔✁✭☞✞�✎✡ ✮
☞❨❻✝✡ ❿★✁ ➠➡❿★✁ ☞t❿✴➛✆✠ ☞❨↕ ➛❨➝➲❽➙➛✫✁✹➠❾➛♦➁➙↕✠✆✍↕ ➠❾➛ ✔✌✚ ➞✝➁➙➞ ❿★✁ ✚ ❿✍➝✱❽➙❿★✁❼➠❾➛♦↕ ➝✱❽➙➛✫✆✍➁➙➞✔✍✑✏✝❿ ➠➡❿★✁❼➛✫✡ ➛✙✢ ➛❨➝✱❽➀❿★✁
➠ ➞ ✢ ➞✔✡✵✞➡➞✕➠➡❿★✁❡➛✫✡➜➛✫✢■➛t➝✱❽➀❿★✁ ✠➡➝➡↕➜❽➙❿★✁✫✻

✣❛➤ ✑ ➤ ☞ ➤ ☞ �❏→➧➨✁� ➆➉➃✧✒t➃✧✒ ✜✱→➧➄❖➃✴➫ ✘❾➆➉→ ✜✍➅★✒
� ❿★✢■❿✾➠➡↕➜❽➙❿♦➞✎☞t↕✵✢ ➞✱✲✍➝➡➞✔✁✒✞❾↕✵✚ ✦✝❽➀➛✙✁➙➛✫✁✪☞❨↕ ➝➡➛✙✢ �✫❽➙↕✵☞t➞✔✁➩➠➡➛ ❻✝✢ ✚ ❿✝➝➲❽➙❿

P
✡➜❿✯☞t➞✔✡ ↕✑✔➏➞✝➠❾❿✹➝➲❻✝✢⑩➞

☞t➞✔✢⑩➞✫➠ ➞
′′α′′

✲✴➞✝➠➡❿✫❽➟➞ ✮ ✁➙➛✔❻✝✢ ✁ ↕✵✁ ❽➀➛✫✢ ➞✜☞➏➞✝➁ ❽➀➛✙✁➙↕ ➞✫➝➡❿
xyz

➝➡❿✌✚✝✡ ➞✝➝➡❿✌✢ ☎❨➠➡↕ ❿❃➠➡➞✌☞t➞✔✢ ➞✝➠ ➞✱✲
➠➡➛✙✁➙↕✠✆✍➝ ➞✝➠➡❿✭✚ ❿✍➁ ❁ � ✹✞✝ ❁ ↕✠✁ ❽➀➛✙✢⑩➞ ➠➡➛ �❡➛ ✄ ➛❨➁ ✏t➝✱☞t↕ ➞ ✹❛❿ ☞➏➞✎✡ ✟✽✻ ↔ ✚✝✡ ➞✫➝➡❿✭✢ ☎t➠➡↕➜❿❼➠➡➞ ☞➏➞✔✢ ➞✝➠ ➞
➛❨➝✝☞t❿✍➝✱❽➙➁➀➞ ✮ ✁➙➛✉➞❼❻✝✢ ➞ ➠❾↕✵✁ ❽ ✂✝➝✝☞❨↕ ➞

f
➠➡❿✭✚✝✡ ➞✝➝➡❿❡➠➡➛ ➁➙➛ ✄ ➛t➁ ✏❨➝✝☞t↕ ➞✱✲✝❿✝➝➡➠➡➛ ☎☞➞✝➠❾❿✝❽➟➞✝➠❾❿ ❽➀➞✔✢ ✷✆☎✫✢

❻✝✢ ✁ ↕✵✁ ❽➙➛✫✢ ➞
xryrzr

➠➡➛✫✁ ↕✵✆✍➝➡➞✝➠➡❿ ✚❥❿✍➁
SRG

✝ ✁➙↕✵✁ ❽➀➛✙✢⑩➞ ☞➏➞✝➁ ❽➀➛✫✁ ↕ ➞✝➝❾❿✜✩✜✡ ❿★✷ ➞✎✡ ✟✽✻ ↔ ✷✝✁ ➛t➁✂✟✫➞ ✮
✁ ➛ ➝➡➞ ✠ ✆✍❻➡➁➙➞✌❀✱✻✣❞✘✴➲❻➡➛❡❿✜✚ ❿✝➝➲❽➙❿

O
✝➧❿✝➁➙↕✵✆✝➛✫✢✧➠➡❿✌✁➙↕✵✁ ❽➀➛✙✢⑩➞ ❁ � ✩ ✟ ✟s❽➀➁➀➞✫➝✝✁✖✡ ➞✝➠ ➞ ✚ ➞✝➁➙➞✹❻✝✢ ➞

✚❥❿★✁➙↕✠✍✑✏✝❿
O′
✲➩❿✍➝➡➠➡➛✭➞✎✁ ☞t❿★✢✶✚❥❿✍➝➡➛t➝✱❽➙➛✫✁❆➠➡➛⑩❽➙➁➀➞✝➝✱✁✖✡ ➞✎✍✑✏✝❿✢➠❾➛✫✁ ❽➙➛ ✚ ❿✝➝➲❽➙❿✢➛✫✢q➁➙➛✙✡ ➞✔✍✫✏✝❿✒➞✝❿

❁ � ✩ ✝ ☞❨❿➇❿✍➁ ➠➡➛t➝➡➞✝➠ ➞✔✁✘✆★✡➜❿★✷ ➞✝↕✠✁ ✟☎✁✖✏✝❿■➠ ➞✝➠ ➞✔✁✘✚❥❿✍➁t➂

u = u(xr, yr)
v = v(xr, yr)
w = w(xr, yr)

✝ ❀✝✻✢❞✸✯✠✟

✾✏✱



✬❳↕✵✆✝❻➡➁➀➞ ❀✝✻✢❞✍➂ ✕ ➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿ ➠➡❿ ✚ ❿✝➝➲❽➙❿ ✤✯➠ ➞ ☞➏➞✔✢ ➞✝➠ ➞✁� ➞ ✄✹➝➡❿ ✚✝✡ ➞✝➝➡❿ ✝ ✔

✡ ✢ ✚❥❿✍➝✱❽➀❿
P

✡➜❿✯☞t➞✔✡ ↕✑✔➏➞✝➠➡❿❊➝➲❻✝✢⑩➞ ☞t➞✔✢⑩➞✫➠ ➞
′′α′′

✲✝☞❨❿★✢ ☞❨❿➇❿✝➁➙➠➡➛❨➝ ➞✝➠ ➞✔✁
(x, y, z)

✲➡➠ ➞✝➠ ➞✎✁
➛✙✢ ➁ ➛✫✡ ➞✔✍✑✏✝❿❊➞✝❿✰✁➙↕✵✁ ❽➀➛✙✢⑩➞✌✡ ❿ ☞➏➞✔✡✼✲➲➞✔✚ ✦★✁✉❿❊➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿✹✚ ➞✔✁✂✁➀➞✹✚➡➞✝➁➀➞●❻✝✢⑩➞ ✚ ❿✔✁➙↕✵✍✫✏✝❿

P ′

☞❨❻ ✁ ❿ ➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿ ✚❥❿✴➠➡➛ ✁➙➛❨➁❡➛✫✁✖☞❨➁➙↕ ❽➀❿❆➛✫✢ ✄ ❻➡➝✝✍✑✏✫❿■➠➡➞♦❽➀➁➀➞✫➝✝✁✖✡ ➞✔✍✑✏✝❿
OO′

➛❃➠➡➞✔✁✔➁➙❿✝❽➀➞ ✮
✍✆☎➇➛✙✁ ➠ ➞ ✚✱✡ ➞✔☞t➞■➠ ➞✫➠ ➞✔✁ ➝❾❿ ✁➙↕✠✁ ❽➀➛✙✢⑩➞✶✆★✡ ❿✔✷ ➞✔✡

(θx = θx(xr, yr), θy = θy(xr, yr), θz =
θz(xr, yr))

✻ ✕ ➛✫✁ ❽➀➛☎✢ ❿✴➠➡❿✝✲➳➞✔✁ ☞t❿✔✢ ✚❥❿✍➝➡➛❨➝➲❽➙➛✫✁❖➠ ➞✿❽➀➁➙➞✝➝✝✁✖✡ ➞✔✍✑✏✫❿ ➠❾❿ ✚❥❿✍➝✱❽➀❿
P
➛✫✢❁➁ ➛✫✡ ➞✔✍✑✏✝❿

➞✝❿ ✁ ↕✵✁ ❽➙➛✫✢ ➞ ✡ ❿ ☞➏➞✔✡ ✁✣✏✝❿ ➠ ➞✝➠➡➞✔✁✘✚ ➛✙✡ ➞✔✁ ☞❨❿➇❿✍➁ ➠➡➛t➝➡➞✝➠ ➞✔✁✘✡ ❿ ☞➏➞✫↕✵✁ ✚❥❿✍➁t➂

ū(x, y, z) = u(xr, yr) + (f + z)θy

v̄(x, y, z) = v(xr, yr) − (f + z)θx

w̄(x, y, z) = w(xr, yr)

✝ ❀✝✻ ✾✔✿✠✟

✁ ➛t➝➡➠➡❿ ✴➲❻➡➛✹➞✔✁ ☞t❿✔✢ ✚❥❿✍➝➡➛❨➝➲❽➙➛✫✁
ū,v̄,w̄

☞❨❿✍➁➙➁ ➛✫✁✖✚❥❿✍➝➡➠❾➛✫✢♥➞✫❿★✁☞➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁✿➁ ➛ ✄ ➛❨➁➙➛t➝✱❽➙➛✫✁
➞✝❿ ✁➙↕✵✁ ❽➀➛✙✢⑩➞ ✡➜❿✯☞t➞✔✡ ❁ � ✹✪✻ ✤s❿✴➠➡➛✽✮ ✁➙➛✎✲❝➠➡➛✫✁ ❽➀➛ ✢■❿➇➠❾❿✝✲ ➠❾➛❨❽➀➛❨➁✖✢■↕ ➝ ➞✫➁❼❻✝✢ ✟✍➛❵❽➀❿✍➁✭☞t❿★✢✶✚ ❿✔✁ ❽➀❿
✚❥➛✫✡ ➞✔✁ ✫ ☞❨❿★✢✶✚ ❿✍➝❾➛t➝✱❽➀➛✙✁■➠❾➛✡❽➙➁➀➞✝➝✱✁✖✡ ➞✎✍✑✏✝❿ ✢ ➞✝↕✵✁❆➞✎✁ ✫ ☞t❿✔✢ ✚❥❿✍➝➡➛❨➝➲❽➙➛✫✁ ➠➡➛✡➁➙❿✫❽➟➞✔✍✫✏✝❿✝✻ ↔
☞❨❿✍➝ ✁ ❻➡➝✱❽➀❿■➠➡➛✜✟✫➞✝➁➙↕ �✑✟✍➛t↕✠✁✔➠➡➛✾➛✫✁ ❽➟➞✝➠➡❿■➠ ➞ ✚➡➁ ➛✫✁➙➛❨➝✱❽➀➛ ✄ ❿✝➁✖✢✕❻✝✡ ➞✔✍✑✏✫❿ ☎✾➠ ➞✝➠➡❿✶✚ ➛✙✡ ❿ ✟✝➛❨❽➀❿✝➁t➂

{u}T = {u, v, w, θx, θy, θz}
✝ ❀✝✻ ✾✳❞✂✟

✾ ✷



✤s➞✝➁➀➞✹✢■➛✫✡✠✞➡❿✍➁✪☞t❿✔✢ ✚➡➁ ➛t➛❨➝✝✁✣✏✝❿✱✲✯✟✍➛❨➁✑✠ ✆✍❻❾➁➀➞✰❀✱✻✣❞★✲ ✴➲❻➡➛✹➁ ➛✫✚➡➁ ➛✫✁➙➛❨➝✱❽➟➞❆➞♦❿★✷➇❽➀➛t➝✱✍✑✏✝❿✕➠➡➞✹☞t❿★✢ ✮
✚❥❿✍➝➡➛❨➝➲❽➙➛✾➠➡➛✾➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿

ū
✲➡➝➡➞■➠➡↕➜➁➙➛✙✍✑✏✝❿ ➠➡❿ ➛t↕ ✝➇❿

x
✻

✣❛➤ ✑ ➤ ☞ ➤ ✑ ✶✭➃➲➢ ➈➎➌➳➫ ➅★✌✏✦❝➃✧✒
❁ ✏✫❿ ➞✝➠✝✢■↕➜❽➀↕➜➠ ➞✔✁✒✴✴❻❾➛❊➞✎✁✔➠➡↕ ➁ ➛✫✍✟☎✴➛✫✁✔➠❾➛❃❿✍➁ ❽➙❿✝❽➀➁ ❿★✚➡↕ ➞✰✁✣✏✝❿■➞✔✁✔➠➡↕➜➁➙➛✙✍✟☎✴➛✫✁✔➠➡❿★✁✔➛❨↕✍✝➇❿★✁

x
➛
y
✲

➞✝➠✱✢ ↕ ❽➀↕ ➝❾➠➡❿✎✮ ✁ ➛✔➞✝↕➜➝➡➠ ➞❃➛✫✁ ❽➟➞✝➠➡❿ ✚✝✡ ➞✝➝➡❿●➠➡➛✔❽➀➛t➝✱✁☞☎✴➛✫✁✫✻ ↔ ✁ ➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿★✁ ➠➡➛ ❽➙➁➀➞✝➝✱✁✖✡ ➞✎✍✑✏✝❿
➞✔✚❾➁➙➛✫✁ ➛t➝✱❽➟➞✫➠➡❿★✁✾➝➡❿✡↕➜❽➙➛✫✢❷➞✝➝✱❽➀➛t➁ ↕ ❿✍➁✜✁✖✏✝❿✭❻❾❽➙↕✵✡ ↕✑✔➏➞✝➠❾❿★✁ ➝➡❿ ☞✟�✔✡✵☞❨❻✝✡ ❿✼➠➡➞✔✁✾➠➡➛ ✄ ❿✍➁✂✢⑩➞✎✍✟☎✴➛✫✁✹➠➡➛
❻✝✢ ✚❥❿✍➝✱❽➀❿✜✆✍➛❨➝ ☎t➁ ↕✵☞t❿

P
✲★✁ ➛t➝➡➠➡❿●➞✔☞❨➁➙➛✙✁✖☞t➛❨➝✱❽➟➞✝➠➡❿●➞✝↕➜➝➡➠ ➞✱✲✝➝➡➛✫✁ ❽➟➞ ✄ ❿✍➁✂✢✕❻✝✡ ➞✎✍✑✏✝❿✝✲✫❻✝✢ ➞ ➁➙❿✝❽➀➞ ✮

✍✫✏✝❿✼➞✔✷✱✁➙❿★✡➜❻❾❽➟➞■➠ ➞ ☞t➞✔✢⑩➞✫➠ ➞✶✴➲❻➡➛✹☞t❿✍➝✱❽ ☎✙✢❇➛✫✁ ❽➙➛ ✚❥❿✍➝✱❽➀❿
P
➛✙✁✖✚❥➛✫☞t↕✍✠ ☞➏➞✫➠➡❿✝✲ ✁ ↕✵✢ ✷❥❿★✡➜↕ ✔➏➞✫➠ ➞

✚❥❿✍➁
θz

✝➣➛✫✢❬❽➙❿✍➁➙➝➡❿✒➠❾❿✙➛❨↕✍✝➇❿ ✚❥➛t➁✖✚❥➛t➝❾➠➡↕✵☞❨❻✝✡ ➞✝➁✕➞✝❿ ✚✝✡ ➞✝➝❾❿✢➠ ➞ ✚✝✡ ➞✎☞➏➞✠✟ ✻ ✂s➞✔✡✔➞✔☞❨➁ ☎✙✁✖☞t↕✠✢ ❿
✁ ➛❃➠➡➛✙✟✝➛♦➞✝❿ ✄ ➞➳❽➀❿❆➠➡➛✙✁ ❽➟➞ ➁➙❿✫❽➟➞✔✍✫✏✝❿ ✚ ➛❨➁✖✢■↕➜❽➙↕ ➁ ❿ ☞✞�✔✡✠☞t❻✝✡➜❿ ➞✔✚➡➁➙❿✞✝➇↕✵✢ ➞✝➠➡❿♦➠➡❿ ✚➡➁➙❿★✷✱✡ ➛✫✢ ➞♦➠➡➛
☞t➞✔✁✖☞t➞✔✁✫✻ ✕ ➛✙✁ ❽➙➛✜✢ ❿✴➠➡❿✝✲ ✄ ➛ ✔ ✮ ✁ ➛✭☞t❿✝➁➙➁➙➛✙✁✖✚❥❿✍➝➡➠➡➛❨➁ ✛❊➛✙✁ ❽➀➞✕➁➙❿✝❽➀➞✔✍✑✏✝❿✱✲✴➛✙✢④❽➀❿✍➁ ➝➡❿✕➠➡➛
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✲✴❻✝✢⑩➞
➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✫✏✝❿ ✠ ☞❵❽✣✸✠☞t↕ ➞

εθz

✝ ✴➲❻➡➛✭➞✎✁✖✁➙❿ ☞t↕ ➞❄❻✝✢ ➞ ✢■➛t➠➡↕➜➠ ➞❏➠❾➛✼➠➡➛ ✄ ❿✝➁✖✢ ➞✔✍✑✏✝❿ ✛❄➠➡↕ ✄ ➛t➁➙➛❨➝✝✍➏➞
➛❨➝➲❽➙➁➙➛

θz

✲ ➛●❿ ✢■❿ ✟➇↕✠✢ ➛❨➝✱❽➀❿ ➠➡➛✹☞❨❿✍➁✖✚❥❿⑩➁✂✸✵✆✍↕➜➠➡❿ ☞t❿✍➁ ➁➙➛✙✁✖✚❥❿✍➝➡➠➡➛❨➝➲❽➙➛ ✛■➁➙❿✝❽➀➞✔✍✑✏✝❿ ↕ ➝✎✠➡➝➡↕➜❽➙➛✫✁➙↕ ✮
✢ ➞✔✡❳➠❾❿ ✚✝✡ ➞✝➝❾❿✭➠➡➛❆➁➙➛ ✄ ➛t➁ ✏❨➝✝☞t↕ ➞✭➛✫✢❷❽➙❿✍➁➙➝❾❿✭➠➡❿✡➛t↕✍✝➇❿ ✔ ✟✽✲❋➠ ➞✝➠➡➞ ✚❥➛✫✡ ➞⑩➛✫✴➲❻ ➞✎✍✑✏✝❿❏➞✔✷ ➞✝↕ ✝➇❿✝✲
☞t➞✔✡✵☞❨❻✝✡ ➞✝➠➡➞✼➝➡❿ ✚✝✡ ➞✝➝➡❿✡➠➡➛ ➁➙➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞✱✲❃☞t❿★✢ ➞✎✷✝✁✖☞❨↕✵✁✖✁➙➞✲➝❾➛✫✆✱➞✫❽➙↕✠✟✫➞

′′ − f ′′
✲❖➛✫✢❹➁ ➛✫✡ ➞✎✍✑✏✝❿

➞✝❿ ➛❨↕✍✝➇❿ ✡ ❿ ☞➏➞✔✡
z

θz(xr, yr) −
1

2

(

∂v̄(x, y,−f)

∂x
+
∂ū(x, y,−f)

∂y

)

✝ ❀✝✻ ✾★✾ ✟

↔ ✟✍➛❨❽➙❿✍➁❖➠➡➛ ➠➡➛ ✄ ❿✍➁✂✢⑩➞✎✍✟☎✴➛✫✁ ✚ ❿✴➠➡➛✪✁➙➛❨➁ ☞➏➞✔✡✠☞t❻✝✡ ➞✝➠➡❿❡➛✫✢ ✄ ❻❾➝✝✍✑✏✝❿ ➠➡❿★✁ ✁ ➛t❻✝✁s➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁✫✲
➠ ➞✫➠➡❿★✁✥✚❥➛✫✡ ➞●➛✙✴➲❻ ➞✔✍✑✏✫❿❆➞✔✷ ➞✝↕ ✝➇❿✝✲✱✛ ✢ ➛❨➠➡↕ ➠➡➞●➛✙✢ ✴➲❻➡➛✭✁➙❻✝✷✝✁ ❽➀↕ ❽➀❻➡➛✙✢ ✮ ✁➙➛✹➞✎✁✉➛✙✴✴❻➡➞✔✍✟☎✴➛✫✁ ❀✱✻ ✾✔✿
➛✙✢ ❀✝✻ ✷ ➁ ➛✫✁ ❻✝✡➜❽➀➞✝➝➡➠➡❿➡➂
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εθz

γxz
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
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
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













∂ū(x,y,z)
∂x

∂v̄(x,y,z)
∂y

θz(xr, yr) −
1
2

(

∂v̄(x,y,−f)
∂x

+ ∂ū(x,y,−f)
∂y

)

(

∂ū(x,y,z)
∂z

+ ∂w̄(x,y,z)
∂x

)

(

∂v̄(x,y,z)
∂z

+ ∂w̄(x,y,z)
∂y

)

(

∂ū(x,y,z)
∂y

+ ∂w̄(x,y,z)
∂x

)



















































✝ ❀✝✻ ✾ ✫ ✟
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{σ} =







































σx

σy

σθz

τxz

τyz

τxy







































=











































Ex(εx+νyεy)
1−νxνy

Ey(εy+νxεx)
1−νxνy

0
Gxzγxz

Gyzγyz

Gxyγxy











































✝ ❀✝✻ ✾✎❀ ✟

❿✍➝❾➠➡➛
Ex

➛
Ey

✁✖✏✝❿✼❿★✁✭✢ ✦✴➠➡❻✝✡➜❿★✁❼➠❾➛♦➛✫✡ ➞✔✁ ❽➙↕✵☞❨↕ ➠ ➞✝➠❾➛✰✡➜❿✍➝✝✆✍↕ ❽➀❻➡➠➡↕➜➝ ➞✔✡❋➝ ➞✎✁ ➠➡↕➜➁➙➛✫✍✆☎➇➛✙✁ ✝❄➛ ✒
➁ ➛✫✁✖✚❥➛✫☞❵❽➀↕ ✟✝➞✎✢ ➛❨➝➲❽➙➛✔✲

νx

➛
νy

✁✖✏✝❿❆❿★✁✥☞❨❿➇➛ ✠ ☞t↕➜➛t➝✱❽➀➛✙✁✔➠➡➛✜✤❖❿✍↕✵✁✂✁➙❿✍➝ ✲
Gxy

✲
Gxz

➛
Gyz

✁✖✏✝❿✕❿★✁
✢✶✦➇➠❾❻✝✡ ❿★✁☞➠➡➛✾➛✫✡ ➞✎✁ ❽➀↕✠☞t↕➜➠ ➞✝➠➡➛ ❽➙➁➀➞✝➝✱✁✂✟✍➛❨➁✖✁➙➞✔✡✳✻

✣❛➤ ✑ ➤ ☞ ➤ ✤ ✷ ✒t➢ ➈➎➌✙✌✍➈ ✒ ✒t➈❥➦ →✓✜✱→➣➆➏➅ ➄ ➆➉➃✧✒✔➃✴➫ ➃✴➦➧➃✴➫ ➃✴➄ ➆➏➈ ✒❼➐❖➅⑩➨❳➦➣➅★✜✍➅✭➐❛➅ ✜✍➅ ➫ ➅ ➐❛➅ ′′α′′

� ❿✍➝✱✁➙↕ ➠❾➛t➁➀➞✫➝➡➠➡❿⑩❻✱✢ ➛✙✡ ➛✙✢ ➛❨➝➲❽➙❿ ↕➜➝✎✠ ➝➡↕ ❽➀➛✙✁➙↕✵✢ ➞✔✡❝➝➡➞ ☞➏➞✎✢⑩➞✝➠➡➞
′′α′′

✲❥➁➙➛✫✚❾➁➙➛✫✁ ➛t➝✱❽➟➞✫➠➡❿ ✚ ➛✙✡ ➞
✠ ✆✝❻➡➁➀➞ ❀✝✻ ✾✯✲ ❿★✁ ➛✫✁ ✄ ❿✝➁✖✍t❿✔✁ ✁ ❿★✡ ↕✠☞t↕➜❽➀➞✝➝✱❽➀➛✙✁ ✚ ❿✍➁❡❻➡➝❾↕ ➠ ➞✝➠❾➛❊➠➡➛ ☞t❿✔✢ ✚➡➁ ↕✵✢■➛t➝✱❽➀❿ ✝➣➝➡❿✍➁✂✢⑩➞✝↕✠✁

N
✲

☞❨↕✵✁➀➞✎✡✵✞ ➞✝➝✱❽➙➛✫✁
V
✲ ✢■❿★✢■➛t➝✱❽➀❿★✁

M
✟✜✁✖✏✝❿ ✁➙❻✝✷❥➠➡↕✠✟✴↕➜➠➡↕ ➠➡❿✔✁✹➛✫✢ ➠❾❿✍↕✵✁✜✆✍➁ ❻✝✚❥❿★✁✾➛✶☞t➞✔✡✵☞❨❻✝✡ ➞✫➠➡❿★✁
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σx, σy, τxy

➞✝❿ ✡➜❿✍➝✝✆✍❿⑥➠➡➞ ➛✫✁✂✚ ➛✙✁✖✁➙❻❾➁➀➞
h
➠ ➞

☞t➞✔✢ ➞✝➠ ➞✱✲ ➛✭❽ ✏✙✢✗➛✫✁ ❽➀➛✲➝➡❿★✢■➛ ✚ ❿✍➁✂✴➲❻➡➛ ✁✣✏✝❿✪➠➡↕✠✁ ❽➀➁ ↕✵✷➡❻✱✸ ➠ ➞✔✁❆❻❾➝➡↕ ✄ ❿✍➁✂✢ ➛✙✢ ➛❨➝✱❽➀➛✭➞✝❿
✡➜❿✍➝✝✆✍❿ ➠ ➞ ✢■➛t↕ ➞⑩➞✔✡ ❽➀❻➡➁➙➞⑩➠ ➞ ☞t➞✔✢⑩➞✫➠ ➞ ✝ ✁ ❻✝✚❥➛t➁ ✄ ✸✠☞t↕➜➛✹✢ ☎t➠➡↕ ➞✠✟✽✲ ✚ ❿✴➠➡➛❨➝➡➠➡❿ ✁ ➛t➁❃➠➡➛ ✾
❽➙↕✵✚❥❿★✁t➂ ✥ ✂✆☎✞✝✹☞✪✯ ✦✰✛✔✁ ✄ ➞✔☞❨➛✫✁❡➠➡❿■➛✫✡ ➛✙✢ ➛❨➝✱❽➀❿

Nx, Ny

✁➙➛✙✆✍❻➡➝➡➠❾❿✼➞✔✁❡➠➡↕➜➁➙➛✫✍✆☎➇➛✙✁ ✝✲➛ ✒ ✆
✢✣☞✪✥✒✱✒✬★✥✫✢✭✬ ✛✔✁ ✄ ➞✔☞t➛✙✁❡➠➡❿ ➛✙✡ ➛✙✢ ➛❨➝➲❽➙❿

Nxy

➂

Nx =
∫ h

2

−h
2

σxdz Ny =
∫ h

2

−h
2

σydz Nxy =
∫ h

2

−h
2

τxydz
✝ ❀✝✻ ✾✏✱ ✟
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(τxy, τyz)

✴➲❻➡➛✾➞✎✆✍➛✫✢ ➞✝❿ ✡➜❿✍➝✝✆✍❿
➠➡➞♦➛✫✁✂✚ ➛✙✁✖✁➙❻❾➁➀➞

h
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➠❾➛ ☞❨❿★✢✶✚➡➁➙↕✠✢ ➛❨➝➲❽➙❿➡➂

Vx =
∫ h

2

−h
2

kτxzdz Vy =
∫ h

2

−h
2

kτyzdz
✝ ❀✝✻ ✾ ✷✠✟
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Mx,My

➛⑥❿ ✢■❿★✢■➛t➝✱❽➀❿✏❽➀❿✍➁✂✍t❿✍➁
Mxy

☞❨❿✍➁➙➁ ➛✫✁✂✚ ❿✍➝❾➠➡➛✫✢ ✛✔✁❡↕➜➝➲❽➙➛✫✆✍➁➙➞✔✍✟☎✴➛✫✁✔➠➡➞✔✁✔❽➀➛t➝✱✁☞☎✴➛✫✁ ➝➡❿✍➁✖✢ ➞✝↕✠✁
σx, σy

➛✾➠ ➞✔✁✔❽➙➛t➝✯✮
✁✌☎➇➛✙✁①➠➡➛ ☞❨↕✵✁➀➞✎✡✵✞ ➞✔✢■➛t➝✱❽➙❿

τxy

✴➲❻➡➛❡➞✫❽➙❻ ➞✔✢✧➝ ➞✭☞t➞✔✢⑩➞✫➠ ➞
′′α′′

✲★✢♦❻✝✡➜❽➙↕✵✚✝✡➜↕✵☞➏➞✫➠ ➞✔✁ ✚ ➛✙✡ ➞
➠❾↕✵✁ ❽ ✂✝➝✝☞❨↕ ➞♦➠➡❿ ✚❥❿✍➝✱❽➀❿❆➠➡➛❃↕➜➝✱❽➀➛✫✆✝➁➀➞✔✍✫✏✝❿ ➞✝❿ ✚✝✡ ➞✝➝➡❿❆➠➡➛❃➁ ➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞✱✲❾❿✍➝➡➠➡➛❃➛✙✁ ❽➟➞❆➠➡↕✠✁ ✮
❽ ✂✝➝✝☞❨↕ ➞ ☞❨❿✍➁➙➁ ➛✫✁✂✚ ❿✍➝❾➠➡➛ ➞ ✝

z + f
✟✽✻✜✬s↕✵✁➙↕✠☞➏➞✔✢■➛t➝✱❽➙➛✔✲ ➞✔✁ ✆✍➁➙➞✝➝➡➠➡➛ ✔➏➞✔✁

Mx,My,Mxy✁✖✏✝❿✕❿★✁✒✢ ❿✔✢ ➛❨➝➲❽➙❿★✁✥✴➲❻➡➛✭✁➙❻➡➁✂✆✍➛✫✢❴➞✝❿✹✁ ➛ ❽➀➁➙➞✝➝✝✁✖✡ ➞✝➠ ➞✝➁☞➞✔✁✉❽➙➛t➝✝✁✌☎➇➛✙✁✔➝➡❿✍➁✂✢⑩➞✝↕✠✁☞➞➳❽ ☎ ❿
✚✱✡ ➞✝➝➡❿❆➠❾➛●➁ ➛ ✄ ➛❨➁ ✏t➝✱☞t↕ ➞✯✻

Mx =
∫ h

2

−h
2

(z+f)σxdz My =
∫ h

2

−h
2

(z+f)σydz Mxy =
∫ h

2

−h
2

(z+f)τxydz
✝ ❀✝✻ ✾✏✻ ✟

✂ ❻ ➞✝➝❾➠➡❿✒❿✢➛✫✡➜➛✫✢■➛t➝✱❽➀❿✒➠❾↕✵✁✖☞❨➁➙➛❵❽➀↕ ✔t➞✝➠➡❿ ✄ ❿✝➁✕❻✝✢ ➞ ☞➏➞✔✁✂☞➏➞✱✲✓✞ �✢❻✝✢ ✢■❿★✢■➛t➝✱❽➀❿❄➞✝➠➡↕✵☞❨↕ ❿✍➝➡➞✔✡
✠ ☞❵❽✣✸✠☞t↕ ❿

Mθz = Shεθz

✲✾➞✔✁✖✁ ❿✯☞❨↕ ➞✝➠➡❿ ✛✰➠➡➛ ✄ ❿✍➁✂✢⑩➞✎✍✑✏✝❿
εθz

✝➣❽➀➞✔✢ ✷✆☎✫✢ ✠✝☞❨❽✣✸✠☞t↕ ➞✠✟✽✲ ✴➲❻➡➛
☞❨❿✍➁➙➁ ➛✫✁✖✚❥❿✍➝➡➠❾➛✰✛ ➁➙❿✫❽➟➞✔✍✫✏✝❿ ➞✔✷✝✁ ❿★✡ ❻❾❽➀➞

θz

➠ ➞ ☞➏➞✎✢⑩➞✝➠➡➞
′′α′′

✻

✾ ✯



✣❛➤ ✑ ➤ ☞ ➤ ✣ ✺✼➨s➦➧→ ✜✍➅★✌✏✎❾➈ ➐❛➈⑥➨❖➌✫→➧➄ ✜ ☎➧➨s→➧➈✙➐❛➈⑥✸❊✽✁�
✤s➞✝➁➀➞✭❻✝✢ ☞❨❿✍➁✖✚❥❿✡➛✫✢ ➛✙✴➲❻➡↕✵✡✠✸✵✷➡➁ ↕ ❿✝✲ ❿✡❽➙➁➀➞✔✷➡➞✔✡✵✞➡❿ ✟✴↕➜➁ ❽➀❻➡➞✔✡①➠ ➞✔✁ ✄ ❿✍➁✂✍➏➞✔✁❃↕➜➝✱❽➀➛t➁ ➝ ➞✔✁ ☎ ↕✵✆✍❻➡➞✔✡
❽➙➁➀➞✔✷ ➞✎✡✵✞➡❿ ✟✴↕ ➁ ❽➀❻ ➞✔✡ ➠ ➞✔✁ ✄ ❿✍➁✖✍t➞✔✁✡➛ ✝✴❽➀➛❨➁➙➝ ➞✔✁ ✚ ➞✝➁➙➞ ✴➲❻ ➞✎✡✵✴➲❻➡➛t➁✲➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿✰↕✵✢✶✚ ❿★✁ ❽➀❿
✝➣➠➡➛✫✁ ➠➡➛✰✴➲❻➡➛✌✁➙➞✫❽➀↕✠✁ ✄ ➞✔✍t➞■➞ ✟✴↕ ➝✱☞t❻✝✡ ➞✔✍✑✏✝❿✠✟✽✲➡❿✍❻ ✁ ➛ ✁➙➞

Wint = Wext

✝ ❀✝✻ ✾ ✬✠✟
↔ ❽➙➁➀➞✔✷ ➞✎✡✵✞➡❿ ✟✴↕ ➁ ❽➀❻ ➞✔✡❛↕➜➝➲❽➙➛t➁ ➝➡❿ ☎❊➠ ➞✝➠➡❿✶✚❥➛✫✡ ➞ ↕ ➝✱❽➙➛✫✆✍➁➙➞✔✡ ✝➧➝➡❿✶✟✍❿★✡➜❻✝✢ ➛✾➠ ➞✶✚✝✡ ➞✎☞➏➞✠✟✿➠➡❿ ✁➙❿✎✮
✢ ➞✫❽✣✦✝➁➙↕ ❿✲➠ ➞✔✁✰✚ ➞✝➁✂☞t➛✫✡ ➞✔✁ ☞❨❿✍➁➙➁ ➛✫✁✖✚❥❿✍➝➡➠❾➛t➝✱❽➀➛✙✁ ✛ ✢✕❻✝✡➜❽➙↕✵✚✝✡➜↕✵☞t➞✔✍✑✏✝❿✭➠➡➞✢➞✔✍✑✏✫❿ ✝ ✁ ❿★✡ ↕✠☞t↕➜❽➀➞✔✍✑✏✫❿ ✟
✚❥➛✫✡➜❿✭➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿ ✟✴↕ ➁ ❽➀❻ ➞✎✡①↕✵✢✶✚ ❿✔✁ ❽➀❿✱✻ ✡ ❽➙↕✵✡ ↕✑✔➏➞ ✮ ✁➙➛❊➠➡➛✫✁ ❽➀➛✶✢ ❿✴➠➡❿✭❿ ☞➏➞✔✢✶✚ ❿✭➠❾➛■➠❾➛✫✁ ✮
✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁ ❀✝✻ ✾✳❞✕➞✝➠✱✢ ↕ ❽➀↕ ➠❾❿■↕➜➝➡↕✵☞❨↕ ➞✔✡✠✢ ➛❨➝✱❽➀➛✔✲ ➛♦❿ ☞➏➞✎✢ ✚❥❿⑩➠➡➛♦➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿ ✠ ☞❨❽✖✸✵☞❨↕ ❿★✁
✝ ✟➇↕➜➁ ❽➙❻ ➞✝↕✵✁ ✟✽✲✯✁➙↕✵✢✹✷ ❿★✡➜↕ ✔t➞✝➠➡❿ ✚❥❿✍➁

δ

{δu}T = {δu, δv, δw, δθx, δθy, δθz}
✝ ❀✝✻ ✾ ✯✠✟

❿✍➝❾➠➡➛ ❿ ✁✂✸✵✢ ✷❥❿★✡➜❿
δ
❻❾❽➀↕✠✡ ↕✑✔➏➞✝➠➡❿⑩➝ ➞✭➛✫✴➲❻ ➞✔✍✫✏✝❿ ❀✱✻ ✫ ❀ ✁ ↕✵✢ ✷❥❿★✡ ↕✑✔➏➞✼➞✎✚ ➛❨➝ ➞✔✁❃❻✝✢ ➞ ✟✝➞✫➁➙↕ ➞✎✍✑✏✝❿

✠ ☞❵❽✣✸✠☞t↕ ➞❏➠➡➛ ✢ ❿✴➠➡❿ ✴➲❻➡➛✡❿★✁♦➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁
δu

✲
δv

➛
δw

✲①❽➟➞✔✢ ✷✆☎✫✢ ☞ ✞ ➞✔✢ ➞✝➠➡❿★✁♦➠➡➛
✟✴↕ ➁ ❽➀❻ ➞✫↕✵✁ ✁✖✏✝❿❆↕✵✢ ➞✔✆✍↕➜➝ ➞✝➁➙↕ ➞✔✢■➛t➝✱❽➀➛ ➞✔✚✝✡➜↕✵☞t➞✝➠➡❿★✁ ✛✕➛✙✁ ❽➙➁➙❻❾❽➙❻➡➁➀➞✱✲ ➠❾➛ ✢■❿✴➠➡❿❆➞❆➝ ✏✝❿ ➞✔✡ ❽➀➛❨➁➀➞✝➁✔➞
➞✔✚✱✡ ↕✵☞t➞✔✍✑✏✫❿✲➠➡➞✔✁✹☞t➞✝➁✖✆✱➞✎✁❊➝➡➛✙✢q➞ ☞t❿✝➝✎✠ ✆✍❻➡➁➙➞✔✍✑✏✫❿✢➛ ➁ ➛✫✁ ❽➀➁➙↕✠✍✟☎✴➛✫✁✰✆✍➛t❿★✢ ☎❨❽➙➁➙↕✠☞➏➞✔✁✾➠➡❿ ✁✖✦★✡➜↕ ➠➡❿
➞✝➝➡➞✔✡ ↕✠✁➀➞✝➠➡❿✱✻④❺ ✁ ❻ ➞ ✄ ❿✝➁✖✢✕❻✝✡ ➞✔✍✑✏✫❿ ☎❯➞ ✢■➛✫✁✖✢ ➞✰➞✝➠➡❿✝❽➀➞✝➠ ➞ ✚ ➞✝➁➙➞✰❿✔✁❏➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁
u, v, w

❿✔✷❾❽➀↕➜➠➡❿★✁ ➠ ➞ ☞t↕ ➝❾➛✫✢ �✫❽➀↕✠☞➏➞✪➞✝➠➡❿✝❽➀➞✝➠ ➞ ✚ ➞✝➁➙➞❯➞ ✚✝✡ ➞✔☞t➞ ❀✝✻ ✾✎✿✱✻✑❺✭✁■➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✟☎✴➛✫✁
➞ ✴➲❻➡➛✭❿ ✁✂✦★✡ ↕➜➠➡❿✢➛✫✁ ❽ � ✁ ❻ ✁ ➛t↕ ❽➀❿ ☞t❿✝➁➙➁➙➛✙✁✖✚❥❿✍➝➡➠➡➛ ✛✎✁❆➠➡➛t➁ ↕✠✟✫➞✝➠ ➞✔✁♦➠➡❿★✁❆➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿★✁✕➝ ➞
✢■➛✫✁✂✢⑩➞✕➠➡↕➜➁➙➛✙✍✑✏✝❿✝✲❾❿✍❻ ✁ ➛ ✁➙➞

εx = ∂u
∂x

= ∂u(x,y)
∂x

+ ∂θy(x,y)
∂x

(z + f)

εy = ∂v
∂y

= ∂v(x,y)
∂y

− ∂θx(x,y)
∂y

(z + f)

εz = ∂w
∂z

= θz(x, y) −
1
2

(

−∂ū(x,y,z)
∂y

+ ∂v̄(x,y,z)
∂x

)

γxz =
(

∂ū(x,y,z)
∂z

+ ∂w(x,y)
∂x

)

γyz =
(

∂v̄(x,y,z)
∂z

+ ∂w̄(x,y,z)
∂y

)

γxy =
(

∂ū(x,y,z)
∂y

+ ∂v̄(x,y,z)
∂x

)

✝ ❀✝✻ ✫ ✿✠✟

❺ ✚✝✡ ↕✠☞➏➞✝➝➡➠❾❿✎✮ ✁ ➛ ➞✔✁☞➛✫✴➲❻ ➞✔✍✆☎➇➛✙✁ ☞t❿✍➝✱✁ ❽➀↕ ❽➀❻❾❽➙↕✠✟✫➞✔✁✒✚ ➞✝➁➀➞❊❻✝✢ ✢⑩➞✫❽➙➛t➁ ↕ ➞✔✡➎↕✵✁ ❿✝❽➀➁✂✦★✚➡↕✠☞t❿✝✲➲➝➲❻✝✢ ➛✫✁ ✮
❽➀➞✝➠➡❿ ✚✝✡ ➞✝➝❾❿●➠❾➛ ❽➙➛t➝✝✁✌☎➇➛✙✁✫✲➡➞✎✁✉➛✙✴✴❻➡➞✔✍✟☎✴➛✫✁ ➠ ➞✔✁ ❽➀➛❨➝✝✁☞☎✴➛✫✁✉➛t➝✝☞❨❿✍➝✱❽➀➁➀➞✫➠ ➞✔✁☞➛❡↕✠✢ ✚✝✡➜➛✫✢■➛t➝✱❽➟➞✫➠ ➞✔✁
✚❥❿✍➁ ✕ ➛✽✟✯✡➜❿➇❿ ➛✰✗❏➛❨➝➡➛ ✔❨➛✫✁✭✁✖✏✝❿

✫ ✿



σx = Ex(εx+νyεy)
(1−νxνy)

σy = Ey(εy+νxεx)
(1−νxνy)

σz = 0
τxy = Gxyεxy

τxz = Gxzεxz

τyz = Gyzεyz

✝ ❀✝✻ ✫ ❞✂✟

❺ ✁ ➞✔✍✆☎➇➛✙✁ ➞✎✚✝✡ ↕✠☞➏➞✝➠ ➞✎✁✔➝ ➞✶✚✱✡ ➞✔☞t➞✶☞❨❿✍➁➙➁ ➛✫✁✖✚❥❿✍➝➡➠❾➛✫✢ ✛■↕➜➝✱❽➀➛✫✆✝➁➀➞✔✡❋➠ ➞✎✁ ❽➙➛t➝✝✁✌☎➇➛✙✁✭☞t❿✝➁➙➁➙➛✙✁✖✚❥❿✍➝✯✮
➠➡➛❨➝✱❽➀➛✫✁✙✲✪☞t❿★✢■❿ ✢■❿★✁ ❽➙➁➀➞✔✢q➞✔✁✕➛✙✴➲❻ ➞✔✍✟☎✴➛✫✁ ❀✱✻ ✾✏✱ ✲ ❀✝✻ ✾ ✷✱✲ ❀✝✻ ✾✏✻✯✲❳➛ ✴➲❻➡➛✡➞❄➛ ✝✯✚➡➁ ➛✫✁✂✁✣✏✝❿✪➠➡❿★✁
➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁ ✟✴↕ ➁ ❽➀❻ ➞✫↕✵✁ ☎❃➠ ➞✝➠➡➞✶✚❥❿✍➁

δ̄u(x, y, z) = δu(xr, yr) + (f + z)δθy

δ̄v(x, y, z) = δv(xr, yr) − (f + z)δθx

δ̄w(x, y, z) = δw(xr, yr)

✝ ❀✝✻ ✫ ✾ ✟

↔ ✁ ✟✝➛❨❽➙❿✍➁➙➛✙✁✼➠➡➛❄➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿★✁ ➛❄➠ ➞✎✁ ✟✫➞✝➁➙↕ ➞✔✍✟☎✴➛✫✁■➠➡❿★✁ ➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿★✁ ✁✖✏✝❿ ➠➡➛✙✁ ❽➙➛
✢■❿➇➠❾❿✝✲✱☞❨❿★✢ ✚❥❿★✁ ❽➀❿★✁ ✚❥❿✍➁ ✫ ➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁✔➛ ✫ ➁ ❿✝❽➟➞✔✍✆☎➇➛✙✁

{u} = {u(x, y), v(x, y), w(x, y), θx(x, y), θy(x, y), θz(x, y)}
{δu} = {δu(x, y), δv(x, y), δw(x, y), δθx(x, y), δθy(x, y), δθz(x, y)}

✝ ❀✝✻ ✫✏✫ ✟

↔ ❽➀➁➀➞✎✷ ➞✔✡✵✞❾❿❆↕ ➝✱❽➀➛❨➁➙➝➡❿ ✚❥❿➇➠➡➛✜✁ ➛t➁ ☞➏➞✔✡✠☞t❻✝✡ ➞✝➠➡❿ ➞✫❽➙➁➀➞✑✟ ☎✙✁❡➠➡❿★✁❡➛✫✁ ✄ ❿✍➁✖✍❨❿★✁✘✁➙❿★✡➜↕✵☞t↕ ❽➟➞✝➝✱❽➙➛✫✁✿➛✾➠ ➞✔✁
✟✫➞✝➁ ↕ ➞✔✍✆☎➇➛✙✁⑩➠➡❿★✁⑩➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁✼➛✫✁✂✁➙➛t➝✱☞t↕ ➞✫↕✵✁✭➛✫✢ ➁➙➛✙✡ ➞✔✍✫✏✝❿➋➞✝❿ ✚✱✡ ➞✝➝➡❿ ➠➡➛✢➁➙➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞✱✻
✍ ➝✝☞✙✡ ❻➡↕ ✮ ✁ ➛●➝❾➛✫✁ ❽➀➞ ✚ ➞✫➁✖☞t➛✙✡ ➞ ❿⑩➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿ ✟✍➛t➁ ❽➀↕✠☞➏➞✔✡

w
➝ ➞ ➠➡↕ ➁ ➛✫✍✑✏✫❿

z
✲ ➛ ✁➙❻ ➞✎✁ ✟✫➞✝➁➙↕ ➞ ✮

✍✆☎➇➛✙✁✫✻✪✤s❿✝➁ ❽➟➞✫➝➲❽➙❿✝✲➇➞✹✚ ➞✝➁✂☞t➛✫✡ ➞❊➁ ➛ ✄ ➛t➁ ➛t➝✱❽➀➛✹➞✝❿❊❽➙➁➀➞✔✷ ➞✎✡✵✞➡❿✌✟✴↕ ➁ ❽➙❻ ➞✔✡➎↕ ➝✱❽➙➛t➁➙➝❾❿ ✚ ❿✴➠➡➛ ✁➙➛❨➁✿➠ ➞✝➠➡❿
✚❥❿✍➁t➂

Wint =
∫

[

Nx
∂δu(x,y,−f)

∂x
+

Ny
∂δv(x,y,−f)

∂y
+Nxy

(

∂δu(x,y,−f)
∂y

+ ∂δv(x,y,−f)
∂x

)

+

+Vx

(

∂δu(x,y,z)
∂z

+ ∂δw(x,y,z)
∂x

)

+ Vy

(

∂δv(x,y,z)
∂z

+ ∂δw(x,y,z)
∂y

)

+

+Mx
∂δθy(xr,yr)

∂x
−My

∂δθx(xr ,yr)
∂x

+Mxy

(

∂δθy(xr,yr)
∂y

− ∂δθx(xr ,yr)
∂x

)

+

+Mθz

(

δθz (xr, yr) −
1
2

(

∂δv(x,y,−f)
∂x

− ∂δu(x,y,−f)
∂y

))]

✝ ❀✝✻ ✫ ❀ ✟

↔ ✁①➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁
u, v, w

✁✣✏✫❿●❿✔✁①↕ ➝➡➠❾↕✵☞➏➞✫➠➡❿★✁①➝ ➞✹➛✙✴➲❻ ➞✔✍✑✏✫❿ ❀✱✻✣❞★✻ ✡ ❽➙↕✵✡➜↕ ✔➏➞✎✢ ✮ ✁➙➛ ➞✔✁✓☞t❿✔✢ ✮
✚❥❿✍➝➡➛❨➝➲❽➙➛✫✁✒➠ ➞✯➁➙❿✝❽➀➞✔✍✑✏✝❿✥➞✔✷✝✁ ❿★✡ ❻❾❽➀➞✥➠ ➞ ✚✱✡ ➞✔☞t➞✥➛✫✢ ❽➀❿✍➁ ➝➡❿✥➠❾❿★✁✢➛t↕ ✝➇❿★✁✢➠➡➛⑥➁ ➛ ✄ ➛❨➁ ✏t➝✱☞t↕ ➞
xr, yr, zr

✻ ↔ ✁s➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁ ✄ ❻➡➝➡➠ ➞✎✢ ➛❨➝➲❽➀➞✝↕✵✁❖❻✝✁➙➞✝➠➡❿★✁❖➛✫✢ ❀✝✻ ❀ ✄ ❿✍➁➙➞✔✢❁➞✔✆✝➁➙❻✝✚ ➞✫➠➡❿★✁❖➛✫✢
✫ ❞



❻✝✢ ✟✍➛❨❽➙❿✍➁
u
➠➡➞✝➠➡❿✶✚ ➛✙✡ ➞✕➛ ✝✯✚➡➁ ➛✫✁✂✁✣✏✝❿ ❀✝✻ ✾ ✷✱✻➩❺✔➠➡❿✝❽➙❿✍❻✯✮ ✁ ➛❃❽➟➞✔✢ ✷✆☎✫✢ ❻✝✢ ✟✝➛❨❽➙❿✍➁

δu
☞t❻ ✁➙➞✎✁

☞❨❿★✢ ✚❥❿✍➝➡➛❨➝✱❽➀➛✫✁✒✁✣✏✝❿♦➞✔✁✒✟✫➞✝➁ ↕ ➞✔✍✆☎➇➛✙✁✉➠❾❿★✁☞➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁ ✄ ❻➡➝➡➠ ➞✎✢ ➛❨➝➲❽➀➞✝↕✵✁✙✲➇➛☛✝✯✚➡➁➙➛✙✁✖✁➙❿ ✚❥❿✍➁
❀✝✻ ✬✏✷ ✻
☞ ❿ ✤ ✂ ✄ ✲➇➞✔✁☎✟✫➞✝➁ ↕ �✑✟✍➛❨↕✵✁✒✚ ➞✝➁✖☞❨↕ ➞✝↕✠✁ ➛t➝ ✟✍❿★✡ ✟✴↕ ➠ ➞✔✁✉➛✫✁ ❽ ✏✝❿❆➞✎✁✖✁➙❿ ☞t↕ ➞✝➠ ➞✔✁✉➞✝❿★✁✉➛t↕ ✝❾❿✔✁✥✡ ❿ ☞➏➞✫↕✵✁✫✲✱➛
❻❾❽➙↕✵✡➜↕ ✔➏➞✫➝➡➠➡❿✎✮ ✁➙➛❃❿★✁❼❿★✚ ➛❨➁➀➞✝➠❾❿✍➁➙➛✙✁✭✡ ↕➜➝➡➛➏➞✫➁➙➛✫✁

∂
∂x

➛
∂
∂y

✲ ✚ ❿✴➠➡➛✽✮ ✁➙➛♦➞✔✆✍➁➙❻✱✚ ➞✝➁ ➛✫✁ ❽➀➞✔✁ ✟✫➞✝➁ ↕ �✑✟✍➛❨↕✵✁
➛✙✢ ✴➲❻ ➞✫❽➙➁➙❿❆➝➡❿ ✟✝❿★✁ ✟✍➛❨❽➙❿✍➁➙➛✙✁✔➠➡➛✹❿✍➁ ➠➡➛✫✢ ✙ ✷ ✝❡❞ ✚✳✻ � ❿★✢ ↕✵✁ ❽➀❿✝✲➇❿❆↕ ➝✱❽➀➛✙✆✍➁➀➞✫➝➡➠➡❿✕➠ ➞✕➛✙✴➲❻ ➞✔✍✑✏✫❿
❀✝✻ ✫ ❀ ✚❥❿➇➠➡➛✜✁ ➛t➁ ➞✔✆✍➁ ❻✝✚ ➞✝➠❾❿✶✢ ➞✫❽➙➁➙↕✵☞❨↕ ➞✔✡✠✢ ➛❨➝✱❽➀➛✹➞ ✚ ➞✫➁ ❽➀↕➜➁✿➠➡❿★✁✘✁ ➛✫✆✍❻➡↕➜➝✱❽➀➛✫✁✘✟✍➛❵❽➀❿✍➁ ➛✫✁❨➂
•
✄ ➛❵❽➀❿✍➁✔➠❾❿★✁❡➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁

{u}

•
✄ ➛❵❽➀❿✍➁✔➠➡➞✔✁ ✟✝➞✫➁➙↕ ➞✎✍✟☎✴➛✫✁✔➠➡❿★✁❡➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁

{δu}

•
✄ ➛❵❽➀❿✍➁✔➠➡➞✔✁❡➠➡➛t➁ ↕✠✟✫➞✝➠ ➞✔✁ ✚➡➞✝➁✖☞❨↕ ➞✝↕✠✁✿➠➡❿★✁❡➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿★✁❡➛✫✢♥➁ ➛✫✡ ➞✔✍✑✏✝❿ ➞ ✝✪➂ ∂{u}

∂x

•
✄ ➛❵❽➀❿✍➁✔➠➡➞✔✁❡➠➡➛t➁ ↕✠✟✫➞✝➠ ➞✔✁ ✚➡➞✝➁✖☞❨↕ ➞✝↕✠✁✿➠➡❿★✁❡➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿★✁❡➛✫✢♥➁ ➛✫✡ ➞✔✍✑✏✝❿ ➞ ✒✒➂ ∂{u}

∂y

•
✄ ➛❵❽➀❿✍➁ ➠ ➞✔✁ ➠➡➛❨➁➙↕✠✟✫➞✝➠➡➞✔✁ ✚➡➞✝➁✖☞❨↕ ➞✝↕✠✁ ➠➡➞✔✁ ✟✫➞✝➁ ↕ ➞✔✍✆☎➇➛✙✁ ➠❾❿★✁ ➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁ ➛✫✢❇➁➙➛✙✡ ➞✔✍✫✏✝❿ ➞

✝✪➂ ∂{δu}
∂x

•
✄ ➛❵❽➀❿✍➁ ➠ ➞✔✁ ➠➡➛❨➁➙↕✠✟✫➞✝➠➡➞✔✁ ✚➡➞✝➁✖☞❨↕ ➞✝↕✠✁ ➠➡➞✔✁ ✟✫➞✝➁ ↕ ➞✔✍✆☎➇➛✙✁ ➠❾❿★✁ ➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁ ➛✫✢❇➁➙➛✙✡ ➞✔✍✫✏✝❿ ➞

✒✒➂ ∂{δu}
∂y� ❿★✢ ➛✫✁ ❽➟➞ ✁➙➛✙✚ ➞✝➁➙➞✔✍✑✏✝❿✱✲➡❻❾❽➀↕✠✡ ↕✑✔t❿✍❻✯✮ ✁➙➛ ❿ ✚➡➁➙❿✔✆✍➁➀➞✔✢ ➞ ❀❁➅❾➆➍➥❛➃✴➫ ➅❾➆➍→✓✜✍➅ ✚❥❿➇➠➡➛ ✮ ✁ ➛✹➁➙➛✙✁➙❿★✡ ✟✍➛t➁
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➠➡➛❵❽➀➛❨➁✖✢■↕ ➝ ➞✝➠❾❿ ✚ ❿✍➁

Oxryrzr

➠❾➛✆✠ ➝➡↕➜➠➡❿✝✲ ☞❨❿★✢ ❿✡➛t↕ ✝➇❿
zr

✟✝➛t➁ ❽➀↕✵☞t➞✔✡ ☞❨❿★✢ ✁ ➛t➝✱❽➀↕➜➠➡❿ ✚ ➞✝➁➀➞
☞❨↕✵✢ ➞✡➠❾➛t➝➡❿★✢■↕ ➝➡➞✝➠➡❿

SRG
✲❖↕ ➝✱✁ ❽➟➞✎✡ ➞✝➠➡❿✡➝➡❿ ✚✝✡ ➞✝➝➡❿✲➠➡➛ ➁ ➛ ✄ ➛❨➁ ✏t➝✱☞t↕ ➞✯✻ ↔ ❻❾❽➀➁ ❿ ✁ ↕✵✁ ❽➀➛✫✢ ➞ ☎

➠ ➞✫➠➡❿ ✚ ❿✝➁
On1n2n3

➠➡➛t➝➡❿✔✢ ↕➜➝ ➞✝➠➡❿
SRN

✲ ➠➡➛✆✠ ➝❾↕ ➠➡❿✒➝ ➞ ✁ ❻✝✚❥➛t➁ ✄ ✸✠☞t↕➜➛✼➠➡➛✼➁ ➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞✱✲
☞❨❿★✢ ❿ ✟✍➛❵❽➀❿✍➁

n3

✚ ➞✝➁➙➞✔✡ ➛✙✡ ❿➋➛✪➠➡➛ ✢ ➛✙✁✖✢■❿ ✁➙➛t➝✱❽➙↕ ➠➡❿ ✴➲❻➡➛✙❿ ✟✝➛❨❽➀❿✝➁
e3
✻ ↔ ❽➀➛t➁✂☞t➛❨↕ ➁➙❿

✁ ↕✵✁ ❽➙➛✫✢ ➞✏➠❾➛ ☞❨❿➇❿✍➁ ➠➡➛t➝➡➞✝➠ ➞✔✁ ☎❯➠❾➛❨❽➀➛❨➁✖✢■↕ ➝ ➞✫➠➡❿ ✚❥➛✫✡➜❿ ✁ ↕✵✁ ❽➀➛✫✢ ➞
Oe1e2e3

➠➡➛t➝➡❿✔✢ ↕➜➝ ➞✝➠➡❿
✁ ↕✵✁ ❽➙➛✫✢ ➞

SRE
✲➡➠➡➛ ✠ ➝➡↕➜➠➡❿ ➝❾❿✶✚✱✡ ➞✝➝➡❿ ✢ ☎t➠➡↕➜❿❆➠ ➞ ☞➏➞✔✢ ➞✝➠ ➞

′′α′′
✻

✫ ✱



✬❳↕✠✆✍❻➡➁➙➞ ❀✝✻ ✫ ➂✶✤✓✡ ➞✔☞t➞ ☞t❿★✢q➛t↕ ✝➇❿★✁✕➁➙❿✫❽➟➞✔☞❨↕ ❿✍➝ ➞✫➠➡❿★✁●➛✫✢❬➁ ➛✫✡ ➞✔✍✑✏✝❿❄➞✝❿★✁✕➛❨↕✍✝➇❿★✁✕➠❾❿ ✁➙↕✠✁ ❽➀➛✙✢⑩➞
✆★✡➜❿★✷ ➞✔✡

✤❖❿➇➠➡➛ ✮ ✁ ➛✭☞t↕ ❽➟➞✝➁✉➞✝↕➜➝➡➠ ➞●➞❊➠➡➛ ✠ ➝➡↕✵✍✫✏✝❿♦➠❾➛❼❽➀➁ ✏✫✁☎✟✍➛❨❽➙❿✍➁➙➛✙✁
a1, a2, a3

✴➲❻➡➛ ✁✣✏✝❿❊❻❾❽➀↕✠✡ ↕ ✔t➞✝➠➡❿★✁ ➝➡❿
➛✙✡ ➛✫✢■➛t➝✱❽➙❿ ✠➡➝➡↕➜❽➙❿❆➠➡➛✌✚✝✡ ➞✔☞t➞✱✲➡❿✍➝❾➠➡➛

a1

☎✾➠➡➛✆✠➡➝➡↕ ➠➡❿ ➛✙✢ ☞➏➞✝➠➡➞✶✚❥❿✍➝✱❽➀❿ ➠➡➛✾↕ ➝✱❽➙➛✫✆✍➁➙➞✔✍✑✏✝❿ ➠➡❿
➛✙✡ ➛✫✢■➛t➝✱❽➙❿✢➝ ➞❄➠➡↕➜➁➙➛✙✍✑✏✝❿❏➠➡❿ ✡ ➞✫➠➡❿✢➠➡❿✢➛✙✡ ➛✙✢ ➛❨➝➲❽➙❿ ✠ ➝❾↕➜❽➀❿ ✴✴❻❾➛ ☞t❿✍➝✱❽ ☎✫✢q➛✫✁✖✁ ➛ ✚ ❿✝➝➲❽➙❿✝✻✢❺
➠➡↕➜➁➙➛✙✍✑✏✝❿❏➠➡➛✫✁ ❽➀➛ ✟✝➛❨❽➀❿✝➁

a1

☎⑩➠❾➛✆✠ ➝➡↕➜➠ ➞ ✚❥➛✫✡ ➞ ✄ ✡ ↕✵✁ ❽➟➞✭➠➡➛ ↕ ➝✝☞❨↕ ➠ ✏❨➝✝☞t↕ ➞ ✄ ➠➡❿✢➛✙✡ ➛✙✢ ➛❨➝➲❽➙❿✝✻ ↔
✟✝➛❨❽➀❿✝➁

a2

❽➀➛✫✢ ❿✍➁ ↕ ➛t➝✱❽➀➞✔✍✑✏✝❿♦➠➡➛✫✁ ❽➀➁✖✦✔✆✍↕ ➁➙➞♦➛✫✢ ➁➙➛✙✡ ➞✔✍✫✏✝❿✕➞
a1

➛✭✡✠✞➡➛ ☎ ✚ ➛❨➁✖✚❥➛t➝➡➠➡↕✠☞t❻✝✡ ➞✝➁✫✻ ↔ ✁
➠➡❿✝↕✵✁✒✟✝➛❨❽➙❿✍➁➙➛✙✁

a1

➛
a2

✄ ❿✍➁✂✢⑩➞✎✢ ❻✱✢⑩➞✹✁ ❻✝✚❥➛t➁ ✄ ✸✠☞t↕➜➛✭✚ ➞✝➁➙➞✔✡ ➛✙✡ ➞✰✛ ✁➙❻✝✚❥➛t➁ ✄ ✸✵☞t↕➜➛ ➠➡➛❃➁ ➛ ✄ ➛❨➁ ✏t➝✱☞t↕ ➞
➛✭❿ ✚➡➁ ❿➇➠❾❻❾❽➀❿ ✟✝➛t➁ ❽➙❿✍➁➙↕ ➞✔✡☞➛❨➝✱❽➀➁➙➛✡➛✙✡ ➛✫✁❆➠❾➛✆✠ ➝➡➛✡❿ ✟✝➛❨❽➀❿✝➁

a3

✲✪✴➲❻➡➛✼❽➙➛✫✢ ✢■➛✫✁✂✢⑩➞❄➠❾↕ ➁➙➛✙✍✑✏✝❿
✴➲❻➡➛

n3

✻➩❺❁➁➙➛✙✚➡➁➙➛✙✁➙➛t➝✱❽➀➞✔✍✑✏✝❿ ➛✙✢❴➁➙➛✙✡ ➞✔✍✫✏✝❿❆➞✝❿✹✁➙↕✵✁ ❽➀➛✙✢⑩➞
SRG

➠➡❿★✁✥✟✝➛❨❽➀❿✝➁➙➛✫✁
a1, a2, a3

➛
n1, n2, n3

☎✾➠ ➞✝➠ ➞ ✚❥❿✍➁t➂
a1 = (a00, a01, a02) n1 = (n00, n01, n02)
a2 = (a10, a11, a12) n2 = (n10, n11, n12)
a3 = (a20, a21, a22) n3 = (n20, n21, n22)

✝ ❀✝✻ ❀ ✱ ✟

✣❛➤ ✑ ➤ ☞ ➤ ✂ ❀❁➅❾➆➏➌✫→➣➓❏➐❖➃❏➌➳➈ ➆➉➅✥✌✏✎➡➈
✡ ✢ ✟✝➛❨❽➙❿✍➁

t
✴➲❻ ➞✔✡✠✴✴❻❾➛t➁✥✚❥❿✴➠➡➛✭✁ ➛t➁✿➁ ➛✫✚➡➁ ➛✫✁➙➛❨➝✱❽➟➞✝➠➡❿ ✚❥❿✍➁✒✁➙❻ ➞✔✁✥☞t❿★✢✶✚ ❿✝➝➡➛t➝✱❽➀➛✙✁

(tx, ty, tz)➛✙✢✩➁➙➛✙✡ ➞✔✍✫✏✝❿❡➞✝❿ ✁ ↕✵✁ ❽➙➛✫✢ ➞✿➠➡➛✓☞t❿✴❿✍➁ ➠➡➛t➝ ➞✫➠ ➞✔✁ ✆★✡➜❿★✷ ➞✝↕✠✁➑❿✍❻✌✚❥❿✍➁ ☞t❿✔✢ ✚❥❿✍➝➡➛❨➝➲❽➙➛✫✁
(tn1, tn2, tn3)➛✙✢♥➁➙➛✙✡ ➞✔✍✫✏✝❿■➞✝❿ ✁➙↕✵✁ ❽➀➛✙✢⑩➞✕➠➡➛ ☞t❿✴❿✍➁ ➠➡➛t➝ ➞✫➠ ➞✔✁

SRN
✻✪✤❖❿➇➠➡➛ ✮ ✁ ➛❊➠➡➛ ✠ ➝➡↕➜➁✔❻✝✢⑩➞ ✢ ➞✫❽➀➁ ↕ ✔✹➠❾➛

➁ ❿✝❽➟➞✔✍✫✏✝❿
[r]
✲✝➠❾➛ ❿✝➁➙➠➡➛✙✢ ✫ ✝ ✫ ✲✎✴➲❻➡➛☎✚❥➛t➁✖✢■↕➜❽➙➛ ➛✫✁✖☞❨➁➙➛✽✟✍➛t➁❳➞✔✁❃☞t❿★✢✶✚ ❿✝➝➡➛t➝✱❽➀➛✙✁

(tn1, tn2, tn3)➛✙✢ ✄ ❻➡➝✝✍✫✏✝❿✭➠ ➞✔✁✜☞❨❿★✢✶✚ ❿✍➝❾➛t➝✱❽➀➛✙✁
(tx, ty, tz)

✻ ↔ ✁✜☞❨❿➇➛ ✠ ☞t↕➜➛t➝✱❽➀➛✙✁✾➠➡➛✫✁ ❽➟➞ ✢⑩➞➳❽➀➁➙↕✑✔❊➠❾➛❆➁➙❿✎✮
✫ ✷



❽➀➞✔✍✑✏✝❿ ✁✣✏✫❿❏❿★✁✌☞❨❿★✁✖✁ ➛t➝➡❿★✁❊➠➡↕ ➁ ➛❨❽➙❿✍➁➙➛✙✁●➠❾❿★✁ ✂✫➝✝✆✍❻✝✡➜❿★✁✾➛t➝✱❽➀➁ ➛ ❿★✁✜✟✝➛❨❽➀❿✝➁➙➛✫✁
n1, n2, n3

➛ ❿★✁
✟✝➛t➁✖✁ ❿✍➁➙➛✙✁❼❻❾➝➡↕➜❽✏�✝➁➙↕➜❿★✁ ✴➲❻➡➛●➁➙➛✫✚❾➁➙➛✫✁ ➛t➝✱❽➟➞✎✢ ❿

SRG
✻











tn1

tn2

tn3











=







n00 n01 n02

n10 n11 n12

n20 n21 n22

















tx
ty
tz











= [r]











tx
ty
tz











✝ ❀✝✻ ❀ ✷✠✟











tx
ty
tz











= [r]T











tn1

tn2

tn3











✝ ❀✝✻ ❀ ✻ ✟

❺✿❽➙➁➀➞✑✟ ☎✙✁ ➠➡➛✙✁ ❽➟➞✶✢⑩➞➳❽➀➁➙↕✑✔✹➠➡➛●➁➙❿✝❽➀➞✔✍✑✏✫❿✝✲➡❿★✁ ➠ ➞✝➠➡❿✔✁ ➁ ➛ ✄ ➛❨➁➙➛t➝✱❽➙➛✫✁ ✛ ✡✄✂✎✢ ↕➜➝ ➞♦➛ ✝✯✚➡➁ ➛✫✁✂✁➙❿★✁ ✚❥❿✍➁
➛☛✝❾➛✙✢ ✚✱✡ ❿✝✲✱➝➲❻✝✢ ✁ ↕✵✁ ❽➙➛✫✢ ➞❃➠➡➛✘☞t❿✴❿✍➁➙➠➡➛❨➝ ➞✝➠ ➞✎✁☎✡➜❿✯☞t➞✝↕✵✁ ☞t❿★✢ ❿✔✁➩➛t↕✍✝➇❿★✁✪✁ ↕➜❽➀❻➡➞✝➠➡❿★✁ ➠➡➛ ➞✔☞❨❿✍➁➙➠➡❿
☞❨❿★✢✐➞❼➠➡↕✠✁✖✚❥❿★✁➙↕✠✍✑✏✝❿❡➠ ➞✎✁ ✠ ✷❾➁➀➞✔✁✧☞t❿✍➝✱❽➀↕➜➠ ➞✔✁❖➝ ➞✘✢ ➛✙✁✖✢ ➞✱✲✎✚❥❿✴➠➡➛✫✢ ✁ ➛t➁❳➁ ➛✫✚➡➁ ➛✫✁ ➛t➝✱❽➟➞✝➠❾❿★✁①➝➲❻✝✢
✁ ↕✵✁ ❽➙➛✫✢ ➞✼➠➡➛ ☞t❿✴❿✍➁ ➠➡➛t➝ ➞✫➠ ➞✔✁✌✆★✡ ❿✔✷ ➞✔✡❖➛ ✟➇↕✠☞t➛ ✮ ✟✍➛❨➁✖✁➙➞✱✻ ✂❳➞✎✡❳❽➀➁➙➞✝➝✝✁ ✄ ❿✝➁✖✢ ➞✔✍✑✏✝❿ ☎❆➝❾➛✫☞t➛✙✁✖✁☞�✝➁➙↕ ➞
➠➡➛✽✟✴↕ ➠➡❿❏➞ ✟✫➞✝➁ ↕ ➞✔✍✫✏✝❿✡➝ ➞❏➠➡↕✠✁ ❽➙➁➙↕✵✷❾❻➡↕✵✍✫✏✝❿✭➠ ➞✔✁✖✠ ✷➡➁➙➞✔✁✰✟✝➛t➁➙↕✍✠ ☞➏➞✫➠ ➞✔✁❊➞✝❿ ✡➜❿✍➝✝✆✍❿✡➠ ➞✎✁✰✟✁�✝➁➙↕ ➞✔✁
☞t➞✔✢⑩➞✫➠ ➞✔✁✔➠➡❿ ✡ ➞✎✢ ↕➜➝ ➞✝➠➡❿✝✻

✣❛➤ ✑ ➤ ☞ ➤ � ✴♦→➧➄❖➃✴➫ ✘➇➆➍→ ✜✍➅ ➨s➅➡➌➍➅ ✜✍➅ ➫ ➅➡➐❖➅ ′′α′′ ➐❛➃✧➨➩➈ ✒t→ ✌✏✎➡➈ ✟❝➒❛➅ ➦ ✟❝➒❖➃➲➌ �✠✜✍➈ ➫
✚✍✕❖➌➳➅✥✒⑩➄❛➅ ➐❖→➧➌➍➃✧✌✏✎➡➈

e1
↔ ➛✫✁ ❽➙❻➡➠➡❿✲➠ ➞ ☞t↕ ➝❾➛✫✢ �✫❽➀↕✠☞➏➞✱✲❝➝❾➛✫✁ ❽➙➛ ☞➏➞✔✁ ❿❏➠➡➛ ✚✝✡ ➞✔☞➏➞✭➝➲❻✝✢ ➞ ✚ ❿★✁ ↕✵✍✫✏✝❿ ✴➲❻ ➞✔✡✵✴➲❻➡➛❨➁✾➠➡❿✡➛✫✁ ✮
✚ ➞✎✍t❿✝✲ ☎ ✁➙↕✠✢ ↕✠✡ ➞✝➁❡➞✝❿ ☞➏➞✔✁ ❿✡➞✝➝✱❽➀➛t➁ ↕ ❿✍➁✙✲ ✁ ➛t➝➡➠❾❿ ✚ ❿✍➁ ☎✫✢ ✴➲❻➡➛✕❿✭➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿⑩➠➡❿ ✚❥❿✍➝✱❽➀❿
P
➠❾➛✙✟✍➛ ✁➙➛❨➁❡➛ ✝✯✚➡➁➙➛✙✁✖✁ ❿✼➝➡❿★✁❡➠➡❿✍↕✠✁ ✁➙↕✠✁ ❽➀➛✙✢⑩➞✎✁✔➠➡➛✌☞t❿✴❿✍➁➙➠➡➛❨➝ ➞✝➠ ➞✎✁✫✻

↔ ✚ ❿✍➝✱❽➙❿ ✤ ✆✝➛t➝ ☎❨➁➙↕✵☞❨❿✡➠ ➞ ☞t➞✔✢ ➞✝➠ ➞
′′α′′

✚ ➞✔✁✂✁➀➞ ✚ ➞✝➁➀➞✡❻✝✢ ➞ ✚ ❿✔✁➙↕✵✍✫✏✝❿
P ′

➝➲❻✝✢ ✢■❿ ✟✴↕ ✮
✢■➛t➝✱❽➀❿ ➠➡➛♦❽➙➁➀➞✝➝✝✁✂✡ ➞✔✍✫✏✝❿■➛ ✝✯✚➡➁➙➛✙✁✖✁ ❿✲➛✙✢ ☞❨❿➇❿✝➁➙➠➡➛❨➝ ➞✝➠ ➞✔✁❼➠➡❿

SRE
✲➑➠➡➛❊❻✝✢ ✢ ❿✴➠➡❿ ✁➙➛✫✢■➛✽✮

✡✠✞ ➞✝➝✱❽➀➛ ➞✝❿ ➛✫✁ ❽➀❻➡➠ ➞✫➠➡❿✭✚ ➞✫➁➀➞❡❿✭☞➏➞✎✁➙❿ ➠➡➛✒✚✱✡ ➞✔☞t➞ ✚ ➞✫➁➀➞✔✡➜➛✫✡ ➞✔➞✫❿ ✚✝✡ ➞✝➝➡❿ ✞➡❿✍➁ ↕ ✔t❿✝➝➲❽➀➞✔✡✳✻ ↔ ✚❥❿✍➝✱❽➀❿
O
✲✍❿✍➁➙↕✠✆✍➛✫✢✧➠➡❿✜✁ ↕✵✁ ❽➙➛✫✢ ➞

SRN
❽➀➁➙➞✝➝✝✁✂✡ ➞✝➠ ➞ ✚➡➞✝➁➀➞✹❻✝✢ ➞✹➝➡❿ ✟✫➞ ✚ ❿✔✁➙↕✵✍✫✏✝❿

O′
✴➲❻➡➛ ✚❥❿➇➠❾➛ ✁➙➛t➁

➛☛✝✱✚❾➁➙➛✫✁✂✁➀➞❆❽➟➞✝➝✱❽➙❿■➝❾❿✶✁ ↕✵✁ ❽➀➛✫✢ ➞
SRN

✴➲❻ ➞✝➝✱❽➀❿ ➝➡❿ ✁ ↕✵✁ ❽➙➛✫✢ ➞
SRG

✻ ☞ ❿ ✁➙↕✠✁ ❽➀➛✙✢⑩➞
SRN

✲
➞✕❽➀➁➙➞✝➝✝✁✂✡ ➞✔✍✫✏✝❿ ☎❃➁➙➛✫✚❾➁➙➛✫✁ ➛t➝✱❽➟➞✫➠ ➞ ✚❥❿✍➁t➂

un = un(n1, n2)
vn = vn(n1, n2)
wn = wn(n1, n2)

✝ ❀✝✻ ❀ ✬✠✟

✁☞�❆➝➡❿ ✁➙↕✠✁ ❽➙➛✫✢ ➞ ✆✔✡ ❿★✷ ➞✎✡ ✁✣✏✫❿ ➛✙✁✖☞t➁ ↕➜❽➀➞✔✁✘☞t❿★✢■❿➡➂
u = u(xr, yr, zr)
v = v(xr, yr, zr)
w = w(xr, yr, zr)

✝ ❀✝✻ ❀ ✯✠✟

✫ ✻



� ❿✍➝✱✁➙↕ ➠❾➛t➁➀➞ ✮ ✁➙➛ ☞❨❿★✢ ❿ ☞❨❿✍➝✝✁ ❽➟➞✝➝✱❽➀➛ ➞✭➁➙❿✝❽➀➞✔✍✑✏✫❿❏➞✫❿ ✡ ❿✍➝✝✆✝❿✭➠ ➞✔✁✌☞➏➞✔✢ ➞✝➠ ➞✎✁❃➠➡❿ ☞t❿★✢✶✚ ❿✔✁ ❽➀❿
✡ ➞✔✢ ↕➜➝ ➞✝➠➡❿✱✲ ✚ ❿✴➠➡➛❨➝➡➠➡❿✙❻❾❽➀↕✠✡ ↕ ✔t➞✝➁✕➞ ✠ ✆✝❻➡➁➀➞ ❀✝✻ ✫ ✚➡➞✝➁➀➞✒❿✙➛t➝✱❽➀➛❨➝➡➠➡↕✵✢■➛t➝✱❽➙❿✝✻ ☞❼❿ ✁➙↕✠✁ ❽➀➛✙✢⑩➞
SRN

➞✔✁✔➁ ❿✝❽➟➞✔✍✆☎➇➛✙✁✘✁✣✏✝❿ ➁➙➛✙✚➡➁➙➛✙✁➙➛❨➝➲❽➀➞✝➠ ➞✔✁ ✚ ❿✝➁t➂
θ1 = θ1(n1, n2)
θ2 = θ2(n1, n2)
θ3 = θ3(n1, n2)

✝ ❀✝✻✲✱✔✿✠✟

✁☞�❆➝➡❿ ✁➙↕✠✁ ❽➙➛✫✢ ➞
SRG

➞■➁ ❿✝❽➟➞✔✍✫✏✝❿ ☎❃➠ ➞✝➠ ➞ ✚❥❿✍➁t➂
θx = θx(xr, yr, zr)
θy = θy(xr, yr, zr)
θz = θz(xr, yr, zr)

✝ ❀✝✻✲✱✳❞✂✟

✤s➞✝➁➀➞✼➞ ✄ ❿✍➁✖✢✕❻✱✡ ➞✔✍✫✏✝❿ ➠➡➞✔✁ ✆✍➁➙➞✝➝➡➠➡➛ ✔➏➞✔✁❼➠➡➛✕➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿ ✄ ❻➡➝➡➠➡➞✔✢ ➛❨➝✱❽➟➞✝↕✠✁❼➠➡➛ ✠ ➝➡➛ ✮ ✁➙➛❆❿
✟✝➛❨❽➀❿✝➁

{u}
➠➡➛✭➠➡↕✵✢■➛t➝✱✁✣✏✝❿ ✙ ✷ ✝❪❞ ✚✥☞t❻ ✁➙➞✔✁ ☞❨❿★✢✶✚ ❿✍➝❾➛t➝✱❽➀➛✙✁ ✁✣✏✝❿✪➞✔✁✕❽➙➁ ✏✙✁✕❽➀➁➀➞✫➝✝✁✖✡ ➞✔✍✟☎✴➛✫✁✕➠❾❿

✚❥❿✍➝✱❽➀❿
O
➛✭➞✔✁❊❽➀➁ ✏✙✁ ☞t❿✔✢ ✚❥❿✍➝➡➛❨➝✱❽➀➛✫✁♦➠➡➛⑩➁ ❿✝❽➟➞✔✍✫✏✝❿✢➁ ➛✫✚➡➁ ➛✫✁➙➛❨➝✱❽➟➞✝➠ ➞✎✁❆➝➡❿ ✁➙↕✠✁ ❽➀➛✙✢⑩➞

SRN✴➲❻➡➛ ✁ ➛✔➁➙➛✫✡ ➞✔☞t↕➜❿✍➝ ➞✭☞❨❿★✢ ❿ ✟✝➛❨❽➙❿✍➁
{u}

✝➧➠➡➛ ✠ ➝➡↕➜➠➡❿❃➛✫✢ ❀✝✻ ✫ ✫ ✟✽✲★☞❨❻ ✁➙➞✔✁✓☞❨❿★✢ ✚❥❿✍➝➡➛❨➝✱❽➀➛✫✁➩➛✙✁ ❽✣✏✝❿
➝➡❿ ✁ ↕✵✁ ❽➙➛✫✢ ➞

SRG.
✡❡❽➀↕✵✡➜↕ ✔t➞ ✮ ✁ ➛✹➞ ✢⑩➞➳❽➀➁➙↕✑✔✹➠➡➛✾➁➙❿✫❽➟➞✔✍✫✏✝❿

[r]
➠ ➞✝➠ ➞❆➛✫✢ ❀✝✻ ❀✏✷❾➂

{un}
T = {un, vn, wn, θ1, θ2, θ3}

{u} = {u, v, w, θx, θy, θz}

✝ ❀✝✻✲✱★✾ ✟

� ➞✝➠➡➞✢❻✝✢❬➠➡➛✙✁ ❽➙➛✫✁ ✟✍➛❵❽➀❿✍➁ ➛✫✁ ☎ ☞t❿★✢✶✚❥❿★✁ ❽➙❿ ✚ ❿✝➁♦❽➀➁ ✏✫✁ ☞t❿✔✢ ✚❥❿✍➝➡➛❨➝➲❽➙➛✫✁❆➠➡➛✼❽➙➁➀➞✝➝✱✁✖✡ ➞✎✍✑✏✝❿✢➛
❽➙➁ ✏✫✁✘☞❨❿★✢ ✚❥❿✍➝➡➛❨➝✱❽➀➛✫✁❡➠➡➛✾➁ ❿✝❽➟➞✔✍✫✏✝❿✝✲➇❿★✷❾❽➀↕➜➠ ➞✔✁✔➝➡❿✔✁ ➁ ➛✫✁✂✚ ➛✙☞❨❽➀↕ ✟✍❿★✁ ✁➙↕✠✁ ❽➙➛✫✢ ➞✔✁✔➠➡➛❃➁➙➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞✱✻
✤❖❿➇➠➡➛ ✮ ✁ ➛■❽➀➞✔✢ ✷✆☎✫✢ ❿★✷➇❽➀➛t➁●❻✝✢ ➞✭➁➙➛✫✡ ➞✔✍✑✏✫❿❏➛❨➝➲❽➙➁➙➛■➛✫✁ ❽➀➛✫✁ ✟✍➛❵❽➀❿✍➁ ➛✫✁✹✚❥❿✍➁✌✢■➛t↕ ❿✡➠ ➞ ✢ ➞✫❽➀➁ ↕ ✔
➠➡➛✾➁ ❿✝❽➟➞✔✍✫✏✝❿

[r]
✁ ➛t➝➡➠➡❿■➠ ➞✝➠➡➞✶✚❥❿✍➁t➂

{un}6×1 =

[

[r]3×3 0
0 [r]3×3

]

{u}6×1

✝ ❀✝✻✲✱ ✫ ✟

{u}6×1 =

[

[r]T3×3 0
0 [r]T3×3

]

{un}6×1

✝ ❀✝✻✲✱✎❀ ✟

↔ ✢■❿ ✟➇↕✠✢ ➛❨➝✱❽➀❿⑩➠❾➛❊❽➀➁➙➞✝➝✝✁✂✡ ➞✔✍✫✏✝❿ ➠❾❿ ✚ ❿✝➝➲❽➙❿
P
➝➡❿ ✁ ↕✵✁ ❽➀➛✫✢ ➞

SRE
✚❥❿➇➠➡➛✰✁➙➛❨➁ ➛✫✁✂☞t➁ ↕➜❽➀❿✼➞

✚ ➞✫➁ ❽➀↕➜➁✿➠ ➞❆❽➀➁➙➞✝➝✝✁✖✡ ➞✔✍✑✏✫❿
OO′

➛●➠➡➞■➁ ❿✝❽➟➞✔✍✫✏✝❿ ➞✔✷✝✁ ❿★✡ ❻➇❽➟➞❆➠➡❿■➛✫✡ ➛✙✢ ➛❨➝✱❽➀❿ ✠ ➝➡↕ ❽➀❿
ue(e1, e2, e3) = un(n1, n2) + (f + e3)θ2
ve(e1, e2, e3) = vn(n1, n2) − (f + e3)θ1

we(e1, e2, e3) = wn(n1, n2)

✝ ❀✝✻✲✱✏✱ ✟

✫ ✬



✣❛➤ ✑ ➤ ☞ ➤ ✁ ✶✭➃➲➢ ➈➎➌➳➫ ➅★✌✏✦❝➃✧✒❃➄❝➒❖➫✗➨➩➈❥➄ ➆➉➈
P
➐❖➅ ✜✍➅ ➫ ➅➡➐❖➅ ′′α′′ �❋➐s→✓✒t➨➩➈ ✒❨➆➉➅✼➄❝➒s➫❯➅

➨➩➈ ✒➏→✓✌✏✎➡➈ ✟➑➒❖➅ ➦ ✟❝➒❛➃➲➌✼➐❛➈⑥➃✧✒t➨s➅✥✌✍➈
↔ ✚❥❿✍➝✱❽➀❿ ✤✟➠ ➞ ✡☎✂✔✢ ↕➜➝ ➞♦❽➀➛✙✢ ✁➙❻ ➞✔✁ ➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✟☎✴➛✫✁ ☞➏➞✎✡✵☞t❻✱✡ ➞✝➠ ➞✎✁ ➛✙✢ ✄ ❻➡➝✝✍✑✏✫❿⑩➠ ➞ ❽➀➁➀➞✫➝✝✁ ✮
✡ ➞✔✍✑✏✝❿ ➠➡❿ ✚❥❿✍➝✱❽➀❿

P
➛ ✝✯✚➡➁ ➛✫✁✖✁➙➞✭➝➡❿

SRE
✲ ➛✕➠ ➞⑩➁ ❿✝❽➟➞✔✍✫✏✝❿✭➞✔✷✱✁➙❿★✡➜❻❾❽➟➞■➠ ➞ ☞➏➞✔✢ ➞✝➠ ➞

a
➠➡➛

➁ ➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞✱✻s❺✭✁ ☞❨❿★✢✶✚ ❿✍➝❾➛t➝✱❽➀➛✙✁①➠➡➛✿➁ ❿✝❽➟➞✔✍✫✏✝❿✹➠➡➛✽✟✍➛✙✢ ✁➙➛❨➁①➛ ✝✯✚➡➁ ➛✫✁✖✁➙➞✔✁ ➝➡❿ ✁ ↕✵✁ ❽➙➛✫✢ ➞
SRN

✻
✤❖❿➇➠➡➛ ✮ ✁ ➛♦➛✫✁ ❽➀➛❨➝➡➠➡➛t➁❼➛✫✁ ❽➟➞ ✄ ❿✍➁✂✢✕❻✝✡ ➞✔✍✑✏✝❿ ✚ ➞✫➁➀➞■➞⑩➞✝➝ �✎✡ ↕✵✁ ➛✾➠➡➛✰☞t➞✔✁✖☞t➞✔✁✜✛ ✢ ➛❨➠➡↕ ➠➡➞■➛✙✢ ✴➲❻➡➛
✄ ❿✍➁ ☞❨❿✍➝✝✁➙↕➜➠➡➛t➁➙➞✝➠ ➞✹➞ ➁➙❿✝❽➀➞✔✍✑✏✫❿ ➞✔✷✱✁➙❿★✡➜❻❾❽➟➞

θ3
✝ ➞ ✴✴❻➡➞✔✡✯☞❨❿✍➁➙➁ ➛✫✁✂✚ ❿✍➝❾➠➡➛☞❻✝✢ ➞❼➠❾➛ ✄ ❿✍➁✂✢⑩➞✔✍✫✏✝❿ ✠ ☞✽✮

❽✖✸✵☞t↕ ➞
εθ3

✲✝☞➏➞✎✡✵☞t❻✱✡ ➞✝➠ ➞●➝➡❿ ✚✝✡ ➞✝➝➡❿✕➠➡➛❃➁ ➛ ✄ ➛❨➁ ✏t➝✱☞t↕ ➞✕➠❾➛❃➞✔✷✝✁✂☞t↕✵✁✂✁➀➞ ✄✳✮ ✄ ✄ ➛✙✢❴➁ ➛✫✡ ➞✎✍✑✏✝❿♦➞✝❿❆➛t↕ ✝❾❿
✡➜❿✯☞t➞✔✡

e3
✟✹➛✫✢ ❽➙❿✍➁➙➝❾❿❏➠➡❿✲➛t↕ ✝➇❿ ✚❥➛t➁✂✚ ➛❨➝➡➠➡↕✠☞t❻✝✡ ➞✝➁●➞✝❿ ✚✝✡ ➞✝➝❾❿✲➠❾❿❏➛✙✡ ➛✫✢■➛t➝✱❽➙❿✝✻ ❺✔➠✱✢ ↕ ❽➀➛✽✮ ✁➙➛

✴➲❻➡➛✕➛✙✁ ❽➀➞✼➠➡➛ ✄ ❿✍➁✂✢⑩➞✎✍✑✏✝❿ ✠ ☞❨❽✖✸✵☞t↕ ➞ ➞✎✁✖✁➙❿ ☞t↕ ➞⑩❻✝✢ ➞ ✢■➛t➠➡↕➜➠ ➞ ➠❾➛✕➠➡➛ ✄ ❿✝➁✖✢ ➞✔✍✑✏✝❿ ✛⑩➠➡↕ ✄ ➛t➁➙➛❨➝✝✍➏➞
➛❨➝➲❽➙➁➙➛

θ3
➛ ❿ ✢■❿ ✟✴↕✵✢■➛t➝✱❽➀❿❃➠➡➛ ☞t❿✝➁✖✚❥❿●➁✂✸✵✆✍↕➜➠➡❿✜☞t❿✝➁➙➁➙➛✙✁✖✚❥❿✍➝➡➠➡➛❨➝✱❽➀➛ ✛●➁ ❿✝❽➟➞✔✍✫✏✝❿✾↕ ➝✎✠➡➝➡↕➜❽➙➛✫✁➙↕✠✢⑩➞✎✡

➠➡❿ ✚✝✡ ➞✝➝➡❿ ➠➡➛✾➁➙➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞❆➛✫✢❴❽➙❿✍➁➙➝❾❿ ➠➡❿ ➛❨↕✍✝➇❿
z
✲➎➠ ➞✝➠ ➞ ✚❥❿✍➁t➂

(

∂vn(n1, n2)

∂n1

−
∂un(n1, n2)

∂n2

)

=

(

∂ve(e1, e2,−f)

∂e1
−
∂ue(e1, e2,−f)

∂e2

)

✝ ❀✝✻✲✱ ✷✠✟

❺ ✁ ➠❾➛ ✄ ❿✍➁✂✢⑩➞✔✍✆☎➇➛✙✁✔➝ ➞ ☞➏➞✔✢ ➞✝➠ ➞
′′α′′

✲ ➛✙✢♥❻✝✢ ✚❥❿✍➝✱❽➀❿
P

✁✖✏✝❿ ➠➡➞✝➠ ➞✔✁✘✚❥❿✍➁t➂

ε1 = ∂ue(e1,e2,e3)
∂e1

ε2 = ∂ve(e1,e2,e3)
∂e2

εθ3
= θ3(n1, n2) −

1
2

(

∂ve(e1,e2,−f)
∂e1

− ∂ue(e1,e2,−f)
∂e2

)

ε13 = 1
2

(

∂ue(e1,e2,e3)
∂e3

+ ∂we(e1,e2,e3)
∂e1

)

ε23 = 1
2

(

∂ve(e1,e2,e3)
∂e3

+ ∂we(e1,e2,e3)
∂e2

)

ε12 = 1
2

(

∂ue(e1,e2,e3)
∂e2

+ ∂ve(e1,e2,e3)
∂e1

)

✝ ❀✝✻✲✱✏✻ ✟

✣❛➤ ✑ ➤ ☞ ➤ ✪ ✽✉➃➇➄ ✒✔✦❝➃✧✒
❺ ✁❋➠➡↕ ➁ ➛✫✍✟☎✴➛✫✁❋➠❾➛➩❿✍➁ ❽➙❿✝❽➀➁ ❿★✚➡↕ ➞✒✁✣✏✝❿✔➠ ➞✫➠ ➞✔✁❋➝➡➛✙✁ ❽➀➛✪☞t➞✔✁➙❿✝✲➳➝ ➞✔✁❋➠❾↕ ➁➙➛✙✍✟☎✴➛✫✁❋➠➡❿✔✁❋➛t↕✍✝➇❿★✁

e1, e2, e3
✲

❿★✁✓✚➡➞✝➁ ✂✔✢■➛❨❽➙➁➙❿★✁➩➛✙✡ �✔✁ ❽➀↕✠☞t❿★✁ ✁✖✏✝❿●➁➙➛✫✡ ➞✔☞t↕➜❿✍➝ ➞✝➠❾❿★✁➩➞❃➛✫✁ ❽➀➛✫✁ ➛❨↕✍✝➇❿★✁✌✝➧➛✔➝ ✏✫❿ ✢ ➞✝↕✠✁✓✛
x, y

☞❨❿★✢■❿
➝➡❿ ☞➏➞✔✁ ❿✹➞✝➝✱❽➙➛t➁➙↕➜❿✍➁ ✟ ✻ ✕ ➛✫✁ ❽➙➛ ✢■❿➇➠➡❿✱✲➍❽ ✏✫✢ ✮ ✁ ➛✉❿★✁❃✚ ➞✝➁ ✂✔✢■➛❨❽➀➁ ❿★✁

E1, E2

✲
ν1, ν2

✲
G12, G23➞✝➠✱✢ ↕ ❽➀↕ ➝❾➠➡❿✡➞✝↕ ➝❾➠ ➞ ✴➲❻➡➛⑩➞ ✄ ❿✍➁✂✢✕❻✝✡ ➞✎✍✑✏✝❿ ✁➙➛✙✆✍❻➡➛ ❿❄➛✫✁ ❽➟➞✝➠❾❿ ✚✝✡ ➞✫➝➡❿❏➠❾➛ ❽➀➛❨➝✝✁☞☎✴➛✫✁✙✲ ☞t❿✔✢ ➞

✫ ✯



❽➙➛t➝✝✁✖✏✝❿ ➝❾❿✍➁✖✢ ➞✔✡➑➝➲❻✝✡ ➞❆➝ ➞■➠❾↕ ➁➙➛✙✍✑✏✝❿ ➠➡❿ ➛❨↕✍✝➇❿
3
✻

{σ} =







































σ1

σ2

σ3

τ13
τ23
τ12







































=











































E1(ε1+ν2ε2)
1−ν1ν2

E2(ε2+ν1ε1)
1−ν1ν2

0
G13ε13

G23ε23

G12ε12











































✝ ❀✝✻✲✱ ✬✠✟

✣❛➤ ✑ ➤ ☞ ➤ � ✷ ✒t➢ ➈➎➌✙✌✍➈ ✒ ✒t➈❥➦ →✓✜✱→➣➆➏➅ ➄ ➆➉➃✧✒ ➄❝➒s➫❷➨➩➈ ➄❥➆➉➈ ✸✣➐❛➅ ✜✍➅ ➫ ➅➡➐❖➅ ′′α′′ �➡➐❖→ ✒t➨➩➈ ✒❨➆➏➅
➄➑➒s➫ ➅✙➨➩➈ ✒➏→✓✌✏✎➡➈ ✟❝➒❛➅ ➦ ✟❝➒❛➃✴➌ � ✜✍➈❥➫ ✚ ✕❖➌➍➅★✒⑩➄❛➅ ➐❖→➣➌➳➃✧✌✏✎➡➈❯➐❛➈⑥➃✴→ ✂❋➈

e1

✕ ❿ ✢ ➛✙✁✖✢■❿✘✢ ❿✴➠➡❿ ✴✴❻❾➛✉➝ ➞ ✁➙➛✙✍✑✏✝❿ ➞✝➝✱❽➀➛t➁ ↕ ❿✍➁✙✲✫❿✔✁s➛✙✁ ✄ ❿✍➁✂✍t❿★✁❃✁✣✏✝❿ ☞➏➞✔✡✠☞t❻✝✡ ➞✝➠➡❿★✁ ✚❥❿✍➁❛❻➡➝➡↕➜➠ ➞✝➠➡➛
➠➡➛✜☞❨❿★✢✶✚➡➁➙↕✠✢ ➛❨➝➲❽➙❿✕➛✫✢❴➁➙➛✫✡ ➞✔✍✑✏✫❿❆➞✝❿★✁✔➛❨↕✍✝➇❿★✁✔➠➡➛❃➁ ➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞

SRE
✲✱✁➙➛t➝❾➠➡❿ ✁ ➛✫✢■➛✫✡✠✞ ➞✝➝✱❽➀➛✙✁

➞✔✁❡➛✙✴✴❻➡➞✔✍✟☎✴➛✫✁❡➠ ➞✝➠➡➞✔✁✘✚ ❿✍➁ ❀✱✻ ✾✏✱ ✲✝❀✝✻ ✾ ✷✱✲✝❀✝✻ ✾✏✻✯✻
� ✦✁� ✂✆☎ ✍✾✂✿✦ ✵✒✬✻✝ ✬★✝✄✂✶☎✳☞✪✥❂☞ ✕ ✂✆☎✻✟✒✥✫✯❅✵✔☞✔✵✒✬✁✵✒✬✖✗✚✂✆✝ ✕ ☎✞✯❁✝ ✬★✥✫✢ ✂■➂✓✁✖✏✝❿ ➞✔✁✿↕➜➝✱❽➀➛✫✆✝➁➀➞✔✍✆☎➇➛✙✁☞➠ ➞✔✁
❽➙➛t➝✝✁✌☎➇➛✙✁

σ1, σ2, τ12

N1 =
∫ h

2

−h
2

σ1de3 N2 =
∫ h

2

−h
2

σ2de3 N12 =
∫ h

2

−h
2

τ12de3
✝ ❀✝✻✲✱ ✯✠✟

� ✦✁� ✂✆☎ ✍✾✂✿✦ ✕ ✂✆☎✁✟✒✥✫✯❅✵✔☞✔✵✒✬ ✵✒✬✠✗✚✂✆✝ ✕ ☎✞✯❁✝ ✬★✥✫✢ ✂ ☞✆✦✚✦✿✂✿✗★✯❅☞✔✵✒✂ ☎✞✝ ✬✠✟ ✏ ☛

V1 =
∫ h

2

−h
2

kτ13de3 V2 =
∫ h

2

−h
2

kτ23de3
✝ ❀✝✻ ✷★✿✠✟

M1 =
∫ h

2

−h
2

(e3 + f)σ1de3 M2 =
∫ h

2

−h
2

(e3 + f)σ2de3 M12 =
∫ h

2

−h
2

(e3 + f)τ12de3
✝ ❀✝✻ ✷✛❞✂✟

✁ ➛t➝➡➠➡❿✢➞ ☞t❿✝➝✝✁ ❽➀➞✝➝✱❽➀➛⑩➠❾➛ ☞t↕✠✁➀➞✔✡✠✞ ➞✔✢■➛t➝✱❽➀❿
k = 5

6

✚➡➞✝➁➀➞✡❽➀❿✴➠ ➞✔✁❊➞✔✁✰☞t➞✔✢ ➞✝➠ ➞✔✁✙✲ ✁➙➛✙✆✍❻➡➝➡➠❾❿
✕ ➛✽✟ ✡ ❿✴❿■➛✰✗❏➛❨➝➡➛ ✔❨➛✫✁ ✙ ✯ ✚✼✻

✣❛➤ ✑ ➤ ☞ ➤ ☞ ✝ ✺✼➨s➦ →✓✜✍➅★✌✏✎➡➈❯➐❛➈⑥➨s➌➳→➧➄✍✜ ☎➣➨s→➧➈✙➐❛➈⑥✸♦✽ �

✤s➞✝➁➀➞❄❻✱✢ ☞❨❿✍➁✖✚❥❿❄➛✙✢ ➛✙✴➲❻➡↕✵✡✠✸✵✷➡➁ ↕ ❿✡❿❏❽➙➁➀➞✔✷ ➞✎✡✵✞➡❿ ✟➇↕➜➁ ❽➙❻ ➞✔✡ ➠ ➞✔✁ ✄ ❿✍➁✖✍t➞✔✁♦↕➜➝➲❽➙➛t➁ ➝ ➞✔✁ ☎ ↕✵✆✍❻➡➞✔✡
➞✝❿✕❽➙➁➀➞✔✷➡➞✔✡✵✞➡❿ ✟✴↕➜➁ ❽➀❻➡➞✔✡➑➠ ➞✎✁ ✄ ❿✝➁✖✍➏➞✎✁✔➛ ✝✴❽➀➛❨➁➙➝ ➞✔✁✘✚ ➞✫➁➀➞ ✴➲❻ ➞✔✡✵✴➲❻➡➛❨➁✔➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿❆↕✵✢✶✚ ❿★✁ ❽➀❿
✝➣➠➡➛✫✁ ➠➡➛✰✴➲❻➡➛✌✁➙➞✫❽➀↕✠✁ ✄ ➞✔✍t➞■➞ ✟✴↕ ➝✱☞t❻✝✡ ➞✔✍✑✏✝❿✠✟✽✲➡❿✍❻ ✁ ➛ ✁➙➞❾➂

❀ ✿



Wint = Wext

✝ ❀✝✻ ✷ ✾ ✟

↔ ❽➀➁➀➞✎✷ ➞✔✡✵✞❾❿❆↕ ➝✱❽➀➛❨➁➙➝➡❿ ✚❥❿➇➠➡➛✜✁ ➛t➁ ☞➏➞✔✡✠☞t❻✝✡ ➞✝➠➡❿ ➞✫❽➙➁➀➞✑✟ ☎✙✁❡➠➡❿★✁❡➛✫✁ ✄ ❿✍➁✖✍❨❿★✁✘✁➙❿★✡➜↕✵☞t↕ ❽➟➞✝➝✱❽➙➛✫✁✿➛✾➠ ➞✔✁
✟✫➞✝➁ ↕ ➞✔✍✆☎➇➛✙✁ ➠❾❿★✁✉➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿★✁ ➛✙✁✖✁➙➛❨➝✝☞t↕ ➞✝↕✵✁ ➛✫✢❈➁ ➛✫✡ ➞✎✍✑✏✝❿●➞✝❿ ✚✝✡ ➞✫➝➡❿❊➠❾➛❼➁ ➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞✱✻ ↔ ✁
➛✙✁ ✄ ❿✍➁✂✍t❿★✁ ✄ ❿✝➁➀➞✔✢ ☞t➞✔✡✵☞❨❻✝✡ ➞✝➠❾❿★✁ ☞❨❿★✢ ✷ ➞✔✁➙➛❄➝➡❿ ✁➙↕✠✁ ❽➙➛✫✢ ➞ ❁ � ✄④➠➡➛ ☞➏➞✎✢⑩➞✝➠➡➞

′′α′′
✁ ➛t➝➡➠❾❿

❽➙➁➀➞✝➝✝✁ ✄ ➛t➁ ↕ ➠➡❿★✁✥✚ ➞✝➁➀➞♦➞ ✁➙❻✝✚❥➛t➁ ✄ ✸✵☞t↕➜➛✹➠➡➛✹➁ ➛ ✄ ➛❨➁ ✏t➝✱☞t↕ ➞✯✲✝✚ ❿✝↕✵✁☞➠❾➛✫✁ ❽➙➛✜✢ ❿✴➠➡❿✝✲✴❿★✁✔➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✯✮
❽➙❿★✁ ☞t❿✍➁ ➁➙➛✫✁✂✚ ❿✝➝➡➠➡➛t➝✱❽➙➛✫✁⑩➠❾➛✙✟✍➛✙✢ ✁➙➛t➁ ❿★✁✶☞➏➞✎✡✵☞t❻✱✡ ➞✝➠➡❿✔✁✕➝➡➛✫✁ ❽➟➞ ✁➙❻✝✚❥➛t➁ ✄ ✸✵☞t↕➜➛✔✻ ✤s❿✝➁ ❽➟➞✫➝➲❽➙❿✝✲✿➞
✚ ➞✫➁✖☞t➛✙✡ ➞❆➁➙➛ ✄ ➛t➁ ➛t➝✱❽➀➛❊➞✝❿❆❽➀➁➙➞✔✷ ➞✔✡✠✞➡❿ ✟✴↕ ➁ ❽➙❻ ➞✔✡❝↕➜➝✱❽➀➛t➁ ➝➡❿✝✲✝✚❥❿✴➠➡➛✜✁➙➛❨➁❼➠ ➞✫➠➡❿ ✚ ❿✍➁❨➂

Wint =
∫

[

N1
∂δe(e1,e2,−f)

∂n1
+

N2
∂δve(e1,e2,−f)

∂n2
+N12

(

∂δue(e1,e2,−f)
∂n2

+ ∂δve(e1,e2,−f)
∂n1

)

+

+V1

(

∂δue(e1,e2,e3)
∂n3

+ ∂δwe(e1,e2,e3)
∂n1

)

+ V2

(

∂δve(e1,e2,e3)
∂n3

+ ∂δwe(e1,e2,e3)
∂n2

)

+

+M1
∂δθ2(n1,n2)

∂n1
−M2

∂δθ1(n1,n2)
∂n2

+M12

(

∂δθ2(n1,n2)
∂n2

− ∂δθ1(n1,n2)
∂n1

)

+

+Mθ3

(

δθ3 (n1, n2) −
1
2

(

∂δve(e1,e2,−f)
∂n1

− ∂δue(e1,e2,−f)
∂n2

))]

dn1dn2 ✝ ❀✝✻ ✷ ✫ ✟
↔ ✁■➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁⑩➛❏➞✔✁ ✟✫➞✝➁ ↕ ➞✔✍✆☎➇➛✙✁ ➠➡➛✙✁✖✁ ➛✫✁✼➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁ ➛✫✁ ❽✣✏✝❿ ➛☛✝✯✚➡➁➙➛✙✁✖✁➙❿✔✁✭➛✫✢

✄ ❻➡➝✱✍✑✏✝❿■➠ ➞ ➠➡↕ ➁ ➛✫✍✑✏✫❿ ➠➡❿✔✁ ➛❨↕✍✝➇❿★✁
n1, n2, e n3

➞✔✁✖✁ ↕✵✢ ☞❨❿★✢ ❿ ➞✔✁❡➠➡➛❨➁➙↕✠✟✫➞✝➠➡➞✔✁❡➠➡➛✾➠➡➛✫✁✂✡ ❿ ☞➏➞ ✮
✢■➛t➝✱❽➀❿✔✁☞➛ ✟✫➞✝➁ ↕ ➞✔✍✆☎➇➛✙✁✫✻✓✤❖❿➇➠❾➛✽✮ ✁ ➛ ✝➧➠❾❿✹✢■➛✫✁✖✢■❿✹✢■❿✴➠➡❿✹✴➲❻➡➛✹➝❾❿✕↕➜❽➙➛✫✢❈➞✝➝✱❽➀➛❨➁➙↕➜❿✍➁ ✟ ➞✔✆✍➁ ❻✝✚ ➞✝➁
➛✙✁ ❽➟➞✎✁ ✆✝➁➀➞✝➝➡➠❾➛ ✔➏➞✎✁❼➛✙✢✂✷ ✟✍➛❨❽➙❿✍➁➙➛✙✁t➂
•
✄ ➛❵❽➀❿✍➁✔➠❾❿★✁❡➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁

{un}

•
✄ ➛❵❽➀❿✍➁✔➠➡➞✔✁ ✟✝➞✫➁➙↕ ➞✎✍✟☎✴➛✫✁✔➠➡❿★✁❡➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁

{δun}

•
✄ ➛❵❽➀❿✍➁✔➠➡➞✔✁❡➠➡➛t➁ ↕✠✟✫➞✝➠ ➞✔✁ ✚➡➞✝➁✖☞❨↕ ➞✝↕✠✁✿➠➡❿★✁❡➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿★✁❡➛✫✢♥➁ ➛✫✡ ➞✔✍✑✏✝❿ ➞

n1

➂ ∂{un}
∂n1

•
✄ ➛❵❽➀❿✍➁✔➠➡➞✔✁❡➠➡➛t➁ ↕✠✟✫➞✝➠ ➞✔✁ ✚➡➞✝➁✖☞❨↕ ➞✝↕✠✁✿➠➡❿★✁❡➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿★✁❡➛✫✢♥➁ ➛✫✡ ➞✔✍✑✏✝❿ ➞

n2

➂ ∂{un}
∂n2

•
✄ ➛❵❽➀❿✍➁ ➠ ➞✔✁ ➠➡➛❨➁➙↕✠✟✫➞✝➠➡➞✔✁ ✚➡➞✝➁✖☞❨↕ ➞✝↕✠✁ ➠➡➞✔✁ ✟✫➞✝➁ ↕ ➞✔✍✆☎➇➛✙✁ ➠❾❿★✁ ➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁ ➛✫✢❇➁➙➛✙✡ ➞✔✍✫✏✝❿ ➞
n1

➂ ∂{δun}
∂n1

•
✄ ➛❵❽➀❿✍➁ ➠ ➞✔✁ ➠➡➛❨➁➙↕✠✟✫➞✝➠➡➞✔✁ ✚➡➞✝➁✖☞❨↕ ➞✝↕✠✁ ➠➡➞✔✁ ✟✫➞✝➁ ↕ ➞✔✍✆☎➇➛✙✁ ➠❾❿★✁ ➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁ ➛✫✢❇➁➙➛✙✡ ➞✔✍✫✏✝❿ ➞
n2

➂ ∂{δun}
∂n2☞❼➞❄↕✵✢✶✚✝✡ ➛✙✢ ➛❨➝✱❽➟➞✔✍✫✏✝❿ ☞❨❿★✢ ✚❾❻❾❽➟➞✔☞❨↕ ❿✍➝➡➞✔✡✳✲❖❿★✁✕➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁ ✄ ❿✝➁➀➞✔✢q➛✫✁✂☞t➁➙↕ ❽➀❿★✁♦➛✫✢ ☞t❿✎✮

❿✍➁ ➠➡➛t➝➡➞✝➠ ➞✔✁✶✆★✡ ❿✔✷ ➞✝↕✵✁✙✲✉➛❨➝✝✴➲❻ ➞✝➝✱❽➀❿ ✴✴❻❾➛✢➞✔✁■➠➡➛t➁ ↕✠✟✫➞✝➠ ➞✎✁ ➠➡➛✙✁ ❽➙➛✫✁⑩➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿★✁ ✄ ❿✍➁➙➞✔✢
➛✙✁✖☞t➁ ↕➜❽➀➞✔✁✔➝ ➞✔✁✔➠➡↕➜➁➙➛✙✍✟☎✴➛✫✁

a1 e a2

➞✔✁✖✁ ❿✯☞❨↕ ➞✝➠ ➞✎✁✔➞✝❿ ✡ ➞✝➠❾❿✕➠➡❿ ➛✫✡➜➛✫✢■➛t➝✱❽➀❿ ✴➲❻➡➛✌☞t❿✝➝➲❽ ☎✫✢♥❿ ➝✝✦
➠➡❿●➛✫✡➜➛✫✢■➛t➝✱❽➀❿✖✠ ➝➡↕ ❽➀❿✝✻ ✤❳➞✝➁➙➞✾❽➙➁➙❿ ☞➏➞✝➁ ❿★✁☎✁➙↕✠✁ ❽➀➛✙✢⑩➞✎✁✉➠➡➛ ➁➙➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞✔✁✙✲➇❻❾❽➙↕✵✡➜↕ ✔➏➞✎✢ ✮ ✁➙➛✿➞✎✁✒✢ ➞ ✮
❽➙➁➙↕ ✔❨➛✫✁✾➠➡➛ ➁➙❿✫❽➟➞✔✍✫✏✝❿

[R]
➠➡➛ ✠ ➝➡↕➜➠ ➞✔✁✾➛✫✢ ❀✝✻ ❀✏✷✱✲ ❀✝✻ ❀ ✻✯✻❆❺✭✚✝✡➜↕✵☞t➞✝➝➡➠➡❿✡➛✫✁ ❽➟➞ ✁➙↕✠✢ ✚✝✡➜↕✡✠ ☞t➞✔✍✑✏✫❿✝✲

❀ ❞



❽➙➛✫✢ ✮ ✁➙➛✾➞❆➛☛✝✱✚❾➁➙➛✫✁✂✁✣✏✝❿❾➂

Wint =
∫

A

[(

∂{δu}T

∂a1

)

K11
∂{u}
∂a1

+
(

∂{δu}T

∂a2

)

K22
∂{u}
∂a2

+
(

∂{δu}T

∂a1

)

K12
∂{u}
∂a2

+

+
(

∂{δu}T

∂a2

)

K21
∂{u}
∂a1

+ {δu}T B01
∂

∂a1
+ {δu}T B02

∂{u}
∂a2

+

+
(

∂{δu}T

∂a1

)T

B10 {u} +
(

∂{δu}T

∂a2

)T

K20 {u} + {δu}T B000 {u}

]

da1da2

✝ ❀✝✻ ✷✔❀ ✟
↔ ✢■➛✫✁✂✢ ❿ ✚➡➁ ❿✯☞❨➛✫✁✖✁ ❿ ➠➡➛✲↕✵✢✶✚✝✡➜➛✫✢■➛t➝✱❽➟➞✔✍✫✏✝❿ ☞t❿✔✢ ✚➡❻➇❽➟➞✔☞❨↕ ❿✍➝ ➞✎✡✿➠ ➞ ✄ ❿✝➁✖✢✕❻✝✡ ➞✔✍✑✏✫❿✒❻✝✁➀➞✝➠➡➞
✚ ➞✫➁➀➞ ✚✱✡ ➞✔☞t➞✔✁ ✚➡➞✝➁➀➞✔✡➜➛✫✡ ➞✔✁■➞✝❿ ✚✝✡ ➞✝➝➡❿ ✞➡❿✍➁ ↕ ✔t❿✝➝➲❽➀➞✔✡ ✄ ❿✍↕❡❻❾❽➀↕✠✡ ↕✑✔➏➞✝➠➡❿✱✲☞➞✔✚✱✡ ↕✵☞t➞✝➝➡➠➡❿✪❽➟➞✎✢ ✷ ☎✙✢
➝➡❿ ✟✝➛✭✢ ➞✫❽➀➁ ↕ ✔t➛✙✁➩➠➡➛✭☞❨❿✍➝✱❽➀➁ ↕✵✷➡❻➡↕✠✍✑✏✝❿

Kij(i = 1, 2 e j = 1, 2)
➛
B0j(j = 1, 2)

✲
Bj0(j =

1, 2)
➛
B000

✻✠✲ ☞➏➞✎✡✵☞t❻✱✡ ➞✝➠ ➞✎✁☞➞✹✚➡➞✝➁ ❽➙↕ ➁ ➠ ➞✔✁✿➝➡❿ ✟✝➛ ✢⑩➞➳❽➀➁➙↕✑✔t➛✙✁✉➠➡➛✭☞t❿✍➝✱❽➀➁ ↕✵✷➡❻❾↕✵✍✑✏✫❿♦❻❾❽➙↕✵✡ ↕✑✔➏➞✝➠➡➞✔✁
➝➡❿ ☞t➞✔✁➙❿ ➞✝➝✱❽➀➛❨➁➙↕ ❿✝➁✫✻➩❺✭✁✘✢ ➞✫❽➀➁ ↕ ✔❨➛✫✁ ✁✖✏✝❿➡➂
K11 = [r]T

(

Kxx
∂a1

∂n1

∂a1

∂n1
+Kyy

∂a1

∂n2

∂a1

∂n2
+Kxy

∂a1

∂n1

∂a1

∂n2
+Kyx

∂a1

∂n2

∂a1

∂n1

)

[r]

K22 = [r]T
(

Kxx
∂a2

∂n1

∂a2

∂n1
+Kyy

∂a2

∂n2

∂a2

∂n2
+Kxy

∂a2

∂n1

∂a2

∂n2
+Kyx

∂a2

∂n2

∂a2

∂n1

)

[r]

K12 = [r]T
(

Kxx
∂a1

∂n1

∂a2

∂n1
+Kyy

∂a1

∂n2

∂a2

∂n2
+Kxy

∂a1

∂n1

∂a2

∂n2
+Kyx

∂a1

∂n2

∂a2

∂n1

)

[r]

K21 = [r]T
(

Kxx
∂a2

∂n1

∂a1

∂n1
+Kyy

∂a2

∂n2

∂a1

∂n2
+Kxy

∂a2

∂n1

∂a1

∂n2
+Kyx

∂a2

∂n2

∂a1

∂n1

)

[r]

B01 = [r]T
(

B0x
∂a1

∂n1
+B0y

∂a1

∂n2

)

[r]

B10 = [r]T
(

Bx0
∂a1

∂n1
+By0

∂a1

∂n2

)

[r]

B02 = [r]T
(

B0x
∂a2

∂n1
+B0y

∂a2

∂n2

)

[r]

B20 = [r]T
(

Bx0
∂a2

∂n1
+By0

∂a2

∂n2

)

[r]

B000 = [r]T (B00)[r]

✝ ❀✝✻ ✷ ✱ ✟

✞ ✆✁� ✆✁� ✤✠✱✒✮✯✢✁� ☎✜✦✄✂✆☎✧✱ �

❺ ✴➲❻➡↕✼✲①➞✝➠✝✢■↕➜❽➙➛✽✮ ✁➙➛ ✴➲❻➡➛ ☞➏➞✫➠ ➞ ☞t➞✔✢⑩➞✫➠ ➞❏➠ ➞ ✚✝✡ ➞✎☞➏➞ ✢♦❻✝✡➜❽➙↕✵☞➏➞✎✢⑩➞✝➠➡➞⑩❽➀➛✫✢ ❻✝✢ ➞✡➁➙❿✝❽➀➞✔✍✑✏✝❿
↕➜➝➡➠➡➛✫✚❥➛t➝❾➠➡➛t➝✱❽➀➛✎✲ ✁➙➛❨➝➡➠➡❿ ✴➲❻➡➛ ➞✼➁➙❿✝❽➀➞✔✍✑✏✫❿✭➞✔✷✝✁ ❿★✡ ❻❾❽➀➞⑩➠➡➛ ☞t➞✝➠ ➞✼❻✝✢ ➞ ☎✕❻✝✁➙➞✝➠ ➞ ☞❨❿★✢ ❿⑩➁➙❿✎✮
❽➀➞✔✍✑✏✝❿♦➠➡➛✹➁➙➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞✱✲➇➛✹➞✔✁✿➠❾➛✫✢ ➞✝↕✵✁ ➁➙❿✝❽➀➞✔✍✟☎✴➛✫✁☞➠ ➞✔✁☞➠❾➛✫✢ ➞✝↕✵✁✒☞➏➞✔✢ ➞✝➠ ➞✔✁✒✁✣✏✝❿♦➁➙➛✫✡ ➞✫❽➀↕ ✟✫➞✔✁☞➞
➛✙✁ ❽➟➞ ➁➙❿✫❽➟➞✔✍✫✏✝❿ ☞t❿★✢■❿❆↕✵✡➜❻✝✁ ❽➙➁➀➞❆➞ ✠ ✆✍❻➡➁➙➞✶❀✱✻ ❀✝✻
� ❿★✢■❿■➛✫✢ ✕ ➛✙✟ ✡➜❿➇❿ ➛ ✗❏➛❨➝➡➛ ✔❨➛✫✁ ✙ ✯ ✚s➞✔✴➲❻➡↕❛❽➟➞✔✢ ✷✆☎✫✢ ☎❊❻✝✁➀➞✫➠➡❿⑩❿ ☞t❿✍➝✝☞❨➛t↕ ❽➀❿⑩➠❾➛✹☞t❿✴❿✍➁ ➠➡➛✽✮
➝ ➞✫➠ ➞✔✁ ✞➡↕➜➛t➁☞�✝➁✖✴➲❻➡↕✠☞➏➞✔✁❼➝ ➞⑩➠➡➛❵❽➀➛t➁✂✢ ↕➜➝ ➞✔✍✫✏✝❿⑩➠ ➞✎✁✭✟✫➞✝➁➙↕ � ✟✝➛t↕✠✁ ➠➡➛✕➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿★✁✙✻ � ❿✍➝✝✁ ↕ ✮
➠➡➛❨➁➀➞✝➝❾➠➡❿■➞ ✠ ✆✝❻➡➁➀➞ ➞✔☞❨↕✵✢ ➞✱✲✯☞❨❿★✢ ➞❆➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✑✏✫❿❆➠ ➞✶✚✱✡ ➞✔☞t➞✱✲➡➞ ☞➏➞✎✢⑩➞✝➠➡➞ ➠❾➛●➁ ➛ ✄ ➛❨➁ ✏t➝✱☞t↕ ➞
❽➙➛✫✢✜➞✔✁ ✫ ➁➙❿✫❽➟➞✔✍✆☎➇➛✙✁ ➞✎✷✝✁➙❿★✡➜❻❾❽➟➞✎✁❆➠ ➞✝➠ ➞✔✁ ✚❥❿✍➁

θrx = θrx(xr, yr)
➛✙✢❬❽➀❿✝➁➙➝➡❿✪➠➡❿✙➛t↕ ✝❾❿

xr

✲
θry = θry(xr, yr)

➛✫✢ ❽➙❿✍➁➙➝➡❿✡➠➡❿✲➛t↕ ✝➇❿
yr

✲
θrz = θrz(xr, yr)

➛✙✢ ❽➀❿✝➁➙➝➡❿✡➠➡❿✲➛t↕ ✝❾❿
zr

✲✪✴➲❻➡➛ ✁➙➛❨➁✂✟✝➛✫✢✜➠➡➛ ✄ ✷ ➞✔✁➙➛ ✄ ✚ ➞✫➁➀➞✢❿ ☞✞�✎✡✵☞t❻✱✡ ❿✒➠ ➞✔✁❆➠❾➛✫✢ ➞✝↕✵✁❊➁➙❿✝❽➀➞✔✍✟☎✴➛✫✁ ✞➡↕➜➛t➁☞�✝➁✖✴➲❻➡↕✠☞➏➞✔✁
❀ ✾



✬❳↕✠✆✍❻➡➁➙➞ ❀✝✻ ❀❾➂✪✤✪✡ ➞✔☞➏➞ ✢✕❻✱✡➜❽➀↕✠☞➏➞✔✢ ➞✝➠ ➞ ☞t❿★✢❴➁➙❿✝❽➀➞✔✍✟☎✴➛✫✁❡↕ ➝❾➠➡➛✫✚❥➛t➝➡➠❾➛t➝✱❽➀➛✙✁

❀ ✫



➠ ➞✎✁❊➠➡➛✙✢⑩➞✫↕✵✁ ☞➏➞✔✢ ➞✝➠ ➞✔✁✙✲✧✁ ↕✵✢ ✷❥❿★✡➜↕ ✔➏➞✫➠ ➞✔✁✜✚❥❿✍➁
θαx = θαx(xr, yr)

✲
θαy = θαy(xr, yr)

✲

θαz = θαz(xr, yr)
✲❝❿✍➝➡➠➡➛♦❿ ✸ ➝➡➠➡↕✠☞t➛

α
✁➙➛❆➁ ➛ ✄ ➛t➁ ➛ ✛ ✚❥❿★✁➙↕✠✍✑✏✝❿

α
➠ ➞ ☞➏➞✎✢⑩➞✝➠➡➞✱✻ ✕ ➛✙✟✴↕➜➠➡❿

✛■↕ ➝➡➠➡➛✙✚ ➛❨➝➡➠ ✏❨➝✝☞t↕ ➞⑩➠➡➛♦➁ ❿✝❽➟➞✎✍✑✏✝❿ ➠➡➛✹☞t➞✝➠ ➞ ☞t➞✔✢ ➞✝➠ ➞✱✲ ➞✔✁✭☞❨❿★✢✶✚ ❿✍➝❾➛t➝✱❽➀➛✙✁ ➠ ➞✶✚ ❿★✁ ↕✵✍✫✏✝❿⑩➠➡➛
❻✝✢ ✚ ❿✝➝➲❽➙❿ ✆✍➛t➝ ☎t➁➙↕✠☞t❿

P
✝ ✚❥➛t➁ ❽➙➛t➝✝☞❨➛t➝✱❽➀➛✶✛✭❻✝✢ ➞ ☞➏➞✎✢⑩➞✝➠➡➞ ✆✍➛t➝ ☎❨➁➙↕✠☞➏➞

′′α′′
✟ ✲ ✁✣✏✫❿✭➠➡➛❨❽➙➛t➁ ✮

✢■↕ ➝ ➞✫➠ ➞✔✁✔➞ ✚ ➞✝➁ ❽➀↕➜➁✔➠➡❿★✁❡↕➜❽➙➛t➝✝✁
❞✔✻❡❽➙➁➀➞✝➝✱✁✖✡ ➞✎✍✑✏✝❿✒➠➡❿ ✚❥❿✍➝✱❽➀❿

O
✝➣❿✍➁➙↕✠✆✍➛✫✢q➠➡❿ ✁➙↕✠✁ ❽➙➛✫✢ ➞✠✟✽✲✪✚ ➞✝➁➙➞✪➞ ✚❥❿★✁ ↕✵✍✑✏✫❿ ✠ ➝ ➞✔✡

O′
✲

➛☛✝✯✚➡➁➙➛✙✁✖✁➀➞✎✁ ❻✝✁➙➞✝➝➡➠➡❿■❿ ✁➙↕✵✁ ❽➀➛✙✢⑩➞❆➠➡➛✌☞t❿✴❿✍➁ ➠➡➛t➝ ➞✫➠ ➞✔✁ ✩✌✡➜❿★✷ ➞✔✡
✾ ✻ ☞❨❿★✢✶✚ ❿✍➝❾➛t➝✱❽➀➛✙✁ ➠❾➛●➁ ❿✝❽➟➞✎✍✑✏✝❿■➞✔✷✝✁ ❿★✡ ❻➇❽➟➞✕➠ ➞ ☞➏➞✔✢ ➞✝➠ ➞✕➠❾➛●➁ ➛ ✄ ➛❨➁ ✏t➝✱☞t↕ ➞

θrx

✲
θry

✲
θrz

✫ ✻ ➠➡➞✔✁✧☞❨❿★✢✶✚ ❿✍➝❾➛t➝✱❽➀➛✙✁❳➠➡➛✉➁➙❿✝❽➀➞✔✍✑✏✝❿❼➠ ➞ ☞t➞✔✢ ➞✝➠ ➞ ☞❨❿✍➝✝✁ ↕ ➠➡➛❨➁➀➞✝➠ ➞ ✝➧➝➡❿ ☞➏➞✔✁ ❿✝✲✍➞ ☞➏➞✔✢ ➞✝➠ ➞
′′α′′

✟
θαx

✲
θαy

✲
θαz

❀✱✻ ☞❨❿★✢✶✚ ❿✍➝❾➛t➝✱❽➀➛✙✁ ➠❾➛●➁ ❿✝❽➟➞✎✍✑✏✝❿ ✞➡↕➜➛t➁✏�✫➁✖✴➲❻➡↕✵☞t➞✔✁✔➠ ➞✔✁✘☞t➞✔✢⑩➞✫➠ ➞✔✁✔↕ ➝✱❽➙➛t➁✖✢■➛t➠❾↕ �✝➁ ↕ ➞✔✁
✚ ➞✫➁➀➞❆❻✝✢ ✢■➛✫✡✠✞➡❿✍➁✿➛❨➝➲❽➙➛t➝➡➠❾↕✵✢■➛t➝✱❽➀❿✝✲✝✟✝➛t➁✕✠ ✆✍❻❾➁➀➞ ❀✝✻ ❀✱✻

✣❛➤ ✑ ➤ ✑ ➤ ☞ ✴♦→➧➄❖➃✴➫ ✘➇➆➍→ ✜✍➅➋➨❖➅➡➌➍➅✏➨❳➦➣➅★✜✍➅ ′′α′′ ➨s➅❾➌➳➅➡➦➧➃✴➦➣➅✏➅❾➈✑➨❳➦➣➅ ➄❛➈✑➥❛➈➎➌✫→➣➓✱➈❥➄ ➆➉➅ ➦ ➃
✚✍✕❖➌➳➅✥✒⑩➄❛➅ ➐❖→➧➌➍➃✧✌✏✎➡➈ ➐❖➈❯➃➇→ ✂❋➈ ✂

✕ ➛✙✁ ❽➀➞ ✄ ❿✍➁✂✢⑩➞✯✲➲➞✌☞❨↕ ➝➡➛✙✢ �➳❽➀↕✵☞t➞✹➠➡❿ ✚ ❿✍➝✱❽➙❿
P
✲ ✡ ❿ ☞➏➞✎✡ ↕ ✔t➞✝➠➡❿✹➝➲❻✝✢ ➞✜☞➏➞✔✢ ➞✝➠ ➞

′′α′′
✲ ☎❡➠ ➞✝➠ ➞

✚❥❿✍➁t➂

u(x, y, z) = u(xr, yr) + (f + z)θry + hiθiy + hi+1θi+1y+
+...+ hα−1θα−1y + (hα

2
+ z)θαy

v(x, y, z) = v(xr, yr) − (f + z)θrx − hiθix − hi+1θi+1x−
−...− hα−1θα−1x − (ha

2
+ z)θαx

w(x, y, z) = w(xr, yr)

✝ ❀✝✻ ✷✏✷✠✟

✡ ✁➀➞✝➝➡➠❾❿■❿ ☞❨❿✍➝✝☞t➛❨↕➜❽➙❿ ✟✍➛❨❽➙❿✍➁➙↕ ➞✔✡✳✲✯✚ ❿✴➠➡➛✙✢ ❿★✁☞➛✫✁✖☞❨➁➙➛✽✟✍➛t➁ ❿★✁✔➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁✔↕➜➝➡➠➡➛✫✚❥➛t➝❾➠➡➛t➝✯✮
❽➙➛✫✁❡➠➡❿ ✚ ❿✝➝➲❽➙❿

P
➠ ➞ ✁➙➛✫✆✝❻➡↕ ➝✱❽➀➛ ✄ ❿✍➁✂✢⑩➞➇➂

{u}T = {u, v, w, θ0x, θ0y, θ0z , θ1x, θ1y, θ1z, ..., θn−1x, θn−1y, θn−1z}
✝ ❀✝✻ ✷ ✻ ✟

✚ ➞✫➁➀➞✼❻✝✢ ➞ ✚✝✡ ➞✔☞➏➞ ☞❨❿★✢
n
☞➏➞✔✢ ➞✝➠ ➞✔✁✙✻ ✤❳➞✝➁➙➞✲➞✎✁✖✁➙❿ ☞t↕ ➞✝➁ ➛✙✁ ❽➀➞ ✄ ❿✝➁✖✢✕❻✝✡ ➞✔✍✑✏✫❿✝✲ ☞❨❿★✢ ➞ ✄ ❿✝➁ ✮

✢✕❻✱✡ ➞✔✍✫✏✝❿✹➞✝➝✱❽➙➛t➁➙↕➜❿✍➁ ✝➣❿✍➝➡➠➡➛✉❽➀❿✴➠ ➞✔✁➩➞✔✁ ☞➏➞✔✢ ➞✝➠ ➞✔✁❖❽ ✏✙✢ ➞ ✢■➛✫✁✂✢⑩➞ ➁ ❿✝❽➟➞✎✍✑✏✝❿ ✟ ✲ ☎✿➝❾➛✫☞t➛✙✁✖✁☞�✝➁➙↕➜❿
➞✔✁✂✁➙❿ ☞t↕ ➞✝➁❡❿ ➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿⑩➠❾❿ ✚❥❿✍➝✱❽➀❿ ✆✍➛t➝ ☎❨➁➙↕✠☞t❿

P
✛ ➁➙❿✫❽➟➞✔✍✫✏✝❿⑩➞✎✷✝✁➙❿★✡➜❻❾❽➟➞ ➠➡❿✶✢ ➛✙✁✖✢■❿✝✻

✕ ➛ ✠ ➝➡↕✠✢ ❿★✁✙✲✉➛❨➝✱❽ ✏✝❿✝✲ ❿ ✟✍➛❵❽➀❿✍➁
{u∗}

➠❾➛✲➠❾↕✵✢■➛t➝✝✁✖✏✝❿ ✙ ✷ ✝❡❞ ✚✳✲✒☞t❿★✢❬➞✔✁ ☞t❿★✢✶✚ ❿✝➝➡➛t➝✱❽➀➛✙✁ ➠➡➛
❀★❀



❽➙➁➀➞✝➝✝✁✂✡ ➞✔✍✫✏✝❿ ✢ ➛❨➠➡↕ ➠➡➞✔✁✾➝➡❿ ✁ ↕✵✁ ❽➀➛✫✢ ➞ ✆★✡ ❿★✷➡➞✔✡①➛ ➞✔✁ ✫ ☞❨❿★✢ ✚❥❿✍➝➡➛❨➝✱❽➀➛✫✁●➠➡➛■➁➙❿✝❽➀➞✔✍✑✏✫❿❄➞✔✷✱✁➙❿✎✮
✡➜❻❾❽➟➞✕➠ ➞ ☞➏➞✎✢⑩➞✝➠➡➞

′′α′′
➛ ✝✯✚➡➁➙➛✙✁✖✁➙➞✔✁❼❽➀➞✔✢ ✷✆☎✫✢♥➝➡❿ ✁ ↕✵✁ ❽➙➛✫✢ ➞ ✆★✡ ❿★✷➡➞✔✡ ➂

{u∗}T =
{

u∗, v∗, w∗, θ∗αx, θ
∗
αy, θ

∗
αz

} ✝ ❀✝✻ ✷✏✬✠✟
❿✍➝❾➠➡➛

θ∗αx = θrx + θαx

✲
θ∗αy = θry + θαy

✲
θ∗αz = θrz + θαz

✁✖✏✝❿✏➞✔✁✡➁➙❿✝❽➀➞✔✍✟☎✴➛✫✁
➞✔✷✱✁➙❿★✡➜❻❾❽➟➞✔✁❆➠➡➞ ☞t➞✔✢ ➞✝➠ ➞

′′α′′
✻ ✤❖❿➇➠➡➛ ✮ ✁ ➛✲➠❾➛❨❽➀➛❨➁✖✢■↕ ➝ ➞✫➁✕❻✝✢ ➞✢➁➙➛✫✡ ➞✔✍✑✏✫❿✙➛❨➝✱❽➀➁➙➛✡❿★✁❆➠❾❿✍↕✵✁

✟✝➛❨❽➀❿✝➁➙➛✫✁
{u∗}

➠❾➛❊❿✍➁ ➠➡➛✫✢ ✙ ✷ ✝❪❞ ✚✼✲ ➛✾❿✶✟✝➛❨❽➙❿✍➁
{u}

➠➡➛✾❿✍➁➙➠➡➛✙✢ ✝
Idfmax × 1

✟✿➞ ✚ ➞✝➁ ❽➀↕ ➁✔➠➡➞
✢ ➞✫❽➀➁ ↕ ✔✹➠❾➛●↕➜➝✝☞t↕➜➠ ✏t➝✱☞t↕ ➞ ☞❨↕ ➝➡➛✙✢ �➳❽➀↕✵☞t➞

[T ]
➂

{u∗} = [T ] {u}
✝ ❀✝✻✲✷ ✯✠✟

❿✍➝❾➠➡➛
Idfmax

☞t❿✍➁ ➁➙➛✙✁✖✚❥❿✍➝➡➠➡➛❊➞✝❿ ➝ ✁ ✢ ➛❨➁➙❿✶✢ � ✝❾↕✠✢ ❿♦➠➡➛✌☞➏➞✔✢ ➞✝➠ ➞✔✁✙✻
➞❆❿✍➁ ➠➡➛✫✢♥➠➡➞✶✢ ➞✫❽➀➁ ↕ ✔ ☞t↕ ➝❾➛✫✢ �✫❽➀↕✠☞➏➞ ☎✾➠➡➛ ✝

Idfmax × 6
✟✽✻

✣❛➤ ✑ ➤ ✑ ➤ ✑ ✴♦→➧➄❖➃✴➫ ✘➇➆➍→ ✜✍➅❯➨s➅❾➌➳➅ ✜✍➅➡➫ ➅ ➐❛➅ ′′α′′ ➄❝➒❖➫ ➅⑥➨➩➈ ✒➏→✓✌✏✎➡➈ ✟❝➒❛➅ ➦ ✟➑➒❖➃➲➌✡➃ ✚ �
✕❖➌➍➅★✒■➄❖➅❯➐s→➣➌➍➃✧✌✏✎➡➈⑥➐❛➃✒➒❖➫ ➃✴→ ✂❋➈

e1
✤s➞✝➁➀➞❆➞ ☞❨↕ ➝➡➛✙✢ �✫❽➙↕✵☞t➞❊➠ ➞ ☞t➞✔✢⑩➞✫➠ ➞

′′α′′
➝➲❻✝✢ ➞ ✚ ❿✔✁➙↕✵✍✫✏✝❿ ✴➲❻ ➞✔✡✠✴✴❻❾➛t➁✿➠➡❿❆➛✙✁✖✚ ➞✎✍t❿ ✚ ❿✴➠➡➛ ✮ ✁➙➛

❻✝✁➙➞✝➁❡➞ ✠ ✆✍❻❾➁➀➞ ❀✝✻ ❀✝✲✱✚❥❿✍↕✵✁☞❿✶☞❨❿★✢✶✚ ❿✍➁ ❽➟➞✔✢■➛t➝✱❽➙❿ ☎✜✁➙↕✠✢ ↕✠✡ ➞✝➁ ➞✝❿ ☞t➞✔✁➙❿■➞✝➝✱❽➀➛❨➁➙↕➜❿✍➁✫✻ ✂s➞✝➝✱❽➀❿ ➞✔✁
☞❨❿★✢ ✚❥❿✍➝➡➛❨➝✱❽➀➛✫✁❼➠ ➞ ➁ ❿✝❽➟➞✎✍✑✏✝❿⑩➞✔✷✝✁➙❿✔✡ ❻❾❽➀➞■➠ ➞ ☞➏➞✔✢ ➞✝➠ ➞ ➠➡➛♦➁ ➛ ✄ ➛❨➁ ✏t➝✱☞t↕ ➞ ✴✴❻➡➞✝➝✱❽➀❿ ✛✔✁ ➠ ➞■➁➙❿✎✮
❽➀➞✔✍✑✏✝❿✌✞➡↕➜➛t➁☞�✝➁✖✴➲❻➡↕✠☞➏➞✔✁ ➠ ➞✔✁ ➠➡➛✙✢⑩➞✝↕✠✁✓☞➏➞✔✢ ➞✝➠ ➞✎✁✓✚ ❿✴➠➡➛✫✢ ✁ ➛t➁ ➛ ✝✯✚➡➁ ➛✫✁✖✁➙➞✔✁☞➝❾❿✰✁ ↕✵✁ ❽➙➛✫✢ ➞ ❁ �✌☞
✝ ☞t❿★✢ ☞t❿✔✢ ✚❥❿✍➝➡➛❨➝➲❽➙➛✫✁

θα1(n1, n2)
✲
θα2(n1, n2)

✲
θα3(n1, n2)

✟❡➛●❽➟➞✔✢ ✷✆☎✫✢❇➝➡❿ ✁➙↕✠✁ ❽➀➛✙✢⑩➞
SRG

✝ ☞t❿★✢ ☞t❿★✢✶✚ ❿✝➝➡➛t➝✱❽➀➛✙✁
θαx(n1, n2)

✲
θαy(n1, n2)

✲
= θαz(n1, n2)

✟✽✻
❁ ✏✫❿■➠❾➛✆✠ ➝➡↕➜➠➡❿★✁❡➠➡❿✍↕✠✁ ✟✍➛❵❽➀❿✍➁ ➛✫✁●➂

❞✔✻
{un}

➠➡➛ ➠➡↕✵✢■➛t➝✱✁✣✏✝❿ ✝
Idfmax × 1

✟ ✲ ☞t❻✂✁➙➞✔✁ ☞t❿✔✢ ✚❥❿✍➝➡➛❨➝➲❽➙➛✫✁ ✁✖✏✝❿✒➞✔✁●❽➀➁➙➞✝➝✝✁✖✡ ➞✔✍✟☎✴➛✫✁
➠❾❿ ✚ ❿✝➝➲❽➙❿

O
➛✕➞✔✁ ✫ ➁ ❿✝❽➟➞✎✍✟☎✴➛✫✁✹➠➡➛✹☞➏➞✝➠ ➞ ☞t➞✔✢ ➞✝➠ ➞ ➁ ➛✫✚➡➁ ➛✫✁ ➛t➝✱❽➟➞✝➠➡➞✔✁✾➝➡❿ ✁➙↕✠✁ ❽➙➛✫✢ ➞

SRN

✾ ✻
{u}

➠➡➛⑩➠➡↕✠✢ ➛❨➝✝✁✣✏✫❿ ✝
Idfmax × 1

✟✽✲ ☞❨❿★✢q➞✔✁✹✢■➛✫✁✂✢⑩➞✎✁✹✆✍➁➙➞✝➝➡➠➡➛ ✔➏➞✔✁ ☞❨❿✍➝✱❽➀↕➜➠ ➞✔✁♦➝❾❿
✟✝➛❨❽➙❿✍➁ ➞✝➝✱❽➀➛t➁ ↕ ❿✍➁✙✲✝✚❥❿✍➁ ☎✙✢ ✲➡➛☛✝✯✚➡➁➙➛✙✁✖✁➀➞✎✁❼➝➡❿✶✁➙↕✠✁ ❽➙➛✫✢ ➞

SRG
✻

{u}T = {u, v, w, θ0x, θ0y, θ0z , θ1x, θ1y, θ1z, ..., θn−1x, θn−1y, θn−1z}

{un}
T = {u, v, w, θ0x, θ0y, θ0z, θ1x, θ1y, θ1z,

..., θn−1x, θn−1y, θn−1z}

✝ ❀✝✻✲✻✔✿✠✟

❀ ✱



✤s➞✝➁➀➞❃➁➙➛✙✡ ➞✔☞❨↕ ❿✍➝➡➞✝➁✖✢■❿★✁❖➛✫✁ ❽➀➞✔✁ ➠➡❻ ➞✔✁✪✢ ➞✫❽➀➁ ↕ ✔❨➛✫✁①❻✝✁➙➞✔✢■❿★✁➩➞✜✢⑩➞➳❽➀➁➙↕✑✔☞➠➡➛❡➁ ❿✝❽➟➞✔✍✫✏✝❿
[r]
➠➡➛❨❽➙➛t➁ ✮

✢■↕ ➝ ➞✫➠ ➞♦➛✫✢ ❀✝✻ ❀✏✷✱✲✱❀✝✻ ❀ ✻ ✚❥❿✍➁ ☎✙✢ ✲❾➞✔✆✍❿✍➁➙➞ ✁✣✏✝❿ ❻✝✁➙➞✝➠ ➞✔✁✘☞t❿✔✢ ❿ ✁ ❻✝✷✝✢ ➞✫❽➀➁ ↕ ✔t➛✙✁✫✲ ✄ ❿✝➁✖✢ ➞✝➝➡➠➡❿
✢ ➞✔☞t➁ ❿➇➛✙✡ ➛✙✢ ➛❨➝➲❽➙❿★✁☞➠➡➞ ➠❾↕ ➞✔✆✍❿✝➝ ➞✔✡ ✚➡➁➙↕➜➝✝☞t↕✠✚ ➞✔✡➑➠❾➛❃❻✝✢⑩➞ ✢ ➞✫❽➙➁➙↕ ✔

[R]
➠ ➞ ✁➙➛✙✆✍❻➡↕ ➝✱❽➙➛ ✄ ❿✍➁✖✢ ➞❾➂

[R] =





















[r]
[r]

...
...

[r]
[r]





















✝ ❀✝✻✲✻✳❞✂✟

❿✍➝❾➠➡➛✭➞✔✁ ✢ ➞✫❽➙➁➙↕ ✔❨➛✫✁❊➠➡➛✭➁➙❿✝❽➀➞✔✍✑✏✫❿ ✁➙↕✠✢ ✷ ❿✔✡ ↕ ✔t➞✝➠ ➞✔✁✌✚❥❿✍➁
[r]

✁✣✏✫❿✒➠ ➞✢❿✍➁➙➠❾➛✫✢ ✙ ✫ ✝ ✫ ✚✼✲➩➛✼❿★✁
➠➡➛✙✢⑩➞✫↕✵✁✹❽➀➛❨➁✖✢■❿★✁❃➠ ➞ ✢⑩➞➳❽➀➁➙↕✑✔

[R]
✁✣✏✝❿✲➝➲❻✝✡ ❿✔✁✫✻ ✡ ❽➙↕✵✡ ↕✑✔➏➞✝➝❾➠➡❿✭➛✫✁ ❽➟➞ ✢⑩➞✫❽➙➁➙↕✑✔✕➠ ➞✡➛✫✴➲❻ ➞✔✍✫✏✝❿

❀✝✻✲✻✳❞★✲ ✚❥❿➇➠➡➛✙✢ ❿✔✁☞➁➙➛✙✡ ➞✔☞❨↕ ❿✍➝➡➞✝➁✉❿✔✁✥✟✍➛❵❽➀❿✍➁ ➛✫✁✔➠➡➛✹➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿★✁ ✄ ❻➡➝➡➠ ➞✎✢ ➛❨➝➲❽➀➞✝↕✵✁✉➝➡❿★✁✿➠❾❿✍↕✵✁
✁ ↕✵✁ ❽➙➛✫✢ ➞✔✁

SRN
➛
SRG

✻

{un} = [R] {u}
✝ ❀✝✻ ✻✔✾ ✟

❺ ☞t↕➜➝➡➛✫✢ �✫❽➙↕✵☞➏➞➋➠ ➞ ✚✝✡ ➞✔☞➏➞ ✚ ➞✝➁➙➞✏❿ ☞➏➞✔✁ ❿✥➠➡➛✙➁➙❿✫❽➟➞✔✍✆☎➇➛✙✁✲↕➜➝➡➠➡➛✙✚ ➛❨➝➡➠➡➛t➝✱❽➙➛✫✁ ✚ ➞✫➁➀➞ ☞➏➞✝➠ ➞
☞t➞✔✢⑩➞✫➠ ➞❆➠➡➛✾❻✝✢⑩➞ ✚✝✡ ➞✔☞➏➞ ✚❥❿★✁ ↕✵☞t↕➜❿✍➝ ➞✝➠➡➞✕➛✫✢✺✴➲❻ ➞✔✡✠✴✴❻❾➛t➁✘✚ ❿✔✁➙↕✵✍✫✏✝❿❆➠➡❿■➛✫✁✂✚ ➞✔✍t❿ ☎●➞✝➝ �✔✡➜❿★✆✱➞
✛■➠ ➞ ➛✙✴✴❻➡➞✔✍✑✏✝❿ ❀✝✻ ✱ ✱✶✚❥❿✍➁ ☎✙✢ ✲➎➠ ➞✝➠➡➞ ➝➡❿ ✁➙↕✵✁ ❽➀➛✙✢⑩➞

SRE
✲➎➠➡➛✙✟✴↕➜➠➡❿✭➞✝❿★✁✘✟✍➛❵❽➀❿✍➁ ➛✫✁✹❻✱✁➀➞✝➠➡❿✔✁

✚ ➞✫➁➀➞⑥➠➡➛✙✁✖☞t➁ ➛✙✟✝➛t➁❏➞✰➠❾↕ ➁➙➛✙✍✑✏✝❿➋➠➡➞✔✁✗✠ ✷➡➁➙➞✔✁ ✁➙➛❨➁➙➛✫✢
e1, e2, e3

✆✌✁✖✏✝❿ ✡ ➛✙✟✫➞✝➠❾❿★✁✼➛✫✢ ☞t❿✍➝✱❽➀➞
➞✝↕➜➝➡➠ ➞✱✲ ✚ ➞✝➁➙➞✕➞✕➠➡➛✙✁✖☞t➁ ↕✵✍✫✏✝❿❆➠ ➞✹☞❨↕ ➝➡➛✙✢ �✫❽➙↕✵☞t➞✱✲➇➝❾➛✫✁ ❽➙➛✜☞➏➞✔✁ ❿✝✲➡➞●❽➀➁➀➞✫➝✝✁✖✡ ➞✔✍✑✏✝❿♦➠ ➞✕❿✍➁➙↕✠✆✍➛✫✢❈➠➡❿
✁ ↕✵✁ ❽➙➛✫✢ ➞✞✝➧➝➡❿ ✁➙↕✠✁ ❽➀➛✙✢⑩➞

SRN
✟✽✲❖➠ ➞✲➁ ❿✝❽➟➞✎✍✑✏✝❿✲➞✔✷✝✁ ❿★✡ ❻➇❽➟➞✭➠ ➞ ☞➏➞✔✢ ➞✝➠ ➞✭➠➡➛ ➁➙➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞✡➛

➠ ➞✎✁❼➁ ❿✝❽➟➞✔✍✆☎➇➛✙✁ ✞❾↕ ➛t➁☞�✝➁✖✴➲❻➡↕✠☞➏➞✔✁❡➠ ➞✎✁ ☞t➞✔✢⑩➞✫➠ ➞✔✁ ✝➧➠➡➛✙✁➙➠➡➛♦➞ ➠➡➛●➁➙➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞✱✲❥➞✫❽ ☎♦➞✶☞➏➞✔✢ ➞✝➠ ➞
′′α′′

☞❨❿✍➝✝✁➙↕➜➠➡➛t➁➙➞✝➠ ➞✠✟ ✻

ue(e1, e2, e3) = un(n1, n2) + (f + e3)θrn2
+ hiθin2

+ hi+1θi+1n2
+

+... + hα−1θα−1n2
+ (hα

2
+ e3)θαn2

ve(e1, e2, e3) = vn(n1, n2) − (f + e3)θrn1
− hiθin1

− hi+1θi+1n1
−

−...− hα−1θα−1n1
− (hα

2
+ e3)θαn1

we(e1, e2, e3) = wn(n1, n2)

✝ ❀✝✻✲✻ ✫ ✟

☞❼➞ ✁ ➛✫✆✍❻❾➝➡➠ ➞ ✄ ❿✍➁✖✢♦❻✝✡ ➞✔✍✫✏✝❿✝✲❋➞✫➠✝✢ ↕ ❽➀➛ ✮ ✁➙➛✰✴➲❻➡➛■➞✡➁ ❿✝❽➟➞✎✍✑✏✝❿✭➛✙✢ ☞➏➞✝➠➡➞ ☞t➞✔✢ ➞✝➠ ➞✱✲❝➠❾➛❆❻✝✢⑩➞
➠ ➞✫➠ ➞ ✁➙➛✙✍✑✏✝❿❏❽➀➁➀➞✫➝✝✁✂✟✝➛t➁✖✁➙➞✔✡✳✲❳➠➡↕ ✄ ➛❨➁➙➛⑩➠➡➞✔✁♦➠➡➛⑩❿✍❻❾❽➀➁➙➞✔✁✹☞t➞✔✢ ➞✝➠ ➞✔✁ ✝➧❿ ✴➲❻➡➛ ➠➡➛t➝❾❿★✢ ↕➜➝➡❿✍❻✯✮ ✁➙➛
➠➡➛✒➁ ❿✝❽➟➞✎✍✟☎✴➛✫✁✭↕ ➝❾➠➡➛✫✚❥➛t➝➡➠❾➛t➝✱❽➀➛✙✁ ✟✽✻ ↔ ✁✭➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿★✁ ✚ ➞✝➁➙➞➋❻✝✢⑩➞⑥➠➡➞✝➠ ➞ ✁➙➛✙✍✑✏✝❿ ✁✣✏✝❿
➛❨➝➲❽✣✏✝❿✝✲❾➞✔✁☞❽➀➁➙➞✝➝✝✁✂✡ ➞✔✍✆☎➇➛✙✁

u(x, y)
✲
v(x, y)

✲
w(x, y)

✲✴➞✔✁✿➁ ❿✝❽➟➞✔✍✆☎➇➛✙✁✿➞✔✷✱✁➙❿★✡➜❻❾❽➟➞✔✁
θxr(x, y)

✲

θyr(x, y)
✲
θzr(x, y)

✝➧➝ ➞ ✁➙❻✱✚ ➛❨➁ ✄ ✸✵☞❨↕ ➛ ➠➡➛■➁➙➛ ✄ ➛t➁ ✏❨➝✝☞t↕ ➞✠✟✽✲❖➁➙❿✫❽➟➞✔✍✆☎➇➛✙✁❊➁ ➛✫✡ ➞➳❽➀↕✠✟✫➞✔✁
θxα(x, y)

✲

θyα(x, y)
✲
θzα(x, y)

✝➧➠➡➛✙❻✝✢ ➞ ☞t➞✔✢ ➞✝➠ ➞ ✝ ✲✜✢■➛t➠❾↕ ➠ ➞✔✁✲➞ ✚ ➞✝➁ ❽➙↕ ➁✭➠ ➞✎✁❏➁ ❿✝❽➟➞✔✍✆☎➇➛✙✁❏➠❾➛
➁ ➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞✠✟ ✻

❀ ✷
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❺ ✁☞❽➀➛❨❿✍➁➙↕ ➞✔✁✥☞❨↕➜❽➟➞✫➠ ➞✔✁☞➝❾❿✕↕➜❽➙➛✫✢ ❀✝✻✢❞★✲➡➞✝➝✱❽➙➛t➁➙↕➜❿✍➁✖✢■➛t➝✱❽➙➛✔✲ ☞t❿★✢✶✚➡➁➙➛❨➛t➝➡➠❾➛✫✢♥➞✎✁ ✢⑩➞✫↕✵✁☎✁➙↕✵✢✶✚✝✡➜➛✫✁
❽➙➛t❿✍➁ ↕ ➞✔✁❡➠➡❿✶✆✍➁➙❻✱✚ ❿ ✄ ❁ ✹✓✲ ✚❥❿✴➠➡➛t➝➡➠❾❿ ➠➡➛✙✁✖☞❨➁➙➛✙✟✝➛t➁✾➞✝➠❾➛✫✴➲❻ ➞✝➠ ➞✎✢ ➛❨➝➲❽➙➛❊❿✶☞t❿✔✢ ✚❥❿✍➁ ❽➀➞✔✢■➛t➝✱❽➀❿
➠➡➛✰✢✕❻➡↕ ❽➀❿★✁ ✡ ➞✔✢■↕ ➝➡➞✝➠➡❿★✁✙✻✘✤s❿✍➁ ☎✫✢ ✲❝➞✔✁ ❽➀➛t❿✝➁➙↕ ➞✎✁❼➠➡➛❊❿✍➁➙➠❾➛✫✢ ✁➙❻✝✚❥➛t➁ ↕ ❿✍➁ ✝➧❿✍➝❾➠➡➛♦❿★✁ ✚ ❿✔✡ ↕ ➝ �✎✮
✢■↕ ❿★✁ ✴➲❻➡➛●➠➡➛✙✁✖☞t➁ ➛✙✟✝➛✫✢ ❿ ☞t➞✔✢ ✚❥❿ ➠➡➛●➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁ ✁✖✏✝❿■➛ ✝✯✚ ➞✝➝➡➠❾↕ ➠➡❿★✁❼➞✫❽ ☎●❿✶✆✍➁➙➞✝❻ ✫
❿✍❻ ✁➙❻✝✚❥➛t➁ ↕ ❿✍➁✙✲➑➛✫✢ ➁➙➛✙✡ ➞✔✍✫✏✝❿ ✛ ☞t❿✴❿➇❿✍➁ ➠➡➛t➝➡➞✝➠ ➞ ✔ ✟ ✚ ❿✴➠➡➛✙✢ ➠❾➛✫✁✖☞❨➁➙➛✽✟✍➛t➁●➞ ☞❨↕ ➝➡➛✙✢ �➳❽➀↕✵☞t➞ ➠ ➞
✚✝✡ ➞✔☞➏➞ ➠➡➛✰✢ ❿✴➠➡❿✶✢⑩➞✝↕✠✁✘✁➀➞✫❽➙↕✵✁ ✄ ➞➳❽✣✦✍➁ ↕ ❿✝✲❂✛✶✢ ➛❨➠➡↕ ➠ ➞■➛✫✢ ✴➲❻➡➛♦❿ ❻✝✁➙❿⑩➠➡❿★✁ ✄ ➞➳❽➀❿✍➁ ➛✫✁ ➠➡➛✹☞❨❿✍➁ ✮
➁ ➛✫✍✑✏✫❿❄➠➡➛✶☞t↕✠✁➀➞✔✡✠✞ ➞✔✢■➛t➝✱❽➀❿ ✚❥❿➇➠➡➛✙✢ ✁➙➛❨➁♦➠➡➛✙✁✖✚➡➁ ➛ ✔t➞✝➠➡❿★✁❊➛⑩➞✔✁●➠➡↕✠✁ ❽➀➁ ↕✵✷➡❻❾↕✵✍✟☎✴➛✫✁❃➠❾➛■❽➙➛t➝✝✁✌☎➇➛✙✁
↕➜➝➲❽➙➛t➁✂✡ ➞✔✢■↕ ➝ ➞✫➁➙➛✫✁ ✚❥❿➇➠➡➛✙✢ ✁ ➛t➁❆➠➡➛❵❽➀➛t➁✂✢ ↕➜➝ ➞✝➠ ➞✎✁✕➠➡➛ ✢■❿➇➠➡❿ ✢⑩➞✝↕✠✁✕➞✔✚❾❻➡➁➀➞✝➠❾❿✝✻ � ❿✍➝✱❽➙❻➡➠➡❿✝✲
❽➀➞✝↕✵✁ ✄ ❿✝➁✖✢✕❻✝✡ ➞✔✍✟☎✴➛✫✁✭➛☛✝➇↕✵✆✍➛✙✢ ❻✝✢ ✢ ➞✝↕➜❿✍➁ ☞❨❻✝✁ ❽➙❿ ☞❨❿★✢ ✚❾❻❾❽➟➞✔☞❨↕ ❿✍➝➡➞✔✡ ➠➡➛✽✟✍➛❨➝➡➠➡❿ ✚❥❿✍➁✭↕✠✁ ❽➀❿
✁ ➛t➁➙➛✙✢ ❻✝✁➀➞✫➠ ➞✔✁✘✁➙❿★✢■➛t➝✱❽➙➛ ✴➲❻ ➞✫➝➡➠➡❿■➝➡➛✫☞❨➛✫✁✖✁☞�✝➁➙↕➜❿✝✻
❺ ✚ ➛✙✁➀➞✝➁✕➠➡➞ ✚ ❿★✁✂✁➙↕✠✷➡↕✵✡➜↕ ➠ ➞✝➠❾➛ ➠ ➞✢➛☛✝✯✚ ➞✝➝✝✁✖✏✝❿✪➠➡❿★✁❆➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿★✁✕➛✙✢ ✚❥❿★✡ ↕➜➝ �★✢■↕ ❿★✁❃➠➡➛
✚❥❿✝❽ ✏❨➝✝☞t↕ ➞✔✁ ✴➲❻ ➞✝↕✠✁✖✴➲❻➡➛❨➁✫✲❛➝ ✏✝❿ ☎ ➞✔☞❨❿✍➝✝✁ ➛✫✡✵✞ � ✟✝➛✫✡ ➞✝➠❾❿✝❽➟➞✝➁ ❻✝✢ ✆✍➁➙➞✝❻ ✁➙❻✝✚❥➛t➁ ↕ ❿✍➁ ✛⑩❽➀➁ ✏✙✁✾➠➡➛✽✮
✟✴↕ ➠❾❿✌✛✌☞❨❿★✢✶✚✝✡ ➛☛✝❾↕➜➠ ➞✝➠➡➛❡➞✎✡✵✆ ☎✙✷➡➁➙↕✠☞➏➞✱✲✫➛❼➞✫❿❃➛✫✁ ✄ ❿✝➁✖✍t❿ ☞t❿✔✢ ✚➡❻➇❽➟➞✔☞❨↕ ❿✍➝ ➞✎✡❾➠➡↕✠✁✖✚❥➛t➝➡➠➡↕➜➠➡❿❃➝ ➞✜✁➙❻➡➞
➁ ➛✫✁➙❿✔✡ ❻✝✍✫✏✝❿✝✻ ↔ ✚❥❿★✡ ↕➜➝ �★✢■↕ ❿❃➠➡➛ ✆✍➁➀➞✫❻ ❽➀➁ ✏✫✁☞➞✔✚➡➁➙➛✙✁➙➛❨➝➲❽➀➞❆➞ ✟✫➞✝➝✱❽➟➞✎✆✍➛✫✢ ✴➲❻➡➛✹➞❊➠➡➛ ✄ ❿✍➁✂✢⑩➞✎✍✑✏✝❿
➛❡❽➀➛❨➝✝✁✣✏✝❿✰☞t↕✠✁➀➞✔✡✠✞ ➞✝➝✱❽➀➛✙✁ ❽➙➁➀➞✝➝✱✁✂✟✍➛❨➁✖✁➙➞✝↕✵✁ ❽ ✏✫✢ ✟✫➞✝➁ ↕ ➞✔✍✫✏✝❿✌✴➲❻ ➞✝➠➡➁☞�✫❽➀↕✠☞➏➞ ✝ ✚❥❿✍↕✵✁ ➞●➠➡➛ ✄ ❿✍➁✂✢⑩➞✎✍✑✏✝❿
☎■❿★✷❾❽➙↕ ➠ ➞✲➞✫❽➀➁➙➞✑✟ ☎✫✁♦➠ ➞❏➠➡↕ ✄ ➛t➁ ➛t➝✝☞❨↕ ➞✔✍✫✏✝❿❏➠❾❿★✁❊➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿★✁ ✟✾➠❾↕✵✁✖✚❥➛t➝✱✁➀➞✝➝➡➠❾❿✒➞✔✁✖✁ ↕✵✢ ✲❳➞
➝➡➛✙☞t➛✙✁✖✁➙↕➜➠ ➞✝➠➡➛✡➠➡❿✪❻✝✁ ❿✪➠➡➛ ☞t❿✴➛✆✠ ☞❨↕ ➛❨➝➲❽➙➛✫✁ ➠➡➛ ☞❨❿✍➁➙➁ ➛✫✍✑✏✫❿✙➠❾➛ ☞❨↕✵✁➙➞✔✡✵✞ ➞✎✢ ➛❨➝➲❽➙❿✝✲①❻✝✁➙➞✝➠➡❿★✁ ➝ ➞
❽➙➛t❿✍➁ ↕ ➞✕➠➡➛✌✚➡➁ ↕✵✢■➛t↕ ➁➙➞♦➛✾➠➡➛✌✁➙➛✙✆✍❻➡➝➡➠ ➞■❿✍➁➙➠❾➛✫✢ ✻

✞ ✆ ☎ ✆☛✡ ✓ ✓✖✱✒✮✯☞✜✦✧✕✩★✠✓✩✛ ☎✜✦✧✘✚✦ ★✪✓✩✓ ✓ ✮✯✘ ✓✖☞✜✮ ✦♥✵ ✮✯★✠✓✣✢

❺✐❽➀➛❨❿✍➁➙↕ ➞■➠➡➛ ✚✝✡ ➞✔☞➏➞ ➠➡➛❊❽➙➛t➁✂☞t➛t↕➜➁➀➞ ❿✍➁➙➠❾➛✫✢ ☎✰✷➡➞✔✁➙➛t➞✝➠ ➞ ➝➡➞✔✁✭✢■➛✫✁✂✢⑩➞✔✁✘✞➡↕✠✚ ✦✫❽➀➛✫✁ ➛✫✁ ✴➲❻➡➛✕➞✔✁
❽➙➛t❿✍➁ ↕ ➞✔✁➩➠➡➛✘✚✝✡ ➞✔☞➏➞✎✁✓☞✫✡ �✎✁✖✁➙↕✠☞➏➞❃➛❡➠➡➛✘✚➡➁➙↕✠✢ ➛❨↕ ➁➙➞✹❿✍➁➙➠➡➛✙✢ ✝ �❡➛t↕✠✁✖✁ ➝➡➛t➁ ✮ ✗❏↕➜➝➡➠✝✡ ↕➜➝ ✟✽✲✝➛ ✝✯☞t➛❵❽➀❿✹✴➲❻➡➛
➞✹✞❾↕✵✚ ✦✝❽➀➛✙✁➙➛✹➁ ➛ ✄ ➛t➁ ➛t➝✱❽➀➛✌✛✰☞t❿✍➝✎✠✝✆✍❻➡➁➀➞✎✍✑✏✝❿❆➁ ➛❨❽➀↕✠✡✵✸➜➝➡➛➏➞✾➛ ✚❥➛t➁✖✚❥➛t➝❾➠➡↕✵☞❨❻✝✡ ➞✝➁✉➠➡➛✹❻✝✢ ➛✫✡➜➛✫✢■➛t➝✱❽➀❿
✡➜↕ ➝➡➛t➞✝➁☞➝➡❿✝➁✖✢ ➞✔✡ ❽➙➁➀➞✝➝✝✁ ✟✍➛❨➁✖✁➀➞✎✡❛➞✔✚ ✦✔✁❡➞✕➠➡➛ ✄ ❿✍➁✂✢⑩➞✎✍✑✏✝❿ ☎❃➁ ➛✫✡ ➞ ✝➡➞✫➠ ➞❆➞✫❽➀➁➙➞✑✟ ☎✫✁❡➠ ➞❆➛☛✝✱✚➡➞✝➝✝✁✣✏✫❿
➠➡❿✔✁❼➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁ ➝ ➞ ✄ ❿✝➁✖✢ ➞ ➠❾➛✹✚❥❿✝❽ ✏❨➝✝☞t↕ ➞✔✁✘☞ ✁ ✷➡↕✠☞➏➞✔✁ ✝➧➛✙✢ ➁➙➛✫✡ ➞✔✍✑✏✫❿ ✛✶☞t❿✴❿✍➁➙➠➡➛❨➝ ➞✝➠ ➞
✔ ✟✽✲ ❿✍❻ ✁➙➛ ✁➙➞

u(x, y, z) = u0(x, y) + z
(

ϕx − c0
∂w0

∂x

)

− z3c1ϕx

v(x, y, z) = v0(x, y) + z
(

ϕy − c0
∂w0

∂y

)

− z3c1ϕy

w(x, y, z) = w0(x, y)

✝ ❀✝✻✲✻✎❀ ✟

❿✍➝❾➠➡➛
c0, c1

✁✖✏✝❿✹✚➡➞✝➁ ✂✔✢■➛❨❽➙➁➙❿★✁ ↕➜➝➲❽➙➁➙❿✴➠➡❻ ✔❨↕ ➠➡❿★✁✓✴➲❻➡➛ ✚ ➛❨➁✖✢■↕➜❽➙➛✫✢ ✴➲❻➡➛ ❿✹☞t➞✔✢ ✚❥❿✾➠➡➛ ➠➡➛✫✁✂✡ ❿✎✮
☞t➞✔✢ ➛❨➝✱❽➀❿★✁✔➞✎☞t↕✵✢ ➞❊↕➜➝✝☞✫✡➜❻ ➞❊❿✔✁ ☞➏➞✔✁ ❿★✁✔➠ ➞✔✁✉❽➀➛t❿✝➁➙↕ ➞✎✁✥☞✫✡ �✔✁✖✁ ↕✵☞t➞♦➠➡➛ ✚✝✡ ➞✔☞➏➞✎✁ ✡ ➞✔✢■↕ ➝➡➞✝➠ ➞✔✁ ➛✹➠➡➛

❀ ✻



✚➡➁ ↕✵✢■➛t↕➜➁➀➞ ✮ ✁➙➛✫✆✝❻➡➝➡➠ ➞✾❿✍➁➙➠❾➛✫✢ ☞t❿★✢■❿ ☞➏➞✎✁➙❿★✁✿➛✙✁✖✚❥➛✫☞❨↕ ➞✝↕✠✁✫✻➩❺✭✁✂✁➙↕✠✢ ✲➇➞✔✁✖✁ ❻✝✢■↕ ➝➡➠➡❿ ✮ ✁➙➛
c0 = 1

➛
ϕx = ϕy = 0

✲❾❿★✷❾❽ ☎✙✢ ✮ ✁➙➛●➞✕❽➀➛❨❿✍➁➙↕ ➞ ☞✫✡ �✎✁✖✁➙↕✠☞➏➞❆➠➡➛✌✚✝✡ ➞✔☞➏➞✔✁✘✡ ➞✔✢ ↕➜➝ ➞✝➠ ➞✎✁✫✻ � ❿✝➝✝✁➙↕➜➠➡➛t➁➙➞✝➝➡➠➡❿✎✮
✁ ➛
c0 = c1 = 0

✲s❿★✷❾❽ ☎✙✢ ✮ ✁➙➛ ➞✲❽➙➛t❿✍➁ ↕ ➞✡➠➡➛ ✚✝✡ ➞✔☞➏➞✎✁❊➠➡➛ ✚➡➁➙↕✠✢ ➛❨↕ ➁➙➞✡➛ ✁➙➛✙✆✍❻➡➝➡➠ ➞❏❿✍➁➙➠➡➛❨➝✝✁✫✻
✍ ➝✱❽➀➁ ❿➇➠❾❻ ✔✽✮ ✁➙➛❃❽➟➞✔✢✹✷ ☎✙✢ ➞✔✁✔➁➙❿✫❽➟➞✔✍✆☎➇➛✙✁

θx = ϕx − c0
∂w0

∂x
θy = ϕy − c0

∂w0

∂y

✝ ❀✝✻✲✻✏✱ ✟
❿✍➝❾➠➡➛

(u0, v0, w0)
➛

(θx, θy)
❽ ✏✫✢ ❿★✁ ✢ ➛✙✁✖✢■❿★✁✰✁ ↕✵✆✍➝❾↕✡✠ ☞t➞✝➠➡❿★✁ ✄ ✸✵✁ ↕✵☞❨❿★✁✰✴➲❻➡➛ ➝ ➞✲❽➙➛t❿✍➁ ↕ ➞

➠➡➛✜✚❾➁➙↕✵✢■➛t↕➜➁➀➞♦❿✝➁➙➠➡➛✙✢ ✲✯☞t❿✍➁ ➁➙➛✫✁✂✚ ❿✝➝➡➠➡➛t➝❾➠➡❿✼➞✝❿✔✁✔➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁✿➛✾➁➙❿✝❽➀➞✔✍✟☎✴➛✫✁✔➠ ➞❆➝➡❿✝➁✖✢ ➞✔✡
❽➙➁➀➞✝➝✝✁ ✟✍➛❨➁✖✁➀➞✎✡❖➝❾❿✶✚✱✡ ➞✝➝➡❿

z = 0
➁➙➛✙✁✖✚❥➛✫☞❵❽➀↕✠✟✫➞✔✢■➛t➝✱❽➙➛✔✲ ❿✍❻ ✁➙➛ ✁➙➞

u0 = u(x, y, 0)
v0 = v(x, y, 0)
w0 = w(x, y, 0)
θx = ∂u

∂z
(x, y, 0)

θy = ∂v
∂z

(x, y, 0)
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u(x, y, z) = u0(x, y) + zθx(x, y) − c1z
3
(

θx + c0
∂w0

∂x

)

v(x, y, z) = v0(x, y) + zθy(x, y) − c1z
3
(

θy + c0
∂w0

∂y

)

w(x, y, z) = w0(x, y)

✝ ❀✝✻✲✻✏✻ ✟
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✢ ✁ ✡➜❽➀↕✠✚✝✡ ➞✎✁ ✚ ➞✝➁➀➞ ✚✝✡ ➞✔☞t➞✔✁❳➛✙✁✖✚❥➛✫✁✂✁➀➞✔✁➩❿✍❻✹✢ ➛❨➠➡↕ ➞✝➝➡➞✔✢ ➛❨➝✱❽➀➛ ➛✫✁✖✚❥➛✫✁✂✁➀➞✔✁✙✲ ✚ ❿✍↕✠✁✧✚❥➛t➁✂✢ ↕ ❽➀➛✙✢ ✴➲❻➡➛
❿★✁✉➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿★✁✉➝❾❿ ✚✝✡ ➞✫➝➡❿✰✟✫➞✝➁ ↕ ➛✫✢④➠❾➛ ✄ ❿✍➁✂✢⑩➞✌☞➏➞✔✢ ➞✝➠ ➞ ✚ ❿✝➁✒☞t➞✔✢⑩➞✫➠ ➞♦➞✝❿✰✡ ❿✍➝✱✆✍❿♦➠ ➞
➛✙✁✖✚❥➛✫✁✖✁ ❻➡➁➀➞■➠➡❿✶✡ ➞✔✢■↕ ➝ ➞✫➠➡❿✝✻
↔ ❻❾❽➙➁➀➞ ✟✫➞✝➝✱❽➟➞✔✆✍➛✙✢ ☎ ✴✴❻❾➛❯➛✙✁ ❽➟➞➋❽➀➛❨❿✍➁➙↕ ➞ ✚ ❿✴➠➡➛✪➁➙➛✙✚➡➁➙➛✙✁➙➛t➝✱❽➀➞✝➁❏❿ ☞t❿✔✢ ✚❥❿✍➁ ❽➀➞✔✢■➛t➝✱❽➀❿➋➠➡➛
✔❨↕✵✆✍❻➡➛ ✮ ✔t➞✔✆✍❻➡➛❏➠➡❿★✁✼➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁ ☞t❿★✚✝✡ ➞✝➝ ➞✝➁ ➛✫✁⑩➞✝❿ ✡ ❿✝➝✝✆✍❿ ➠➡➞ ➛✫✁✂✚ ➛✙✁✖✁➙❻❾➁➀➞✰➠➡❿ ✡ ➞✎✢ ↕ ✮
➝ ➞✫➠➡❿✝✻ ✂❳➞✔✡❃☞t❿✔✢ ✚❥❿✍➁ ❽➀➞✔✢■➛t➝✱❽➀❿ ☎✹✢ ➞✝↕✵✁✘✚➡➁ ❿✍➝➲❻➡➝✝☞t↕ ➞✝➠➡❿✼➛✙✢ ☞t➞✔✁➙❿✔✁ ➠➡➛ ✚✱✡ ➞✔☞t➞✔✁❼➛✙✁✖✚❥➛✫✁✂✁➀➞✔✁✙✲
❿✍➝❾➠➡➛✾❿ ✢✶✦➇➠❾❻✝✡ ❿ ➠➡➛✌☞t↕✠✁➀➞✔✡✠✞ ➞✔✢■➛t➝✱❽➀❿❆❽➙➁➀➞✝➝✝✁ ✟✍➛❨➁✖✁➀➞✎✡❃✟✫➞✝➁ ↕ ➞ ➞✔✷➡➁ ❻✝✚❾❽➟➞✎✢ ➛❨➝➲❽➙➛●➞✝❿ ✡➜❿✍➝✝✆✍❿ ➠ ➞
➛✙✁✖✚❥➛✫✁✖✁ ❻➡➁➀➞✭➠➡❿ ✡ ➞✔✢■↕ ➝ ➞✝➠❾❿✝✻ ↔ ✁ ➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁✭✷ ➞✔✁ ➛➏➞✝➠❾❿★✁✹➝ ➞✔✁❼❽➀➛t❿✝➁➙↕ ➞✎✁ ➠➡➛ ☞t➞✔✢ ➞✝➠ ➞✔✁
✢ ✁ ✡➜❽➀↕✠✚✝✡ ➞✎✁ ✚ ➞✝➁✖☞❨↕ ➞✔✡ ✝➧➝➡➞✔✁✭✴➲❻ ➞✝↕✠✁✹➞⑩➠❾➛ ✄ ❿✍➁✂✢⑩➞✔✍✫✏✝❿⑩❽➙➁➀➞✝➝✝✁ ✟✍➛❨➁✖✁➀➞✎✡❳➝➡❿✍➁✂✢⑩➞✎✡ ☎❊➠➡➛✫✁✂✚➡➁➙➛ ✔➏➞✝➠ ➞ ✟
✚➡➁ ❿➇➠❾❻ ✔t➛✙✢ ❻✝✢⑩➞➋➠➡➛✙✁✖☞❨➁➙↕✵✍✫✏✝❿✥➠➡➞ ☞❨↕ ➝➡➛✙✢ �✫❽➙↕✵☞t➞⑥➠➡❿★✁ ☞t❿★✢✶✚ ❿✔✁ ❽➀❿✔✁ ✡ ➞✔✢■↕ ➝ ➞✫➠➡❿★✁ ✢■➛✫✡✠✞➡❿✍➁
✴➲❻ ➞✝➝❾➠➡❿ ☞❨❿★✢ ✚➡➞✝➁➀➞✝➠➡➞ ☞❨❿★✢ ➞✔✁❃❽➀➛❨❿✍➁➙↕ ➞✔✁✾➠➡➛✶✢ ❿✍➝❾❿✯☞t➞✔✢⑩➞✫➠ ➞✼➛✫✴➲❻➡↕ ✟✝➞✎✡ ➛t➝✱❽➙➛✔✲❃✚ ➛✙✡ ➞✭↕ ➝✱❽➀➁ ❿✎✮
➠➡❻✱✍✑✏✝❿✲➠➡❿★✁✾➛ ✄ ➛❨↕➜❽➙❿★✁✾➠➡➛ ☞t↕✵✁➙➞✔✡✵✞➡➞✔✢ ➛❨➝✱❽➀❿✼❽➀➁➙➞✝➝✝✁ ✟✍➛t➁✂✁➀➞✔✡ ➛✫✢ ☞➏➞✔✢ ➞✝➠ ➞✭➠➡↕✠✁✖☞t➁ ➛❨❽➀➞❏➞✝❿✲➞✔✁✂✁➙❻✯✮
✢■↕ ➁✕❿ ☞➏➞✎✢ ✚❥❿✪➠➡➛✡➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁✫✻ ✤s❿✍➁ ☎✫✢✜➛✫✁ ❽➀➛✙✁ ✢■❿➇➠➡➛✙✡ ❿★✁♦➝ ✏✝❿ ✁✣✏✝❿ ☞➏➞✔✚➡➞ ✔t➛✙✁ ➠➡➛
➠➡➛❵❽➀➛❨➁✖✢■↕ ➝ ➞✝➁❡➠➡➛ ✄ ❿✍➁✖✢ ➞ ✁➀➞✫❽➙↕✵✁ ✄ ➞✫❽✣✦✍➁ ↕ ➞ ➞✔✁ ❽➀➛t➝✱✁☞☎✴➛✫✁ ↕➜➝✱❽➀➛t➁✂✡ ➞✔✢■↕ ➝➡➞✝➁➙➛✙✁ ✚➡➁✖✦✞✝➇↕✵✢ ➞✔✁ ✛ �✝➁ ➛➏➞✔✁
➠➡➛■➠➡➛✙✁✖☞t❿✝➝➲❽➙↕ ➝➲❻➡↕➜➠ ➞✝➠➡➛✙✁✰✚❥❿✍↕✵✁✾➝➡➛✙✁ ❽➙➛✫✁✹☞t➞✔✁➙❿✔✁✫✲❖➠➡➛✙✟✝➛✽✮ ✁ ➛⑩↕➜➝✝☞✫✡➜❻➡↕ ➁❃➞✡➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✑✏✫❿❏➝➡❿✝➁✖✢ ➞✔✡
❽➙➁➀➞✝➝✝✁ ✟✍➛❨➁✖✁➀➞✎✡✳✲ ✚ ❿✍↕✠✁ ➞✔✁ ❽➙➛t➝✝✁✌☎➇➛✙✁ ➝➡❿✝➁✖✢ ➞✝↕✵✁✿❽➙➁➀➞✝➝✝✁ ✟✍➛❨➁✖✁➀➞✫↕✵✁✭✁✖✏✝❿ ✢♦❻➡↕➜❽➙❿✶✁ ↕✵✆✍➝❾↕✡✠ ☞t➞✫❽➀↕ ✟✝➞✎✁ ✝ ✁➙➛
➝ ✏✫❿✕➠➡❿★✢■↕ ➝ ➞✫➝➲❽➙➛✫✁ ✟ ➝➡➛✙✁ ❽➀➞✔✁✔➁➙➛✙✆✍↕ ☎✴➛✫✁ ✆➇❿✍❻➇❽➀➁➙❿✹✢ ❿✝❽➙↕✠✟✝❿ ☎ ✴➲❻➡➛ ❿★✁ ✢■❿➇➠➡➛✙✡ ❿★✁✪✚❥❿✍➁✥☞t➞✔✢ ➞✝➠ ➞✔✁
✴➲❻➡➛✒➠➡➛✙✁✖✚➡➁ ➛ ✔t➞✔✢ ➞⑥➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✑✏✫❿⑥➝➡❿✍➁✂✢⑩➞✔✡❡❽➀➁➙➞✝➝✝✁ ✟✍➛t➁✂✁➀➞✔✡ ➝ ✏✝❿ ✁➀➞➳❽➀↕✵✁ ✄ ➞ ✔t➛✙✢ ➞✎✁ ☞t❿✍➝➡➠❾↕ ✮
✍✆☎➇➛✙✁☞➠➡➛ ☞❨❿✍➝✱❽➀❿✍➁ ➝➡❿✕➠➡➛ ❽➀➁➙➞✔✍✑✏✝❿✹✡ ↕✠✟✴➁ ➛ ✝ ❽➀➁➙➞✔☞❨❽➙↕ ❿✍➝✯✮ ✄ ➁➙➛❨➛✕✟✓✚ ➞✝➁➀➞●❽➀➛t➝✱✁☞☎✴➛✫✁✿➠➡➛ ☞t↕✠✁➀➞✔✡✠✞ ➞✔✢■➛t➝✱❽➀❿
❽➙➁➀➞✝➝✝✁ ✟✍➛❨➁✖✁➀➞✫↕✵✁❡➝ ➞ ✷ ❿✍➁ ➠ ➞❆➠➡❿ ✡ ➞✔✢■↕ ➝➡➞✝➠➡❿✝✻

❀ ✯



❺✔❿ ☞t❿✍➝✱❽➀➁☞�✝➁➙↕➜❿❼➠➡➞✔✁❖❽➙➛t❿✍➁ ↕ ➞✔✁❛➠➡➛✒☞➏➞✔✢ ➞✝➠ ➞✎✁❃✚➡➞✝➁✖☞❨↕ ➞✝↕✠✁✫✲✫➞✔✁❖❽➙➛t❿✍➁ ↕ ➞✔✁❛➠➡➛✒✡ ➞ ✒✍➛❨➁ ✄❡↕✠✁➙➛☎☞t❿★✢✶✚✝✡ ➛❵❽➟➞
❻✝✁➙➞✔✢✐➛ ✝✯✚ ➞✝➝✱✁☞☎✴➛✫✁ ✚❥❿✍➁❃☞➏➞✔✢ ➞✝➠ ➞✘✚ ➞✝➁➙➞ ❽➀❿✴➠➡❿★✁❖❿★✁❛❽➀➁ ✏✫✁ ☞❨❿★✢✶✚ ❿✍➝❾➛t➝✱❽➀➛✙✁❳➠➡➛✉➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿
➛■➠➡➛✫✁ ❽➟➞ ✄ ❿✝➁✖✢ ➞✲↕➜➝✝☞✫✡➜❻➡↕①❽➟➞✝➝✱❽➙❿✢❿❄❿★✁●➛ ✄ ➛❨↕➜❽➙❿★✁❊➠❾➛ ☞t↕✠✁➀➞✔✡✠✞ ➞✔✢■➛t➝✱❽➀❿✡❽➀➁➙➞✝➝✝✁ ✟✍➛t➁✂✁➀➞✔✡✉➠➡➛■❻✝✢⑩➞
☞t➞✔✢⑩➞✫➠ ➞ ✴➲❻ ➞✝➝✱❽➀❿■❿★✁❡➛ ✄ ➛❨↕➜❽➀❿✔✁✔➠➡➛❊➝❾❿✍➁✖✢ ➞✔✡ ❽➙➁➀➞✝➝✱✁✂✟✍➛❨➁✖✁➙➞✔✡✳✻
↔ ☞t➞✔✢✶✚ ❿■➠➡➛●➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁ ✚ ➞✫➁➀➞ ❻✝✢⑩➞ ☞➏➞✎✢⑩➞✝➠➡➞■➠➡➛ ✚❥❿★✁➙↕✠✍✑✏✝❿

α
✚ ❿✴➠➡➛✌✁➙➛❨➁ ➛✫✁✂☞t➁ ↕➜❽➀❿

☞❨❿★✢ ❿

uα(x, y, z) =
∑

uα
j (x, y)φα

j (z)
vα(x, y, z) =

∑

vα
j (x, y)φα

j (z)
wα(x, y, z) =

∑

wα
j (x, y)ψα

j (z)

✝ ❀✝✻✲✻ ✬✠✟

❿✍➝❾➠➡➛
uα, vα, wα

➁ ➛✫✚➡➁ ➛✫✁➙➛❨➝✱❽➟➞✔✢✗❿✔✁✹☞t❿✔✢ ✚❥❿✍➝➡➛❨➝➲❽➙➛✫✁✕➠❾➛✼➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿✢➝ ➞✔✁❊➠➡↕ ➁ ➛✫✍✟☎✴➛✫✁
x, y, z

➁ ➛✫✁✂✚ ➛✙☞❨❽➀↕ ✟✫➞✔✢ ➛❨➝✱❽➀➛t➠❾➛ ❻✱✢ ✚❥❿✍➝✱❽➀❿✘✢⑩➞➳❽➀➛t➁ ↕ ➞✔✡➍↕➜➝➡↕✵☞❨↕ ➞✔✡✠✢ ➛❨➝➲❽➙➛✧✡➜❿✯☞t➞✔✡ ↕✑✔➏➞✝➠❾❿☞➛✫✢
(x, y, z)➝➡❿ ✡ ➞✎✢ ↕➜➝ ➞✝➠➡❿✹↕➜➝➡➠➡➛ ✄ ❿✍➁✖✢ ➞✝➠➡❿✾➛

φα
j (z), ψα

j (z)
✁✣✏✝❿ ✄ ❻➡➝✝✍✆☎➇➛✙✁✒☞❨❿✍➝✱❽✣✸ ➝➲❻ ➞✎✁✒☞❨❿★✢④➁➙➛✙✡ ➞✔✍✫✏✝❿ ✛

☞❨❿➇❿✍➁ ➠➡➛t➝➡➞✝➠ ➞
z
✲ ✁ ➛t➝➡➠➡❿⑩➛✫✢✺✆✍➛❨➁➀➞✔✡❛➠➡↕✠✁ ❽➀↕➜➝✱❽➟➞✔✁❡➛t➝✱❽➙➁➙➛✹✁ ↕✳✻ ✂s➞✝↕✵✁ ✄ ❻➡➝✱✍✟☎✴➛✫✁✭✁✖✏✝❿⑩➛✙✁✖☞❨❿★✡✵✞➡↕➜➠ ➞✔✁

➠➡➛✒✢ ❿✴➠➡❿ ➞ ✁➙➛❨➁➙➛✙✢ ☞❨❿✍➝✱❽✣✸ ➝➲❻ ➞✎✁✫✲★✚❥❿➇➠❾➛t➝➡➠➡❿✭✁➙➛t➁ ✚ ❿✍➁❖➛ ✝➇➛✙✢ ✚✝✡➜❿ ✄ ❻➡➝✝✍✆☎➇➛✙✁❳➠➡➛✉↕ ➝✱❽➀➛❨➁✖✚❥❿★✡ ➞✎✍✑✏✝❿
➠➡➛✮✹❛➞✔✆✍➁➙➞✝➝✝✆✍➛❃❻❾➝➡↕ ➠➡↕✠✢ ➛❨➝✝✁➙↕➜❿✍➝ ➞✔✡❥➛✫✢❴➁➙➛✫✡ ➞✔✍✑✏✫❿ ✛ ☞❨❿➇❿✍➁ ➠➡➛t➝➡➞✝➠ ➞

z
✻

� ✞✞✝ ❫ ◗■P✭❚✔❭❵◗♦▲ ✂ ❲❵❚✿❱ ✄❃❱ �■◆✭❲t❪✉◗♦▲
❺ ✄ ❿✍➁✂✢✕❻✝✡ ➞✎✍✑✏✝❿ ✚➡➁ ❿★✚❥❿★✁ ❽➀➞ ✚❥❿✍➁ ❁ ✔➏➞✎✷ ❿❄➞✔✚➡➁➙➛✙✁➙➛❨➝➲❽➀➞❏❻✝✢ ➞ ✁➙➛✫✴➲❻ ✏❨➝✝☞t↕ ➞❏➠➡➛✶✢■❿➇➠➡➛✙✡ ❿★✁✜✞❾↕ ✮
➛❨➁✏�✝➁✂✴✴❻❾↕✵☞t❿✔✁ ✚ ➞✝➁➙➞ ✡ ➞✔✢■↕ ➝ ➞✫➠➡❿★✁ ☞t❿★✢✶✚ ❿✔✁ ❽➀❿✔✁✫✲➑❿✝➝➡➠➡➛ ➞ ✁➙❿✔✡ ❻✝✍✫✏✝❿✼➛ ✝❾➞✫❽➀➞ ☞t❿✍➁ ➁➙➛✫✁✂✚ ❿✝➝➡➠➡➛t➝✱❽➙➛
➞ ☞➏➞✫➠ ➞ ✢ ❿✴➠➡➛✫✡➜❿✢➛✫✢ ✚ ➞✝➁ ❽➙↕✵☞❨❻✝✡ ➞✝➁ ☎ ✟➇↕✠✁ ❽➀➞ ☞t❿★✢■❿✪❻✝✢⑩➞✒➞✎✚➡➁➙❿✞✝➇↕✵✢ ➞✔✍✑✏✫❿✒➞✝❿ ✚➡➁➙❿✔✷✝✡ ➛✙✢⑩➞
➠➡➛♦➛✫✡ ➞✎✁ ❽➀↕✠☞t↕➜➠ ➞✝➠➡➛●➠➡❿ ☞❨❿✍➁✖✚❥❿✝✲ ☞❨❿✍➝✝✁ ❽➀↕➜❽➙❻✝✸ ➠➡➞ ➠➡➛✕❻✱✢⑩➞✶✡✄✂✔✢■↕ ➝ ➞ ❿✍➁ ❽➀❿✝❽➙➁✖✦★✚➡↕✠☞➏➞✱✻ ↔ ✚ ❿✔✡ ↕ ➝ �✎✮
✢■↕ ❿✲➠➡➛✙✟✝➛ ✁➙➛❨➁ ➞✔✚➡➁➙❿✞✝➇↕✵✢ ➞✝➠➡❿ ✝ ➞✝❻✱✢ ➛❨➝➲❽➀➞✝➝➡➠➡❿ ✮ ✁➙➛ ❿ ✁➙➛❨❻ ✆✍➁➀➞✝❻ ✟❊➞✫❽ ☎ ✴➲❻➡➛✡➞✔✁❊➛✫✴➲❻ ➞✔✍✆☎➇➛✙✁
➠➡➛❃➛✙✴➲❻➡↕✵✡✠✸✵✷➡➁ ↕ ❿♦➠❾❿ ✚➡➁➙❿★✷✱✡ ➛✫✢ ➞♦➠➡➛❃➛✙✡ ➞✔✁ ❽➀↕✠☞t↕ ➠➡➞✝➠➡➛✭✁ ➛ ✁➙➞✔✢ ✁➀➞✫❽➙↕✵✁ ✄ ➛t↕➜❽➀➞✔✁✫✻➩❺ ✁✖✁ ❻✝✢ ➛ ✮ ✁ ➛✜✴✴❻❾➛●❿
☞t➞✔✢ ✚❥❿❆➠➡➛✾➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿★✁✘✚ ❿✔✁✖✁➀➞ ✁➙➛❨➁❡➛✫✁✖☞❨➁➙↕ ❽➀❿ ✁➙❿★✷❏➞ ✄ ❿✍➁✖✢ ➞

u = φ(β, y)eiβx

v = ψ(β, y)eiβx

✝ ❀✝✻✲✻ ✯✠✟

❿✍➝❾➠➡➛
φ(β, y)

➛
ψ(β, y)

✁✖✏✝❿ ✄ ❻➡➝✝✍✆☎➇➛✙✁ ☞❨❿★✢ ✚✱✡ ➛ ✝❾➞✔✁✔➠➡➞ ✄ ❿✝➁✖✢ ➞

φ(β, y) = φa(β, y) + iφb(β, y)
ψ(β, y) = ψa(β, y) + iψb(β, y)

✝ ❀✝✻ ✬★✿✠✟

❺ ✁ ❿★✡ ❻✝✍✫✏✝❿✡➛ ✝❾➞✫❽➀➞✲➠➡➛ ☞t➞✝➠ ➞ ✢ ❿✴➠➡➛✙✡ ❿ ✞➡↕➜➛t➁✏�✫➁✖✴➲❻➡↕✵☞❨❿ ☞t❿✍➝ ✟✝➛t➁✖✆✝➛ ✚ ➞✫➁➀➞✭❿ ✢ ➛✙✁✖✢■❿ ✡➜↕✵✢■↕➜❽➙➛
✴➲❻➡➛✪➞ ✁ ❿★✡ ❻✱✍✑✏✝❿⑥➛☛✝❾➞✫❽➟➞➋➠ ➞ ➛✙✡ ➞✔✁ ❽➀↕✠☞t↕ ➠➡➞✝➠➡➛ ☞❨❿✍➝ ✄ ❿✍➁✂✢ ➛❄➞⑥➛✫✁✂✚ ➛✙✁✖✁➙❻❾➁➀➞➋➠ ➞ ✚✝✡ ➞✔☞➏➞❯❽➙➛t➝➡➠➡➞

✱✔✿



✚ ➞✫➁➀➞ ✔t➛❨➁➙❿✝✻ ✍ ✁ ❽➀❿ ✚ ➛❨➁✖✢■↕➜❽➙➛✹✴➲❻➡➛■❿✭➛✫✁ ❽➀➞✝➠➡❿ ✚✝✡ ➞✫➝➡❿✭➠➡➛ ➠➡➛ ✄ ❿✝➁✖✢ ➞✔✍✑✏✝❿✭➛❆➠❾➛ ❽➙➛t➝✝✁✖✏✝❿ ✁➙➛ ✁➙➞
❻❾❽➙↕✵✡➜↕ ✔➏➞✫➠➡❿✝✲ ☞❨❻ ✁➙➞✔✁●➛ ✝✯✚➡➁➙➛✙✁✖✁✌☎➇➛✙✁✹✚❥❿➇➠➡➛✙✢ ✁➙➛❨➁❊❿★✷➇❽➀↕ ➠➡➞✔✁❃➠➡➛t➁ ↕✠✟✫➞✝➝➡➠❾❿✎✮ ✁ ➛ ➞✎✁✰☞❨❿★✢ ✚❥❿✍➝➡➛❨➝✱❽➀➛✫✁
➠➡❿✔✁ ➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿★✁

εx = ∂u
∂x

= iβφeiβx

εy = ∂v
∂y

= ψ′eiβx

γxy = ∂u
∂y

+ ∂v
∂x

= (φ′ + iβψ) eiβx

✝ ❀✝✻ ✬✛❞✂✟

✡❡❽➀↕✵✡➜↕ ✔t➞✝➝➡➠➡❿✎✮ ✁➙➛✜✢ ➞✫❽➀➛❨➁➙↕ ➞✔✡❋❿✍➁ ❽➙❿✝❽➀➁✂✦★✚➡↕✠☞t❿✝✲➎➞✔✁❼➁➙➛✙✡ ➞✔✍✆☎➇➛✙✁ ❽➙➛t➝✝✁✖✏✝❿✎✮ ➠❾➛ ✄ ❿✍➁✂✢⑩➞✔✍✫✏✝❿✶✁✣✏✝❿ ➠ ➞✝➠ ➞✔✁
✚❥❿✍➁

σx = C11εx + C12εy

σy = C12εx + C22εy

τxy = C66γxy

✝ ❀✝✻ ✬ ✾ ✟

❁ ❻✱✷✝✁ ❽➙↕➜❽➀❻❾↕ ➝➡➠➡❿■➞✔✁✔➛✙✴➲❻ ➞✔✍✟☎✴➛✫✁ ❀✝✻ ✬✛❞✌❀✝✻ ✬ ✾✕➝ ➞✔✁❡➛✫✴➲❻ ➞✔✍✆☎➇➛✙✁❼➠❾➛●➛✙✴➲❻➡↕✵✡✠✸✵✷➡➁ ↕ ❿✕➠➡❿ ☞❨❿✍➁✖✚❥❿ ❀✝✻✲✬ ✫
∂σx

∂x
+ ∂τxy

∂y
= 0

∂τxy

∂x
+ ∂σy

∂y
= 0

✝ ❀✝✻ ✬ ✫ ✟

✁✖✏✝❿ ❿★✷❾❽➀↕➜➠ ➞✔✁❡➞✔✁✘✁ ➛✫✆✍❻➡↕➜➝✱❽➀➛✫✁❡➛✙✴✴❻➡➞✔✍✟☎✴➛✫✁ ➠➡➛✾➛✫✴➲❻➡↕✠✡✵✸✵✷❾➁➙↕ ❿

eiβx {−β2C11φ+ iβC12ψ
′ + (C66φ

′)′ + iβ(C66ψ)′} = 0
eiβx {iβC66φ

′ − β2C66ψ + (C22ψ
′)′ + iβ(C12φ)′} = 0

✝ ❀✝✻ ✬✔❀ ✟

❺ ✚✝✡ ↕✠☞➏➞✝➝➡➠❾❿❆➛ ✝✯✚ ➞✝➝✝✁✖✏✝❿✶✁➙➛✫✆✝❻➡➝➡➠➡❿⑩➞✔✁✘✁ ☎t➁ ↕ ➛✙✁ ➠❾➛ ✂s➞ ✒ ✡ ❿✍➁✔➝ ➞✎✁ ➛✙✴➲❻ ➞✔✍✟☎✴➛✫✁ ❀✝✻ ✬✔❀✝✲➡❿✔✷❾❽➀➛✙✢

φ(β, y) = [φa0(y) + iφb0(y)] + β[φa1(y) + iφb1(y)] + β2[φa2(y) + iφb2(y)] + ...
ψ(β, y) = [ψa0(y) + iψb0(y)] + β[ψa1(y) + iψb1(y)] + β2[ψa2(y) + iψb2(y)] + ...✝ ❀✝✻ ✬ ✱ ✟
❁ ❻✱✷✝✁ ❽➙↕➜❽➀❻❾↕ ➝➡➠➡❿ ➞✔✁❖➛✫✴➲❻ ➞✔✍✆☎➇➛✙✁ ❀✝✻ ✬ ✱ ➛✙✢ ❀✱✻✲✬✔❀ ➛✥✁ ➛✫✚ ➞✫➁➀➞✝➝➡➠❾❿❃➞✔✁ ✚➡➞✝➁ ❽➙➛✫✁❳➁ ➛➏➞✔✡➲➛✉↕✵✢ ➞✔✆✍↕ ➝ �✝➁➙↕ ➞

(C66φ
′
a0)

′ + β[(C66φ
′
a1)

′ − (C66ψb0)
′ − C12ψ

′
b0] + β2[(C66φ

′
a2)

′ − (C66ψb1)
′

−C12ψ
′
b1 − C11φa0] + β3[(C66φ

′
a3)

′ − (C66ψb2)
′ − C12ψ

′
b2 − C11φa1] + ... = 0

(C66φ
′
b0)

′ + β[(C66φ
′
b1)

′ + (C66ψa0)
′ + C12ψ

′
a0] + β2[(C66φ

′
b2)

′ + (C66ψa1)
′

+C12ψ
′
a1 − C11φb0] + β3[(C66φ

′
b3)

′ + (C66ψa2)
′ + C12ψ

′
a2 − C11φb1] + ... = 0✝ ❀✝✻ ✬✏✷✠✟

✱✳❞



☞❨❿✍➁➙➁ ➛✫✁✖✚❥❿✍➝➡➠❾➛t➝✱❽➀➛✙✁✰✛✎✁ ✚ ➞✝➁ ❽➀➛✫✁ ➁➙➛➏➞✎✡❳➛❆↕✵✢ ➞✔✆✍↕➜➝ �✝➁ ↕ ➞✕➁➙➛✙✡ ➞✫❽➙↕✠✟✫➞✔✁ ✛ ✚➡➁➙↕✠✢ ➛❨↕ ➁➙➞■➛✙✴✴❻➡➞✔✍✑✏✝❿✡➠➡❿
☞❨❿✍➝ ✁ ❻➡➝✱❽➀❿➋➠❾➛✢➛✫✴➲❻ ➞✔✍✆☎➇➛✙✁ ❀✝✻ ✬✔❀✝✻ ✕ ➛ ✢■❿✴➠➡❿➋➞✝➝ �✎✡ ❿★✆✍❿ ✚❥❿➇➠➡➛ ✁➙➛t➁ ✚➡➁➙❿ ☞t➛❨➠➡↕ ➠➡❿ ✚➡➞✝➁➀➞⑥➞
✁ ➛✫✆✍❻➡➝❾➠ ➞■➛✙✴➲❻ ➞✔✍✑✏✫❿ ✲ ➛❨➝✝☞t❿✍➝✱❽➙➁➀➞✝➝➡➠❾❿

(C22ψ
′
a0)

′ + β[(C22ψ
′
a1)

′ − (C22φb0)
′ − C66φ

′
b0] + β2[(C22ψ

′
a2)

′ − (C22φb1)
′

−C66φ
′
b1 − C66ψa0] + β3[(C22ψ

′
a3)

′ − (C22φb2)
′ − C66φ

′
b2 − C66ψa1] + ... = 0

(C22ψ
′
b0)

′ + β[(C22ψ
′
b1)

′ + (C22φa0)
′ + C66φ

′
a0] + β2[(C22ψ

′
b2)

′ + (C12φa1)
′

+C66φ
′
a1 − C66ψb0] + β3[(C22ψ

′
b3)

′ + (C12φa2)
′ + C66φ

′
a2 − C66ψb1] + ... = 0✝ ❀✝✻ ✬ ✻ ✟

↔ ☞➏➞✔✢✶✚❥❿❄➠➡➛✭➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁ ✚❥❿✴➠➡➛✼➛t➝✱❽✣✏✝❿ ✁➙➛❨➁✕➁➙➛❨➛✫✁✖☞❨➁➙↕ ❽➀❿✒❻❾❽➙↕✵✡ ↕✑✔➏➞✝➝❾➠➡❿✎✮ ✁ ➛⑩➞✎✁✕➛✫✴➲❻ ➞ ✮
✍✆☎➇➛✙✁ ❀✝✻✲✬ ✷⑥➛ ❀✝✻✲✬✏✻⑥➞✫❽➀➁➙➞ ✟ ☎✫✁✭➠ ➞ ✟✫➞✝➁ ↕ ➞✔✍✫✏✝❿⑥➝➡❿➋❻✝✁ ❿✰➠➡➛✢❽➀➛❨➁✖✢■❿★✁✼➠➡➛✙✁✖☞t➁ ↕➜❽➙❿★✁✫✻ ✤❳➞✝➁➙➞✏➞
☞❨❿✍➝✝✁➙↕➜➠➡➛t➁➙➞✔✍✑✏✫❿❏➠➡❿ ✚➡➁ ↕✵✢■➛t↕ ➁ ❿✼❽➀➛❨➁✖✢■❿ ✁ ❿★✢ ➛❨➝✱❽➀➛ ✝ ✴➲❻➡➛■➝ ✏✝❿ ✢✕❻✝✡➜❽➙↕✵✚✝✡➜↕✵☞t➞✼➞ ✟✫➞✝➁ ↕ �✑✟✍➛✙✡

β
✟✽✲

☞❨❿✍➝✝✁➙↕➜➠➡➛t➁➙➞ ✮ ✁ ➛♦➛✙✁ ❽➟➞✶✟✝➞✫➁➙↕ �✑✟✝➛✫✡❃☞t❿★✢■❿ ✁ ➛t➝➡➠➡❿⑩↕✵✆✍❻ ➞✎✡s➞ ✔t➛❨➁➙❿✼➛❊➠➡➛❨❽➙➛t➁✖✢■↕ ➝➡➞ ✮ ✁ ➛❊❿★✁ ✟✫➞✔✡ ❿✍➁ ➛✫✁
➠ ➞✎✁ ✄ ❻➡➝✝✍✆☎➇➛✙✁

φ
➛
ψ
✻✪✤s➞✝➁➀➞✰✢⑩➞✝↕➜❿✍➁ ➞✔✚➡➁ ❿ ✝➇↕✠✢⑩➞✔✍✫✏✝❿●➝➡❿✕➁➙➛✙✁➙❻✝✡ ❽➟➞✝➠❾❿✝✲✯✚❥❿✴➠➡➛✫✢ ✁➙➛❨➁ ✡ ➛✽✟✫➞✝➠➡❿★✁

➛✙✢ ☞t❿✝➝✝✁➙↕➜➠➡➛t➁➙➞✔✍✑✏✝❿❃❿✔✁①❿✍❻❾❽➙➁➙❿★✁❳❽➙➛t➁✂✢ ❿★✁❳➛t➝✝☞❨❿✍➝✱❽➀➁➀➞✫➠➡❿★✁➩➝ ➞✔✁➩➛✙✴➲❻ ➞✔✍✟☎✴➛✫✁✪✴➲❻➡➛ ✁✖✏✝❿✜✢✕❻✝✡ ❽➀↕✵✚✱✡ ↕ ✮
☞t➞✝➠➡❿★✁✘✚❥➛✫✡ ➞ ✟✫➞✝➁ ↕ �✑✟✍➛✙✡

β
✻ ✕ ➛✙✁ ❽➀➞ ✄ ❿✍➁✂✢⑩➞✱✲➡➞✔✁❡➛✫✴➲❻ ➞✔✍✆☎➇➛✙✁ ☞❨↕➜❽➟➞✫➠ ➞✔✁✘✁✣✏✝❿■➛t➝✱❽✣✏✝❿ ➠❾➛t➁➙↕ ✟✫➞✝➠ ➞✔✁

✝ ❽➟➞✝➝✱❽➟➞✎✁✘✟✝➛ ✔❨➛✫✁✭✴➲❻ ➞✫➝➲❽➀➞✔✁ ✄ ❿✍➁➙➛✙✢♥❿✶✆✍➁➀➞✝❻✡➠ ➞ ✟✫➞✝➁➙↕ �✑✟✍➛✫✡
β
➛✫✢ ✴➲❻➡➛✙✁ ❽✣✏✝❿ ✟✿➛✾➛✫✢✺✁➙➛✙✆✍❻➡↕➜➠ ➞✱✲

☞❨❿✍➝✝✁➙↕➜➠➡➛t➁➙➞ ✮ ✁ ➛ ➝➲❻✝✡➜❿❄❿ ✟✝➞✎✡ ❿✍➁✾➠➡➛
β
✲s➛ ☞❨❿✍➝✝✁➙➛✙✴➲❻➡➛t➝✱❽➀➛✙✢ ➛❨➝✱❽➀➛✔✲ ➠➡➛■❽➀❿✴➠➡❿★✁●❿★✁✾❽➀➛t➁✂✢ ❿✔✁❊❿★✁

✴➲❻ ➞✝↕✠✁ ➛✙✡ ➛ ✢✕❻✝✡ ❽➀↕✵✚✱✡ ↕✵☞t➞✱✻ ✍ ✢ ✚❥❿✍➁ ❽➀➞✝➝✱❽➀➛✡➠➡↕✑✔t➛t➁✶✴➲❻➡➛✢➞✎✁ ✄ ❻➡➝✝✍✆☎➇➛✙✁
φa0(y)

➛
φb0(y)

✁✣✏✫❿
➞✝➝✱❽➙↕✵✁✖✁ ↕✵✢ ☎❨❽➙➁➙↕✵☞t➞✔✁✔➛

ψa0(y)
➛
ψb0(y)

✁✣✏✝❿ ✁➙↕✵✢ ☎❨❽➙➁➙↕✠☞➏➞✔✁✙✻ ↔ ☞t➞✔✢ ✚❥❿■➠➡➛❊➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿★✁
❽➙➛✫✢♥➛❨➝➲❽✣✏✝❿ ➞ ✄ ❿✝➁✖✢ ➞

u(x, y) = u1(x)F0(y) + u2(x)y + u3(x)F2(y) + ...
v(x, y) = v0(x) + v2(x)F1(y) + v3(x)F3(y) + ...

✝ ❀✝✻ ✬✏✬✠✟

✱★✾



� ✁✄✂✆☎✞✝ ✁✠✟☛✡ �

✁ ✆ ✝✠✁✠✍ ✡ ✆ ✝ ✡ ✂ ✡ ✆ ✝ ✡

✝ ✞✡✠ ❤ ❞❆▼❋❱s◗ P✡◆✡❧✿❢✾◗
↔ ✚❥❿✍➝✱❽➀❿❊➠➡➛✭✚ ➞✫➁ ❽➀↕➜➠ ➞❊➠➡➞●❽➀➛❨❿✍➁➙↕ ➞✰✚➡➁ ❿★✚❥❿★✁ ❽➀➞ ☎✹➞●➛ ✝➇↕✵✁ ❽ ✏❨➝✝☞t↕ ➞❊➠➡➛❼❻✝✢❈➛✫✁ ❽➀➞✝➠➡❿✕➠❾➛❼❽➀➛❨➝✝✁✣✏✫❿

✝ ✁ ➝➡↕✵☞❨❿ ✟ ☞t❿✍➁ ➁➙➛✫✁✂✚ ❿✝➝➡➠➡➛t➝✱❽➙➛ ➞ ➛✫✁ ✄ ❿✍➁✖✍❨❿★✁ ✁ ↕✵✢✶✚✝✡ ➛✙✁❼➠➡➛❊❻✝✢ ➞ ✚✝✡ ➞✔☞➏➞ ✝
Mx

✲
My

✲
Mxy

✲
Nx

✲

Ny

✲
Nxy

✲
Vx

➛
Vy

✟ ✻✶✤❳➞✝➁➙➞✲❿★✁✾➛✙✁ ✄ ❿✍➁✂✍t❿★✁ ✝
Mx

✲
My

✲
Mxy

✲
Nx

✲
Ny

✲
Nxy

✟✭✚➡➁➙❿ ☞t❻❾➁➀➞ ✮
✁ ➛❄❻✝✢ ➛✫✁ ❽➟➞✝➠❾❿ ➠➡➛✲❽➀➛t➝✱✁✣✏✝❿⑥↕➜➝➡➠➡➛✙✚ ➛❨➝➡➠➡➛t➝✱❽➙➛❄➠➡➛

x
➛
y
✻ ✤❳➞✫➁➀➞ ❿❯➛✫✁ ❽➀➞✝➠➡❿❯➠➡➛❏❽➙➛t➝✝✁✖✏✝❿

☞❨❿✍➁➙➁ ➛✫✁✖✚❥❿✍➝➡➠❾➛t➝✱❽➀➛✭➞✫❿★✁♦➛✙✁ ✄ ❿✍➁✂✍t❿★✁
Vx

➛
Vy

✚❾➁➙❿ ☞t❻➡➁➙➞ ✮ ✁ ➛ ❻✝✢ ➛✙✁ ❽➟➞✫➠➡❿✢➠➡➛■❽➀➛t➝✱✁✣✏✝❿ ✡➜↕ ➝➡➛t➞✝➁
➛✙✢

x
➛
y
➁➙➛✫✁✂✚ ➛✙☞❨❽➙↕✠✟✫➞✔✢■➛t➝✱❽➀➛✎✻

✤s➞✝➁➀➞❆➠➡➛❵❽➀➛t➁✂✢ ↕➜➝ ➞✝➠➡❿✔✁✔➛✫✁ ✄ ❿✝➁✖✍t❿✔✁ ✁ ↕✵✢✶✚✝✡ ➛✙✁ ☎✌✚ ❿★✁✂✁✖✸ ✟✍➛✫✡ ☞t➞✔✡✵☞❨❻✝✡ ➞✫➁✿➛✫✁ ❽➀➛✾➛✫✁ ❽➟➞✝➠➡❿■➠➡➛❃❽➀➛❨➝✝✁✣✏✫❿
➞✝➝➡➞✔✡ ↕ ❽➀↕✵☞t➞✔✢■➛t➝✱❽➀➛✎✻ ✤s➞✝➁➀➞✼❿✔✁✹➛✫✁ ✄ ❿✍➁✖✍❨❿★✁

Vx

➛
Vy

➝ ✏✫❿ ✁➙➛ ✁➙➞✔✷❥➛❆➞ ✚➡➁ ↕ ❿✍➁ ↕✧✁ ➛✕➛✫✁✂✁➙➛❆➛✫✁ ❽➟➞✝➠❾❿
➛☛✝❾↕✠✁ ❽➙➛✔✻
✄ ➞✔✡➜➛✭➁➙➛✙✁✖✁➀➞✎✡➜❽➟➞✫➁✶✴➲❻➡➛✎✲✥☞❨❿✍➝✱❽➀➁✏�✫➁➙↕ ❿ ✛✔✁ ❽➀➛❨❿✍➁➙↕ ➞✔✁❆➛✫✁ ❽➀❻➡➠➡➞✝➠ ➞✔✁ ➞✫❽ ☎✡➛❨➝➲❽✣✏✝❿✝✲✉➛✫✁ ❽➙➛❏➛✙✁ ❽➙❻➡➠➡❿ ☎
☞❨➛t➝✱❽➀➁➙➞✝➠➡❿✙➛✫✢ ➞✝➝ ➞✎✡ ↕✵✁➙➞✝➁❆➞✒➛t➝❾➛t➁✖✆✝↕ ➞✒➠➡➛✲➠➡➛ ✄ ❿✍➁✂✢⑩➞✎✍✑✏✝❿✒➠➡➛✲❻✝✢ ➞ ✚✝✡ ➞✔☞t➞ ✢✕❻✝✡➜❽➙↕✵☞t➞✔✢⑩➞✫➠ ➞
✷ ➞✎✁➙➛➏➞✫➠➡❿✰➛✫✢ ➛✫✁ ❽➀➞✝➠➡❿★✁✡➠➡➛✢❽➙➛t➝✝✁✖✏✝❿✝✻✧❺ ✢ ➞✝↕ ❿✍➁ ↕ ➞✪➠ ➞✔✁✼❽➙➛t❿✍➁ ↕ ➞✔✁ ✝ � ➛❨↕✵✁✂✁➙➝➡➛❨➁ ✗❏↕ ➝❾➠✝✡ ↕➜➝ ✲
✭❃↕ ➁✂☞ ✞➡❿ ✁ ✲ �❡➛t➠❾➠ ✒★✲ ❁ ✔➏➞✔✷❥❿✝✲ ✕ ➛✙✟ ✡ ❿✴❿✎✮ ✗❏➛t➝➡➛ ✔t➛✙✁ ✟ ❽➙❿★✢⑩➞✎✢✺☞t❿★✢■❿ ✚❥❿✍➝✱❽➀❿✼➠❾➛ ✚ ➞✝➁ ❽➀↕ ➠➡➞ ➞✔✁
✞➡↕✠✚ ✦✫❽➀➛✫✁ ➛✫✁ ☞❨↕ ➝➡➛✙✢ �➳❽➀↕✵☞t➞✔✁t➂❋❿❃➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿ ➞✝❿ ✡ ❿✝➝✝✆✍❿✹➠➡❿ ➛t↕✍✝➇❿✭✟✝➛t➁ ❽➀↕✵☞t➞✔✡ ☎☞➛t➝➡➁ ↕✵✴➲❻➡➛✫☞❨↕ ➠➡❿
✚ ➞✫➁➀➞❆❿★✷❾❽➙➛t➁❡❻✝✢ ➞❆➞✔✚➡➁➙❿✞✝➇↕✵✢ ➞✔✍✫✏✝❿❆➠➡➛✌✢ ➛✙✡✵✞➡❿✝➁ ✴➲❻ ➞✔✡ ↕➜➠ ➞✝➠➡➛❃➠➡➞ ➠❾➛ ✄ ❿✍➁✂✢⑩➞✔✍✫✏✝❿ ➠ ➞ ✚✝✡ ➞✎☞➏➞✱✻
✡ ✢⑩➞✕➠ ➞✎✁ ✚❾➁➙↕ ➝✱☞t↕✵✚➡➞✝↕✵✁✿➠❾↕✡✠ ☞❨❻✝✡ ➠ ➞✫➠➡➛✫✁✔➠ ➞✎✁❡❽➙➛t❿✍➁ ↕ ➞✔✁ ✷➡➞✔✁➙➛t➞✝➠ ➞✔✁✘✚➡❻➡➁➙➞✔✢■➛t➝✱❽➀➛✾➛✫✢ ✄ ❻➡➝✝✍✟☎✴➛✫✁
➠➡➛✡➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿ ☎✲➞✪➁ ➛✫☞❨❻✝✚ ➛❨➁➀➞✔✍✫✏✝❿✙➠➡❿❯➛✙✁ ❽➀➞✝➠➡❿✙➠➡➛✭❽➀➛t➝✱✁✣✏✝❿❯➞✔✚ ✦★✁ ☞✞�✔✡✠☞t❻✝✡➜❿✒➠ ➞✪➠➡➛✽✮
✄ ❿✍➁✂✢⑩➞✎✍✑✏✝❿✝✻ ❁ ➞✔✷❥➛✽✮ ✁ ➛✰✴➲❻➡➛●➞✔✁❡➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✆☎➇➛✙✁ ☞t➞✔✡✵☞❨❻✝✡ ➞✫➠ ➞✔✁ ✴➲❻ ➞✝➝➡➠❾❿■❽➙➁➀➞✝➝✝✁ ✄ ❿✍➁✖✢ ➞✝➠ ➞✎✁✔➛✫✢
➛✙✁ ❽➟➞✫➠➡❿★✁✾➠➡➛ ❽➀➛t➝✱✁✣✏✝❿ ✁✣✏✝❿✲↕ ➝✱☞t❿✍➝✝✁ ↕✵✁ ❽➀➛t➝✱❽➙➛✫✁✌☞t❿★✢ ❿ ✄ ➛❨➝ �★✢■➛t➝➡❿ ✄ ✸✵✁ ↕✵☞❨❿✝✻ ✤❳➞✝➁➙➞✲➁ ➛✫✢■➛t➠➡↕ ➞✝➁
➛✙✁ ❽➀➛ ✄ ➞✫❽➙❿✝✲ ➞✔☞❨❿★✚✝✡ ➞✔✢ ✮ ✁➙➛✹➛✙✁✖✁ ➛✫✁✭☞✟�✔✡✵☞❨❻✝✡ ❿✔✁ ☞t❿★✢ ❽ ☎✫☞❨➝➡↕✵☞t➞✔✁❡➠➡➛✌✚ ✦✔✁ ✚❾➁➙❿ ☞t➛✫✁✂✁➀➞✔✢■➛t➝✱❽➙❿✝✻
❺ ✁s❽➀➛❨❿✍➁➙↕ ➞✔✁ ✷➡➞✔✁➙➛t➞✝➠ ➞✔✁①➛✙✢✐➛✫✁ ❽➀➞✝➠➡❿❃➠➡➛✉❽➀➛t➝✱✁✣✏✝❿✹➠❾➛t➠➡❻ ✔❨➛✫✢ ❻✝✢ ➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿❼➠ ➞ ➠➡➛ ✄ ❿✍➁ ✮

✱ ✫



✢ ➞✔✍✑✏✫❿■❿✔✷❾❽➀↕➜➠➡❿ ➠ ➞ ❽➙➛t➝✝✁✖✏✝❿ ☞t➞✔✡✵☞❨❻✝✡ ➞✫➠ ➞✱✻✥✩✾➛❨➁➀➞✔✡✠✢ ➛❨➝➲❽➙➛❃❿★✁❡➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿★✁ ☞t➞✔✡✵☞❨❻✝✡ ➞✫➠➡❿★✁
✷ ➞✎✁➙➛➏➞✫➠➡❿★✁❆➝➡➛✙✁✖✁➙➛✙✁ ➛✙✁ ❽➀➞✝➠➡❿★✁ ➠➡➛✼❽➙➛t➝✝✁✖✏✝❿ ✁✣✏✝❿✪➠➡➛✙✁✖☞t❿✝➝➲❽✖✸ ➝➲❻➡❿★✁❨➂✡➞✔✁❆➞✔✚❾➁➙❿✞✝➇↕✵✢ ➞✔✍✟☎✴➛✫✁ ☞❨❿★✢
➛✙✡ ➛✫✢■➛t➝✱❽➙❿★✁ ✠ ➝❾↕➜❽➀❿✔✁⑩➝ ✏✝❿ ✆✱➞✝➁➙➞✝➝✱❽➀➛✫✢ ➞ ☞❨❿✍➝✱❽➀↕ ➝➲❻➡↕➜➠ ➞✝➠➡➛✲➠➡❿⑥➛✙✁ ❽➀➞✝➠➡❿➋➠➡➛❄❽➙➛t➝✝✁✖✏✝❿ ✝ ✚ ➞✝➁➀➞
✚✝✡ ➞✔☞➏➞✎✁ ✡ ➛❨↕ ➞ ✮ ✁➙➛

Mx,My,
➛❨❽✖☞✕✟✿➛✜✚❥❿✍➁✿↕✵✁✂✁➙❿ ❿★✁✔➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁✿↕➜➝✱❽➀➛✫✆✝➁➀➞✝➠➡❿✔✁✔➠ ➞✔✁✔➠➡➛ ✄ ❿✍➁ ✮

✢ ➞✔✍✟☎✴➛✫✁✪✁✖✏✝❿♦➠➡➛✙✁✖☞❨❿✍➝✱❽✣✸ ➝➲❻➡❿✔✁✫✻ ❺☎❽➙➛t❿✍➁ ↕ ➞✾➠➡➛ � ➛❨↕✵✁✖✁ ➝➡➛t➁ ✗❏↕ ➝❾➠✝✡ ↕➜➝ ☎ ✷ ➞✔✁ ➛➏➞✝➠❾❿✕➛✫✢ ☞✟�✔✡✵☞❨❻✝✡ ❿
➠➡➛ ➛t➝➡➛❨➁✖✆✍↕ ➞✰✚ ➞✝➁➙➞♦❻✝✢ ➛✫✁ ❽➟➞✝➠➡❿ ✚✱✡ ➞✝➝➡❿❊➠➡➛ ❽➙➛t➝✝✁✖✏✝❿✝✻✪✤s❿✝➁✿↕✵✁✂✁➙❿✕❿✕➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿ ✟✍➛t➁ ❽➀↕✠☞➏➞✔✡
☎ ☞➏➞✔✡✠☞t❻✝✡ ➞✝➠➡❿ ✷ ➞✔✁➙➛t➞✝➠➡❿✕➝➡➞❊↕ ➝✱❽➙➛✫✆✍➁➙➞✔✡➎➠➡➛

εz

✲✴❿✍➝➡➠➡➛
εz

☎ ✄ ❻➡➝✝✍✫✏✝❿♦➠❾➛
σx

➛❼➠➡➛
σy

✻ � ❿✍➝✝✁ ↕ ✮
➠➡➛❨➁➀➞✝➝❾➠➡❿ ✴➲❻➡➛

σx

➛
σy

✁✣✏✝❿■➠➡➛✙✁✖☞t❿✝➝➲❽✖✸ ➝➲❻➡❿★✁✙✲❥➞✔✁✖✁ ↕✵✢ ❽➀➞✔✢ ✷❥➛✫✢ ☎✾❿
εz

✻ � ❿✍➝✝☞✙✡ ❻➡↕ ✮ ✁➙➛✜✴➲❻➡➛
➞⑩❽➙➛t❿✍➁ ↕ ➞⑩➠➡➛ �❡➛t↕✠✁✖✁ ➝➡➛t➁ ✗❏↕➜➝➡➠✝✡➜↕ ➝ ☎✎✲❋➠➡➛ ✄ ➞✫❽➙❿✝✲❝❻✝✢ ✢ ☎❵❽➀❿✴➠➡❿ ✷ ➞✎✁➙➛➏➞✫➠➡❿✡➛✫✢ ➛✙✁✖✚ ➞✎✍t❿★✁❃➠➡➛
✄ ❻➡➝✱✍✟☎✴➛✫✁❡➠➡➛✫✁✂☞t❿✍➝✱❽✖✸ ➝➲❻ ➞✔✁✙✻
↔ ❿★✷ ✁ ➛❨❽➀↕ ✟✍❿✢➠❾➛✫✁ ❽➙➛ ❽➙➁➀➞✔✷ ➞✎✡✵✞➡❿✲➁➙➛✙✁ ❽➀➁ ↕ ➝✝✆✝➛✽✮ ✁ ➛✼➞✲↕ ➠➡➛❨➝➲❽➙↕✡✠ ☞t➞✝➁●❿❄➛✫✁ ❽➟➞✝➠❾❿✢➠➡➛ ❽➙➛t➝✝✁✖✏✝❿ ☞❨❿✍➁ ✮
➁ ➛✫✁✖✚❥❿✍➝➡➠❾➛t➝✱❽➀➛ ➞✝❿✔✁ ➛✫✁ ✄ ❿✍➁✖✍❨❿★✁ ✁ ↕✵✢✶✚✝✡ ➛✙✁ ➞✔✚✱✡ ↕✵☞t➞✝➠➡❿★✁ ➞⑩❻✱✢⑩➞✶✚✝✡ ➞✔☞t➞ ✢✕❻✝✡ ❽➀↕✠☞➏➞✔✢ ➞✝➠ ➞✱✻✘✤s➞✝➁➀➞
☞t➞✔✡✵☞❨❻✝✡ ➞✝➁✉➛✫✁ ❽➀➛●➛✫✁ ❽➀➞✝➠➡❿ ➠➡➛❃❽➀➛❨➝✝✁✣✏✫❿ ❻✝✢ ✚➡➁➙❿ ☞t➛❨➠➡↕✵✢■➛t➝✱❽➙❿■➛✙✁✖✚❥➛✫☞✙✸✡✠ ☞❨❿ ✁ ➛t➁✏� ➠➡➛✙✁➙➛t➝ ✟✝❿★✡✠✟✴↕ ➠❾❿
➛✾➠➡➛✙✁✖☞t➁ ↕➜❽➙❿ ➞ ✁ ➛✫✆✍❻➡↕➜➁✫✻

✝ ✞✠✟ ❶ ✄✾❭❨❪✿◆✭❭❨◗ P✭◗♦▲ ❚❡▲ ✠✫◗✾❱①❧✉◗♦▲♥❚❡❜ ◆✡❜ ❘ ❦✡❭❨❘❊❪☞❘
☞❼➞ ✄ ❿✍➁✖✢✕❻✱✡ ➞✔✍✫✏✝❿⑩❽➀➁ ↕ ➠➡↕✠✢ ➛❨➝✝✁➙↕➜❿✍➝ ➞✔✡ ☞❨❿✍➝ ✟✍➛t➝✱☞t↕ ❿✝➝ ➞✔✡①➠➡➛✙✁➙➛❨➝ ✟✝❿★✡✠✟✴↕➜➠ ➞✲➝❾➛✫✁ ❽➙➛❆❽➀➁➀➞✎✷ ➞✔✡✵✞❾❿ ✁✣✏✝❿
➞✝➠✱✢ ↕ ❽➀↕ ➠❾❿★✁ ✫ ➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁✙✲➳➁ ➛✫✁✂✚ ➛✙☞❨❽➀↕ ✟✫➞✔✢ ➛❨➝✱❽➀➛ ➝ ➞✔✁❋➠➡↕➜➁➙➛✙✍✟☎✴➛✫✁

X
✲
Y
➛
Z
➠➡❿✘✁➙↕✠✁ ❽➀➛✙✢⑩➞

➠➡➛✌☞❨❿➇❿✍➁ ➠➡➛t➝➡➞✝➠ ➞✔✁❡➁➙➛❵❽➟➞✝➝✱✆✍❻✝✡ ➞✫➁✔➞✝➠➡❿✝❽➀➞✝➠➡❿✝✻ ↔ ✟✍➛❵❽➀❿✍➁❡➠➡➛●➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿★✁ ☎✾➠ ➞✝➠➡❿ ✚❥❿✍➁t➂

{u}T = {u, v, w}
✝ ✱✯✻✣❞✕✟

✁ ➛t➝➡➠➡❿ ✴➲❻➡➛
u(x, y, z)

☎✢❿⑥➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿➋➠➡❿ ✚❥❿✍➝✱❽➀❿
P
➝ ➞⑥➠➡↕➜➁➙➛✫✍✫✏✝❿⑥➠➡❿ ➛t↕✍✝➇❿

X
✲

v(x, y, z)
☎ ❿❏➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➙❿❏➠➡➛

P
➝ ➞✲➠➡↕ ➁ ➛✫✍✑✏✫❿

Y
✲
w(x, y, z)

☎■❿❏➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿
➠➡❿ ✚ ❿✝➝➲❽➙❿❯➝➡➞❯➠➡↕➜➁➙➛✫✍✫✏✝❿

Z
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❽➀➞✝➝✱❽➀➛✫✁✉➛✫✡ �✔✁ ❽➙↕✵☞➏➞✎✁✪✟✫➞✝➁ ↕ ➞✔✢ ➠➡➛✭☞t➞✔✢⑩➞✫➠ ➞ ✚➡➞✝➁➀➞ ☞➏➞✔✢ ➞✝➠ ➞✱✻ ✕ ➛✫✁ ❽➀➛ ✢■❿✴➠➡❿✝✲ ✟✍➛❨➁➙↕✡✠✝☞➏➞ ✮ ✁➙➛✭✴➲❻➡➛
❿★✁●➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿★✁ ☞➏➞✔✡✠☞t❻✝✡ ➞✝➠➡❿★✁✜✷ ➞✎✁➙➛➏➞✫➠➡❿★✁♦➝❾❿❄➛✫✁ ❽➟➞✝➠❾❿❄➠➡➛ ❽➀➛❨➝✝✁✣✏✝❿❄➛✫✡ �✎✁ ❽➀↕✠☞t❿✡➝ ✏✝❿ ✁✣✏✝❿
☞❨❿★✢ ✚➡➞✫❽✣✸ ✟✍➛t↕✠✁✫✲ ✞➡➞ ✟✝➛t➝➡➠❾❿❄❻✝✢ ➞✼➠➡➛✫✁✂☞t❿✍➝✱❽➙↕ ➝➲❻➡↕ ➠➡➞✝➠➡➛ ➛t➝✱❽➀➁ ➛ ❿★✁✾➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿✔✁❃➠➡➛ ☞➏➞✝➠ ➞
☞t➞✔✢⑩➞✫➠ ➞✱✻
� ❿✍➝✱☞✫✡ ❻❾↕ ✮ ✁ ➛✜✴➲❻➡➛♦❿■➛✫✁ ❽➟➞✝➠➡❿■➠➡➛✾❽➀➛❨➝✝✁✣✏✝❿ ☞➏➞✔✡✠☞t❻✝✡ ➞✝➠➡❿ ➛✫✢ ✝ ✱✯✻ ✾ ✟ ✁➙❿★✢■➛t➝✱❽➙➛✰✁ ➛t➁✂✟✝➛♦➠➡➛●➁➙➛ ✄ ➛✽✮
➁ ➛t➝✝☞❨↕ ➞✔✡ ➂❋➛✫✡ ➛ ➝ ✏✫❿✭☞t❿✝➁➙➁➙➛✙✁✖✚❥❿✍➝➡➠➡➛✙✢✧➞✝❿ ➛✙✁ ❽➟➞✫➠➡❿ ➁ ➛➏➞✔✡➲➠➡➛ ❽➀➛❨➝✝✁✣✏✝❿ ➝ ➞ ✚✝✡ ➞✔☞➏➞✘✢✕❻✝✡ ❽➀↕✠☞➏➞✔✢ ➞✝➠ ➞✱✻
✁✄✂✆☎✞✝✠✟✡☎✞☛✌☞✞✍✎☛✑✏✓✒✔☎✖✕✞✗✘✟✡✙✚✕✛✗✜✗✢✍✣✗✤✗✢✍✥☛✦☎✞✧★✍✓✩✪✕✛☛✫✩✪☛✦✩✚✟✡✩✚✕✔✙✪✧★✍✓☛✌✬✭✍✮✟✡☎✞✧✯✕✛✗✤✙✪✍✡✬✜✝✜✕✞✗✱✰✤✂✤✲✳✍✮✕✛✗✤☞✴✕✛✝✭✩✚✵✶☞✛✍✓✩✪✗✱✷✸✍

✟✡✙✚✕✛✗✜✗✢✍✥✟✡☎✞✧✺✹✼✻✑✽✾☎✞✗✢✬✭✍✓✝✭✩✪☎✛✝✜✧✿✍✎☛✌✬✭✍✥✟✎✕✞✷✦✕❀✽✑✕✔✙✚✕✶☞❁✝✜✕❀✩❂☛✑✩✪✟✎✩✪✕✔❃❄✗✭✍❅✟✎☎✛✧❆✙❂✍✎✬✭✝❇✕✖✧❈✕✔✩✪❉✑✗✜✟✡❊✦✙✚✕✦❋

✱✏✱
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❜ ❚❡❞✡▲❛❲❵◗❊❞✲❘✾❭
❺ ✁✖✁➙❻✱✢ ➛ ✮ ✁➙➛✾❻✝✢ ➞ ✚✝✡ ➞✎☞➏➞ ✢✕❻✝✡ ❽➀↕✵☞t➞✔✢ ➞✝➠ ➞❊➛✙✁ ❽➙➛t➝➡➠➡➛❨➝➡➠➡❿✎✮ ✁➙➛❊➝➡❿ ➠❾❿★✢ ✸➜➝➡↕ ❿

Ω = [−1, 1] × [−1, 1] × [−
h

2
,
h

2
]

✄✓✁ ❽➙➛ ☞❨❿✍➁✖✚❥❿●➝ ✏✝❿❃❽➀➛✙✢❈➞✔✚ ❿✝↕ ❿★✁➩➛ ☎✘✁➙❻✝✷✱✢ ➛❵❽➀↕ ➠❾❿♦➞❃❻✝✢ ➞✾❽➙➛t➝✝✁✖✏✝❿
σ∗.n

➝ ➞✎✁☎✷❥❿✍➁ ➠ ➞✔✁ ❿✍➝➡➠➡➛
➞✕❽➀➛❨➝✝✁✣✏✫❿

σ∗
☎ ☞t➞✔✡✵☞❨❻✝✡ ➞✫➠ ➞ ✷ ➞✔✁ ➛➏➞✝➠ ➞ ➝ ➞✔✁❡➛✙✴✴❻➡➞✔✍✟☎✴➛✫✁ ✝ ✱✯✻ ✾ ✟

divσ = 0 x ∈ Ω
σ.n = σ ∗ .n x ∈ ∂Ω

↔ ❽➀➛❨➝✝✁➙❿✍➁
σ∗
✁➀➞✫❽➙↕✵✁ ✄ ➞ ✔✕➞✔✁❃➛✙✴➲❻ ➞✔✍✟☎✴➛✫✁❃➠❾➛❆➛✫✴➲❻➡↕✵✡✠✸✵✷➡➁ ↕ ❿■➛✔✲ ✚❥❿✍➁✹↕✠✁ ❽➙❿✝✲➑❿ ✚➡➁ ❿★✷✝✡➜➛✫✢ ➞ ☎ ✷❥➛✫✢

✚❥❿★✁ ❽➙❿✝✻ ↔ ✚❾➁➙❿★✷✝✡➜➛✫✢ ➞ ☎✾➞✔✚➡➁ ❿ ✝➇↕✠✢⑩➞✝➠❾❿ ✚ ❿✍➁✔➛✙✡ ➛✙✢ ➛❨➝➲❽➙❿★✁ ✠ ➝➡↕ ❽➀❿★✁✿❽➙➁➙↕➜➠➡↕✵✢■➛t➝✝✁ ↕ ❿✍➝➡➞✝↕✵✁ ❿✍➝➡➠➡➛
➞ ✢ ➞✔✡✠✞ ➞✶☞❨❿✍➝✱❽ ☎✙✢ ✚❥➛✫✡ ❿ ✢ ➛❨➝➡❿★✁✹❻✱✢❷➛✙✡ ➛✫✢■➛t➝✱❽➙❿ ✚ ➞✝➁➙➞ ☞➏➞✝➠➡➞ ☞➏➞✔✢ ➞✝➠ ➞✯✻ ↔ ➝ ✁ ✢ ➛❨➁➙❿✼➠➡➛
➛✙✡ ➛✫✢■➛t➝✱❽➙❿★✁✹➛✫✢

x
➛
y
✚ ❿✴➠➡➛✙✢ ✟✫➞✝➁ ↕ ➞✝➁ ☞t❿★✢■❿⑩❽➀➞✔✢ ✷✆☎✫✢❷➞⑩❿✍➁➙➠❾➛✫✢ ➠❾➛✕↕ ➝✱❽➀➛❨➁✖✚❥❿★✡ ➞✎✍✑✏✝❿

p✚➡➁➙➞✫❽➀↕✠☞➏➞✝➠➡➞✱✻ ❁ ➞✔✷❥➛✽✮ ✁➙➛ ✴✴❻❾➛❆➞⑩➞✔✚❾➁➙❿✞✝➇↕✵✢ ➞✔✍✑✏✝❿■➠➡➛●➛✫✡➜➛✫✢■➛t➝✱❽➀❿★✁ ✠ ➝➡↕ ❽➀❿★✁ ↕ ➁☞� ➞✔✚❾➁➙❿✞✝➇↕✵✢ ➞✝➁ ✮ ✁➙➛
➠ ➞ ✁ ❿★✡ ❻✱✍✑✏✝❿❆➞✫➝ ➞✔✡✵✸ ❽➀↕✠☞➏➞✾➠➡❿ ✚➡➁➙❿✔✷✝✡ ➛✙✢⑩➞●➝ ➞ ✢ ➛❨➠➡↕ ➠➡➞♦➛✫✢ ✴✴❻❾➛✾➞✹✢⑩➞✎✡✵✞ ➞ ☎❃➁➙➛✆✠➡➝ ➞✝➠ ➞✕❿✍❻✭❿
✆✍➁➙➞✝❻✡➠➡➛✌✚ ❿✔✡ ↕ ➝ �★✢ ↕➜❿♦➞✫❻✝✢ ➛❨➝✱❽➟➞✝➠➡❿✱✻

✝ ✞✞✝ � ⑧ ◗✾❱❳P✲❘✾✇●❚❡❜ ❦✲❘✾❱❳❘ ❪ ✄●❭❨❪✿◆✭❭❨◗ P✭❚❬❚❡▲❝▼❖❘●P✡◗ P✭❚❬▼❛❚❡❞ ✁

▲❛❢●◗
↔ ➛✫✁ ❽➟➞✝➠➡❿✭➠❾➛✕❽➀➛t➝✱✁✣✏✝❿✭↕➜➝➲❽➙➛t➁ ➝➡❿✭➠➡➛✕❻✝✢ ☞t❿✍➁✂✚ ❿⑩➛✫✡ �✎✁ ❽➀↕✠☞t❿✼➠❾➛✫✚❥➛t➝➡➠➡➛ ✁✂✦ ✄ ➁➀➞✔☞t➞✔✢ ➛❨➝✱❽➀➛✕➠ ➞
✄ ❿✍➁✂✢⑩➞✿➠❾➛✉➞✎✚✝✡ ↕✠☞➏➞✔✍✫✏✝❿✿➠➡➛✪☞t❿✝➝➡➠➡↕✵✍✆☎➇➛✙✁❛➠➡➛✪☞t❿✍➝✱❽➀❿✝➁➙➝➡❿✝✲➍➠➡➛✙✁➙➠➡➛☎✴➲❻➡➛ ❿★✁❋➛✫✁ ✄ ❿✍➁✖✍❨❿★✁s➁ ➛✫✁ ❻✝✡➜❽➀➞✝➝✱❽➀➛✫✁
✁ ➛ ✁➙➞✔✢♥↕✠✆✍❻ ➞✝↕✠✁✫✻✓✍ ✁ ❽➀❿ ☎❃❻✝✢ ➞ ☞❨❿✍➝✝✁ ➛✫✴➲❻ ✏t➝✱☞t↕ ➞■➠➡❿✶✚➡➁➙↕➜➝✝☞✫✸✠✚➡↕ ❿✕➠❾➛ ❁ ➞✝↕ ➝✱❽✂✮ ✄ ➛t➝ ➞✫➝➲❽✫✻
✤❖❿✍➁✡↕✵✁ ❽➙❿✝✲✭☞t➞✔✁➙❿✏❻✝✢ ➛✙✁ ❽➀➞✝➠➡❿✏➠➡➛✒❽➀➛t➝✱✁✣✏✝❿ ☞t❿✍➁ ➁➙➛✙✁✖✚❥❿✍➝➡➠➡➛❨➝➲❽➙➛⑥➞➋❻✝✢ ➛✙✁ ✄ ❿✍➁✂✍t❿ ✁➙↕✵✢✶✚✝✡➜➛✫✁
➛☛✝❾↕✠✁ ❽➙➛✔✲➲➛✫✁ ❽➀➛✭✁ ➛ ✢ ➞✝➝➡↕ ✄ ➛✫✁ ❽➟➞✝➁☞�✹↕ ➝➡➠➡➛✙✚ ➛❨➝➡➠➡➛❨➝➲❽➙➛ ➠ ➞ ✄ ❿✍➁✂✢⑩➞✹➠➡➛❼➞✔✚✝✡➜↕✵☞t➞✔✍✑✏✝❿❃➠➡➞✔✁✪☞t❿✍➝➡➠❾↕✵✍✟☎✴➛✫✁
➠➡➛✥☞t❿✍➝✱❽➀❿✝➁➙➝➡❿✝✻ ✡ ❽➙↕✵✡ ↕✑✔➏➞✔✢■❿★✁❛➛✫✁ ❽➀➛ ✄ ➞✫❽➙❿ ✚ ➞✝➁➙➞ ➠➡➛✙✁➙➛t➝ ✟✝❿★✡✠✟✝➛t➁ ❿✜✚➡➁➙❿ ☞t➛❨➠➡↕✵✢■➛t➝✱❽➙❿✹➠➡➛ ☞✟�✔✡✵☞❨❻✝✡ ❿
➠➡➛✾➛✙✁ ❽➟➞✫➠➡❿ ➠❾➛✾❽➙➛t➝✝✁✖✏✝❿✝✻

•
❺✭✚✝✡➜↕✵☞➏➞ ✮ ✁➙➛❼➞✔✁☞❽➙➛t➝✝✁✌☎➇➛✙✁

σ∗.n
☞➏➞✔✡✠☞t❻✝✡ ➞✝➠ ➞✔✁✉➞✝➝ ➞✎✡ ↕➜❽➙↕✵☞t➞✔✢ ➛❨➝✱❽➀➛✘☞t❿✍➝ ✄ ❿✍➁✖✢■➛ ✝ ✱✯✻ ✾ ✟ ➝➡❿★✁

☞❨❿✍➝✱❽➀❿✍➁ ➝➡❿★✁❡➠➡❿ ➠➡❿★✢✶✸ ➝❾↕ ❿♦❽➙➁➙↕ ➠❾↕✵✢■➛t➝✝✁ ↕ ❿✍➝ ➞✎✡
•
� ➞✔✡✵☞❨❻✝✡ ➞✔✢ ✮ ✁ ➛ ❿★✁❡➛✙✁ ✄ ❿✍➁✂✍t❿★✁ ✁➙↕✠✢ ✚✝✡➜➛✫✁ ✚➡➞✝➁➀➞ ➞ ✡ ↕➜➝✝✞ ➞✕➝➡❿✶☞t➛❨➝➲❽➙➁➙❿■➠➡❿ ➠➡❿★✢✶✸ ➝➡↕➜❿

✱ ✷



•
� ❿✍➝✝✁ ❽➙➁✖✦✍↕ ✮ ✁ ➛⑩❻✝✢q➝➡❿ ✟✍❿ ✚➡➁ ❿★✷✝✡➜➛✫✢ ➞✲➛✙✡ �✔✁ ❽➀↕✵☞❨❿❄❿✍➝❾➠➡➛✼❿★✁✕➛✙✁ ✄ ❿✍➁✂✍t❿★✁✕➞✔✚✝✡ ↕✠☞➏➞✝➠❾❿★✁❊➝❾❿
☞❨❿✍➝✱❽➀❿✍➁ ➝➡❿ ✁✖✏✝❿✢➞✎✴✴❻❾➛✫✡ ➛✙✁✹☞t➞✔✡✵☞❨❻✝✡ ➞✝➠❾❿★✁✾➝➡❿ ☞❨➛t➝✱❽➀➁ ❿✢➠➡❿❄➠❾❿★✢ ✸➜➝➡↕ ❿✭➝❾❿ ✚ ➞✔✁✂✁➙❿✒➞✫➝➲❽➙➛✽✮
➁ ↕ ❿✍➁✙✻❃✄✪✁✂✁➙➛✙✁➩➛✫✁ ✄ ❿✝➁✖✍t❿✔✁ ✁✣✏✝❿✭☞t❿✍➁ ➁➙↕✵✆✝↕ ➠➡❿★✁ ☞❨❿★✢❁❽➀➛t➝✱✁➙❿✍➁ ➛✫✁ ➞✝➝ ➞✎✡✵✸➜❽➙↕✵☞❨❿★✁ ✚ ➞✝➁➙➞ ❽➀➛❨➁ ☞❨❿★✢ ❿
➁ ➛✫✁ ❻✝✡➜❽➀➞✝➝✱❽➀➛✾❿★✁✔➛✫✁ ✄ ❿✍➁✖✍❨❿★✁ ➠➡➛✫✁ ➛ ✁➙➞✝➠➡❿✔✁✫✻

•
✍ ❽➀➛t➁➙➞ ✮ ✁ ➛⑩➛❨➝➲❽➙➁➙➛ ❿ ✁➙➛✙✆✍❻➡➝➡➠❾❿✒➛■❽➙➛t➁✖☞❨➛t↕➜➁➙❿ ✚ ➞✎✁✖✁➙❿✢➞✫❽ ☎ ➞ ☞❨❿✍➝ ✟✍➛t➁✂✆ ✏t➝✱☞t↕ ➞ ✝➣❿✍❻ ✁ ➛ ✁➙➞✱✲
➝✝✏✝❿ ✞ ➞✑✟✍➛t➁ ✢ ➞✝↕✵✁ ✢♦❻➡➠ ➞✝➝✝✍t➞❆➝➡❿ ➛✙✁ ❽➀➞✝➠➡❿■➠➡➛❃❽➀➛t➝✱✁✣✏✝❿ ✟ ✻

� ➁ ↕ ➞ ✮ ✁➙➛✡➞✔✁✂✁➙↕✵✢ ❻✝✢ ✚➡➁ ❿✯☞❨➛✫✁✂✁➙❿✙↕➜❽➀➛❨➁➀➞✫❽➙↕✠✟✝❿✒➠➡➛✡➁➙➛➏➞✎✡ ↕✵✢■➛t➝✱❽➀➞✔✍✑✏✝❿❄➠ ➞ ☞t❿✍➝➡➠❾↕✵✍✑✏✫❿✙➠❾➛ ☞❨❿✍➝✯✮
❽➙❿✍➁➙➝➡❿✱✲❝❿✍➝➡➠➡➛✕➞ ☞t❿✍➝➡➠❾↕✵✍✑✏✫❿✭➠➡➛ ☞t❿✝➝➲❽➙❿✍➁➙➝❾❿✲↕➜➝➡↕✵☞❨↕ ➞✔✡ ☎♦❽➙➁➙❿ ☞➏➞✝➠➡➞ ✚ ➛✙✡ ❿⑩❽➙➛t➝✝✁ ❿✍➁❃➠➡➛♦❽➙➛t➝✝✁✌☎➇➛✙✁
☞❨❿✍➁➙➁ ➛✫✁✖✚❥❿✍➝➡➠❾➛t➝✱❽➀➛ ➞✝❿✭➛t➁ ➁➙❿ ☞t❿✔✢ ➛❵❽➀↕ ➠❾❿✭➛❆❿✡❽➙➛t➝✝✁ ❿✍➁❃➠➡➛❆❽➀➛❨➝✝✁☞☎✴➛✫✁✾➝ ➞✗✠ ✷❾➁➀➞ ✢ ☎❨➠➡↕ ➞ ☎❆➁ ➛✽✮
☞t➞✔✡✵☞❨❻✝✡ ➞✝➠❾❿✝✲➲➛✫✁✖✚❥➛t➁➙➞✝➝➡➠➡❿ ✮ ✁➙➛✭☞t❿★✢❈↕✵✁✂✁➙❿ ✴➲❻➡➛ ➞♦➠➡↕ ✄ ➛t➁➙➛❨➝✝✍➏➞❊↕ ➝➡↕✠☞t↕ ➞✎✡➡➠➡↕✵✢■↕ ➝➲❻ ➞✯✻ ↔ ✚➡➁➙❿ ☞t➛✙✁✖✁ ❿
☎❃➁ ➛✫✚❥➛❨❽➀↕➜➠➡❿ ➞✫❽ ☎❃❿ ❽➙➛t➝✝✁ ❿✍➁✔➠➡➛✹❽➙➛t➝✝✁✌☎➇➛✙✁ ☞t➞✔✡✵☞❨❻✝✡ ➞✫➠➡❿❆➝ ➞ ✠ ✷➡➁➙➞ ✢ ☎❨➠➡↕ ➞ ✁ ➛✹❽➀❿✍➁ ➝➡➛❃↕✵✆✍❻➡➞✔✡❝➞✝❿
❽➙➛t➝✝✁ ❿✍➁✹➠➡➛♦❽➙➛t➝✝✁✌☎➇➛✙✁✹➁➙➛t➞✔✡ ✝➧❿✍❻ ✁ ➛ ✁➙➞✱✲ ☞t❻ ✁➙➞⑩↕➜➝✱❽➀➛✫✆✝➁➀➞✔✍✫✏✝❿✼➠➡❿⑩❽➙➛t➝✝✁ ❿✍➁✹➠➡➛❊❽➀➛t➝✱✁☞☎✴➛✫✁✹➁ ➛✫✁➙❻✱✡➜❽➀➛
➝ ➞ ✄ ❿✍➁✂✍➏➞ ➞✔✚✝✡➜↕✵☞t➞✝➠ ➞♦↕➜➝➡↕✵☞❨↕ ➞✔✡✠✢ ➛❨➝➲❽➙➛✕✟ ✻ ✡ ✢ ➛ ✄ ➛t↕ ❽➀❿ ✁➙➛✙☞t❻➡➝❾➠ �✝➁➙↕➜❿ ✚ ❿✴➠➡➛✜✁➙➛❨➁ ✟✍➛t➁ ↕✡✠ ☞t➞✝➠➡❿■➠➡❻✯✮
➁➙➞✝➝✱❽➀➛✭➛✫✁ ❽➀➛ ✚➡➁ ❿✯☞❨➛✫✁✂✁➙❿✝✲☎✴➲❻➡➛ ☎✭❿✒➠➡➛ ✁➙➛✭❿✔✷❾❽➀➛❨➁✕❻✝✢❬➛✙✁ ❽➀➞✝➠➡❿✪➠➡➛ ✞➡❿★✢■❿★✆✍➛❨➝➡➛t↕✑✔➏➞✔✍✫✏✝❿✢➠➡❿
➛✙✁ ❽➟➞✫➠➡❿ ➠❾➛✾❽➙➛t➝✝✁✌☎➇➛✙✁ ➞✫❿✶✡➜❿✍➝✝✆✍❿❆➠❾❿★✁✘✚ ❿✍➝✱❽➙❿★✁ ✚ ➛❨➁ ❽➙➛t➝✝☞❨➛t➝✱❽➀➛✙✁✹➞✝❿ ➠➡❿★✢✶✸ ➝❾↕ ❿✕➠ ➞ ✚✝✡ ➞✔☞➏➞✱✻
❁ ➞✎✷ ➛❨➝➡➠➡❿✎✮ ✁➙➛ ✴➲❻➡➛✢➞ ➠➡➛t➁ ↕✠✟✫➞✝➠ ➞✙➠➡❿ ✢■❿★✢■➛t➝✱❽➀❿ ☞t❿✍➁ ➁➙➛✫✁✂✚ ❿✝➝➡➠➡➛✒➞✝❿ ☞t❿✍➁ ❽➟➞✝➝✱❽➀➛✎✲ ✚ ❿✴➠➡➛ ✮ ✁➙➛
❻❾❽➙↕✵✡➜↕ ✔➏➞✫➁✉❽➟➞✎✢ ✷ ☎✙✢♥➞ ✁➙❻➡➞■➠➡➛❨➁➙↕ ✟✝➞✫➠ ➞ ☞t❿★✢■❿ ❻✝✢ ✚ ➞✝➁ ✂✔✢■➛❨❽➀➁ ❿❆➝ ➞ ✁➙❻ ➞ ☞t❿✝➁➙➁➙➛✙✍✑✏✝❿✱✻

✝ ✞✁� ❩✈❱❳◗■❪☞❚❡P✭❲❨❜ ❚❡❞ ▼❛◗ ❪☞◗❊❜ ❦✲◆✼▼❖❘❊❪☞❲❵◗❊❞✲❘✾❭

✏ ✆✄✂ ✆☛✡ ✌ ✓✖✕✔✘ ✮✯☞✞✂✌☎✧✱

✍ ➝➡↕✠☞t↕ ➞✔✡✵✢■➛t➝✱❽➀➛✎✲➍❿ ☞➏➞✝➁ ➁➙➛✙✆✱➞✔✢■➛t➝✱❽➀❿ ✝➧❿✍❻ ✄ ❿✝➁✖✍➏➞ ↕ ➝➡↕✠☞t↕ ➞✔✡✱➞✔✚✝✡➜↕✵☞t➞✝➠ ➞❡➝ ➞✔✁ ✷❥❿✍➁ ➠ ➞✔✁ ✟ ☎☞↕➜➝➡➠➡↕✵☞t➞✝➠➡❿
➝➡❿ ✚➡➁➙❿✔✆✍➁➀➞✔✢ ➞ ✚➡➁➙↕➜➝✝☞t↕✠✚ ➞✔✡✼✲➳❿✝➝➡➠➡➛✥✁ ➛☞➛✙✁✖✚❥➛✫☞t↕✍✠ ☞➏➞ ✴✴❻➡➞✝↕✵✁❖❿★✁❛❽➀↕✵✚❥❿★✁❛➠➡➛✒✁➙❿★✡➜↕✵☞t↕ ❽➟➞✔✍✆☎➇➛✙✁❋➠➡➛✫✁ ➛ ✁➙➞ ✮
➠ ➞✎✁✫✻❖❺ ✚ ➞✝➁ ❽➙↕ ➁❝➠❾↕✵✁ ❽➙❿✝✲➍➞✔✁✂✁➙❻✝✢■↕ ➝➡➠❾❿ ☞t❿★✢■❿ ✚➡➁➙↕✠✢ ➛❨↕ ➁➙➞✒✁➙❿✔✡ ❻✝✍✫✏✝❿✔➝➲❻✝✡ ➞✱✲➍➛➩➠➡➛✙✚ ❿✝↕✵✁❋➁➙➛✙✁➙❿★✡ ✟✍➛ ✮ ✁➙➛
❿ ✁➙↕✵✁ ❽➀➛✙✢⑩➞❄❿✔✷❾❽➀↕➜➠➡❿ ✚❥➛✫✡➜❿ ✗ ✄✪✬ ✝ ✢ ☎❵❽➀❿✴➠➡❿❄➠➡❿✔✁♦➛✫✡➜➛✫✢■➛t➝✱❽➀❿✔✁ ✠ ➝➡↕ ❽➀❿★✁ ✟✽✲❳➞✔✚✝✡ ↕✠☞➏➞✝➝❾➠➡❿✎✮ ✁ ➛⑩➞
☞❨❿✍➝➡➠➡↕✠✍✑✏✝❿✕➠❾➛ ☞t❿✍➝✱❽➙❿✍➁➙➝➡❿❆↕➜➝➡↕✵☞❨↕ ➞✔✡ ✁☞�✹☞❨↕➜❽➀➞✝➠ ➞✱✻①❺ ✁➙➛✫✆✝❻➡↕ ➁✙✲ ☎✹➛✙✁ ❽➟➞✎✷ ➛✙✡ ➛✫☞❨↕ ➠➡❿♦❻✝✢ ✡ ➞✔✍t❿✹✚ ➞✝➁➀➞
❿✜☞✟�✔✡✵☞❨❻✝✡ ❿❼➠ ➞✔✁✓✁➙❿✔✡ ↕✵☞❨↕➜❽➀➞✔✍✟☎✴➛✫✁❃✴➲❻➡➛❡➞✔✆✍➛✙✢ ➛✙✢ ❽➀❿✴➠➡❿✹❿❃➛✙✡ ➛✙✢ ➛❨➝➲❽➙❿✜✢✕❻✝✡ ❽➀↕✵☞t➞✔✢ ➞✝➠ ➞✱✲➳➞✫❽➙➁➀➞✑✟ ☎✙✁
➠➡➛✾❻✝✢ ✁➙❿★✢ ➞✫❽✣✦✝➁➙↕ ❿✱✻
↔ ❽➀➛t➝✱✁➙❿✍➁✾➠➡➛ ❽➀➛❨➝✝✁☞☎✴➛✫✁✾➠ ➞ ✚✝✡ ➞✎☞➏➞ ☎ ☞➏➞✔✡✠☞t❻✝✡ ➞✝➠➡❿✡➛✫✢ ✁➙➛✫✆✝❻➡↕ ➠ ➞✯✲❛➞✔✁✖✁ ↕✵✢ ☞❨❿★✢ ❿✲➞✼❽➀➛❨➝✝✁✣✏✫❿
✴➲❻➡➛❊➞✫❽➀❻➡➞■➛✙✢ ☞➏➞✝➠➡➞ ☞➏➞✎✢⑩➞✝➠➡➞ ➛✾➠➡➛✙✚ ❿✝↕✵✁✫✲➎➞ ✄ ❿✍➁✂✍➏➞■➞✫❽➀❻ ➞✫➝➲❽➙➛❊➝➡➞✶✚✝✡ ➞✔☞➏➞✯✻ ↔ ✟✝➞✎✡ ❿✍➁✔➠➡➛✙✁ ❽➀➞
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➞✫❽➙➁➀➞✑✟ ☎✙✁❃➠➡❿✼❽➀➛❨➝✝✁➙❿✝➁❃➠➡➛✕❽➀➛❨➝✝✁☞☎✴➛✫✁✙✻ ✕ ➛✙✚ ❿✝↕✵✁❃➠➡➛✙✁ ❽➀➛ ✢■❿★✢■➛t➝✱❽➀❿ ☞➏➞✔✡✠☞t❻✝✡ ➞✝➠➡❿✝✲ ☎ ☞➏➞✔✡✠☞t❻✝✡ ➞✝➠➡❿
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✟✁�✝➁ ↕ ➞✔✁ ➞✫❽➀➁ ↕✵✷➡❻➡↕✠✍✟☎✴➛✫✁✙✻ ✍ ➝➡↕✵☞❨↕ ➞✔✡✠✢ ➛❨➝✱❽➀➛✔✲➎➛✙✁ ❽➀➛ ✢ ☎❨❽➙❿➇➠❾❿ ✔t➛❨➁➀➞⑩❽➀❿✴➠ ➞✔✁ ➞✔✁ ✁ ❿★✡ ↕✠☞t↕➜❽➀➞✔✍✟☎✴➛✫✁ ➛❆➞✔✁
✁ ❻ ➞✔✁●➠➡➛t➁ ↕✠✟✫➞✝➠ ➞✔✁✙✲❛➝ ➞ ✚ ❿★✁ ↕✵✍✫✏✝❿ ❞ ➠➡❿ ✟✍➛❵❽➀❿✍➁✾➠➡➛✶✁➙❿✔✡ ↕✵☞❨↕➜❽➀➞✔✍✟☎✴➛✫✁✙✻✕❺ ✁➙➛✫✆✝❻➡↕ ➁✙✲❖➛✙✁ ❽➀➞✔✷ ➛✙✡ ➛✙☞t➛✽✮
✁ ➛✢❻✝✢ ✡ ➞✔✍❨❿ ✚ ➞✝➁➙➞ ❿ ☞✞�✎✡✵☞t❻✱✡ ❿ ➠➡➞✔✁ ✁➙❿✔✡ ↕✵☞❨↕➜❽➀➞✔✍✟☎✴➛✫✁✶✴➲❻➡➛✒➞✔✆✍➛✙✢ ➛✙✢ ❽➙❿➇➠❾❿⑥❿⑥➛✫✡➜➛✫✢■➛t➝✱❽➀❿
✢✕❻✱✡➜❽➀↕✠☞➏➞✔✢ ➞✝➠ ➞✯✲➇➞➳❽➀➁➀➞✑✟ ☎✫✁ ➠➡➛✾❻✝✢ ✁➙❿✔✢⑩➞✫❽✖✦✍➁➙↕➜❿✝✻
✤s➞✝➁➀➞ ☞t➞✝➠ ➞ ☞✞�✎✡✵☞t❻✱✡ ❿✝✲ ☞ ✞ ➞✔✢ ➞ ✮ ✁ ➛❆➞ ✡ ↕✠✁ ❽➀➞ ✄ ✤✓✡ ➞✔☞t➞ ↔ ➁ ❽✣✞✢➞ ✴✴❻➡➞✔✡ ✆✍❻➡➞✝➁➙➠ ➞✼➛✙✡ ➛✙✢ ➛❨➝➲❽➙❿★✁✹➠➡❿
❽➙↕✵✚❥❿ ✂✘✤ ✒ ✤✓✡ ➞✔☞➏➞ ↔ ➁ ❽✣✞➡❿✝❽➙➁➙❿★✚❾↕✵☞✔✲ ➛✲➝➡➛✫✁ ❽➟➞ ☞✫✡ ➞✔✁✖✁ ➛ ✁✖✏✝❿❯➛❨➝✱❽ ✏✝❿❯➞✔☞t➛✙✁✖✁➙➞✝➠➡❿★✁■❿★✁ ✢ ☎❵❽➀❿✴➠➡❿★✁
✬ ❿✍➁✂☞t➛❃➛✰✗❏❿★✢■➛t➝✱❽ ✝➧➠➡➛ ✂✘✤✓✒ ✤✓✡ ➞✔☞t➞ ↔ ➁ ❽✖✞➡❿✝❽➀➁ ❿★✚➡↕✠☞✕✟✽✻
↔ ✢ ☎❵❽➀❿✴➠➡❿ ✬ ❿✍➁✂☞t➛ ✝ ✴➲❻➡➛❃❻➇❽➀↕✵✡➜↕ ✔t➞❊❿★✁ ✚➡➞✝➁ ✂✔✢■➛❨❽➙➁➙❿★✁☞➝➡❿✍➁✖✢ ➞✔✡ ➛✹➠➡↕ ➁ ➛✫✍✫✏✝❿❆➠ ➞ ✄ ❿✍➁✂✍➏➞✠✟ ✲➡➛✫✁ ❽➟➞ ✮
✷❥➛✫✡➜➛✫☞t➛❊❻✝✢ ✡ ➞✔✍❨❿✼➞✫❽➙➁➀➞✑✟ ☎✙✁✹➠➡❿ ✴➲❻ ➞✎✡ ☎✹☞t➞✔✡✵☞❨❻✝✡ ➞✫➠➡❿ ❿ ❽➀➛t➝✱✁➙❿✍➁✹➠❾➛❊❽➀➛❨➝✝✁☞☎✴➛✫✁ ➠ ➞ ✚✝✡ ➞✔☞➏➞■➛✫✢
✴➲❻➡➛✙✁ ❽ ✏✫❿✝✲➲➛✿❽➟➞✔✢ ✷✆☎✫✢ ✁✣✏✝❿✌☞t➞✔✡✵☞❨❻✝✡ ➞✝➠➡➞✔✁➩➞✹❽➀➛❨➝✝✁✣✏✝❿ ✴➲❻➡➛ ➞✫❽➀❻➡➞✾➝➡➞✌☞t➞✔✢ ➞✝➠ ➞ ✝➧➝❾❿★✢ ➛t➞✝➠ ➞✹➠➡➛
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❽➙➛t➝✝✁ ↕ ❿✍➝ ✟❖➛✿➛✫✢ ✁➙➛✫✆✝❻➡↕ ➠ ➞✯✲✱➞ ✄ ❿✍➁✖✍t➞❃➞✫❽➀❻➡➞✝➝✱❽➀➛✿➝ ➞ ✚✱✡ ➞✔☞t➞ ✝ ✄ ❿✍➁✂☞t➛✕✟ ✆✱➛✫✁ ❽➟➞ ✄ ❿✍➁✖✍t➞ ☎✔➁➙➛❵❽➀❿✍➁ ➝ ➞✝➠ ➞
☞❨❿★✢ ❿ ✟✫➞✔✡ ❿✍➁s➠➡➛ ✁➙➞✔✸ ➠ ➞ ➛✿❻❾❽➙↕✵✡ ↕✑✔➏➞✝➠➡➞ ➝➡❿✜☞✟�✔✡✵☞❨❻✝✡ ❿❼➠ ➞✔✁ ✁ ❿★✡ ↕✠☞t↕ ❽➟➞✔✍✆☎➇➛✙✁❃✴➲❻➡➛❡➞➳❽➀❻ ➞✔✢✐➛✙✢✧❽➙❿➇➠➡❿
❿ ✡ ➞✔✢ ↕➜➝ ➞✝➠➡❿ ✝ ✁ ❿★✢⑩➞✫➝➡➠➡❿✎✮ ✁➙➛❆➞✔✁ ✄ ❿✝➁✖✍➏➞✎✁✜✴✴❻❾➛ ➞✫❽➀❻ ➞✎✢ ➛✫✢ ☞➏➞✝➠➡➞ ☞t➞✔✢ ➞✝➠ ➞✠✟ ✲❋➞✫❽➀➁➙➞✑✟ ☎✫✁✾➠➡❿
✢ ☎❨❽➙❿➇➠➡❿ � ❿✔✢ ✚➡❻➇❽➀➛ � ➛❨➝✱❽➀➛t➁✖✬ ❿✍➁✖☞❨➛✫✁✫✻
✂s➞✔✢ ✷✆☎✫✢ ☎✾➞✔☞t➛✙✁✖✁➀➞✫➠➡❿ ❿ ✢ ☎❨❽➙❿➇➠➡❿✶✗✲❿★✢ ➛❨➝✱❽❡➠ ➞ ☞✫✡ ➞✎✁✖✁➙➛ ✂✘✤✓✒ ✤✓✡ ➞✔☞t➞ ↔ ➁ ❽✖✞➡❿✝❽➀➁ ❿★✚➡↕✠☞✔✲✱✴➲❻➡➛
❻❾❽➙↕✵✡➜↕ ✔➏➞ ☞t❿★✢■❿ ✚➡➞✝➁ ✂✔✢■➛❨❽➙➁➙❿★✁ ➞✎✁✶✟✫➞✝➁ ↕ �✑✟✍➛❨↕✵✁ ✔✔✲✿➞✙➝➡❿✝➁✖✢ ➞✔✡✿➠ ➞ ✄ ➞✔☞t➛✡➛❏➞✙➠❾↕ ➁➙➛✙✍✑✏✝❿✱✻ ✕ ➛
✢■❿➇➠❾❿ ✁ ➛✫✢■➛✫✡✵✞➡➞✝➝✱❽➀➛✼➞✫❿ ✢ ☎❵❽➀❿✴➠➡❿ ✬➎❿✝➁✖☞t➛✎✲✓☎✼➞✎☞t➛✫✁✂✁➀➞✝➠❾❿✒❿ ✢ ☎❵❽➀❿✴➠➡❿ ✂❖➛t➝✱✁➙❿✍➁ ✝➧➠➡➛ ✂✘✤✓✒ ✮
✤✓✡ ➞✎☞➏➞ ↔ ➁ ❽✖✞➡❿✝❽➙➁➙❿★✚➡↕✠☞✕✟✓✴➲❻➡➛❃➠➡➛✙✟✝❿★✡✠✟✝➛❃❿✕❽➀➛❨➝✝✁➙❿✍➁☞➠➡➛✹❽➀➛❨➝✝✁☞☎✴➛✫✁❡➞✔✚✱✡ ↕✵☞t➞✝➠➡❿❊➝ ➞ ✚✝✡ ➞✎☞➏➞♦➛ ✴➲❻➡➛ ☎
❻❾❽➙↕✵✡➜↕ ✔➏➞✫➠➡❿ ✚ ➞✝➁➙➞❆❿✶☞✟�✔✡✵☞❨❻✝✡ ❿❆➠❾❿ ✢■❿★✢■➛t➝✱❽➀❿ ✴➲❻➡➛❊➞✫❽➀❻➡➞ ➝➡➞ ☞t➞✔✢ ➞✝➠ ➞✱✻
✕ ➛✙✚ ❿✝↕✵✁✼➠➡➛ ☞t➞✔✡✵☞❨❻✝✡ ➞✫➠➡❿⑥➛✫✁ ❽➀➛ ✢■❿★✢ ➛❨➝✱❽➀❿✝✲✔❿ ✚➡➁ ❿★✆✍➁➙➞✔✢⑩➞ ➞✝❻❾❽➀❿✔✢⑩➞✫❽➙↕✵☞t➞✔✢ ➛❨➝✱❽➀➛❄➁ ➛❨❽➙❿✍➁➙➝ ➞
✚ ➞✫➁➀➞✡❿ ✢ ☎❨❽➙❿➇➠➡❿ � ❿★✢✶✚➡❻❾❽➙➛ � ➛❨➝➲❽➙➛t➁✖✬➎❿✝➁✖☞t➛ ✝➧➠ ➞ ☞✫✡ ➞✔✁✖✁ ➛ ✂✘✤✓✒ ✗❏❻✱✡➜❽➀↕✠☞➏➞✔✢ ➞✝➠ ➞ ↔ ➁ ❽✣✞➡❿✫❽➀➁➙❿ ✮
✚➡↕✠✚ ☞ ✟✉➛✜☞➏➞✎✡✵☞t❻✱✡ ➞✕❿ ✢■❿★✢ ➛❨➝✱❽➀❿✕❽➀❿✫❽➟➞✔✡ ✴✴❻❾➛❊➞➳❽➀❻ ➞❆➛✫✢ ❽➀❿✴➠➡❿ ❿❆➛✫✡➜➛✫✢■➛t➝✱❽➀❿ ✢✕❻✝✡ ❽➀↕✠☞➏➞✔✢ ➞✝➠ ➞✱✻
❺ ✁➙➛✙✆✍❻➡↕➜➁✫✲ ☎ ☞t➞✔✡✵☞❨❻✝✡ ➞✝➠➡➞➋➞✏➠➡↕ ✄ ➛t➁ ➛t➝✝✍t➞✏➛❨➝➲❽➙➁➙➛✪❿ ✟✝➞✎✡ ❿✍➁✼➠➡➞ ✁ ❿★✡ ↕✠☞t↕➜❽➀➞✔✍✑✏✫❿⑥➠ ➞✝➠ ➞ ☞❨❿★✢ ❿
☞❨❿✍➝➡➠➡↕✠✍✑✏✝❿❊➠➡➛ ☞t❿✝➝➲❽➙❿✍➁➙➝❾❿✕↕ ➝➡↕✠☞t↕ ➞✔✡ ✝➧➝➡➞✹✚ ❿✔✁➙↕✵✍✫✏✝❿♦➠❾➛✭✸ ➝❾➠➡↕✵☞❨➛ ✿✠✟ ✲➇➛❼❿✹✟✫➞✔✡ ❿✍➁ ➠ ➞✰✁➙❿★✡➜↕✵☞t↕ ❽➟➞✔✍✫✏✝❿
➠➡➛❵❽➀➛❨➁✖✢■↕ ➝ ➞✝➠➡➞⑩➞✫❽➙➁➀➞✑✟ ☎✙✁❃➠➡❿ ✢ ☎❨❽➀❿✴➠➡❿ ➠➡➛✕➛✫✡➜➛✫✢■➛t➝✱❽➀❿✔✁ ✠ ➝➡↕ ❽➀❿★✁ ✝ ✁ ↕➜❽➀❻➡➞✝➠ ➞⑩➝ ➞ ✚ ❿★✁ ↕✵✍✫✏✝❿⑩➠➡➛
✸➜➝➡➠➡↕✵☞❨➛✩❞✂✟ ✲✱➛✘✟✝➛t➁ ↕✡✠ ☞t➞✝➠➡❿ ✁➙➛❡❿✜✟✝➞✎✡ ❿✍➁①➠❾➛✫✁ ❽➀➞●➠❾↕ ✄ ➛t➁ ➛t➝✝✍t➞ ☎ ↕✠✆✍❻ ➞✔✡❾➞✝❿✜✟✫➞✔✡ ❿✍➁❳➠ ➞✜✁➙❿★✡➜↕✵☞t↕ ❽➟➞✔✍✫✏✝❿
✴➲❻➡➛●➞✫❽➙❻ ➞❆➝➡❿ ✡ ➞✔✢■↕ ➝ ➞✝➠❾❿✝✲✯☞t➞✔✡✵☞❨❻✝✡ ➞✫➠ ➞❆➞✝➝ ➞✔✡➜↕➜❽➙↕✵☞➏➞✎✢ ➛❨➝➲❽➙➛✔✻
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✏ ✆✄✂ ✆ ☎ ✛ ✮✯✱ ✘ ✓✖★✪☞☛✢✥✓✖✛ ✑✔✱

✬❳↕✵✆✍❻❾➁➀➞ ✱✯✻✢❞✍➂ ✂ ❻ ✝➇❿★✆✝➁➀➞✔✢ ➞

✷★✿



✝ ✞✁� � ◗✾❱①❜ ◆✭❭t❘●❧✿❢✾◗ P✡◗ ❜ ❘✾▼❛❚✿❱s❲t❘✾❭✰◗●❱❖▼❛◗✾▼❋❱❬✞●❦✡❲t❪☞◗
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✚➡➞✝➁➀➞✶✢⑩➞✫❽➙➛t➁ ↕ ➞✔✡

➛✙✡ �✔✁ ❽➀↕✵☞❨❿✝✲❾❿✝❻ ✁ ➛ ✁➙➞
Cijkl = Cklij

✟ ✻
❺✰↕✵✢✶✚✝✡➜➛✫✢■➛t➝✱❽➟➞✔✍✫✏✝❿✔➠ ➞✔✁❃☞➏➞✫➁➀➞✔☞❵❽➀➛t➁✂✸✵✁ ❽➀↕✵☞t➞✔✁❛➠➡❿ ✢⑩➞✫❽➙➛t➁ ↕ ➞✔✡✍❿✝➁ ❽➀❿✫❽➀➁✖✦✔✚➡↕✵☞❨❿✝✲✕☎✉↕✠✢ ✚✱✡ ➛✫✢■➛t➝✱❽➀➞✝➠ ➞
➝ ➞ ☞✫✡ ➞✔✁✖✁ ➛ ✂✘✤ ✒ ✗❏➞✫❽ ↔ ➁ ❽✖✞➡❿✝❽➙➁➙❿★✚➡↕✠☞✔✻ ☞ ➛✫✁ ❽➀➞ ☞✙✡ ➞✔✁✂✁➙➛✔✲ ☎✡↕✵✢✶✚✝✡ ➛✙✢ ➛❨➝➲❽➀➞✝➠➡❿✒➞ ✢ ➞✫❽➀➁ ↕ ✔✼➠➡➛
☞❨❿➇➛ ✠ ☞t↕➜➛t➝✱❽➀➛✙✁❼➛✙✡ �✔✁ ❽➀↕✵☞❨❿★✁✫✲➇➠ ➞✝➠ ➞ ✚❥❿✍➁
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∆
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∆
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∆
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✁ ➛t➝➡➠➡❿ ✴➲❻➡➛

Ei

✁✣✏✝❿✭❿✔✁✜☞t❿✴➛✆✠ ☞❨↕ ➛t➝✱❽➙➛✫✁❃➠➡➛❆➛✙✡ ➞✔✁ ❽➀↕✵☞❨↕ ➠ ➞✫➠➡➛✹✡➜❿✍➝✝✆✍↕ ❽➀❻➡➠➡↕➜➝ ➞✔✡✼✲
Gij

✁✣✏✝❿✡❿★✁✭☞t❿✎✮
➛ ✠ ☞t↕➜➛t➝✱❽➀➛✙✁⑩➠➡➛❏➛✫✡ ➞✎✁ ❽➀↕✠☞t↕➜➠ ➞✝➠➡➛✭❽➀➁➙➞✝➝✝✁ ✟✍➛t➁✂✁➀➞✔✡❼➛

υij

✁✣✏✫❿ ❿★✁ ☞t❿✴➛✆✠ ☞❨↕ ➛t➝✱❽➙➛✫✁⑩➠❾➛ ✤s❿✝↕✵✁✖✁ ❿✍➝✥➛
∆ = −1 + υxyυyx + υxzυzx + υyzυzy + 2υxyυyzυzx

✻ ✂❳➞✝↕✠✁✒✟✫➞✔✡➜❿✍➁➙➛✙✁✥✁✣✏✫❿❆↕✵✢✶✚✝✡ ➛✙✢ ➛❨➝✯✮
❽➀➞✝➠➡❿★✁✔➞➳❽➀➁➀➞✑✟ ☎✫✁✔➠ ➞✔✁ ✢ ➞✫❽➙➁➙↕ ✔❨➛✫✁✉➠➡➛❃➁➙↕✠✆✍↕ ➠➡➛ ✔✔✲ ✁➙↕✠✢ ✷ ❿✔✡ ↕ ✔t➞✝➠ ➞✔✁☎✚❥❿✍➁ ✄ ✭✠✟✡✟✹✲ ✄ ✭✡☛✡☛ ✲ ✄ ✭ ✒ ✒ ✲
✄ ✭✠✟☞☛ ✲ ✄ ✭✡☛✡✟ ✲ ✄ ✭✌✟ ✒ ✲ ✄ ✭ ✒✍✟✹✲ ✄ ✭ ✒✎☛ ✲ ✄ ✭✡☛✖✒ ✲ ☞t➞✔✡✵☞❨❻✝✡ ➞✫➠ ➞✔✁ ➝➡❿ ☞t❿✝➝✝✁ ❽➙➁➙❻❾❽➙❿✍➁☞➠ ➞✰☞✫✡ ➞✎✁✖✁➙➛
✝ ✢ ☎❵❽➀❿✴➠➡❿ ✂✘✤✓✒ ✗❄➞✫❽ ↔ ➁ ❽✣✞❾❿✝❽➀➁ ❿★✚➡↕✵☞ ✝ ✻ ✻✠✻ ✟ ✟ ✻❄❺ ✚➡➞✝➁ ❽➙↕ ➁●➠ ➞❄➛✫✴➲❻ ➞✎✍✑✏✝❿ ☞❨❿✍➝✝✁ ❽➙↕➜❽➙❻❾❽➀↕ ✟✝➞✯✲❳➛✼➠ ➞
✢ ➞✫❽➀➁ ↕ ✔ ➠➡➛ ☞❨❿➇➛ ✠ ☞t↕➜➛t➝✱❽➀➛✙✁✿➛✫✡ �✔✁ ❽➙↕✵☞t❿✔✁☞➠➡❿ ✢ ➞✫❽➀➛❨➁➙↕ ➞✔✡ ❿✍➁ ❽➙❿✝❽➀➁✂✦★✚➡↕✠☞t❿✝✲ ✚ ❿✴➠➡➛ ✮ ✁➙➛ ☞t❿✍➝✱☞✫✡ ❻❾↕ ➁✥✴➲❻➡➛
➞✔✁✔❽➙➛t➝✝✁✌☎➇➛✙✁ ✚❥❿✴➠➡➛✫✢ ✁ ➛t➁✘☞➏➞✎✡✵☞t❻✱✡ ➞✝➠ ➞✎✁❡➞✫❽➀➁➙➞ ✟ ☎✫✁❡➠ ➞✔✁❡➛✙✴✴❻➡➞✔✍✟☎✴➛✫✁
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−Ex[εx(1−νyzνzy)+εy(νyx+νyzνzx)+εz(νzx+νyxνzy)]
−1+νxyνyx+νxzνzx+νyzνzy+νxyνyzνzx+νyxνzyνxz

−Ey[εy(1−νxzνzx)+εx(νxy+νxzνzy)+εz(νzy+νxyνzx)
−1+νxyνyx+νxzνzx+νyzνzy+νxyνyzνzx+νyxνzyνxz
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❿✍➝❾➠➡➛
Ex, Ey, Ez

✁✣✏✫❿✒❿★✁ ✢ ✦✴➠➡❻✝✡➜❿★✁♦➠❾➛ ☛ ❿✍❻➡➝✝✆✒➝ ➞✎✁❆➠➡↕ ➁ ➛✫✍✟☎✴➛✫✁
x, y, z

➁➙➛✙✁✖✚❥➛✫☞❵❽➀↕✠✟✫➞ ✮
✢■➛t➝✱❽➀➛✎✲

Gxy, Gyz, Gzx

✁✖✏✝❿⑥❿★✁✶✢ ✦✴➠➡❻✝✡➜❿★✁ ➠➡➛❄➛✙✡ ➞✔✁ ❽➀↕✠☞t↕ ➠➡➞✝➠➡➛✭❽➀➁➙➞✝➝✝✁✂✟✝➛t➁✂✁➀➞✔✡ ✚ ➞✝➁➀➞✎✡ ➛✫✡➜❿★✁
➞✝❿✔✁ ✚✱✡ ➞✝➝➡❿✔✁

x− y, y − z, x− z
✻ ↔ ❽➙➛t➁✂✢ ❿

υij (i, j = x, y, z)
✁✖✏✝❿ ❿★✁✘☞t❿✴➛✆✠ ☞❨↕ ➛t➝✱❽➙➛✫✁

➠➡➛✭✤s❿✍↕✠✁✖✁ ❿✍➝ ☞➏➞✫➁➀➞✔☞❵❽➀➛t➁ ↕ ✔t➞✝➝➡➠➡❿♦➞❊❽➟➞ ✝❾➞●➠➡➛ ➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✫✏✝❿♦➝ ➞●➠➡↕ ➁ ➛✫✍✫✏✝❿✹✚❥➛t➁✂✚ ➛❨➝➡➠➡↕✵☞❨❻✝✡ ➞✫➁☞➞✝❿
✁ ➛t➝✱❽➀↕➜➠➡❿ ➠❾➛❊➞✎✚✝✡ ↕✠☞➏➞✔✍✫✏✝❿✕➠ ➞❆❽➀➛❨➝✝✁✣✏✝❿✱✻
✕ ➞⑥➛✙✴➲❻ ➞✔✍✑✏✫❿ ✯✱✻✲✯ ✁➙❿★✢ ➞✝➠➡❿ ✛ ☞t❿✍➝➡➠❾↕✵✍✑✏✫❿⑥➠➡➛

Green
✚ ➞✝➁➙➞ ✢ ➞✫❽➀➛❨➁➙↕ ➞✎✡✔➛✫✡ �✎✁ ❽➀↕✠☞t❿ ✝ ✴➲❻➡➛

➛✙✁ ❽➟➞✎✷ ➛✙✡ ➛✫☞❨➛ ✴➲❻➡➛
Eiνji = Ejνij

✟✽✲ ☞❨❿✍➝✝☞✫✡➜❻➡↕ ✮ ✁➙➛ ✴➲❻➡➛✙➠ ➞✔✁◆❞ ✾ ☞t❿✍➝✝✁ ❽➟➞✝➝✱❽➙➛✫✁❄➛✙✡ �✔✁ ❽➀↕✠☞➏➞✔✁
➠➡➛❵❽➀➛❨➁✖✢■↕ ➝ ➞✝➠➡➞✔✁❼➛✙✢ ✯✱✻✣❞✑✿ ✲❝➞✎✚ ➛❨➝ ➞✔✁ ✯✶✁✣✏✝❿⑩↕ ➝➡➠➡➛✙✚ ➛❨➝➡➠➡➛❨➝➲❽➙➛✫✁✙✲❝➠➡➛✹✢■❿✴➠➡❿ ✴➲❻➡➛✰✚ ❿✴➠➡➛✫✢■❿★✁
➛✙✁✖☞t➁ ➛✙✟✝➛t➁✹➞✎✁ ☞❨❿★✢✶✚ ❿✍➝❾➛t➝✱❽➀➛✙✁ ➠❾➛●➠❾➛ ✄ ❿✍➁✂✢⑩➞✔✍✫✏✝❿ ☞t❿✔✢ ❿➡➂

εx = σx

Ex
− νyx

Ey
σy −

νzx

Ez
σz

εy = −νxy

Ex
σx + σy

Ey
− νzy

Ez
σz

εz = −νzx

Ex
σx −

νzy

Ey
σy + σz

Ez

γyz = τyz

Gyz

γxz = τxz

Gxz

γxy = τxy

Gxy

✝ ✱✯✻ ✷✠✟

✝ ✞✂✁ ❑✣▲ ✠➳◗●❱❳❧☞◗❊▲✈▲❋◗❊❭❵❲❨❪☞❲❵▼❖❘●❞❆▼❛❚❡▲ ❚❡❜ ❚✔❭❨❚❡❜ ❚❡❞❆▼❛◗❊▲✈P✭❚ ❦✡❭❨❘❊❪✿❘
P✡❘ ❪✿❘●❜ ❘❊P✡❘ ′′

α
′′

� ❿✍➝✱✁➙↕ ➠❾➛t➁➀➞✫➝➡➠➡❿✲❻✝✢❹➛✫✡➜➛✫✢■➛t➝✱❽➀❿✡↕ ➝ ✠ ➝➡↕➜❽➙➛✫✁ ↕✵✢ ➞✔✡❳➝ ➞ ☞➏➞✎✢⑩➞✝➠➡➞
′′α′′

✲s➁ ➛✫✚➡➁ ➛✫✁ ➛t➝✱❽➟➞✝➠❾❿ ✚ ➛✙✡ ➞
✠ ✆✝❻➡➁➀➞ ❀✝✻ ✾✯✲ ❿★✁ ➛✫✁ ✄ ❿✝➁✖✍t❿✔✁ ✁ ❿★✡ ↕✠☞t↕➜❽➀➞✝➝✱❽➀➛✙✁ ✚ ❿✍➁❡❻➡➝❾↕ ➠ ➞✝➠❾➛❊➠➡➛ ☞t❿✔✢ ✚➡➁ ↕✵✢■➛t➝✱❽➀❿ ✝➣➝➡❿✍➁✂✢⑩➞✝↕✠✁

N
✲

☞❨↕✵✁➀➞✎✡✵✞ ➞✝➝✱❽➙➛✫✁
V
✲ ✢■❿★✢■➛t➝✱❽➀❿★✁

M
✟✜✁✖✏✝❿ ✁➙❻✝✷❥➠➡↕✠✟✴↕➜➠➡↕ ➠ ➞✎✁✹➛✫✢ ➠❾❿✍↕✵✁✜✆✍➁ ❻✝✚❥❿★✁✾➛✶☞t➞✔✡✵☞❨❻✝✡ ➞✫➠➡❿★✁

✝➣➝➡❿ ✚✝✡ ➞✝➝➡❿ ➠➡➛♦➁ ➛ ✄ ➛t➁ ✏t➝✝☞❨↕ ➞✱✲❥➝➡❿ ✁➙↕✵✁ ❽➀➛✙✢⑩➞✶✆★✡ ❿★✷➡➞✔✡ ✟ ✲✝☞t❿✍➝ ✄ ❿✍➁✖✢■➛♦➞✫➠➡❿✝❽➟➞✫➠➡❿ ✚❥❿✍➁ ✕ ➛✙✟ ✡ ❿✴❿⑩➛
✗❏➛❨➝➡➛ ✔❨➛✫✁✙✻

✷ ✾



✬s↕✵✆✍❻➡➁➙➞ ✱✯✻ ✾➇➂➩➛✫✁ ✄ ❿✍➁✖✍❨❿★✁ ✁ ❿★✡ ↕✠☞t↕ ❽➟➞✝➝✱❽➀➛✙✁

✬s↕✵✆✍❻➡➁➙➞ ✱✯✻ ✫ ➂➩➛✫✁ ✄ ❿✍➁✖✍❨❿★✁ ✁ ❿★✡ ↕✠☞t↕ ❽➟➞✝➝✱❽➀➛✙✁
❞✔✻✠✬✚✦✁� ✂✆☎ ✍✾✂✿✦✠✵✒✬ ✝ ✬★✝✄✂✶☎✳☞✪✥❂☞ ✕ ✂✆☎✖✟☛✥✫✯❅✵✔☞✔✵✒✬ ✵✒✬ ✗✚✂✆✝ ✕ ☎✞✯❁✝ ✬★✥✫✢ ✂ ✓ �❡➛✫✁ ❻✝✡➜❽➀➞✔✢❷➠➡➞✡↕➜➝✯✮
❽➙➛✫✆✍➁➙➞✔✍✑✏✫❿⑥➠ ➞✔✁⑩❽➙➛t➝✝✁✌☎➇➛✙✁✭➝➡❿✍➁✂✢⑩➞✝↕✠✁

σx, σy, τxy

➞✝❿ ✡➜❿✍➝✝✆✍❿⑥➠➡➞ ➛✫✁✂✚ ➛✙✁✖✁➙❻❾➁➀➞
h
➠ ➞

☞t➞✔✢ ➞✝➠ ➞✱✲ ➛✭❽➀➛✙✢✗➛✫✁ ❽➀➛✲➝➡❿★✢■➛ ✚ ❿✍➁✂✴➲❻➡➛ ✁✣✏✝❿✪➠➡↕✠✁ ❽➀➁ ↕✵✷➡❻✱✸ ➠ ➞✔✁❆❻❾➝➡↕ ✄ ❿✍➁✂✢ ➛✙✢ ➛❨➝✱❽➀➛✭➞✝❿
✡➜❿✍➝✝✆✍❿ ➠ ➞ ✢ ➛❨↕ ➞ ➞✔✡➜❽➙❻➡➁➀➞⑩➠➡➞ ☞t➞✔✢ ➞✝➠ ➞ ✝ ✁➙❻✝✚❥➛t➁ ✄ ✸✵☞t↕➜➛ ✢ ☎t➠➡↕ ➞✠✟✽✲ ✁➙➛❨➝➡➠➡❿✲➠➡➛ ✾ ❽➀↕✠✚ ❿✔✁t➂
✥ ✂✆☎✞✝✹☞✪✯ ✦✒✛✔✁ ✄ ➞✔☞❨➛✫✁❖➠➡❿ ➛✙✡ ➛✫✢■➛t➝✱❽➙❿

Nx, Ny

✁➙➛✫✆✝❻➡➝➡➠➡❿❃➞✎✁s➠➡↕➜➁➙➛✙✍✟☎✴➛✫✁ ✝●➛ ✒ ✆✲✢✣☞✪✥✒✱✒✬★✥✫✢✭✬
✛✎✁ ✄ ➞✔☞t➛✙✁❼➠➡❿ ➛✙✡ ➛✫✢■➛t➝✱❽➙❿

Nxy

➂

Nx =
∫ h

2

−h
2

σxdz Ny =
∫ h

2

−h
2

σydz Nxy =
∫ h

2

−h
2

τxydz
✝ ✱✯✻✲✻ ✟

✷ ✫



✾ ✻✠✬✚✦✁� ✂✆☎ ✍✾✂✿✦ ☞✆✦✚✦✿✂✿✗★✯❅☞✔✵✒✂✿✦✆☎✞✝ ✬✠✟ ✏✒✂ ✕ ✂✆☎✁✟☛✥✫✯❅✵✔☞✔✵✒✬ ✵✒✬✠✗✚✂✆✝ ✕ ☎✞✯❁✝ ✬★✥✫✢✭✂ ✓

• ✡☞☛✍✌✏✎☞✑✓✒✕✔✗✖✙✘✛✚✜✒✢✑✤✣✦✥✧✑✓★✩✖✛✪✬✫✭☛✯✮✰☛✱✌✕✲✰✪✳✚✴✔✵✑✶✔✗✖✷✔✗✖✙✘✸☛✍★✹✮✺✌✛✚✜★✩✖✛✪✬✫✭☛✗✻ ✁✣✏✝❿✡❿★✷✯✮
❽➙↕ ➠ ➞✎✁✿➞ ✚ ➞✝➁ ❽➀↕➜➁✉➠ ➞✎✁✿❽➀➛t➝✱✁☞☎✴➛✫✁✔➠➡➛ ☞❨↕✵✁➙➞✔✡✵✞ ➞✎✢ ➛❨➝➲❽➙❿

(τxy, τyz)
✴➲❻➡➛✾➞✎✆✍➛✫✢ ➞✝❿ ✡➜❿✍➝✝✆✍❿

➠➡➞♦➛✫✁✂✚ ➛✙✁✖✁➙❻❾➁➀➞
h
✁➙➛❨➝➡➠➡❿✕❽➟➞✎✢ ✷ ☎✙✢ ☞ ✞ ➞✔✢ ➞✝➠ ➞✔✁✉➠➡➛ ✄ ❿✍➁✂✍➏➞✹☞❨❿✍➁ ❽➀➞✝➝✱❽➀➛ ✚ ❿✍➁✉❻➡➝➡↕➜➠ ➞✝➠➡➛

➠❾➛ ☞❨❿★✢✶✚➡➁➙↕✠✢ ➛❨➝➲❽➙❿➡➂

Vx =
∫ h

2

−h
2

kτxzdz Vy =
∫ h

2

−h
2

kτyzdz
✝ ✱ ✻✲✬✠✟

❿✍➝❾➠➡➛
k

☎❄❻✝✢ ☞t❿✴➛✆✠ ☞❨↕ ➛❨➝➲❽➙➛✢➞✝➠❾❿✝❽➟➞✝➠❾❿ ✚ ➞✝➁➙➞ ☞t❿✝➁➙➁➙↕✠✆✍↕ ➁■➞✔✁ ➠➡↕ ✄ ➛❨➁➙➛❨➝✝✍➏➞✔✁ ➛t➝✱❽➀➁ ➛✒➞⑥➞✫❽➙❻ ➞✔✡
➠➡↕✠✁ ❽➙➁➙↕✵✷❾❻➡↕✵✍✫✏✝❿✕➠➡➛❃❽➀➛❨➝✝✁✣✏✫❿ ➠➡➛✽✟✴↕ ➠➡❿ ✛ ✄ ❿✍➁✖✍t➞ ☞❨❿✍➁ ❽➀➞✝➝✱❽➀➛✾➛●➞❆➠ ➞ ❽➙➛t❿✍➁ ↕ ➞✕➠ ➞ ➛✫✡ ➞✔✁ ❽➙↕✵☞❨↕ ➠ ➞✝➠❾➛✔✻

• ★✼☛✍★✼✖✛✪✬✫✭☛✍✒✹✮✰☛✍✌✩✲✰✪✳✚✴✔✵✑✶✔✗✖✙✔✗✖✙✘✸☛✍★✹✮✺✌✛✚✜★✩✖✢✪✳✫ ☛ ✓ ❿★✁✜✢■❿★✢■➛t➝✱❽➀❿✔✁✄✂ ➛❨❽➙❿✍➁➙➛✙✁
Mx,My

➛●❿ ✢■❿★✢■➛t➝✱❽➀❿ ❽➀❿✍➁✂✍t❿✍➁
Mxy

☞❨❿✍➁➙➁ ➛✫✁✖✚❥❿✍➝➡➠❾➛✫✢ ✛✔✁❼↕➜➝✱❽➀➛✫✆✝➁➀➞✔✍✆☎➇➛✙✁ ➠➡➞✔✁❼❽➙➛t➝✯✮
✁✌☎➇➛✙✁❆➝➡❿✍➁✂✢⑩➞✝↕✠✁

σx, σy

➛✭➠ ➞✔✁✕❽➙➛t➝✝✁✌☎➇➛✙✁■➠❾➛ ☞❨↕✵✁➙➞✔✡✵✞ ➞✎✢ ➛❨➝➲❽➙❿
τxy

✴➲❻➡➛✲➞✫❽➀❻➡➞✔✢❬➝ ➞
☞t➞✔✢ ➞✝➠ ➞

′′α′′
✲✧✢✕❻✝✡➜❽➙↕✵✚✝✡➜↕✵☞t➞✝➠ ➞✔✁ ✚❥➛✫✡ ➞✲➠❾↕✵✁ ❽ ✂✝➝✝☞❨↕ ➞✡➠➡❿ ✚❥❿✍➝✱❽➀❿❏➠➡➛⑩↕➜➝➲❽➙➛✫✆✍➁➙➞✔✍✑✏✫❿❄➞✝❿

✚✱✡ ➞✝➝➡❿✲➠➡➛■➁➙➛ ✄ ➛t➁ ✏❨➝✝☞t↕ ➞✱✲❳❿✝➝➡➠➡➛⑩➛✙✁ ❽➀➞❏➠➡↕✠✁ ❽ ✂✫➝✝☞t↕ ➞ ☞❨❿✍➁➙➁ ➛✫✁✖✚❥❿✍➝➡➠❾➛ ✛
z + f

✻ ✬❳↕✠✁➙↕✵☞t➞ ✮
✢■➛t➝✱❽➙➛✔✲✱➞✔✁✓✆✝➁➀➞✝➝➡➠❾➛ ✔➏➞✎✁

Mx,My,Mxy

☞❨❿★✢ ❿✭✁➙➛t➝❾➠➡❿✾❿★✁ ✢■❿★✢ ➛❨➝✱❽➀❿★✁ ✴➲❻➡➛ ✁ ❻➡➁✖✆✝➛✫✢
➞✫❿✶✁ ➛❃❽➀➁➀➞✫➝✝✁✖✡ ➞✝➠ ➞✝➁❡➞✔✁✿❽➙➛t➝✝✁✌☎➇➛✙✁❼➝❾❿✍➁✖✢ ➞✝↕✵✁✿➞✫❽ ☎✾❿ ✚✝✡ ➞✫➝➡❿❆➠➡➛✾➁➙➛ ✄ ➛t➁ ✏❨➝✝☞t↕ ➞✱✻

Mx =
∫ h

2

−h
2

(z+f)σxdz My =
∫ h

2

−h
2

(z+f)σydz Mxy =
∫ h

2

−h
2

(z+f)τxydz
✝ ✱✯✻ ✯✠✟

✝ ✞✁� � ◗✾❱①❜ ◆✭❭t❘●❧✿❢✾◗ P✡◗ ❜ ❘✾▼❛❚✿❱s❲t❘✾❭ ✝ ✟ ◗✾❱s▼❛◗✾▼❋❱✟✞❊❦✡❲❨❪☞◗
❺ ✁✰✢ ➞✫❽➀➁ ↕ ✔❨➛✫✁✾➠➡➛ ☞❨❿✍➝✱❽➀➁ ↕✵✷➡❻➡↕✠✍✑✏✝❿ ✁✣✏✫❿❄❿★✷❾❽➙↕ ➠ ➞✎✁❊➞➳❽➀➁➀➞✑✟ ☎✫✁♦➠❾❿ ✚➡➁ ❿✯☞❨➛✫✁✖✁ ❿✢➠➡❿ ✤ ✂ ✄ ❀✝✻ ✷ ✾✯✻
� ❿★✢■❿ ☞t↕ ❽➟➞✝➠➡❿ ➞✫➝➲❽➙➛t➁ ↕ ❿✍➁✂✢ ➛❨➝➲❽➙➛✔✲ ➞ ✄ ❿✍➁✂✢✕❻✝✡ ➞✎✍✑✏✝❿ ✷➡➞✔✁➙➛❨↕ ➞ ✮ ✁➙➛❃➛✫✢♥❽➙➁ ✏✙✁ ➠❾➛✫✁✖✡➜❿✯☞t➞✔✢■➛t➝✱❽➀❿★✁

{u[x, y, z], v[x, y, z], w[x, y, z]}
✝ ✱✯✻✢❞ ✿✠✟

➞✫❽➙➁➀➞✑✟ ☎✙✁❼➠❾❿★✁ ✴➲❻ ➞✝↕✵✁✘✁✖✏✝❿ ❿★✷❾❽➀↕➜➠ ➞✔✁❡➞✔✁❡➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✆☎➇➛✙✁

✷✔❀



εx = ∂u[x,y,z]
∂x

εy = ∂v[x,y,z]
∂y

εz = ∂w[x,y,z]
∂z

γxy =
(

∂u[x,y,z]
∂y

+ ∂v[x,y,z]
∂x

)

γyz =
(

∂w[x,y,z]
∂y

+ ∂v[x,y,z]
∂z

)

γxz =
(

∂u[x,y,z]
∂z

+ ∂w[x,y,z]
∂x

)

✝ ✱✯✻✢❞❳❞✂✟

❁ ❻✱✚ ❿✍➝❾➠➡❿ ✴➲❻➡➛❄➞ ✚✝✡ ➞✔☞➏➞✙➞✝➝ ➞✎✡ ↕✵✁➙➞✝➠ ➞✒➛✫✁ ❽ � ✁ ❻ ✁ ➛t↕ ❽➟➞✙➞❯➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁ ✠ ☞❨❽✖✸✵☞❨↕ ❿★✁ ✝ ✟✴↕➜➁ ✮
❽➙❻ ➞✝↕✵✁ ✟✽✲❛➠➡➛ ✢ ❿✴➠➡❿✲➞❏➝ ✏✫❿❏➠➡➛✙✁➙➁ ➛✫✁✖✚❥➛t↕ ❽➟➞✝➁●➝➡➛✙✢ ➞ ✁➙❻➡➞❏➁➙➛✙✁ ❽➙➁➙↕✵✍✫✏✝❿ ✆✝➛t❿★✢ ☎❨❽➙➁➙↕✵☞t➞✭➝➡➛✫✢ ➞✔✁
✁ ❻ ➞✔✁✭☞❨❿✍➝✎✠ ✆✝❻➡➁➀➞✔✍✫✏✝❿✼➠➡➛✰☞➏➞✝➁ ➁➙➛✙✆✱➞✔✢■➛t➝✱❽➀❿✝✲ ✚❥❿➇➠➡➛ ✮ ✁ ➛✰✁ ↕✵✢ ✷❥❿★✡ ↕✑✔➏➞✝➁✔➛✙✁ ❽➀➞ ✟✫➞✝➁➙↕ ➞✔✍✑✏✝❿ ✠ ☞❵❽✣✸✵☞❨↕ ➞
➠➡➛ ➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿ ➞➳❽➀➁➀➞✑✟ ☎✫✁✔➠➡❿❆❻✝✁ ❿ ➠➡❿ ✁✖✸✠✢ ✷ ❿✔✡ ❿

δ
➠➡➛✜✢■❿➇➠❾❿✹✴➲❻➡➛❃❿★✁✔➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁

✠ ☞❵❽✣✸✠☞t↕ ❿✔✁ ✁✣✏✝❿ ➠ ➞✝➠❾❿★✁✘✚ ❿✍➁

{δu[x, y, z], δv[x, y, z], δw[x, y, z]}
✝ ✱✯✻✢❞ ✾ ✟

❿★✷➇❽➀➛t➝❾➠➡❿✎✮ ✁ ➛●➞✔✁❡➠➡➛ ✄ ❿✍➁✂✢⑩➞✎✍✟☎✴➛✫✁ ✟✴↕ ➁ ❽➀❻ ➞✝↕✠✁✿➠ ➞✝➠➡➞✔✁✘✚ ❿✍➁

{δεx, δεy, δεz, δγxy, δγyz, δγxz}
✝ ✱✯✻✢❞ ✫ ✟

❁ ❻✱✷✝✁ ❽➙↕➜❽➀❻❾↕ ➝➡➠➡❿ ✮ ✁➙➛✾➞✎✁ ➛✙✴➲❻ ➞✔✍✟☎✴➛✫✁ ✱✯✻✢❞❳❞✾➛✫✢ ✱ ✻ ✱✕❿★✷❾❽ ✏✫✢ ✮ ✁ ➛

σx = −
[

Exυzx∂w[x,y,z]
∂z

+ Exυyxυzy∂w[x,y,z]
∂z

+ Exυyx∂v[x,y,z]
∂y

+Exυyzυzx∂v[x,y,z]
∂y

+ Ex∂u[x,y,z]
∂x

− Exυyzυzy∂u[x,y,z]
∂x

]

/∆

σy = −
[

Eyυzy∂w[x,y,z]
∂z

+ Eyυxyυzx∂w[x,y,z]
∂z

+ Eyυxy∂u[x,y,z]
∂x

+Eyυxzυzy∂u[x,y,z]
∂x

+ Ey∂v[x,y,z]
∂y

− Eyυxzυzx∂v[x,y,z]
∂y

]

/∆

σz = −
[

Ez

(

υxz∂u[x,y,z]
∂x

+ υxyυyz∂u[x,y,z]
∂x

+ υyz∂v[x,y,z]
∂y

+υxzυyx∂v[x,y,z]
∂y

+ ∂w[x,y,z]
∂z

− υxyυyx∂w[x,y,z]
∂z

)]

/∆

τxy = Gxy

[

∂u[x,y,z]
∂y

+ ∂v[x,y,z]
∂x

]

τyz = Gyz

[

∂v[x,y,z]
∂z

+ ∂w[x,y,z]
∂y

]

τzx = Gzx

[

∂u[x,y,z]
∂z

+ ∂w[x,y,z]
∂x

]

✝ ✱✯✻✢❞✑❀ ✟

❿✍➝❾➠➡➛❯❿✰❽➀➛❨➁✖✢■❿
∆

☎✙❿ ✢ ➛✙✁✖✢■❿✯➠ ➞✏➛✫✴➲❻ ➞✔✍✫✏✝❿ ✱ ✻ ❀✝✻ � ➛❨➛✫✁✂☞t➁➙➛✽✟✍➛❨➝➡➠➡❿ ❀✝✻ ✷ ✾ ☞t❿★✢ ❿★✁
➠➡➛✙✁✖✡➜❿✯☞t➞✔✢ ➛❨➝✱❽➀❿★✁❡➞✝➠❾❿✝❽➟➞✝➠❾❿★✁✘✚ ➛✙✡ ➞ ✄ ❿✍➁✂✢✕❻✝✡ ➞✎✍✑✏✝❿

wint = δεxσx + δεyσy + δεzσz + 2δεxyτxy + 2δεxzτxz + 2δεyzτyz

✝ ✱✯✻✢❞✼✱ ✟

✷ ✱



➠➡➛❨➁➙↕ ✟✝➞✫➝➡➠➡❿✎✮ ✁➙➛✮✱✯✻✢❞✼✱ ☞t❿★✢■❿ ✁➙↕✠✢ ✷ ❿✔✡ ↕ ✔t➞✝➠➡❿♦➞✔✷ ➞✝↕ ✝❾❿
∂PTV

∂̟i∂ϕj

✁ ➛t➝➡➠➡❿

̟i ∈ {ui, vi, wi}

❿✍➝❾➠➡➛
u1 = ux

✲
u2 = uy

✲
u3 = uz

✝➣❿★✁ ✁➙❻✱✷✯✮ ✸➜➝➡➠➡↕✵☞❨➛✫✁✿↕➜➝➡➠➡↕✠☞➏➞✔✢ ✴➲❻➡➛✾❿❆➠➡➛✫✁✂✡ ❿ ☞➏➞✔✢■➛t➝✱❽➀❿
❻✼➛✙✁ ❽✏�✹✁➙➛❨➝➡➠➡❿❆➠➡➛❨➁➙↕✠✟✫➞✝➠❾❿♦➛✫✢ ➁➙➛✙✡ ➞✔✍✫✏✝❿ ✛✎✁✒✟✫➞✝➁➙↕ �✑✟✍➛t↕✠✁

x, y, z
➁ ➛✫✁✖✚❥➛✫☞❵❽➀↕ ✟✝➞✎✢ ➛❨➝➲❽➙➛✕✟ ✻➩❺ ➝ ➞ ✮

✡➜❿★✆✱➞✔✢■➛t➝✱❽➀➛✭✚➡➁➙❿ ☞t➛❨➠➡➛✽✮ ✁➙➛ ✚ ➞✝➁➀➞
vi, wi

✻ ↔ ☞➏➞✔✢✶✚❥❿
ϕ

☎✾➠ ➞✝➠❾❿✶✚❥❿✍➁

ϕi ∈ {δui, δvi, δwi}

✁ ➛✫✆✍❻➡↕➜➝➡➠➡❿✎✮ ✁➙➛❯❿ ✢■➛✫✁✖✢■❿✥➁➙➞✔☞t↕➜❿✯☞✙✸ ➝➡↕➜❿➋➠➡➛✫✁✂☞t➁ ↕➜❽➀❿✥➝ ➞ ✄ ➁➙➞✔✁➙➛ ➞✔☞t↕✠✢⑩➞✱✻ � ❿✔✢ ✷➡↕ ➝➡➞✝➝➡➠➡❿✎✮ ✁➙➛
∂̟i∂ϕj

☞t❿★✢
i, j

✟✫➞✝➁➙↕ ➞✝➝➡➠➡❿ ↕ ➝➡➠➡➛✙✚ ➛❨➝➡➠➡➛❨➝➲❽➙➛✫✢■➛t➝✱❽➀➛❆➠❾➛✄❞❆➞ ✫ ✲➎❽➀➛✙✢ ✮ ✁➙➛❆➞✔✁❼➝➡❿ ✟✍➛ ✢ ➞ ✮
❽➙➁➙↕ ✔❨➛✫✁✔➠➡➛✙✁✖☞❨➁➙↕➜❽➀➞✔✁ ➞✔✷ ➞✝↕ ✝➇❿

✷✏✷



Kxx =







−(Ex−Exυyzυzy)
∆

0 0
0 Gxy 0
0 0 Gzx







Kxy =







0 −(Exυyx+Exυyzυzx)
∆

0
Gxy 0 0
0 0 0







Kxz =







0 0 −(Exυzx+Exυyxυzy)
∆

0 0 0
Gzx 0 0







Kyx =







0 Gxy 0
−(Eyυxy+Eyυxzυzy)

∆
0 0

0 0 0







Kzz =







Gzx 0 0
0 Gyz 0

0 0 −(Ez−Ezυxyυyx)
∆







Kzx =







0 0 Gzx

0 0 0
−Ez(υxz+υxyυyz)

∆
0 0







Kyz =







0 0 0

0 0 −(Eyυzy+Eyυxyυzx)
∆

0 Gyz 0







Kyy =







Gxy 0 0

0 −(Ey−Eyυxzυzx)
∆

0
0 0 Gyz







Kzy =







0 0 0
0 0 Gyz

0 −Ez(υyz+υxzυyx)
∆

0







✝ ✱✯✻✢❞✸✷✠✟

✷ ✻



� ✁✄✂✆☎✞✝ ✁✠✟☛✡ �

� ✟ ✁ ✆ ✆ ✂ ✆ ✂☎✝✠✟ ☞ ✍ ✟ ✂✆✁ ✟✝✆ ✍ ✡ ✁✞✄ ✟ ✟ ✂ ☞ ✝ ✂

✡✞✝ ✟ ✂ ☞ ✝ ✁ ✍ ✡

↔ ✚➡➁➙❿★✆✝➁➀➞✔✢ ➞❄➠➡➛✙✁➙➛t➝ ✟✝❿★✡✠✟✴↕ ➠❾❿✝✲ ✄ ❿✍↕☞↕✵✢✶✚✝✡ ➛✙✢ ➛❨➝➲❽➀➞✝➠➡❿✢➝➲❻✝✢✗➞✔✢ ✷➡↕➜➛t➝✱❽➀➛ ☞❨❿★✢ ✚❾❻❾❽➟➞✔☞❨↕ ❿✍➝➡➞✔✡
➠➡➛❨➝➡❿★✢■↕ ➝ ➞✫➠➡❿ ✤✓✒ ✲➑➛✙✢❷➠➡➛✙✁➙➛❨➝ ✟✝❿★✡✠✟✴↕✠✢ ➛❨➝➲❽➙❿✡➝➡❿ ✡ ➞✔✷❥❿✍➁➙➞✫❽✣✦✍➁ ↕ ❿■➠➡➛ ✢■➛✫☞ ✂✫➝➡↕✵☞t➞ ☞t❿★✢✶✚➡❻❾❽➀➞ ✮
☞❨↕ ❿✍➝ ➞✎✡ ✝ ✹❛➞✔✷❂✗❏➛✙☞✕✟ ➠➡❿♦➠➡➛✙✚ ➞✝➁ ❽➟➞✔✢■➛t➝✱❽➀❿❊➠➡➛ ➛✙✁ ❽➙➁➙❻❾❽➙❻➡➁➀➞✔✁✙✲❾➝ ➞ ✡❼➝➡↕ ✟✍➛❨➁✖✁➙↕➜➠ ➞✝➠➡➛❼➠➡➛ � ➞✔✢ ✚❾↕ ✮
➝ ➞✎✁ ✝ ✡ ➝➡↕✵☞t➞✔✢ ✚ ✟✽✲✔✁ ❿★✷■➞✭✁➙❻✱✚ ➛❨➁✂✟✴↕✵✁✖✏✝❿❃➠➡❿✜✚➡➁ ❿ ✄ ➛✫✁✂✁➙❿✍➁ ✮ ➠➡❿✍❻➇❽➀❿✍➁✓✤✓✞➡↕✠✡ ↕✠✚✝✚ ➛ �❡➛✫✢ ✒✹❄☞➛t➁ ➝ ➞✝➁ ➠
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☞ ➛✫✁ ❽➀➞ ☞✫✡ ➞✎✁✖✁➙➛ ✁✖✏✝❿➋➛t➝✱☞t❿✍➝✱❽➀➁➙➞✝➠➡❿✱➞✎✁ ✡ ↕✵✁ ❽➟➞✔✁ ☞t❿✍➝✱❽➀➛❨➝➡➠➡❿✰➠➡↕ ✄ ➛t➁➙➛❨➝✱❽➀➛✫✁✼❽➙↕✵✚❥❿★✁✼➠➡➛✒❿✔✷ ✁ ➛❨❽➙❿★✁✫✲
☞❨❿★✢ ❿■➝✝✦★✁ ✆✍➛t❿✔✢ ☎❵❽➀➁➙↕✠☞t❿★✁✙✲➎➛✫✡ ➛✙✢ ➛❨➝✱❽➀❿★✁ ✆✍➛t❿✔✢ ☎❵❽➀➁➙↕✠☞t❿★✁✙✲➎➛ ✟✁�✝➁ ↕ ❿★✁❡❿✍❻❾❽➙➁➙❿★✁✙✻ ✕ ➛✫✁ ❽➀➛ ✢■❿➇➠❾❿✝✲
✚❥❿➇➠❾➛✽✮ ✁ ➛ ☞t❿✝➝✝✁ ❽➙➁➙❻➡↕➜➁ ✚ ➛❨➁ ✄ ➛t↕ ❽➟➞✔✢■➛t➝✱❽➙➛✭➞ ✢⑩➞✎✡✵✞ ➞ ✆✍➛t❿★✢ ☎❨❽➙➁➙↕✠☞➏➞❄➝➡➛✙☞t➛✙✁✏�✝➁ ↕ ➞ ✚ ➞✝➁➙➞✒➞✒➞✔✚✝✡ ↕ ✮
☞t➞✔✍✑✏✝❿➋➠❾❿ ✢ ☎❨❽➙❿➇➠❾❿⑥➠➡❿★✁✭➛✙✡ ➛✫✢■➛t➝✱❽➙❿★✁✗✠ ➝➡↕ ❽➀❿★✁✼➛ ☞❨❿✍➝✝✁ ➛✫✴➲❻➡➛t➝✱❽➙➛✫✢■➛t➝✱❽➀➛✎✲✾➞ ✁ ❿★✡ ❻✱✍✑✏✝❿➋➠➡❿
✚➡➁ ❿★✷✝✡➜➛✫✢ ➞✕➛✫✢ ✴➲❻➡➛✙✁ ❽ ✏✫❿✝✻
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☞❨↕ ❿✍➝ ➞✫↕✵✁✫✲❂☞❨❿★✢ ❿ ☞t❿✍➝❾➛✫☞❨❽➙↕✠✟✴↕ ➠➡➞✝➠➡➛✫✁✙✲➑➛✙✡ ➛✫✢■➛t➝✱❽➙❿★✁✫✲ ✷ ➛✙✢ ☞t❿★✢■❿✼➞✔✡✠✆✍❻✝✢ ➞✔✁ ✟✫➞✝➁➙↕ � ✟✝➛t↕✠✁ ☞❨❿★✢ ❿
✽●✸✏✝ ✟✭➃➲➈❥❀✐➃✧✒➏➥ ✍✴➢ ✻✼➃➲➢ ➃➲➌➍➃✴➄✍✜✍➃ ✂✆☎ ✝ ✟✫➞✝➁➙↕ � ✟✝➛✫✡ ✚❥❿✍➝✱❽➀➛❨↕ ➁ ❿ ✴✴❻❾➛❏➞✎✚ ❿✍➝✱❽➀➞ ✚ ➞✝➁➀➞✪➞ ✢ ➞ ✮
✡✠✞ ➞✜✆✍➛t❿★✢ ☎❨❽➙➁➙↕✠☞➏➞✠✟ ✆ ✽❊✸✞✝ ➯❆➦➣➈✩✜ ✑✒➢ ❉❝➈❥➦➧➒❛➆➉→➧➈❥➄❖➯❆➦➧➈✩✜ ✑ ✝ ✆✍❻ ➞✝➁ ➠ ➞✾➞ ✁ ❿★✡ ❻✝✍✫✏✝❿✾➛✫✢ ✷✱✡ ❿ ☞t❿★✁ ✟ ✆
✽●✸✏✝➩➊✔❀✐➅➇➆➉➌➳→ ✂ ➢ ❉➑➈ ➦➧➒❋➆➍→➧➈❥➄ ✝ ✟✍➛❵❽➀❿✍➁ ☞❨❿★✢✜➞ ✁➙❿★✡➜❻✝✍✑✏✫❿✙❿✔✷❾❽➀↕➜➠ ➞✒➞✫❽➀➁➙➞✑✟ ☎✫✁ ➠➡❿ ✢ ☎❨❽➀❿✴➠➡❿
➠➡➛■➛✫✡➜➛✫✢■➛t➝✱❽➀❿✔✁✖✠➡➝➡↕➜❽➙❿★✁ ✟ ✆ ✽❊✸✞✝ ➯❆➦➣➈✩✜ ✑✣➢ ➯❆➦➧➈✩✜ ✑ ✝➧➠➡↕ ✟✴↕✵✁✣✏✫❿✲➛✙✢ ✷✝✡ ❿ ☞t❿✔✁●➠➡➞ ✢ ➞✫❽➀➁ ↕ ✔❆➠➡➛
➁ ↕✵✆✍↕➜➠➡➛ ✔ ✟ ✆ ✽❊✸✞✝ ✺■➐s➫ ✴✕➥➑➒s➄ ✑ �●➃✛✜✝➆➏➈❥➌✄✂✡➤➣➤➧➤✆☎ ✝➧➝❾➛✫✁ ❽➀➞✰✟✫➞✝➁➙↕ �✑✟✍➛✫✡ ✚❥❿➇➠➡➛ ✁➙➛❨➁✿➛✫✢✹✷➡❻❾❽➀↕➜➠➡❿★✁
✟✁�✝➁ ↕ ❿★✁✾❽➀↕✠✚ ❿★✁●➠➡➛✼❿✔✷ ✁ ➛❨❽➙❿ ✴✴❻❾➛✼↕ ➁✖✏✝❿❄➛✙✁✖✚❥➛✫☞t↕✍✠ ☞➏➞✫➁✕❿❄❽➀↕✠✚ ❿✲➠➡➛✼➛✙✡ ➛✙✢ ➛❨➝➲❽➙❿★✁✹☞❨❿✍➝✱❽➀↕➜➠➡❿★✁✕➝ ➞
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❿✍➝➡➞✝↕✵✁✙✲ ✒❨➆➏➅❾➆➍→✓✜●→➧➄ ➆ ✖❝❅ ➌➳➐❖➃➲➌ ✲ ☎ ❻✝✢✐↕ ➝✱❽➙➛t↕ ➁ ❿ ✴➲❻➡➛✉↕ ➠➡➛❨➝✱❽➀↕✡✠✝☞➏➞ ➞❼❿✍➁ ➠➡➛✫✢✐➠➡➛ ↕ ➝✱❽➀➛❨➁✖✚❥❿★✡ ➞✎✍✑✏✝❿
➠➡❿ ➛✙✡ ➛✫✢■➛t➝✱❽➙❿✝✻
↔ ✁ ➛✫✡➜➛✫✢■➛t➝✱❽➀❿★✁ ☞❨❿★✢✶✚➡❻❾❽➟➞✎☞t↕ ❿✝➝ ➞✝↕✵✁✹☞➏➞✔✡✠☞t❻✝✡ ➞✔✢❬➞✎✁ ✄ ❻❾➝✝✍✟☎✴➛✫✁ ➠➡➛ ✄ ❿✍➁✂✢⑩➞✢➛✲➞✔✁ ↕ ➝✱❽➙➛✫✆✍➁➙➞✔✢
✁ ❿★✷➡➁➙➛✾❿ ➛✫✡➜➛✫✢■➛t➝✱❽➀❿ ✆✍➛❨❿★✢ ☎❨❽➀➁ ↕✵☞❨❿❆➠➡➛ ✄ ❿✍➁✂✢⑩➞✫➠➡❿✝✻
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➁ ↕✠✟✫➞✔✢ ☞✫✡ ➞✔✁✖✁ ➛✫✁ ☞t❿★✢■❿ ✽●✸✏✝ ✴♦➈❥➫ ➨❖✷❃➦ ☞ ➐ ✝➧➛✫✡➜➛✫✢■➛t➝✱❽➀❿ ☞t❿★✢✶✚➡❻❾❽➀➞✔☞t↕➜❿✍➝ ➞✔✡✾❻➡➝❾↕ ➠➡↕✠✢ ➛❨➝✯✮
✁ ↕ ❿✍➝ ➞✎✡ ✟✽✲ ✽❊✸✞✝ ✴❊➈❥➫ ✷❃➦➧✽ ✑ ➐ ✝➧➛✫✡➜➛✫✢■➛t➝✱❽➀❿ ☞t❿★✢✶✚➡❻❾❽➀➞✔☞t↕➜❿✍➝ ➞✔✡✔❽➀➁ ↕ ➞✝➝✱✆✍❻✝✡ ➞✫➁✶✷❾↕ ➠➡↕✠✢ ➛❨➝✝✁➙↕➜❿✎✮
➝ ➞✎✡ ✟✽✲ ✽●✸✏✝ ✴❊➈ ➫❯➨s✷❃➦ � ✑ ➐ ✝➧➛✙✡ ➛✫✢■➛t➝✱❽➙❿ ☞t❿★✢✶✚➡❻❾❽➀➞✔☞t↕➜❿✍➝ ➞✔✡✘✴➲❻ ➞✝➠❾➁➙↕✵✡ ➞✫❽➀➛❨➁➙❿ ✷➡↕ ➠➡↕✠✢ ➛❨➝✝✁➙↕ ✮
❿✍➝➡➞✔✡ ✟ ✲ ✽●✸✏✝ ✴❊➈ ➫❯➨s✷❃➦➣✸●➌ ✤ ➐ ✝➧➛✙✡ ➛✙✢ ➛❨➝➲❽➙❿ ☞t❿★✢✶✚➡❻❾❽➀➞✔☞t↕➜❿✍➝ ➞✔✡ ✚➡➁ ↕✵✁✖✢ �✫❽➙↕✵☞t❿✏❽➀➁ ↕ ➠➡↕✠✢ ➛❨➝✯✮
✁ ↕ ❿✍➝ ➞✎✡ ✟✽✲ ✽❊✸✞✝ ✴❊➈❥➫ ➨❖✷❃➦➧✸❊→ ✤ ➐ ✝➧➛✙✡ ➛✫✢■➛t➝✱❽➙❿ ☞❨❿★✢ ✚❾❻❾❽➟➞✔☞❨↕ ❿✍➝➡➞✔✡✜✚➡↕ ➁➙➞✔✢■↕ ➠ ➞✔✡ ❽➀➁ ↕ ➠➡↕✠✢ ➛❨➝✯✮
✁ ↕ ❿✍➝ ➞✎✡ ✟✽✲ ✽❊✸✞✝ ✴❊➈❥➫ ➨s✷ ✌➑✽ ✤ ➐ ✝➧➛✫✡➜➛✫✢■➛t➝✱❽➀❿ ☞❨❿★✢ ✚❾❻❾❽➟➞✔☞❨↕ ❿✍➝➡➞✔✡➜❽➙➁➙↕ ➞✫➝✝✆✍❻✝✡ ➞✝➁✹❽➀➁ ↕ ➠➡↕✠✢ ➛❨➝✝✁➙↕ ✮
❿✍➝➡➞✔✡ ✟ ✲ ✽●✸✏✝ ✴♦➈❥➫ ➨❖✷❃➦ ✴ ✤ ➐ ✝➣➛✫✡➜➛✫✢■➛t➝✱❽➀❿ ☞t❿★✢✶✚➡❻❾❽➀➞✔☞t↕➜❿✍➝ ➞✔✡✓☞ ✁ ✷➡↕✵☞❨❿❏❽➙➁➙↕ ➠❾↕✵✢■➛t➝✝✁ ↕ ❿✍➝ ➞✎✡ ✟✽✲
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❞❳❞✔✻✘✟✴↕➜➁ ❽➀❻➡➞✔✡✔↕ ➝✱❽ ☞ ❁ ❿★✡➜❻❾❽➀↕➜❿✍➝ ✄ ➞✝➁➙↕ ➞✔✷✝✡➜➛✫✁✕✝➣↕ ➝✱❽ ✟✫➞✝➁ ✟ ✆ ➁➙➛❨❽➙❿✍➁➙➝➡➞ ➞ ✴➲❻ ➞✫➝➲❽➙↕ ➠ ➞✫➠➡➛❄➠➡➛✲➛✫✡➜➛✽✮
✢■➛t➝✱❽➙❿★✁ ✴➲❻➡➛✡➞✪➞✔✍✑✏✝❿ ✁ ❿★✡ ↕✠☞t↕ ❽➟➞✝➠ ➞ ✚ ➞✝➁➀➞ ☞✟�✔✡✵☞❨❻✝✡ ❿❄➠➡➛✙✟✝➛✲❽➙➛t➁ ✝ ☞t➞✝➁➀➞✎☞❨❽➀➛❨➁➙↕✑✔➏➞✝➝➡➠❾❿✎✮ ➞
☞❨❿★✢■❿❆❻✝✢♥➛✫✁✂☞➏➞✔✡ ➞✝➁✫✲ ❿✝❻✲❻✱✢❴❽➀➛❨➝✝✁➙❿✍➁✘☞❨❿★✢ ✚✱✡ ➛❨❽➙❿✝✲❾➛❵❽✣☞ ✟✽✻

❞ ✾ ✻✘✟✴↕➜➁ ❽➀❻➡➞✔✡❝↕ ➝✱❽ ☞ ✬ ✡ ❻ ✝➇➛✙✁✕✝ ✟ ✁ ➁➙➛❨❽➙❻➡➁➙➝ ✫ ✆✄✂✱➂➩➁➙➛❵❽➀❿✍➁ ➝ ➞❆❿✶✟✫➞✔✡➜❿✍➁ ✫ ✻
❞ ✫ ✻✘✟✴↕➜➁ ❽➀❻➡➞✔✡✎✟✝❿✍↕ ➠ ❁ ❿✔✡ ❻❾❽➙↕ ❿✍➝ ✝ ✂✘✤✓✒ ✄ ➛✫☞☎✄ � ✄➩❺ ✹✝✆ � ❁ ❿✔✡✳✲ ✂✘✤✓✒ ✬✓✗❄➞✫❽➙➁➙↕ ✝ � ✕ ❁ ❿✔✡✳✲ ✂✘✤✓✒ ✬❃✮

✗❏➞✫❽➀➁ ↕✍✝ �✾➞ ✝➇➛✫✁✙✲✝↕➜➝➲❽❃✟✫➞✝➁✫✲ ✂✘✤✓✒ ✄ ➛✫☞ ✄ � ✄➩❺ ✹✝✆ � ❁ ❿★✡ ❿✝❻❾❽ ✟ ➂➑❽➀❿✴➠➡❿✭✚❥❿✍➝✱❽➀❿ ☞t❿✝➝➲❽➙↕ ➠➡❿
➝❾❿❆➛✫✡ ➛✙✢ ➛❨➝✱❽➀❿ ✢■➛✫✁ ❽➀➁➙➛ ☎✭✢⑩➞✔✚❥➛➏➞✫➠➡❿ ✚ ➞✝➁➙➞♦❻✝✢ ✚❥❿✍➝✱❽➀❿❆➝❾❿❆➛✫✡ ➛✙✢ ➛❨➝✱❽➀❿❆➠➡➛ ✄ ❿✍➁✖✢ ➞✝➠➡❿
☞❨❿★✢✶✚➡❻❾❽➟➞✎☞t↕ ❿✝➝ ➞✔✡✳✻ ↔ ✢ ☎❵❽➀❿✴➠➡❿ ❁ ❿★✡ ❻➇❽➀↕ ❿✝➝ ➠ ➞✰☞✫✡ ➞✎✁✖✁➙➛ ✂✘✤ ✒ ✍ ➝✱❽➙➛t➁✖✚❥❿★✡ ➞✫❽➀➛❨➠ ✄✓✡ ➛✫✢■➛t➝✱❽
✝➧➞✔☞t➛✙✁✖✁➙➞✝➠➡❿ ✚ ❿✝➁✼➛✒➠➡➛t➁ ↕✠✟✫➞✝➠➡❿➋➠➡➞ ☞✫✡ ➞✎✁✖✁➙➛ ✂✘✤✓✒ � ❿★✢✶✚ ✄✓✡ ✟■➁➙➛✫☞❨➛✫✷❥➛✒❿★✁ ✚ ➞✝➁ ✂✔✢■➛✽✮
❽➙➁➙❿★✁☎✴ ✁➙↕✓✝ ✴➲❻➡➛ ✁ ➛ ➁➙➛ ✄ ➛t➁ ➛✹➞✝❿ ✚❥❿✍➝✱❽➀❿❊➠ ➞✹✢ ➞✔✡✵✞➡➞✌☞❨❿★✢✶✚➡❻❾❽➟➞✎☞t↕ ❿✝➝ ➞✔✡➎➠➡➛ ✄ ❿✝➁✖✢ ➞✝➠ ➞✠✟ ✲✴❿
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➝ ✁ ✢■➛t➁ ❿⑩➁ ➛✫✚➡➁ ➛✫✁➙➛❨➝✱❽➟➞✝➠➡❿ ✚ ❿✍➁✘✟✫➞✝➁ ✝➧➁➙➛✙✚➡➁➙➛✙✁➙➛❨➝➲❽➀➞⑩❿ ❽➙↕✵✚❥❿ ➠❾➛✰✁ ❿★✡ ↕✠☞t↕➜❽➀➞✔✍✑✏✫❿✶☞❨❻ ✁ ❿⑩➁ ➛✽✮
✁ ❻✝✡➜❽➀➞✝➠➡❿✰✁➙➛ ✚➡➁ ➛❨❽➙➛t➝➡➠➡➛✜✚❥❿★✁ ✮ ✚➡➁ ❿✯☞❨➛✫✁✖✁➙➞✝➁ ✟ ➛✹❿✹✚➡➞✝➁ ✂✔✢■➛❨❽➙➁➙❿ ❁ ❿★✡ ✝ ✴➲❻➡➛✜☞t❿✝➁➙➁➙➛✙✁✖✚❥❿✍➝➡➠➡➛
➞✫❿✢➁➙➛❵❽➀❿✍➁ ➝➡❿✒➠ ➞ ✁➙❿✔✡ ❻✝✍✫✏✝❿ ✟✽✻✒❺ ✁➙❿★✡➜❻✝✍✑✏✝❿❄➁➙➛ ✄ ➛❨➁➙↕➜➠ ➞ ☞t❿✍➁ ➁➙➛✙✁✖✚❥❿✍➝➡➠➡➛ ✛ ✁ ❿★✡ ❻✱✍✑✏✝❿✒➠➡❿
✢ ☎❨❽➙❿➇➠❾❿✼➠➡➛ ➛✫✡➜➛✫✢■➛t➝✱❽➀❿★✁ ✠➡➝➡↕➜❽➙❿★✁ ✝➧❿✔✷❾❽➀↕➜➠ ➞✭➞✫❽➀➁➙➞✑✟ ☎✫✁✾➠➡❿ ✤❃✻ ✂✜✻ ✄ ✻ ✟ ➠ ➞✝➠ ➞ ✚❥➛✫✡➜❿ ✁➙❿✎✮
✢ ➞✫❽✖✦✍➁➙↕➜❿

∑

xiψi(qsi) = Sol
✲✓✝➧❿✍➝❾➠➡➛ ➞ ✟✫➞✝➁➙↕ �✑✟✍➛✫✡

xi

☞❨❿✍➁➙➁ ➛✫✁✂✚ ❿✍➝❾➠➡➛ ➞✝❿★✁❼➠➡➛✫✁✂✡ ❿✎✮
☞t➞✔✢■➛t➝✱❽➀❿★✁✘✢ ➞✫❽➀➛❨➁➙↕ ➞✝↕✵✁ ✟✽✻ ↔ ✢ ☎❵❽➀❿✴➠➡❿ ❁ ❿★✡➜❻❾❽➀↕➜❿✍➝✭➠ ➞ ☞✫✡ ➞✔✁✖✁ ➛ ✂✘✤✓✒ ✍ ➝✱❽➀➛❨➁✖✚❥❿★✡ ➞✫❽➙➛t➠ ✄ ✮
✡➜➛✫✢■➛t➝✱❽❼➁➙➛✫☞❨❻✝✚❥➛t➁➀➞✼➛❨➝✱❽ ✏✝❿✭➞ ✁➙❿★✡➜❻✝✍✑✏✝❿ ☞➏➞✔✡✠☞t❻✝✡ ➞✝➠ ➞ ➝➡❿★✁✭✟✝➛❨❽➀❿✝➁➙➛✫✁❃❻❄➛♦➠➡❻ ✝➣❿✍➝➡➠➡➛❊❻
➁ ➛✫✚➡➁ ➛✫✁ ➛t➝✱❽➟➞■➞✕➁➙➛✙☞t❻✝✚❥➛t➁➙➞✔✍✑✏✝❿❆➠➡➞✹✟✝➞✫➁➙↕ �✑✟✝➛✫✡ ❁ ❿✔✡✳✲✴➛t➝✝✴ ✴➲❻ ➞✝➝✱❽➀❿✶✴➲❻➡➛❃➠➡❻✡➁➙➛✙✚➡➁➙➛✙✁➙➛❨➝➲❽➀➞
➞✭➁ ➛✫☞t❻✱✚ ➛❨➁➀➞✔✍✫✏✝❿❄➠ ➞ ✟✫➞✝➁➙↕ �✑✟✍➛✫✡ ✕ ❁ ❿★✡ ✟ ✻ ☞❼❿ ✚ ✦✔✁ ✮ ✚❾➁➙❿ ☞t➛✫✁✂✁➀➞✔✢■➛t➝✱❽➙❿❄➠ ➞ ✁➙❿★✡➜❻✝✍✑✏✫❿✲❿
➛✙✡ ➛✙✢ ➛❨➝➲❽➙❿ ☞t❿★✢✶✚➡❻❾❽➀➞✔☞t↕➜❿✍➝ ➞✔✡❃☞ ✞ ➞✔✢ ➞✼❿ ✢ ☎❵❽➀❿✴➠➡❿ ❁ ❿✔✡ ❻❾❽➙↕ ❿✍➝✢➠❾❿ ✢⑩➞✫❽➙➛t➁ ↕ ➞✔✡ ✝➧➠➡➛✙✁ ❽➀➞
✟✝➛ ✔●➠ ➞ ☞✙✡ ➞✔✁✂✁➙➛ ✂✘✤✓✒ ✗❄➞✫❽ ↔ ➁ ❽✣✞➡❿✝❽➙➁➙❿★✚❾↕✵☞✕✟ ✲✝☞t❻✂✁➙➞ ✠ ➝ ➞✎✡ ↕ ➠➡➞✝➠➡➛ ☎●❿ ☞✟�✔✡✵☞❨❻✝✡ ❿ ➠ ➞✔✁ ✟✫➞ ✮
➁ ↕ �✑✟✍➛❨↕✵✁ ✚ ✦★✁ ✮ ✚➡➁➙❿ ☞t➛✙✁✖✁➙➞✝➠ ➞✔✁✘☞t❿✔✢ ❿ ➠➡➛✙✁✖✡ ❿ ☞➏➞✎✢ ➛❨➝➲❽➙❿★✁✫✲➡❽➙➛t➝✝✁✌☎➇➛✙✁✫✲ ➛❵❽✣☞✔✻
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�❃❻✁�❡➛☛✝➡➞✎☞❨❽✑✲ ✂✘✤✓✒ ✬✓✗❄➞✫❽➙➁➙↕ ✝ �❃➠➡❻✁�❡➛ ✝❾➞✔☞❵❽✑✲ ✂✘✤ ✒ ✄ ➛✙☞☎✄ � ✄ ❺ ✹✝✆ �✜✟✫➞✔✡➜❻➡➛✫✁ ✟ ✆

❞✸✷✯✻✘✟✝❿✍↕ ➠ ✂✘✤✓✒ ✗❄➞✫❽ ↔ ➁ ❽✣✞❾❿✝❽➀➁ ❿★✚➡↕✵☞✫➂➜➂ ☞❼❿✝➁✖✢ ➞✔✡ ↕✑✔t➛✠✝ ✂✘✤✓✒ ✬✓✗❄➞✫❽➙➁➙↕✍✝ �❃➝ ➞ ✝❾➛✙✁ ✟ ✆
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✂✝✆✁✏ ✆☛✡ ✘ ☎✜✦ ✕✗✕✗✓✈✓✒✛✆☎●✚ �✆☎ ✑✔☞✜✘✚✦ ✢✥✦✧★✪✦✿✵ ✮✔✑✔✰✠✱✒✑✗✮ ✱✧✍✪☞✜✘
❺ ☞✫✡ ➞✎✁✖✁➙➛ ✂✘✤✓✒ ✗❏❻✝✡➜❽➙↕✵☞t➞✔✢⑩➞✫➠ ➞ ↔ ➁ ❽✖✞➡❿✝❽➀➁ ❿★✚➡↕✠☞ ✄ ❿✍↕s↕✠✢ ✚✱✡ ➛✫✢■➛t➝✱❽➀➞✝➠ ➞ ☞t❿★✢ ❿⑩❿✔✷ ✁ ➛❨❽➙↕✠✟✍❿⑩➛✫✁ ✮
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� ✞ ✝ ❶ ❘●▲❋◗♦▲ ❙❯❚❡▲❋▼❛❚❡▲
� ❿★✢■❿ ✚➡➁➙↕✠✢ ➛❨↕ ➁➙❿✡➛☛✝❾➛✙✢ ✚✱✡ ❿❏❽➙➛✫✢ ✮ ✁ ➛ ❻✝✢ ➞ ✚✱✡ ➞✔☞t➞ ✢✕❻✝✡ ❽➀↕✠☞➏➞✔✢ ➞✝➠ ➞ ✝ ✫ ☞➏➞✎✢⑩➞✝➠➡➞✔✁ ✟✜☞t❿★✢ ✮
✚❥❿★✁ ❽➀➞ ✚ ❿✍➁✔❻✱✢ ✢⑩➞➳❽➀➛t➁ ↕ ➞✔✡ ↕✵✁ ❿✝❽➀➁✂✦★✚➡↕✵☞❨❿✝✲✱☞❨❻ ✁ ❿ ➠➡❿★✢✶✸ ➝➡↕➜❿ ☎✾➠ ➞✝➠➡❿ ✚❥❿✍➁

Ω =
{

(x, y, z) ∈ ℜ3| (x, y) ∈ [0, 2]
}

✬✛❞



✬❳↕✵✆✝❻➡➁➀➞ ✻✯✻✢❞✍➂✓✚✝✡ ➞✔☞➏➞ ✢✕❻✱✡➜❽➀↕✠☞➏➞✔✢ ➞✝➠ ➞
� ✆ ☎ ✆☛✡ ✛ ☎✜✦ ✘ ✦ ✢ �✆☎ ✑✔☞☛✘ ✦ ✢✥✦ ★✠✦ ✘✚✱ ✢ ✍✏✱ ✕ ✑✔✦ ✍✏✱✒✮ ☎ ✘ ✦ ✢✥✦✧★✠✦ ✕

☞ ➛✫✁ ❽➙➛ ☞➏➞✎✁➙❿✝✲ ✁✖✏✝❿✢➛✙✁ ❽➀❻❾➠ ➞✝➠ ➞✔✁ ➞✲➛✙✟✝❿★✡ ❻✝✍✫✏✝❿✢➠ ➞✎✁♦❽➀➛❨➝✝✁☞☎✴➛✫✁❆➞✫❿ ✡ ❿✝➝✝✆✍❿❄➠❾➛ ❽➀❿✴➠ ➞✢➞ ✠ ✷➡➁➀➞
✢ ☎t➠➡↕ ➞ ✝ ☞❨➛t➝✱❽➀➁➙➞✔✡ ✟✥✚❥➛t➁ ❽➀➛t➝✱☞t➛t➝✱❽➙➛✕➞✝❿ ➠➡❿★✢✶✸ ➝❾↕ ❿✕➠➡❿ ✡ ➞✔✢ ↕➜➝ ➞✝➠➡❿✱✻
↔ ✡ ➞✔✢■↕ ➝ ➞✝➠❾❿ ☎ ✄ ❿✝➁✖✢ ➞✝➠➡❿ ✚❥➛✫✡ ➞✡❻➡➝➡↕✵✏✝❿✡➠➡➛ ❽➀➁ ✏✙✁✰✚✱✡ ➞✔☞t➞✔✁✫✲❋❽➀↕✠✚ ❿ ✄ ✁➀➞✝➝➡➠❾❻✝✸✵☞ ✞➡➛ ✄ ✲❖❿✍➝➡➠➡➛■➞✔✁
➠➡❻➡➞✔✁ ✚✝✡ ➞✔☞➏➞✔✁❳➛ ✝✴❽➀➛❨➁➙➝ ➞✔✁ ➞✔✚❾➁➙➛✫✁ ➛t➝✱❽➟➞✎✢ ✚❥➛✫✴➲❻➡➛t➝➡➞✾➛✙✁✖✚❥➛✫✁✂✁➙❻➡➁➙➞●➛❡➞✔✡ ❽➟➞ ➁➙↕✵✆✝↕ ➠➡➛ ✔✔✻❖❺ ☞➏➞✔✢ ➞✝➠ ➞
↕➜➝➲❽➙➛t➁ ➝ ➞❄➞✝❿ ☞t❿✍➝✱❽➙➁✏�✝➁ ↕ ❿✝✲s➞✔✚➡➁ ➛✫✁➙➛❨➝✱❽➟➞❄➛✙✁✖✚❥➛✫✁✖✁ ❻➡➁➀➞ ✷❥➛✫✢ ✢ ➞✝↕ ❿✝➁●➠❾❿ ✴➲❻➡➛✼➞✎✁♦➛ ✝✴❽➙➛t➁➙➝➡➞✔✁✫✲①➛
✷ ➞✫↕✍✝❾➞❆➁➙↕✵✆✝↕ ➠➡➛ ✔✔✻
❁ ✏✫❿♦➞✔✚✱✡ ↕✵☞t➞✝➠ ➞✔✁ ➞✔✁✉➞✔✍✆☎➇➛✙✁✥✁➙❿✔✡ ↕✵☞❨↕➜❽➀➞✝➝✱❽➀➛✫✁✓☞❨❿✍➁➙➁ ➛✫✁✂✚ ❿✍➝❾➠➡➛t➝✱❽➀➛✙✁❡➞ ✝

Mx

✲
My

✲
Mxy

✲
Nx

✲
Ny

✲

Nxy

✲
Vx

➛
Vy

✟①➝ ➞✎✁✒✷❥❿✍➁➙➠➡➞✔✁ ➠➡❿✰✢ ➞✫❽➙➛t➁➙↕ ➞✔✡✱✢♦❻✝✡➜❽➙↕✵☞➏➞✎✢⑩➞✝➠➡➞✱✲✍❿★✷✝✁ ➛t➁ ✟✝➞✫➝➡➠➡❿✎✮ ✁➙➛❼➞●➛✽✟✍❿★✡➜❻✝✍✑✏✝❿
➠ ➞✎✁❡❽➙➛t➝✝✁✌☎➇➛✙✁ ➞✝❿ ✡ ❿✍➝✝✆✝❿■➠❾➛✾❽➙❿➇➠➡➞❆➞✶✁ ❻ ➞■➛✙✁✖✚❥➛✫✁✂✁➙❻➡➁➙➞✱✻
↔ ☞❨❿✍➝ ✁ ❻➡➝✱❽➀❿ ✢♦❻✝✡➜❽➙↕✵☞➏➞✎✢⑩➞✝➠➡➞ ☎ ✄ ❿✍➁✖✢ ➞✝➠➡❿ ✚❥➛✫✡ ➞✙❻➡➝➡↕✵✏✝❿ ➠➡➛✲❽➀➁ ✏✫✁ ✚✱✡ ➞✔☞t➞✔✁⑩↕✠✁➙❿✝❽➙➁✖✦★✚➡↕✠☞➏➞✔✁✙✲
✁ ➛t➝➡➠➡❿✶✴➲❻➡➛●➞✔✁❡➠➡❻ ➞✔✁✘☞t➞✔✢⑩➞✫➠ ➞✔✁✔➛ ✝✴❽➙➛t➁➙➝➡➞✔✁✘✁✣✏✝❿✶✢✕❻➡↕ ❽➀❿ ✠ ➝ ➞✎✁✫✲ ☞t❿✔✢❴❻✝✢ ➞❆➛✫✁✖✚❥➛✫✁✂✁➙❻➡➁➙➞ ➠➡➛
✿✱✻ ✿✛❞★✲ ➛✭❻✝✢ ✢ ✦✴➠➡❻✝✡➜❿✢➠➡➛✡➛✫✡ ➞✔✁ ❽➙↕✵☞t↕➜➠ ➞✝➠➡➛ ✢✕❻➡↕ ❽➀❿✪➞✔✡ ❽➀❿ ✝➧❿✝❻ ✁ ➛ ✁➙➞✱✲☎✁✣✏✫❿ ✢♦❻➡↕➜❽➙❿✢➁✖✸✠✆✍↕ ➠ ➞✎✁ ✟
↕✠✆✍❻ ➞✔✡➎➞ ❞ ✿★✿★✿★✿✔✿✱✻ ↔ ☞❨❿➇➛ ✠ ☞t↕➜➛t➝✱❽➀➛❼➠➡➛ ✤❖❿✍↕✵✁✂✁➙❿✍➝ ✚➡➞✝➁➀➞❊➞✔✁✉➠❾❻ ➞✔✁✥✚✱✡ ➞✔☞t➞✔✁✉➛☛✝✴❽➀➛t➁ ➝ ➞✔✁ ☎❼↕✵✆✍❻➡➞✔✡
➞ ✿✱✻ ✫ ✻ ↔ ✢✶✦✴➠➡❻✝✡ ❿❆➠❾➛●➛✙✡ ➞✔✁ ❽➀↕✠☞t↕ ➠➡➞✝➠➡➛ ❽➙➁➀➞✝➝✝✁ ✟✍➛❨➁✖✁➀➞✎✡ ☎✾↕✠✆✍❻ ➞✔✡➑➞ ✫ ✬✎❀ ✷✛❞★✻✲✱✯✻
❺ ☞➏➞✔✢ ➞✝➠ ➞ ↕ ➝✱❽➀➛❨➁➙➝ ➞❼➞✔✚➡➁ ➛✫✁➙➛❨➝✱❽➟➞✹➛✫✁✂✚ ➛✙✁✖✁ ❻➡➁➀➞ ✢✕❻❾↕➜❽➀❿ ✢ ➞✝↕ ❿✍➁ ✝➣↕✵✆✍❻➡➞✔✡✴➞✭✿✱✻ ✾ ✟❋➛☞❻✝✢ ✢✶✦➇➠➡❻✱✡ ❿
➠➡➛❃➛✙✡ ➞✔✁ ❽➀↕✠☞t↕ ➠➡➞✝➠➡➛ ✢✕❻❾↕➜❽➀❿✹✢ ➛❨➝➡❿✍➁ ✝ ✁ ➛t➝➡➠❾❿✶✚❥❿✍➁ ❽➟➞✝➝✱❽➀❿ ✢■➛t➝➡❿✔✁✔➁✖✸✵✆✝↕ ➠ ➞✠✟➩➛✾↕✵✆✍❻➡➞✔✡❝➞✄❞ ✿✔✿✱✻ ↔
☞❨❿➇➛ ✠ ☞t↕➜➛t➝✱❽➀➛❡➠➡➛ ✤s❿✝↕✵✁✖✁ ❿✍➝ ☎✔❿✰✢■➛✫✁✂✢ ❿✾➞✝➠❾❿✝❽➟➞✝➠❾❿ ✚➡➞✝➁➀➞✾➞✔✁✓✚✝✡ ➞✔☞➏➞✎✁➩➛ ✝✴❽➀➛❨➁➙➝ ➞✔✁✙✻ ↔ ✢✶✦➇➠➡❻✱✡ ❿
➠➡➛✾➛✙✡ ➞✔✁ ❽➀↕✵☞❨↕ ➠ ➞✫➠➡➛ ❽➀➁➙➞✝➝✝✁ ✟✍➛t➁✂✁➀➞✔✡ ☎✾↕✵✆✝❻ ➞✔✡❝➞ ✫ ✬✱✻ ❀ ✷✛❞✸✱✯✻
❺ ✁❡❽➙➁ ✏✙✁ ✠✝✷➡➁➀➞✔✁ ➞✔✚❾➁➙➛✫✁ ➛t➝✱❽➟➞✎✢❇➞ ✢■➛✫✁✂✢⑩➞❆❿✍➁ ↕ ➛❨➝➲❽➀➞✔✍✑✏✫❿■➠❾➛✖✠✝✷➡➁➀➞✔✁✙✻
↔ ✁ ✁ ➛t➝✱❽➀↕➜➠➡❿★✁➩➠➡➛✔➞✎✚✝✡ ↕✠☞➏➞✔✍✫✏✝❿ ➠ ➞✎✁✓✁➙❿★✡➜↕✵☞t↕ ❽➟➞✔✍✆☎➇➛✙✁✧✚❥❿✴➠➡➛ ✁➙➛❨➁①❿★✷✝✁ ➛t➁ ✟✝➞✫➠➡❿●➞✫❽➀➁➙➞ ✟ ☎✫✁➩➠ ➞ ✠✝✆✍❻➡➁➀➞
❀✝✻ ✾✯✻
� ➞✝➠➡➞ ✆✍➁✏� ✠ ☞t❿ ✢■❿★✁ ❽➀➁➀➞ ➞✔✁⑩❽➀➛❨➝✝✁☞☎✴➛✫✁ ✁➙↕✵✆✝➝➡↕✡✠ ☞t➞✫❽➀↕ ✟✫➞✔✁ ☞❨❿✍➁➙➁ ➛✫✁✂✚ ❿✍➝❾➠➡➛t➝✱❽➀➛✙✁✡➞✝❿★✁✼➛✙✁ ✄ ❿✍➁✂✍t❿★✁

✬ ✾



✁ ↕✵✢✶✚✝✡ ➛✙✁✫✻ ✤❳➞✝➁➙➞✙❿★✁✶☞➏➞✫➁➙➁➙➛✙✆✱➞✔✢■➛t➝✱❽➀❿✔✁
Nx

✲
Ny

➛
Nxy

➞✔✁✶☞➏➞✝➁✂✆✱➞✔✁ ✁✣✏✫❿❯❽➀➁➙➞✝➝✝✁✂✢ ↕ ❽➀↕ ➠➡➞✔✁
✚❥➛✫✡ ➞✔✁ ✚✝✡ ➞✎☞➏➞✔✁✡➁✖✸✠✆✍↕ ➠➡➞✔✁ ✻✯✻ ✾ ✲ ✻✯✻ ✫ ➛ ✻✯✻ ❀✝✻ ↔ ➛✙✁ ✄ ❿✍➁✂✍t❿ ☞t❿✍➁ ❽➟➞✝➝✱❽➀➛ ☎ ✚➡➁ ↕ ➝✝☞❨↕✵✚ ➞✔✡✠✢ ➛❨➝✱❽➀➛
☞t➞✝➁➙➁ ➛✫✆✱➞✝➠❾❿✶✚❥➛✫✡ ➞ ☞➏➞✔✢ ➞✝➠ ➞✕➛✙✁✖✚❥➛✫✁✖✁➙➞✱✲ ✠ ✆✍❻➡➁➙➞✔✁ ✻✯✻✲✱ ➛✮✻✯✻ ✷✱✻
↔ ✁ ✢ ❿✔✢ ➛❨➝➲❽➙❿★✁

Mx

✲
My

➛
Mxy

✁✣✏✝❿❡❽➀➁➙➞✝➝✝✁ ✄ ➛t➁➙↕➜➠➡❿★✁ ✚ ➞✝➁➙➞❼➞✎✁❖➠❾❻ ➞✔✁❃☞➏➞✔✢ ➞✝➠ ➞✔✁❛➁✂✸✵✆✍↕➜➠ ➞✔✁✫✻❛❺
➠➡↕✠✁ ❽ ✂✝➝✝☞t↕ ➞ ➛❨➝✱❽➀➁➙➛☞➛✫✁✖✁➙➞✔✁➩➠➡❻ ➞✎✁ ☞➏➞✎✢⑩➞✝➠➡➞✔✁s➁ ➛t➠➡❻ ✔✿❿ ❽➟➞✎✢⑩➞✝➝✱✞➡❿❼➠➡➞✔✁❳❽➀➛❨➝✝✁☞☎✴➛✫✁❳➠ ➞✔✁ ✢■➛✫✁✂✢⑩➞✎✁✫✲
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↔ ☞❨❿✍➝ ✁ ❻➡➝✱❽➙❿ ✢✕❻✱✡➜❽➀↕✠☞➏➞✔✢ ➞✝➠ ➞ ☎ ☞❨❿★✢✶✚ ❿★✁ ❽➀❿ ✚❥❿✍➁ ✱ ☞t➞✔✢ ➞✝➠ ➞✔✁✙✲ ❿✍➝➡➠❾➛ ➞✔✁ ☞❨❿✍➝✝✁ ❽➀➞✝➝✱❽➀➛✙✁
➛✙✡ �✔✁ ❽➀↕✵☞t➞✔✁✜✁✣✏✫❿❄↕✵✆✝❻ ➞✝↕✵✁✭✚ ➞✝➁➀➞✭❽➀❿✴➠ ➞✔✁●➛✫✡ ➞✔✁✫✻ ↔ ✢✶✦➇➠❾❻✝✡ ❿✡➠➡➛ ➛✫✡ ➞✔✁ ❽➙↕✵☞❨↕ ➠ ➞✝➠❾➛ ✡ ❿✍➝✝✆✝↕➜❽➀❻❾➠➡↕ ➝ ➞✎✡
Ex

☎❊↕✵✆✍❻ ➞✎✡❛➞ ❞ ✿★✿✔✿✱✲ ❿★✁✭✢✶✦✴➠➡❻✝✡ ❿✔✁✔➠➡➛♦➛✙✡ ➞✔✁ ❽➀↕✵☞❨↕ ➠ ➞✫➠➡➛✌✡ ❿✍➝✝✆✝↕➜❽➀❻❾➠➡↕ ➝ ➞✫↕✵✁✿➝ ➞✎✁❼➠➡↕➜➁➙➛✙✍✟☎✴➛✫✁✌✒✡➛
✔✎✲ ☞t❿✝➁➙➁➙➛✙✁✖✚❥❿✍➝➡➠➡➛❨➝✱❽➀➛✫✁ ➞

Ey

➛
Ez

➁ ➛✫✁✂✚ ➛✙☞❨❽➀↕ ✟✫➞✔✢ ➛❨➝✱❽➀➛ ✁✖✏✝❿❄↕➜➠ ✏t➝✱❽➙↕✵☞t❿✔✁❊➛ ↕✵✆✍❻ ➞✫↕✵✁✾➞❫❞✑✿★✿✱✻
↔ ✁✓☞t❿✴➛✆✠✝☞t↕ ➛❨➝✱❽➀➛✫✁ ➠➡➛ ✤s❿✝↕✵✁✖✁ ❿✍➝

νxy

✲
νyz

✲
νzx

✁✣✏✝❿✾➁➙➛✙✁✖✚❥➛✫☞❵❽➀↕✠✟✫➞✔✢■➛t➝✱❽➙➛ ↕✠✆✍❻ ➞✝↕✠✁➩➞✌✿✱✻ ✫ ✲ ✿✱✻✢❞✼✱✯✲
✿✱✻ ✫ ✻ ↔ ✁✰✢ ✦✴➠➡❻✝✡➜❿★✁❃➠➡➛⑩➛✙✡ ➞✔✁ ❽➀↕✠☞t↕ ➠➡➞✝➠➡➛❆❽➀➁➙➞✝➝✝✁✂✟✝➛t➁✂✁➀➞✝↕✠✁❊❽➀➛✙✢❹❿★✁✰✟✫➞✔✡➜❿✍➁➙➛✙✁

Gxy = 25.641
✲

Gyz = 76.9231
✲
Gzx = 19.2308

✻
✂❖❿➇➠➡➞✔✁❡➞✔✁✘☞➏➞✔✢ ➞✝➠ ➞✎✁✿❽➀➛✫✢♥➞✶✢■➛✫✁✂✢⑩➞✕➛✙✁✖✚❥➛✫✁✖✁ ❻➡➁➀➞✯✲ ➠➡➛✜✟✫➞✔✡➜❿✍➁ ✿✱✻✢❞★✻
❺ ✁➩➠➡↕ ➁ ➛✫✍✟☎✴➛✫✁➩➠➡➞✔✁ ✠ ✷➡➁➙➞✔✁ ➛t➝✱❽➀➁ ➛❨❽➟➞✫➝➲❽➙❿✝✲ ✟✫➞✝➁➙↕ ➞✔✢✐➠➡➛✘☞➏➞✔✢ ➞✝➠ ➞✭✚➡➞✝➁➀➞✜☞➏➞✎✢⑩➞✝➠➡➞ ☞t❿★✢■❿✜✢ ❿✔✁ ✮
❽➙➁➀➞✝➠➡❿■➞✔✷➡➞✝↕✍✝➇❿
✤s➞✝➁➀➞❊➞✰☞➏➞✎✢⑩➞✝➠➡➞P❞ ❿✔✁☞➛t↕ ✝➇❿★✁✉➛✙✁ ❽✣✏✝❿✕❿✍➁ ↕ ➛t➝✱❽➀➞✝➠➡❿★✁☎✁➙➛✙✆✍❻➡➝➡➠➡❿♦❿★✁✒✟✝➛❨❽➀❿✝➁➙➛✫✁ ✝✼✿✱✻✲✻✔✿ ✻❘❞ ✿ ✻✯✲ ✿✱✻ ✿✱✲
✿✱✻ ✿✠✟ ✲ ✝ ✿✱✻ ✿✱✲ ✿✯✻ ✿✱✲✝✿✱✻ ✿ ✟✽✲ ✝✓✿✱✻ ✿✱✲ ✿✱✻ ✿✱✲ ❞✔✻ ✿✠✟ ✆
✤s➞✝➁➀➞✲➞ ☞t➞✔✢ ➞✝➠ ➞ ✾ ☞t❿✍➝✝✁ ↕ ➠➡➛❨➁➀➞ ✮ ✁➙➛■❻✝✢ ➞✡➁ ❿✝❽➟➞✎✍✑✏✝❿ ❀ ✱ ✆✍➁➙➞✝❻✝✁✫✲❖➛t➝✱❽✣✏✝❿❄➞✎✁●➠❾↕ ➁➙➛✙✍✟☎✴➛✫✁✾➠➡❿★✁
➛❨↕✍✝➇❿★✁ ✁✣✏✝❿❏➠ ➞✝➠ ➞✔✁ ✚❥❿✍➁ ✝✘✿✱✻✲✻✔✿ ✻✳❞✑✿ ✻✯✲ ✿✱✻ ✻✎✿ ✻✳❞ ✿ ✻ ✲ ✿✱✻ ✿ ✟✽✲ ✝✥✮ ✿✱✻✲✻✔✿ ✻✳❞ ✿✏✻✯✲❃✿✱✻ ✻✎✿ ✻✳❞ ✿ ✻ ✲✧✿✯✻ ✿✠✟ ✲ ✝
✿✱✻ ✿✱✲ ✿✯✻ ✿✱✲❡❞★✻ ✿ ✟ ✆
✤s➞✝➁➀➞✼➞✶☞➏➞✔✢ ➞✝➠ ➞ ✫ ➞✔✁❼➠➡↕ ➁ ➛✫✍✟☎✴➛✫✁❼➠➡❿★✁❼➛t↕✍✝➇❿★✁ ✁✣✏✝❿⑩➠ ➞✝➠ ➞✔✁ ✚ ❿✝➁ ✝✒✿✯✻ ✻✔✿✏✻✳❞ ✿ ✻✯✲✝✮ ✿✱✻ ✻✎✿ ✻✳❞ ✿ ✻ ✲
✿✱✻ ✿✠✟ ✲ ✝ ✿✱✻✲✻✔✿ ✻❘❞ ✿ ✻✯✲✱✿✱✻ ✿✯✲ ✿✱✻ ✿✠✟✽✲ ✝✓✿✱✻ ✿✱✲ ✿✯✻ ✿✱✲❡❞★✻ ✿ ✟ ✆
✤s➞✝➁➀➞✡➞ ☞➏➞✔✢ ➞✝➠ ➞ ❀✲➞✔✁❃➠➡↕➜➁➙➛✙✍✟☎✴➛✫✁✾➠➡❿★✁✾➛t↕ ✝➇❿★✁✜✁✣✏✝❿✡➠ ➞✫➠ ➞✔✁✌✚ ❿✝➁ ✝ ✿✱✻ ✻✎✿ ✻✳❞ ✿ ✻ ✲ ✿✱✻✲✻✔✿ ✻✳❞ ✿✏✻✯✲
✿✱✻ ✿✠✟ ✲ ✝❃✮ ✿✱✻ ✻✎✿ ✻✳❞ ✿ ✻ ✲✱✿✱✻✲✻✔✿ ✻❘❞ ✿ ✻✯✲✱✿✱✻ ✿ ✟✽✲ ✝ ✿✱✻ ✿✱✲ ✿✱✻ ✿✱✲ ❞✔✻ ✿✠✟ ✆
✤s➞✝➁➀➞✼➞✶☞➏➞✔✢ ➞✝➠ ➞ ✱⑩➞✔✁❼➠➡↕ ➁ ➛✫✍✟☎✴➛✫✁❼➠➡❿★✁❼➛t↕✍✝➇❿★✁ ✁✣✏✝❿⑩➠ ➞✝➠ ➞✔✁ ✚ ❿✝➁ ✝✒✿✯✻ ✻✔✿✏✻✳❞ ✿ ✻✯✲✝✮ ✿✱✻ ✻✎✿ ✻✳❞ ✿ ✻ ✲
✿✱✻ ✿✠✟ ✲ ✝ ✿✱✻✲✻✔✿ ✻❘❞ ✿ ✻✯✲✱✿✱✻ ✻✎✿ ✻✳❞ ✿ ✻ ✲✝✿✱✻ ✿✠✟✽✲ ✝✪✿✯✻ ✿✱✲✝✿✱✻ ✿✯✲ ❞★✻ ✿✠✟ ✆
↔ ✁ ✁ ➛t➝✱❽➀↕➜➠➡❿★✁➩➠➡➛✔➞✎✚✝✡ ↕✠☞➏➞✔✍✫✏✝❿ ➠ ➞✎✁✓✁➙❿★✡➜↕✵☞t↕ ❽➟➞✔✍✆☎➇➛✙✁✧✚❥❿✴➠➡➛ ✁➙➛❨➁①❿★✷✝✁ ➛t➁ ✟✝➞✫➠➡❿●➞✫❽➀➁➙➞ ✟ ☎✫✁➩➠ ➞ ✠✝✆✍❻➡➁➀➞
❀✝✻ ✾✯✻

✬✏✬



↔ ✁✕➛✙✁ ✄ ❿✍➁✂✍t❿★✁
Nx

✲
Ny

➛
Nxy

➁ ➛✫✁ ❻✝✡➜❽➀➞✔✢ ➛✫✢ ❽➀➛t➝✱✁☞☎✴➛✫✁ ☞t❿✝➝✝✁ ❽➀➞✝➝✱❽➀➛✫✁ ➛✙✢ ☞t➞✝➠ ➞ ☞t➞✔✢⑩➞✫➠ ➞✱✻
� ➞✝➠➡➞⑩➛✫✁ ✄ ❿✍➁✖✍❨❿✼➁➙➛✙✁➙❻✝✡ ❽➟➞ ➛✙✢ ❽➀➛t➝✱✁☞☎✴➛✫✁

σx

✲
σy

➛
τxy

✻ ✄✓✁ ❽➀➞⑩➠➡↕✵✁ ❽➀➁ ↕✵✷➡❻➡↕✠✍✑✏✝❿ ☎♦➝❾➛✫☞t➛✙✁✖✁☞�✝➁➙↕ ➞
✚ ➞✫➁➀➞ ☞t❿★✢✶✚ ➞✫❽➙↕✵✷➡↕✠✡ ↕✑✔➏➞✝➁ ➞✔✁❡➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✟☎✴➛✫✁✙✻
↔ ✁✕➛✙✁ ✄ ❿✍➁✂✍t❿★✁

Vx

➛
Vy

✢■➛t➠➡↕ ➞✝➝✱❽➀➛✼❿ ✢■➛✫☞t➞✝➝➡↕✵✁✂✢ ❿❄➠➡➛✼➁➙➛t➞✔✡ ↕✠✢ ➛❨➝✱❽➟➞✔✍✫✏✝❿✢➠➡❿★✁❊❽➀➛t➝✱✁➙❿✍➁ ➛✫✁✫✲
➁ ➛✫✁➙❻✱✡➜❽➟➞✎✢ ➛✙✢❷❻✱✢❷➛✙✁ ❽➟➞✫➠➡❿ ✚✝✡ ➞✫➝➡❿✼➠➡➛✕➠❾➛ ✄ ❿✍➁✂✢⑩➞✔✍✫✏✝❿✝✻❼❺✭✁✖✁ ↕✵✢ ✲❝➞✔✁❼❽➀➛t➝✱✁☞☎✴➛✫✁✜☞t❿✝➁➙➁➙➛✙✁✖✚❥❿✍➝✯✮
➠➡➛❨➝✱❽➀➛✫✁✉➞

Vx

✁✣✏✝❿●❻➡➝➡↕✠☞➏➞✔✢■➛t➝✱❽➙➛
τxz

➛✘✚ ➞✝➁➀➞
Vy

✲
τyz

✝➣❿ ✆✝➁✏�✁✠ ☞❨❿✾➠➡➛
Vx

☎✘✚➡➁ ❿ ✟✫➞✑✟✍➛✙✡✵✢■➛t➝✱❽➀➛
➛❨➁➙➁➀➞✫➠➡❿ ✟✽✻
↔ ✁ ✢■❿★✢■➛t➝✱❽➀❿★✁

Mx

✲
My

➛
Mxy

➁➙➛✫✁ ❻✝✡➜❽➀➞✔✢❈➛✫✢❈❽➀➛❨➝✝✁☞☎✴➛✫✁
σx

✲
σy

➛
τxy

✻ ❁ ➛✫✍✆☎➇➛✙✁ ✚✝✡ ➞✝➝ ➞✔✁
✚❥➛t➁✂✢⑩➞✝➝❾➛✫☞t➛✙✢ ✚✝✡ ➞✝➝ ➞✔✁✙✻
↔ ✷✝✁ ➛t➁✂✟✫➞ ✮ ✁➙➛ ✴✴❻❾➛❃➞✔✁ ❽➀➛t➝✱✁☞☎✴➛✫✁ ☞❨❿✍➁➙➁ ➛✫✁✖✚❥❿✍➝➡➠❾➛t➝✱❽➀➛✙✁❡➞✝❿★✁ ➛✫✁ ✄ ❿✝➁✖✍t❿✔✁✥☞t❿✝➁ ❽➟➞✫➝➲❽➙➛✫✁ ✁✖✏✝❿♦❿✝➁ ❽➀❿✔✆✍❿✎✮
➝ ➞✫↕✵✁✘✛✔✁✔❽➀➛❨➝✝✁☞☎✴➛✫✁❡➠➡❿✔✁ ➛ ✄ ❿✍➁✖✍❨❿★✁

Mx

✲
My

✲
MxyNx

✲
Ny

➛
Nxy

✻
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σx

✲
✴➲❻ ➞✝➝✱❽➙❿

σxy

✻ ✤s➞✝➁➀➞✙➞✔✁✖✁ ➛✫✆✍❻❾➁➀➞✝➁✶✴➲❻➡➛✢➞✔✁ ➠➡➛ ✄ ❿✍➁✖✢ ➞✔✍✆☎➇➛✙✁■➛✙✢✗❽➀❿✴➠ ➞✔✁■➞✔✁ ☞➏➞✎✢⑩➞✝➠➡➞✔✁ ✁➙➛✽✮
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σxyσy
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✲
❿★✷✱✁➙➛t➁ ✟✫➞✝➝➡➠➡❿✎✮ ✁➙➛ ✴➲❻➡➛❄➞ ☞t❿✍➝❾➠➡↕✵✍✫✏✝❿ ∫

τyz = 0
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τxy

➛
σy

✻ ↔ ➛✫✁ ✄ ❿✍➁✖✍❨❿❏❽➀❿✫❽➟➞✔✡
Nxy =

∫

τxy
✁

✿✱✲
Ny =

∫

σy
✁

✿✱✻
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v(x, y, z)
z(x, y, z)







❙ ❹ ●✶✵◆❯

❡ ✘✛✚✼✴✵✷✳❁❂✒✕✱✼✮❀✷✫◆✫✬✫✴✵✔★✧✪✔ ❜ ✷✦✢✙✖✙✒♠❪♥✚✜✘ ✒✳✲✛✒✕✢✙✲✛✘✣✔★✴✜✒❃✖✫✘✶✖✙✘ ❁❂✒✕✱✜✮❃✷✦❘✣✾✦✒❢✔✪✢✫④✓✢✫✔★✴✵✘✛✚✜✔★✮❀✷✦✧❦◆✫✷❢✯❅✒✕✚✜✔★❘✹✾✦✒
④✓✢✙✷✦✧

X
✯❅✒✩✖✙✘❆✚✜✘✣✱❈✘✣✚✼✲✣✱✼✔★✴❑✷❯✢✓✷t❁❂✒✕✱✜✮❃✷❯✷✦❭✓✷✦✔❛❝❚✒✙◆✥✒✕✢✙✖✙✘

u(P )
✚✼✔✪❱✕✢✙✔P④✓✲✹✷t✒❴✖✙✘✣✚✼✧✪✒✩✲✹✷✦✮✳✘✣✢✥✴✜✒

❹❀❢



✖✙✒❢✯❅✒✕✢✥✴✵✒
X = P + u(P )

❙ ❹ ● ✼ ❯
✲✛✒✕✢✙✚✜✔★✖✙✘✣✱✜✷✦✢✙✖✙✒♠❪♥✚✜✘✈✬✙✮❷✯❅✒✕✢✥✴✵✒

Q
◆✦✲✛✬ ✁ ✷❆✯❶✒✕✚✼✔✪❘✣✾✦✒❆✔✪✢✙✔★✲✣✔◗✷❊✧❊r❈✖✓✷✦✖✓✷❉✯❅✒✕✱

P+dx
◆♠✷✦✯✙✱✼✘✣✚✼✘✣✢✥✴❑✷

✬✙✮❃✷✌✯❅✒✕✚✜✔★❘✹✾✦✒❀④✙✢✓✷✦✧❖✖✓✷❊✖✓✷✌✯❶✒✦✱
X + dX = Y

◆✡❳▼✬✙✘❄✴❑✷✦✮✺❭❶r✛✮ ✯❅✒❚✖✙✘✺✚✜✘✣✱t✘✛✚✜✲✛✱✜✔★✴✵✷♦✖✓✷
✚✼✘✣❱✕✬✙✔★✢✥✴✵✘t❁❂✒✕✱✜✮❃✷✲❞

x+ dx = X + dX + u(Q)
❙ ❹ ●✄✂❀❯

✻❚✬✫❭✫✴✵✱✜✷✦✔✪✢✙✖✫✒❊❪♥✚✼✘❯✷✦✚❆✖✙✬✓✷✦✚❆✘ ❝❚✯✙✱✼✘✣✚✼✚✜❙✩✘✣✚✣◆❅✒✕❭✫✴✜✘✣✮✳✒✕✚❉✒✭✤❊✷✦✧✪✒✕✱❉✖✫✒❢✤✦✘✛✴✜✒✕✱
dx

❞

dx = dX + u(Q) − u(P )
❙ ❹ ● ❺ ❯

❡ ✘✛✮❃✒✦✢✙✚✼✴✜✱✵✷♠❪❫✚✜✘✽❳✩✬✫✘❩✷✶✖✫✘✣✱✜✔P✤❊✷✦✖✓✷❯✖✙✔✪✱✼✘✣✲✣✔★✒✕✢✓✷✦✧✓✖✫✘
u(p)

❙❂✒✕✢✙✖✙✘
u
r❩✷t❁❂✬✙✢✙❘✣✾✦✒✺❳▼✬✙✘✻✖✓✸✶✒✦✚

✖✙✘✛✚✜✧★✒❚✲✣✷✦✮❃✘✛✢✥✴✵✒✕✚❩✖✫✘❄✴✵✒✩✖✙✒✕✚ ✒✦✚t✯❶✒✕✢✥✴✜✒✕✚❩✖✙✒♦✲✛✒✕✱✜✯❅✒♦✘✣✚▲✴✵✬✙✖✓✷❊✖✙✒❱❯ ✢✙✒✕✚t✖✙✸♦✷✌✖✙✘✛❁❂✒✕✱✼✮❀✷❊❘✹✾✦✒
✮❃✷❊✴✵✘✛✱✜✔✪✷✦✧❶✖✫✒❃✲✛✒✕✱✜✯❅✒✙◆✙✲✛✒✕✮❃✒❢✮✳✒✕✚✼✴✜✱✵✷❢✷✭✘✣❳▼✬✓✷✦❘✣✾✦✒❃✷✦❭✓✷✦✔❛❝✫✒✲❞

lim
α→0

F (−→p + α
−→
dx) − F (−→p )

α
= D[u,

−→
dx]

❙ ❹ ● ❢ ❯
✖✙✘❯✮✳✒❚✖✫✒✭❳✩✬✫✘✶✯❅✒❚✖✫✘ ❪♥✚✼✘t✒✕❭✫✴✜✘✣✱✽✷✭✔✪❱✕✬✓✷❊✧✪✖✓✷✦✖✫✘ ❞

dx = ∇u.dX
❙ ❹ ● ✷❏❯

✒✕✢✫✖✙✘
∇u

✱✜✘✛✯✙✱✜✘✛✚✜✘✛✢▼✴✵✷②✬✫✮ ✴✵✘✛✢✙✚✜✒✦✱✭✖✙✘♦✚✜✘✛❱✕✬✙✢✙✖✓✷✇✒✕✱✼✖✙✘✣✮❨◆❤✖✓✷✦✖✫✒✇✯❶✘✛✧✪✒✇❱✕✱✜✷✦✖✙✔✪✘✛✢✥✴✵✘✌✖✓✷
❁❂✬✙✢✫❘✹✾✦✒❢✖✙✘❯✖✙✘✛✚✜✧✪✒✩✲✹✷❊✮❃✘✛✢▼✴✜✒✕✚

u
●

∇u =









∂ux

∂x
∂ux

∂y
∂ux

∂z
∂uy

∂x

∂uy

∂y

∂uy

∂z
∂uz

∂x
∂uz

∂y
∂uz

∂z









❙ ❹ ●✆☎❏❯

✝❆✴✵✔✪✧★✔ ❜ ✷✦✢✙✖✙✒❊❪❫✚✜✘■✷❉✚✜r✣✱✼✔✪✘❤✖✙✘✟✞■✷✸✱✩✧✪✒✕✱✛◆❸✯❶✒✩✖✙✘✣✮✳✒✕✚ ✱✼✘✣✚✼✲✣✱✜✘ ✤✕✘✛✱ ✷❉✘✣❳▼✬✓✷❊❘✹✾✦✒ ❺ ●✽✷✠☎❚◆ ✖✙✘✛✚✜✯✙✱✼✘ ❜ ✷❊✢✙✖✙✒❊❪✚✼✘❄✒✕✚✻✴✜✘✣✱✼✮❃✒✕✚✻✖✙✘❄✒✕✱✼✖✙✘✣✮♣✚✜✬✫✯❶✘✛✱✜✔✪✒✦✱❩✷ ✵✕◆ ❙⑦✯❅✒✕✔✪✚✽✘✣✚▲✴❑✷✦✮✳✒✕✚✻✲✣✒✕✢✙✚✼✔✪✖✙✘✛✱✵✷✦✢✫✖✙✒❲✷❃✴✵✘✛✒✕✱✜✔✪✷❃✖✙✘
✯❅✘✣❳▼✬✙✘✛✢✙✒✕✚t✖✙✘✛✚✜✧✪✒✩✲✹✷❊✮❃✘✛✢▼✴✜✒✕✚ ❯⑥◆❶✖✫✘✛✤✩✔✪✖✙✒✌✷✦✒❀❁⑦✷❊✴✜✒❀✖✙✘✛✚✼✴✵✘✛✚t✱✜✘✛✯✙✱✜✘✛✚✜✘✣✢✥✴✵✷✦✱✜✘✛✮ ✖✙✘✛✱✜✔★✤❊✷✦✖✙✷✦✚ ✖✙✘
✒✕✱✼✖✙✘✣✮ ✚✜✬✙✯❅✘✣✱✼✔✪✒✕✱✛◆✙✲✣✒✕✮✳✒✳✷✦❭✓✷✦✔❛❝❚✒❴❞

dx = dX + (∇u) dX +O(dX)
❙ ❹ ●✄✡❀❯

✒✕✢✫✖✙✘❩✒❄✴✵✘✛✱✜✮✳✒
O(dX)

✱✜✘✛✯✙✱✜✘✛✚✜✘✣✢✥✴✵✷❢✒✭✱✼✘✣✚✼✐✪✖✙✬✙✒✭✖✙✷❄✷✦✯✙✱✼✒❸❝❚✔★✮❀✷✦❘✣✾✦✒✣❙❂✚✜✔✪✮✺❭❶✒✕✧★✔ ❜ ✷✦✢✙✖✙✒t✴✵✒♠❪✖✙✒✦✚✺✒✕✚❴✴✵✘✣✱✼✮❃✒✦✚✶✖✙✘❃✒✕✱✜✖✫✘✣✮ ✚✜✬✙✯❅✘✣✱✼✔✪✒✕✱✺✷✔✵✌✘❃❳▼✬✙✘❀✯❅✒❚✖✫✘❀✚✜✘✛✱✺✖✙✘✛✚✜✯✙✱✼✘ ❜ ✷✦✖✙✒✙◆❤✲✛✒✕✢✫❁❂✒✕✱✼✮❃✘

❹ ✷



✲✛✔★✴❑✷❊✖✙✒❲✷✦✲✣✔★✮❀✷❏❯ ●✺❬ ✲✣✒✦✮❃✯✙✱✼✔✪✮✳✘✣✢✥✴✵✒❀✖✙✒✕✚t✤✕✘ ✴✵✒✕✱✼✘✣✚
dx

✘
dX

✯❅✒❚✖✙✘✛✮ ✚✜✘✛✱t✱✜✘✛✯✙✱✜✘✛✚✜✘✣✢✥✴✵✷♠❪
✖✙✒✦✚❄✯❶✒✦✱

ds
✘
dS

✱✜✘✛✚✜✯❅✘✣✲✛✴✜✔★✤❊✷✦✮✳✘✣✢✥✴✵✘✛✚✜✘✛✢✙✖✙✒⑤✖✓✷✦✖✙✒❏✯❶✘✛✧✪✒③✯✙✱✼✒❚✖✫✬✫✴✵✒③✔★✢✥✴✵✘✣✱✼✢✙✒③✖✙✒✦✚❄✖✙✒✕✔★✚
✯✙✱✼✔✪✮✳✘✣✔★✱✜✒✕✚❈✤✕✘✛✴✜✒✕✱✜✘✛✚✑❞

‖ds‖2 − ‖dS‖2 = (dX.(∇uT∇u− I)dX)
❙ ❹ ● ❹ ❯

✒✕✢✫✖✙✘❯✒❢✴✜✘✣✱✼✮❃✒
∇uT∇u

✯❅✒❚✖✫✘❴✚✼✘✣✱❆✘✣✚✼✲✣✱✼✔★✴✵✒❢✖✓✷❢✚✜✘✛❱✕✬✙✔★✢▼✴✜✘❯✮❀✷✦✢✫✘✣✔✪✱✜✷✲❞

C = ∇uT∇u = (I+∇u(p))T .(I+∇u(p)) = I+∇u(p)T+∇u(p)+∇u(p)T∇u(p)❙ ❹ ●✶✵✁�❀❯
❳▼✬✙✘❴✷✦✯❅❋✕✚❆✖✙✘✣✚✼✯✙✱✜✘ ❜ ✷✦✱✽✒❢❇✙✧★✴✜✔✪✮✳✒✺✴✵✘✛✱✜✮✳✒✭✴✵✒✕✮❃✷✭✷❄❁❂✒✕✱✜✮❃✷✲❞

‖ds‖2 − ‖dS‖2 ≈ I + ∇u(p)T + ∇u(p) = I + 2E
❙ ❹ ●✶✵❏✵◆❯

✔★✢▼✴✜✱✜✒✩✖✙✬ ❜ ✔✪✢✙✖✙✒♦✒✌✴✜✘✣✢✙✚✼✒✕✱
E

✷✦✲✣✔★✮❀✷❚◆ ✖✙✘✣✢✫✒✕✮❃✔★✢✓✷✦✖✙✒✎❊ ❇❉❈✄✂✑❁▲❑ ●✫❇ ●✫❇❱❳❨❁▲❑❩✿✔❬❪❭❏❫❴❁ ❄❘❈✆☎✆✝
❈ ❄◗❊✸❇✞✂✑❄❆✿❂❬✠✟■✲✣✬ ✁ ✷✦✚✻✲✛✒✕✮✳✯❶✒✕✢✫✘✣✢✥✴✵✘✛✚✻✚✜✾✦✒❃✒✦❭✫✴✵✔★✖✓✷✦✚✽✷❊✴✵✱✜✷✹✤✕r✣✚✻✖✓✷✦✚❆✲✣✒✦✮❃✯❅✒✕✢✙✘✛✢▼✴✜✘✣✚✻✖✙✒✎P▲❑◆❬✞✝
● ❄❘❇❉❈❋❊✸❇ ●✫❁❂❃✝❇❀❊ ❁▲❑❍●✫❇ ● ❇✡✂☛✟◗❁❅■❏❬❪✿✔❇✾❈✝❊ ❁☞✂

Eij =
1

2

(

∂ui

∂xj

+
∂uj

∂xi

) ❙ ❹ ●✶✵◆✼❏❯
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+ ∂u3
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∂X3











❙ ❹ ●✶✵ ✂❀❯

✒✕✢✫✖✙✘✻✒✦✚❈✴✜✘✣✱✜✮✳✒✕✚
Eii

✱✼✘✣✯✙✱✼✘✣✚✜✘✛✢✥✴❑✷✦✮✰✷✦✚❈✖✙✘✛❁❂✒✕✱✼✮❀✷❊❘✍✌✩✘✣✚✈✯✙✱✜✒❸✤✦✒❚✲✣✷✦✖✓✷✦✚s✷✦✒✶✧★✒✕✢✙❱✕✒❴✖✓✷❯④✓❭✙✱✵✷
❙❂✘✣✢✙✲✛✬✙✱✼✴✵✷✦✮❃✘✛✢✥✴✵✒❩✒✕✬❢✷❊✧✪✒✕✢✙❱✕✷✦✮❃✘✛✢✥✴✵✒❱❯ ✢✓✷ ✖✫✔✪✱✜✘✛❘✹✾✦✒

ei

❙⑦✖✙✘ ✤✩✔✪✖✙✒t✷ ✷✦✯✙✧✪✔★✲✹✷✦❘✣✾✦✒ ✖✙✷✦✚■✴✜✘✣✢✙✚✼❙❚✘✛✚
✢✙✒✦✱✜✮❃✷✦✔✪✚

σii

❯ ●❡❬❩✚✽✴✜✘✣✱✼✮❃✒✕✚
Eij

✱✼✘✛❁❂✯✙✱✼✘✣✚✜✘✛✢✥✴❑✷✦✮♣✷✦✚❆✖✙✘ ❁❂✒✕✱✜✮❃✷✦❘✣❙✩✘✣✚❉✲✛✔✪✚✜✷✦✧✪❞✓✷❊✢▼✴✜✘✣✚✛◆✓✖✓✷✦✖✓✷✦✚
✯❅✒✕✱

γxy γzx γyz γyx γxz γzy

✯✙✱✼✒✕✯❶✒✦✱✜✲✣✔★✒✕✢✓✷✦✔★✚✏✎ ✮❃✘ ✴❑✷✦✖✫✘❡✖✓✷✻✮❄✬✙✖✓✷✦✢✫❘✹✷❩✷✦✢✫❱✕✬✙✧◗✷❊✱■✖✓✷✽④✓❭✙✱✵✷
✷✦✧★✔✪✢✙❞✙✷✦✖✓✷❥✲✣✒✦✮❷✷✦✚⑨✖✙✔✪✱✼✘✣❘✛❙❚✘✛✚

i, j
✯✙✱✼✒ ✤✦✒❚✲✣✷✦✖✓✷✽✯❶✘✛✧◗✷❆✷✦✯✙✧★✔✪✲✹✷❊❘✹✾✦✒❥✖✙✷✦✚ ✴✜✘✣✢✙✚✼❙✩✘✣✚ ✲✣✔✪✚✜✷✦✧✪❞✙✷✦✢✥✴✵✘✣✚

τij
●

❹ ☎



✌✎✍✁� ✒✔✓✄✂✣✧✆☎ ✕
❍■✷✦✱✵✷✌✬✙✮♣✯❅✒✕✢✥✴✵✒♦❳▼✬✓✷✦✧★❳✩✬✫✘✣✱✣◆ ✯❶✒✩✖✙✘ ❪❫✚✜✘❄✖✫✘✛✴✵✘✛✱✜✮✳✔✪✢✓✷❊✱ ✬✙✮♣✯✙✧◗✷❊✢✙✒✌❳▼✬✙✘✭✯✓✷✦✚✼✚✵✷✌✯❅✒✕✱❩✘✛✧✪✘✺✘
✬✙✮❃✷❥❁❂✒✕✱✜❘✣✷✽✯❅✒✕✱✡✬✙✢✫✔✪✖✓✷✦✖✫✘❈✖✫✘s✸✦✱✼✘✹✷✽✷✦✯✙✧★✔✪✲✹✷❊✖✓✷ ❙⑦✲✛✬ ✁ ✷✽✱✼✘✣✚✼✬✙✧★✴✵✷✦✢✥✴✵✘✈rs✷❆✔✪✢✥✴✜✘✣❱✕✱✜✷✦✧✕✖✓✷✦✚⑨❁❂✒✕✱✼❘✹✷✦✚
✯❅✒✕✱❴✬✙✢✙✔✪✖✙✷✦✖✙✘✳✖✙✘✌✸✦✱✼✘✹✷✫◆■✲❑❞✓✷✦✮❃✷✦✖✓✷✦✚❴✖✙✘✳✴✵✘✣✢✫✚✵✾✦✒❱❯⑥● ❡✻✘✣✚✼✴✜✘✌✮✳✒❚✖✙✒✫◆ ❞✙✷❸✤✦✘✣✢✙✖✫✒③✴✵✘✣✢✫✚✜❙✩✘✣✚✣◆
✯❅✒❚✖✫✘ ❪♥✚✼✘✌✲✹✷❊✧✪✲✣✬✫✧◗✷✦✱✺✷✇❁❂✒✦✱✜❘✹✷③✱✼✘✣✚✼✬✙✧★✴✵✷✦✢✥✴✵✘♦✷❊✴✜✱✵✷✹✤✕r✛✚❢✖✓✷③✔✪✢✥✴✵✘✛❱✕✱✵✷❊✧s✖✓✷✦✚❄✴✜✘✣✢✙✚✼❙❚✘✛✚✣◆❈✲✣✒✕✮✳✒ ◆
✘✳✯✓✷✦✱✜✷❨✴❑✷❊✧ ◆ ✔✪✮❃✷✦❱✕✔✪✢✫✘❄✬✙✮ ✲✣✒✕✱✼✯❶✒ ✚✜✘✛✲✣✲✣✔★✒✕✢✓✷✦✖✫✒❏✘✣✮ ✖✙✬✙✷✦✚✺✯✓✷❊✱✼✴✵✘✛✚✣● ✞ ✒✕✮❀✷❊✢✙✖✙✒❊❪❫✚✜✘❢✬✙✮
✯❅✒✕✢✥✴✵✒

P
✯❶✘✛✱✼✴✜✘✣✢✙✲✛✘✣✢✥✴✵✘t✷❊✒✶✯✙✧✪✷✦✢✙✒

α
❳▼✬✙✘ ✖✙✔P✤✩✔✪✖✙✘❆✒❴✲✣✒✕✱✼✯❶✒✙◆▼✯❅✒❚✖✫✘ ❪♥✚✼✘✻✖✫✘✛✴✵✘✛✱✜✮✳✔✪✢✓✷❊✱❤✬✙✮❀✷

❁❂✒✕✱✼❘✹✷ ❙⑦✷✦✯✙✧✪✔★✲✹✷✦✖✙✷③✷✦✒✇✲✣✒✦✱✜✯❅✒❱❯✺✯❶✒✦✱❄✬✙✢✙✔★✖✓✷✦✖✙✘♦✖✙✘❲✸❊✱✜✘✹✷❚◆❡✷♠✴✵✬✓✷✦✢✫✖✙✒⑤✢✩✬✫✮ ✖✙✘✛✴✜✘✣✱✼✮❃✔★✢✓✷✦✖✙✒
✯❅✒✕✢✥✴✵✒ ✖✙✘✛✚✼✴✜✘②✯✫✧◗✷✦✢✙✒✫● ✻❚✒✦✮❀✷✦✢✫✖✙✒❊❪♥✚✼✘❏✴✵✒✩✖✓✷✦✚❲✷❊✚✌❁❂✒✕✱✜❘✣✷✦✚✌✯✙✬✙✢✥✴✜✬✓✷✦✔✪✚✛◆ ✖✙✘ ✴✵✘✛✱✜✮✳✔✪✢✓✷♠❪❫✚✜✘✇✷
✱✼✘✣✚✜✬✫✧★✴❑✷❊✢▼✴✜✘❏✖✓✷②❁❂✒✕✱✜❘✣✷ ❳▼✬✙✘✇✷✦❱✕✘ ✚✜✒✕❭✫✱✜✘③✒ ✯✫✧◗✷✦✢✙✒

α
◆❉✖✓✷❊✖✓✷ ✯❅✘✣✧◗✷②✔✪✢✥✴✵✘✛❱✕✱✵✷❊✧✽✖✫✘❏✴✵✒✩✖✓✷✦✚

✘✛✚✼✴❑✷❊✚✶❁❂✒✕✱✼❘✹✷✦✚✛● ✉ ❁❂✒✕✱✜❘✣✷ ✯❅✒✕✱✶✬✫✢✙✔✪✖✓✷❊✖✙✘❀✖✙✘❀✸✦✱✜✘✣✷ r❃✖✙✘✣✢✙✒✦✮❃✔★✢✓✷✦✖✓✷✞✝✠✟☛✡✌☞☛✍✏✎ ●③❍■✒✩✖✙✘⑥❪♥✚✜✘
✖✙✔★✚✼✴✜✔✪✢✙❱✕✬✫✔✪✱❡✴✜✱✜⑩✛✚❆✴✜✔✪✯❅✒✕✚❉✖✙✘t❁❂✒✕✱✼❘✹✷✦✚❆❳▼✬✙✘❴✷✦❱✕✘✛✮✎✚✜✒✕❭✫✱✜✘❯✬✙✮✎✚✼❋✕✧✪✔★✖✙✒✙◆✙✷✭✚✜✷✦❭❶✘✛✱✑❞

✵✦●✻✑✓✒✕✱✼❘✹✷❄✖✙✘❴✲✣✒✦✢▼✴✵✷❊✴✵✒❢✘✛✢▼✴✜✱✜✘❴✲✣✒✕✱✼✯❶✒✦✚
✼✩●✻✑✓✒✕✱✼❘✹✷✦✚❆✷❊✯✙✧✪✔★✲✹✷✦✖✓✷❊✚❥✢✓✷❢✚✜✬✙✯❅✘✣✱▲❁❂✐✪✲✣✔★✘
✂❚●✻✑✓✒✕✱✼❘✹✷✦✚❉✔★✢✥✴✵✘✣✱✼✢✓✷✦✚✽✷✦✒❢✲✣✒✦✱✜✯❅✒

✑✈✘✛✱✜✔★④✙✲✹✷♠❪❫✚✜✘❢✖✙✘✣✚▲✴✵✘❃✮❃✒✩✖✙✒✙◆✡❳▼✬✙✘❀✷❲✴✜✘✣✢✙✚✜✾✦✒❏✚✼✘❃✲✛✒✕✮❃✯❅✒✕✱▲✴❑✷♦✲✣✒✕✮✳✒❲✬✙✮ ✴✵✘✛✢✙✚✜✒✦✱✣◆ ✲✛✒✕✮✝✷✦✚
✚✼✘✣❱✕✬✙✔★✢✥✴✵✘✣✚❆✯✙✱✼✒✕✯✙✱✼✔✪✘✣✖✙✷✦✖✙✘✣✚

✵✦●✓✒✻✸✶✬✙✮ ✴✜✘✣✢✙✚✼✒✕✱❥✖✙✘✽✴✵✘✣✢✫✚✜❙✩✘✣✚
σ
◆▼✴❑✷❊✧❶❳▼✬✙✘

dn(P ) = σ.n
◆✫✒✕✢✫✖✙✘

σ
r✻✖✙✘✣✢✫✒✕✮❃✔★✢✓✷✦✖✙✒

❊✸❇✾❈✏✂✑❁▲❑❍●✫❇ ❊ ❇❉❈✏✂✕✔✪❇✡✂ ● ❇✗✖ ❬✙✘✚■✛✚✢✜
✼✩● ❬❷✴✵✘✛✢✙✚✜✒✕✱❆✖✙✘t✴✜✘✣✢✙✚✼❙❚✘✛✚✻r❯✚✜✔★✮❃r ✴✵✱✼✔✪✲✣✒

✂❚● ❬❷✴✵✘✛✢✙✚✜✒✕✱❆✖✙✘t✴✜✘✣✢✙✚✼❙❚✘✛✚✻✚✜✷❊✴✵✔★✚✼❁⑦✷ ❜ ✷✭✧✪✘✛✔ ✖✙✘❯✘✣❳▼✬✙✔★✧✪✐★❭✙✱✜✔★✒❍❞
div σ + b = 0

❞✓✷✹✤✦✘✣✢✙✖✙✒②✴✵✘✛✢✙✚✜❙✩✘✣✚✛◆s✯❅✒❚✖✙✘⑥❪♥✚✼✘❨✲✣✷✦✧✪✲✛✬✙✧◗✷❊✱✭✷③❁❂✒✕✱✜❘✣✷②✱✼✘✣✚✜✬✫✧★✴❑✷❊✢▼✴✜✘✔❙⑦✯✓✷✦✱✜✷✇❳✩✬✙✷✦✧✪❳▼✬✙✘✛✱✳✯❅✒✕✢✥✴✵✒
✯❅✘✣✱▲✴✵✘✣✢✫✲✣✘✣✢✥✴✜✘✺✷✦✒❢✯✙✧✪✷✦✢✙✒❢✚✜✘✛✲✣✲✛✔✪✒✕✢✓✷❊✖✙✒✕✱ ❯❥✷♠✴✵✱✵✷✹✤✦r✣✚✽✖✓✷✳✔★✢✥✴✵✘✣❱✦✱✵✷✦✧ ✖✙✷✦✚❉✴✵✘✣✢✫✚✜❙✩✘✣✚✣◆✓✲✛✒✕✮✳✒❴❞

∫

∂P
σn(x)dw

❙ ❹ ●✶✵ ❺ ❯
✒✕✢✫✖✙✘❏✘✛✚✼✴❑✷①✔✪✢✥✴✵✘✛❱✕✱✵✷✦✧❉r ✲✹✷✦✧★✲✣✬✙✧✪✷✦✖✓✷⑤✲✣✒✕✢✫✚✜✔✪✖✫✘✣✱✵✷❊✢✙✖✙✒❊❪❫✚✜✘ ✴✜✒❚✖✙✷✦✚❀✷❊✚❃✴✵✘✛✢✙✚✜❙✩✘✣✚❃❳▼✬✙✘③✷✦❱✦✘✣✮
✚✼✒✕❭✙✱✜✘✶✒✌✲✣✒✦✢▼✴✜✒✕✱✜✢✫✒❀✖✙✒✌✚✼❋✕✧✪✔★✖✙✒✳✲✣✒✕✢✙✚✼✔✪✖✙✘✛✱✵✷✦✖✫✒✙◆❶✖✫✘❄✮❃✒✩✖✙✒✳❳▼✬✙✘❄✒❀✚✼✘✣✬③✤❊✷✦✧★✒✕✱❆✖✓✸❀✒❃✤❊✷✦✧★✒✕✱
✖✓✷✭❁❂✒✕✱✼❘✹✷❄✴✵✒✦✴✵✷✦✧✡❳▼✬✙✘✶✷❊✴✵✬✓✷✭✚✼✒✕❭✙✱✜✘❴✒❢✲✣✒✕✢✥✴✜✒✕✱✜✢✙✒❃✖✙✒❢✚✜❋✕✧★✔✪✖✙✒✫● ✉ ✢✓✷✦✧★✔✪✚✵✷❊✢✙✖✙✒✭✬✙✮❵✷✭✴✵✘✛✢✙✚✵✾❊✒
❳▼✬✙✘❲✷❊✴✜✬✓✷❏✚✼✒✕❭✙✱✜✘♦✬✫✮ ✯✙✧✪✷✦✢✙✒③✔★✢✙✲✣✧★✔✪✢✓✷❊✖✙✒ ❙❂❳▼✬✙✘✌❁❂✒✕✱✜✮❃✷✫◆ ✁ ✬✫✢▼✴✵✷✦✮✳✘✣✢✥✴✵✘✌✲✛✒✕✮ ✒✕✚❄✯✙✧✪✷✦✢✙✒✕✚

❹ ✡



✲✛✒❚✒✕✱✼✖✙✘✣✢✙✷✦✖✙✒✕✚✛◆■✬✙✮✶✴✵✘✛✴✜✱✵✷✦✘✛✖✙✱✜✒❨✔✪✢❚④✓✢✙✔★✴✜✘✣✚✼✔✪✮❃✷✦✧ ❯⑥◆ ✯❶✒✩✖✙✘⑥❪♥✚✜✘❢✤✕✘✛✱✜✔P④✓✲✹✷✦✱❴❳▼✬✙✘❃✷❲❁❂✒✕✱✼❘✹✷♦✴✵✒✦✴✵✷✦✧
❳▼✬✙✘❴✷❊✴✜✬✓✷✭✚✜✒✕❭✙✱✼✘✶✒❢✲✛✒✕✢✥✴✵✒✕✱✼✢✙✒❃✖✫✒✳✲✛✒✕✱✜✯❅✒❢r❯✖✓✷✦✖✓✷✭✯❅✒✕✱✑❞

∫

∂P
dn(x)dw =







−dxxAx − dyxAy − dzxAz + dnxA
−dxyAx − dyyAy − dzyAz + dnzA
−dxzAx − dyzAy − dzzAz + dnzA







❙ ❹ ●✶✵ ❢ ❯

✖✓✷❊✐ ✲✣✒✕✢✫✲✣✧✪✬✫✔P❪♥✚✼✘t❳▼✬✙✘ ❞







dnx

dny

dnz





 =







dxxnx + dyxny + dzxnz

dxynx + dyyny + dzynz

dxznx + dyzny + dzznz





 dn =







dxx dyx dzx

dxy dyy dzy

dxz dyz dzz





 .







nx

ny

nz







❙ ❹ ●✶✵ ✷❀❯
✉ ❁❂✒✕✱✜❘✣✷❀✖✙✘✺✤✦✒✕✧✪✬✙✮✳✘✶✴✜✒✦✴❑✷❊✧ ✷✦✯✫✧✪✔✪✲✣✷✦✖✓✷✳✚✜✒✕❭✙✱✼✘❄✒✌✚✼❋✕✧✪✔★✖✙✒✙◆❅✢✩✬✫✮q✖✓✷❊✖✙✒♦✯❶✒✦✢▼✴✜✒

P
r❄✖✓✷✦✖✓✷

✯❅✒✕✱✑❞
∫

P
b(x)dΩ

❙ ❹ ● ✵ ☎ ❯
✖✙✘ ✮❃✒✩✖✙✒❄❳▼✬✙✘t✷✺❁❂✒✦✱✜❘✹✷❴✴✵✒✦✴✵✷✦✧ ❳▼✬✙✘t✷❊❱✕✘❩✚✜✒✦❭✙✱✜✘t✒❄✯❅✒✕✢✥✴✵✒✭✘✛✮✰✘✛✚✼✴✜✬✙✖✙✒

P
✲✛✒✕✮✳✯✙✱✜✘✛✘✣✢✙✖✙✘ ✎

✚✼✒✕✮❀✷t✖✓✷❊✚✈❁❂✒✦✱✜❘✹✷❊✚❤✚✜✬✙✯❅✘✣✱▲❁❂✐✪✲✣✔★✘❉✲✣✒✕✮☎✷✦✚✈✖✙✘❉✤✕✒✕✧★✬✙✮❃✘❊◆✥❳▼✬✙✘✻r✽✷✦✚✼✚✜✬✙✮✳✔✪✖✙✷❯✲✛✒✕✮✳✒t✲✣✒✕✢✙✚▲✴❑✷✦✢✥✴✜✘
✲✣✷✦✚✜✒❀✷❀✸✦✱✼✘✹✷❃✘✛✮ ❳✩✬✫✘❄✷❊✴✜✬✓✷❀✷❢✴✵✘✣✢✫✚ ✎✦✒❀✴✜✘✣✢✙✖✙✷❀✷ ❜ ✘✣✱✼✒✙●✽❍ ✷✦✱✜✷❃❳▼✬✙✘✺✒❃✲✣✒✕✱✼✯❶✒❃✘✣✚▲✴✵✘ ✁ ✷❃✘✣✮
✘✛❳✩✬✫✔✪✧✪✐★❭✙✱✜✔★✒❩r✽✢✙✘✣✲✛✘✣✚✜✚✜✸✦✱✜✔★✒✺❳▼✬✙✘✽✘✣✚▲✴❑✷✶✱✼✘✣✚✼✬✙✧◗✷❊✴✵✷✦✢✥✴✵✘ ❙❦✷✦✚✼✚✜✔★✮☎✲✣✒✕✮✳✒❯✒✺✮✳✒✕✮✳✘✣✢✥✴✵✒❯❳▼✬✙✘✻✷❊✴✵✬✓✷
✢✙✒❢✯❅✒✕✢✥✴✵✒❱❯s✚✼✘ ✁ ✷✦✮❵✢▼✬✙✧★✒✕✚✣◆✫✒✕✬ ✚✼✘ ✁ ✷✲❞

f(P ) =
∫

∂P
dn(x)dw +

∫

P
b(x)dΩ

❙ ❹ ● ✵ ✡❏❯

m(P ) =
∫

∂P
r × dn(x)dw +

∫

P
r × b(x)dΩ

❙ ❹ ● ✵ ❹ ❯
❍■✷✦✱✵✷❏✲✣✷✦✖✓✷③✸❊✱✜✘✹✷③✖✫✘❀✲✣✒✦✱✼✴✵✘❀✲✣✒✕✢✥✴✵✘✛✢✙✖✙✒✇✒③✯❅✒✕✢✥✴✵✒

P
✘✛✮ ❳▼✬✙✘✛✚✼✴❑✾❊✒✙◆✈✷❊✴✵✬✙✷❏✬✙✮❃✷❨✴✵✘✛✢✙✚✵✾❊✒

δn
◆❅❳▼✬✙✘❄✯❅✒❚✖✙✘❴✚✜✘✛✱ ✖✙✘✛✲✣✒✕✮✳✯❅✒✕✚✼✴✵✷❀✘✣✮❵✴✵✱✼✘✣✚✻✲✣✒✕✮✳✯❶✒✦✢✙✘✣✢✥✴✵✘✛✚ ✯✓✷❊✱✵✷✦✧★✘✣✧✪✒✦✚✻✷❊✒✕✚ ✘✛✔P❝❚✒✕✚ ✲✛✒❚✒✦✱▲❪

✖✙✘✛✢✓✷✦✖✙✒✦✚✣◆✗✖✙✘❯✮❃✒✩✖✙✒✭❳▼✬✙✘❊◆❅✚✼✘❴✴✜✒✕✮❃✷✦✱✜✮✳✒✕✚❥✬❨✘✣✧★✘✣✮✳✘✣✢✥✴✵✒❢✲✣❇✫❭✙✔✪✲✛✒❃✔★✢✫④✓✢✙✔P✴✵✘✣✚✼✔✪✮❃✷✦✧❅✚✜✒✕❭✙✱✼✘✶✒
✯❅✒✕✢✥✴✵✒

P
✘✺✖✙✘✣✲✛✒✕✮❃✯❅✒✕✱✼✮❃✒✕✚❉✴✜✒❚✖✓✷❊✚❩✷✦✚✽❁❂✒✕✱✜❘✣✷✦✚✻❳▼✬✙✘❄✷❊✴✵✬✓✷❊✮♣✢✫✒✕✚ ✷✳✧◗✷✦✖✙✒✦✚✻✖✙✘✛✚✼✴✜✘❄✲✣✬✙❭❅✒✙◆

✴✜✘✣✮✭❪♥✚✜✘❯✬✙✮✰✴✵✒✦✴✵✷✦✧ ✖✙✘ ✵ ✡✭✲✣✒✕✮✳✯❅✒✕✢✙✘✣✢✥✴✜✘✣✚✣◆❅✷❊✴✜✬✓✷✦✢✙✖✫✒❃✢✙✒✳✲✣✬✫❭❶✒✙●❡❍■✒✦✱✜r✣✮❨◆✓✲✹✷❊✧✪✲✣✬✫✧◗✷✦✢✙✖✫✒✳✒
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σ1 = σx, σ2 = σy, σ3 = σz, σ4 = σyz , σ5 = σxz, σ6 = σxy
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ε1 = εx, ε2 = εy, ε3 = εz, ε4 = 2εyz, ε5 = 2εxz, ε6 = 2εxy
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Cijkl = TimTjnTkpTlqCmnpq
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





1 0 0
0 1 0
0 0 −1






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[c] =





















C11 C12 C13 0 0 C16

C12 C22 C23 0 0 C26

C13 C23 C33 0 0 C36

0 0 0 C44 C45 0
0 0 0 C45 C55 0
C16 C26 C36 0 0 C66




















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Cijkl = λδijδkl + µ(δikδjl + δikδjl) + α(δikδjl − δilδjk)
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µ ≡ G =
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2(1 + ν)
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λ =
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(1 + ν)(1 − 2ν)
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Cijkl = λδijδkl + µ(δikδjl + δikδjl)
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σij = λδijδklεkl + µ(δikδjl + δikδjl)εkl

❙ ❹ ●✄✂ ❢ ❯
✒✕✬ ◆

σij = λδijekk + 2µεij

❙ ❹ ●✄✂❏✷❀❯
✒✕✢✫✖✙✘

e = trE = Σieii ☛
✔✪✢✥✤✦✘✣✱✼✴✜✘✣✢✙✖✫✒❊❪♥✚✼✘✺✷✭✘ ❝❚✯✙✱✼✘✣✚✼✚✵✾✦✒❀✷✦✲✣✔★✮❀✷✫◆✩④✓✲✹✷✾❞

εij =
1

2µ

[

Tij −
λ

(2µ+ 3λ)
Tkkδij

] ❙ ❹ ●✄✂✠☎❏❯
✒✕✚❆✲✛✒❚✘ ④✓✲✣✔★✘✣✢✥✴✵✘✛✚✽✖✫✒✳✴✜✘✣✢✙✚✼✒✕✱

C
✚✵✾✦✒✳✖✓✷✦✖✫✒✕✚✣◆✓✚✼✘✣❱✕✬✙✢✫✖✙✒✰✯❆✘✣✖✫✖✲✱✕◆✗✯❅✒✕✱✑❞

C11 = C22 = C33 = λ+ 2µ
C12 = C13 = C23 = λ
C44 = C55 = C66 = µ

❙ ❹ ●✄✂ ✡❀❯

✖✙✘❯✮✳✒❚✖✫✒✭❳✩✬✫✘✶✒✭✴✵✘✛✢✙✚✜✒✦✱
C

④✓✲✹✷❢✚✜✘✛✢✙✖✙✒❀✱✼✘✣✯✙✱✼✘✣✚✼✘✣✢✥✴❑✷✦✖✫✒❀✯❅✒✕✱✑❞

[C] =
E

(1 + ν)(1 − 2ν)
=























(1 − ν) ν ν 0 0 0
ν (1 − ν) ν 0 0 0
ν ν (1 − ν) 0 0 0

0 0 0 (1−2ν)
2

0 0

0 0 0 0 (1−2ν)
2

0

0 0 0 0 0 (1−2ν)
2























❙ ❹ ●✄✂ ❹ ❯
✵✁� ✂



✒✕✢✫✖✙✘
ν
✲✛✒✕✱✜✱✼✘✣✚✼✯❶✒✕✢✫✖✙✘❩✷✦✒✶✲✣✒✩✘✛④✙✲✣✔✪✘✛✢✥✴✵✘❩✖✙✘ ❍■✒✕✔★✚✜✚✼✒✕✢ ◆✫✘

E
✲✛✒✕✱✜✱✼✘✣✚✼✯❶✒✕✢✫✖✙✘t✷✦✒✶✮❃❋✩✖✙✬✙✧★✒❴✖✫✘

✘✛✧◗✷✦✚▲✴✵✔✪✲✛✔✪✖✓✷❊✖✙✘❩✖✙✒❢✮❃✷❊✴✵✘✛✱✜✔◗✷❊✧ ◆▼✘❯✖✙✘❯✷✦✲✣✒✦✱✜✖✙✒❢✲✣✒✦✮❵✷✦✚❉✧✪✘✛✔✪✚❥✖✫✘ ✒✽✒❚✒✁�✦✘✦◆✫✘ ✎✭✚✼✬✙✯❶✘✛✱✜✯❅✒✕✚✜✔★❘✹✾✦✒
✖✙✒✦✚❉✘✛❁❂✘✣✔P✴✵✒✕✚✛◆✫✯❅✒❚✖✫✘ ❪♥✚✼✘t✘✣✚✼✲✣✱✜✘ ✤✕✘✛✱✻✷❊✚❉✲✣✒✕✮✳✯❶✒✦✢✙✘✣✢✥✴✵✘✛✚❉✖✙✒❄✴✵✘✛✢✙✚✜✒✦✱❉✖✙✘t✖✙✘✛❁❂✒✦✱✜✮❃✷✦❘✹✾✦✒✺✲✣✒✕✮✳✒❴❞

εx = 1
E

[σx − ν(σy + σz)]
εy = 1

E
[σy − ν(σx + σz)]

εz = 1
E

[σz − ν(σx + σy)]
εyz = τyz

2G

εxz = τxz

2G

εxy = τxy

2G

❙ ❹ ● ❺ �❀❯

✒✕✢✫✖✙✘✦◆❚✒❄✴✵✘✣✱✼✮❃✒
G = E

2(1+ν)

✱✜✘✛✯✙✱✜✘✛✚✜✘✛✢▼✴✵✷✭✒❄✮❃❋✩✖✙✬✙✧★✒✺✖✙✘ ✘✣✧◗✷❊✚✼✴✵✔★✲✣✔★✖✓✷✦✖✙✘❆✴✵✱✜✷✦✢✙✚✼✤✦✘✣✱✼✚✵✷✦✧✡✖✙✒
✮❃✷❊✴✵✘✛✱✜✔✪✷✦✧ ◆ ✷✦✚✶✲✛✒✕✮✳✯❶✒✕✢✫✘✣✢✥✴✵✘✛✚✶✖✙✘✭✴✜✘✣✢✙✚✜✾✦✒❏✘✛✮ ❁❂✬✙✢✙❘✣✾✦✒ ✖✙✷✦✚✶✖✫✘✛❁❂✒✕✱✼✮❀✷✦❘✛❙❚✘✛✚❯✯❶✒✩✖✙✘✣✮ ✚✜✘✣✱
✖✓✷❊✖✓✷✦✚✣◆✓✚✼✘✣❱✕✬✫✢✙✖✙✒✁✟❏✷✦✬✓✷✦✖ ◆✓✯❶✒✕✱✜❞

σx = E[εx+υ(−εx+εy+εz)]
(1+ν)(−1+2ν)

σy = E[εy+υ(εx−εy+εz)]
(1+ν)(−1+2ν)

σz = E[εz+υ(εx+εy−εz)]
(1+ν)(−1+2ν)

τxy = 2Gεxy

τyz = 2Gεyz

τzx = 2Gεzx

❙ ❹ ● ❺ ✵◆❯

✵✁� ❺
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✎✒✛✰✫ ✗✙✛✰✫✻✺✼✶✝✽✯★✍✓ ✑✿✾✎❀❂❁❃✣✥✮✘✕ ✑✯❄✔✣✥✮ ✓✢✜✤✣✥✗❂✣✥✫ ✗❅✓❆✕✭✵ ✕✔✓✢✜✤✣✥✗❇✶✝✜✔✓ ✑✯✫❇✜ ✑ ✕ ◆❋✵ ✡ ❹ �❚●

✳✽✼✺✹ ✑❉❈ ✉ ✻✙❬✄✑❊✍ ● ✑s●❵❬❩✢ ✒✕✢✙✘②✲✹✷✦✚✼✘①✒❊❁❄❭❅✘✣✢✙✖✙✔★✢✙❱ ✒✦❁❄✱✼✘✣✲✛✴✵✷✦✢✙❱✕✬✫✧◗✷✦✱♦✴✵❞✫✔✪✲ � ✯✙✧✪✷❊✴✵✘✛✚✣●
❋ ✑ ✕✯✮✹✫ ✓✖✢●❁ ✛✜✕ ✢✣✛✰❍ ✕ ✢✣✛✤■✙✛❑❏❂✫ ✓✘❍ ✑✯★ ✕✔✓✘✮ ✑✯✮▲✣✦◆ ✵ ❹❀❢ ☎❚●

✳ ✂❩✹★✻✩▼ ✉ ✍❉❬◆✍ ● ✉ ●
☛
✉ ❝ ✞P❖ ✻ ✯❴●◗❈❤●

☛
✻ ❝ ✒❙❘ ✉ ✍ ❝ ● ✒✽✔✪✘✛✱✵✷✦✱✼❳✩✬✫✔✪✲✺✮✳✒✩✖✙✘✣✧★✚❆❁❂✒✦✱ ✧◗✷❊✮❃✔❛❪

✢✓✷♠✴✵✘✣✖②✯✙✧✪✷❊✴✵✘✛✚❯✷✦✢✙✖⑤✚✜❞✙✘✛✧✪✧★✚✣●❑❚✠✛✰❄❯✙❲❱✭✮ ✑✯★✎❁ ✑✯✮✘✕ ✛ ✗ ✕✴❳✯✫❑✾❨✙❩✙❲✗ ✓ ✑ ✗❬❁ ✑✚✜✚✕✻✣✥✫ ✓✢✜ ✕❅✣✥✫ ✗
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✳ ✡❩✹ ✟ ✉ ✝ ✉ ❡ ✑s●✩❖♥✢✥✴✵✘✛❱✕✱✵✷❊✲✹✾✦✒t✖✙✘s✮❃r ✴✵✒✩✖✙✒✕✚ ✢▼✬✙✮✳r✣✱✼✔✪✲✛✒✕✚❖✢✙✒❯✷✦✬❚✴✵✒✩✲✹✷✦✖ ● ✟❏✷✦✚✼✴✜✘✣✱q♣ ✚❖✴✜❞✙✘ ❪
✚✼✔✪✚✣◆✦✑✗✷✦✲✣✬✙✧★✖✓✷✦✖✙✘✈✖✙✘❡❧❤✢✙❱✕✘✛✢✙❞✓✷✦✱✼✔◗✷ ❝ ✔★✤✩✔✪✧❦◆ ✝✻✢✙✔P✤✕✘✣✱✼✚✜✔★✖✓✷✦✖✙✘❡❧❤✚✼✴❑✷❊✖✙✬✓✷✦✧▼✖✙✘ ❝ ✷✦✮✳✯✙✔✪✢✓✷❊✚✣◆
✼ � � ✂✫●
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✳ ❹ ✹✘❡❩❧ ✑❉❈■❬❯❬❷❍■●✽✯❯●✏✍ ●
☛

✟❏❧✈❣ ❧✖▼ ❧ ✻✌✑s● ✉ ● ✉ ✢✓✸❊✧✪✔✪✚✼✘❆✲✣✒✕✮✳✯✓✷✦✱✜✷❊✴✵✔P✤✦✷t✘✛✢▼✴✜✱✜✘❩✖✫✬✓✷✦✚❡❁❂✒✦✱▲❪
✮❄✬✫✧◗✷✦✲✛❙❚✘✛✚❉✯✓✷✦✱✵✷✭✯✙✧✪✷✦✲✹✷❊✚❉✮❄✬✙✧★✴✜✔✪✲✣✷✦✮❀✷❊✖✓✷✦✚✣● ❖♥✢ ✁ ❱✄✂ ✓✘✗✖✑ ✛♠●

✳ ✵✁�❩✹✎❦ ❖ ✯ ❝ ✒✓✒❩❬t✑❖✑✆☎✭● ✝✻❭❅✘✣✱✽✖✓✷✦✚✽❱✕✧★✘✣✔✪✲❑❞✫❱✕✘✞✝❆✔★✲❑❞▼✴✻✬✙✢✙✖❏✖✙✔✪✘❯❭❅✘✞✝❡✘✣❱✕✬✙✢✫❱♦✘✣✔✪✢✫✘✣✱❆✘✣✧✪✷✦✚▲❪
✴✜✔✪✚✜✲❑❞✫✘✣✢❏✚✼✲❑❞✙✘✣✔★❭❶✘❊●✎❚❢★ ✑✯✗✘✗✖✑ ✕❉❴✠✟✪◆ ✵ ✡ ❢ �✫●

✳ ✵❏✵✑✹★✻✩▼ ✉ ✍❉❬ ✍ ● ✉ ●
☛
✻ ✉ ✒ ✯ ✟ ✉ ❣ ❣✡☎❢● ✡✫● ✒✽✔✪✘✣✱✜✷✦✱✜✲❑❞✫✔✪✲⑤✯✙✧◗✷♠✴✵✘②✷✦✢✙✖ ✚✜❞✙✘✛✧✪✧❯✮❃✒✩✖✙✘✛✧✪✚

❭✓✷❊✚✜✘✣✖⑤✒✕✢✇✯✩❪♥✘ ❝✩✴✜✘✣✢✙✚✼✔✪✒✕✢ ●✎❳❛✫✛✮ ✑✯★❛✫❲✣✥✮ ✓ ✛✰✫❲✣✥✗❂❴ ✛✰❱✭★❛✫❲✣✥✗✭✱ ✛✰★☞☛❯❱✭❄ ✑✯★✔✓✢✜✤✣✥✗ ❁ ✑✯✮ ✕ ✛ ✗ ✕ ✓✘✫
❭❪✫✭■ ✓✘✫ ✑ ✑✯★✍✓✘✫✭■✦◆ ✵ ❹ ✡ ✡✫●

✳ ✵◆✼✺✹★✻✩▼ ✉ ✍❉❬ ✍✻● ✉ ●
☛
✉ ❝ ✞P❖ ✻ ✯❴●◗❈❤●

☛
✍ ✉ ✍ ✝ ✻✻❦ ✉ ❖❑● ✒✽✔✪✘✛✱✵✷✦✱✼✲❑❞✙✔✪✲③✮✳✒✩✖✙✘✣✧★✚❃❁❂✒✕✱✌✧✪✷♠❪

✮✳✔✪✢✓✷♠✴✵✘✣✖ ✲✛✒✕✮✳✯❶✒✕✚✼✔★✴✜✘✣✚✣● ❳✯✫✛✮ ✑✯★❛✫❲✣✥✮ ✓ ✛✰✫❲✣✥✗❆❴ ✛✰❱ ★❛✫❲✣✥✗❇✱ ✛✰★✌☛❉❱✭❄ ✑✯★✍✓✢✜✤✣✥✗✖❁ ✑✯✮ ✕ ✛ ✗ ✕ ✓✘✫
❭❪✫✭■ ✓✘✫ ✑ ✑✯★✍✓✘✫✭■✦◆ ✵ ❹✦❹ ✼❚●

✳ ✵ ✂❩✹✘✯✽❧❲❡ ❡✎✍ ✡✫● ❣❴● ✉ ✚✜✔★✮❃✯✫✧✪✘❲❞✙✔✪❱✦❞✙✘✣✱ ❪♥✒✕✱✼✖✙✘✣✱✳✴✵❞✙✘✛✒✕✱ ✱ ❁❂✒✕✱❀✧✪✷✦✮✳✔✪✢✓✷❊✴✜✘✣✖ ✲✣✒✕✮✳✯❅✒✕✚✜✔P✴✵✘
✯✙✧✪✷❊✴✵✘✛✚✣●❇❴ ✛✰❱✭★❛✫❲✣✥✗ ✛✲✱❆✾♥✙❩✙❲✗ ✓ ✑ ✗ ❁ ✑✚✜✚✕✻✣✥✫ ✓✢✜ ✕✚✺P✦✻★✤✣✥✫ ✕✬✣✭✜✯✮ ✓ ✛✰✫ ✕ ✛✲✱P✮✘✕ ✑✖✾❉✶✩❁❡❭✏✟✪◆❴✵ ❹ ✡ ❺ ●

✳ ✵ ❺ ✹✘✯✽❧❲❡ ❡✎✍ ✡✫● ❣✶● ✉ ✚✜✮❃✷✦✧✪✧❈✚✼✴✜✱✵✷✦✔★✢ ✷❊✢✙✖✟✮❃✒✩✖✙✘✣✱✜✷❊✴✵✘❀✱✜✒✦✴✵✷❊✴✵✔★✒✕✢ ✴✵❞✫✘✣✒✕✱ ✱ ✒✦❁✻✘✣✧✪✷✦✚✼✴✜✔✪✲
✷✦✢✫✔✪✚✜✒❊✴✵✱✜✒✦✯✙✔✪✲✌✯✫✧◗✷❊✴✜✘✣✚✣● ❴ ✛✰❱ ★❛✫❲✣✥✗ ✛✲✱❜✣✯✙❩✙❲✗ ✓ ✑ ✗❞❁ ✑✚✜✚✕✻✣✥✫ ✓✢✜ ✕✚✺❜✦✻★✤✣✥✫ ✕✬✣✭✜✯✮ ✓ ✛✰✫ ✕ ✛✲✱❬✮✘✕ ✑
✾❉✶✩❁❡❭✏✟✪◆❅✵ ❹ ✡✠☎❚●

✳ ✵ ❢ ✹✘✯✽❧❲❡ ❡✎✍ ✡✫● ❣❴● ✉ ❱✕✘✣✢✙✘✛✱✵✷✦✧❅✢✙✒✕✢✫✧✪✔✪✢✫✘✹✷✦✱✈✴✵❞✙✔★✱✜✖❚❪❫✒✕✱✜✖✫✘✣✱✈✴✵❞✙✘✛✒✕✱ ✱❃✒✦❁✡✯✙✧✪✷❊✴✵✘✛✚✑✝❆✔P✴✵❞✌✮✳✒❊❪
✖✙✘✛✱✵✷❊✴✜✘t✴✵❞✙✔★✲ �✩✢✫✘✣✚✜✚✛●❨❳❛✫✛✮ ✑✯★❛✫❲✣✥✮ ✓ ✛✰✫❲✣✥✗❇❴ ✛✰❱ ★❛✫❲✣✥✗ ✛✲✱✒☛✏✛✰✫✛❥ ✗ ✓✘✫ ✑✤✣✥★❯❁ ✑✚✜✚✕✻✣✥✫ ✓✢✜ ✕ ◆✪✵ ❹✕❹ �❚●

✳ ✵ ✷❩✹✘✯✽❧❲❡ ❡✎✍ ✡✫● ❣❴●✠❁ ✑✚✜✚✕✻✣✥✫ ✓✢✜ ✕ ✛✲✱ ✎✝✣✥❄✘✓✘✫❲✣✥✮ ✑ ✗ ❚✠✛✰❄❯✙ ✛✜✕✔✓✘✮ ✑❜✓❪✗ ✣✥✮ ✑ ✕✬❀✪✦✝✕ ✑ ✛✰★❛✵❝✣✥✫ ✗
✣✥✫❲✣✥✗❤✵✜✕✔✓✖✕ ●✈❣✻✬✙✮✺❭❶✘✛✱ ☎ ✡❀✼❚●✛✍❡✒❚✲✣✷ ✯✽✷❊✴✜✒✕✢ ◆✪✵ ❹✦❹ ☎❚●

✳ ✵ ☎✺✹ ✑❯❖ ❣ ✻✙❬t❣ ✡✫● ✯❯●❧✶ ✮ ❱✛✜✯✮✹❱ ★✪✣✥✗❪❁ ✑✚✜✚✕✻✣✥✫ ✓✢✜ ✕✬❀✪✦✝✕ ✑✓✂✔✑✚✕✻✣✥❍✜✓ ✛✰★ ✛✲✱✎✙❲✗ ✣✥✮ ✑ ✕ ✣✥✫ ✗ ✕✚✕ ✑✯✗✘✗ ✕ ●
❣✽✬✙✮❄❭❅✘✣✱ ✵ ☎ ✂✫●✙❣✻✘✞✝✔✍❈✒✕✱ �✗◆❅✵ ❹ ☎ ❺ ●

✳ ✵ ✡❩✹❴❧❉● ✟①●✰❈■❬ ❦✭● ✒❴●
☛
❝ ✒ ✯✧❖ ✻ ✞❆❧✈❣ ✻✫❧✈❣ ✯❯● ✟①●

☛
❘ ✝❴● ✉ ❞✙✔✪❱✦❞❚❪♥✒✕✱✼✖✙✘✣✱ ✴✜❞✙✘✣✒✦✱ ✱t✒✦❁❚✯✙✧✪✷❊✴✵✘

✖✙✘ ❁❂✒✕✱✜✮❃✷❊✴✜✔✪✒✕✢ ● ✯✓✷❊✱✼✴✸✵ ❞■❞✙✒✦✮❃✒✕❱✦✘✣✢✙✘✛✒✕✬✙✚❖✯✙✧✪✷❊✴✵✘✛✚✣●✝❴ ✛✰❱✭★✯✫❲✣✥✗ ✛✲✱❆✾♥✙❩✙❲✗ ✓ ✑ ✗♦❁ ✑✚✜✚✕✻✣✥✫ ✓✢✜ ✕✚✺
✦✻★✤✣✥✫ ✕✬✣✭✜✯✮ ✓ ✛✰✫ ✕ ✛✲✱♦✮✘✕ ✑❯✾ ✕✯❄ ✑ ◆✪✵ ❹ ☎ ☎✩●

✳ ✵ ❹ ✹✘❡❯❖✰✻ ❝ ❖ ✝✄✑ ✉ ✟①● ✉ ✢ ✔✪✮✳✯✙✱✜✒❸✤✦✘✣✖ ✚✼❞✙✘✹✷✦✱♦✖✫✘✛❁❂✒✕✱✼✮❀✷❊✴✜✔✪✒✕✢ ✴✵❞✙✘✛✒✕✱ ✱ ❁❂✒✕✱❃✮❃✒✩✖✙✘✣✱✜✷♠❪
✴✜✘✣✧ ✱✳✴✵❞✫✔✪✲ �✳✮❄✬✙✧★✴✜✔✪✧✪✷ ✱✦✘✣✱✼✘✣✖✌✷❊✢✙✔✪✚✼✒✦✴✵✱✼✒✕✯✙✔✪✲✻✚✜❞✙✘✛✧✪✧★✚❥✷✦✢✙✖♦✯✫✧◗✷❊✴✜✘✣✚✣●❆❴ ✛✰❱ ★❛✫❲✣✥✗✒✛✲✱✧✾♥✙❩✙❲✗ ✓ ✑ ✗
❁ ✑✚✜✚✕✻✣✥✫ ✓✢✜ ✕✚✺ ✦✩★✪✣✥✫ ✕✬✣✭✜✯✮ ✓ ✛✰✫ ✕ ✛✲✱ ✮✘✕ ✑❯✾ ✕✯❄ ✑ ◆❅✵ ❹ ✡✠☎❚●

✳✽✼ �❩✹✘✯✽❧❲❡ ❡✎✍ ✡✫● ❣✶●
☛
✍❉❬ ✻✫❧①❍■● ✉ ✢✓✷✦✧✶✱✩✚✜✔✪✚❤✒❊❁❶✲✛✒✕✮✳✯❶✒✕✚✼✔★✴✜✘❥✯✙✧◗✷♠✴✵✘✣✚❤✬✫✚✜✔✪✢✫❱❩✤✦✷❊✱✜✔✪✒✦✬✙✚❖✯✙✧✪✷❊✴✵✘

✴✜❞✙✘✣✒✕✱✼✔✪✘✛✚✣●✓✯✓✷✦✱▲✴ ✵❏❞❖❁❂✒✕✱✼✮❄✬✙✧◗✷♠✴✵✔✪✒✦✢♦✷✦✢✙✖ ✷✦✢✓✷✦✧✶✱▼✴✵✔✪✲✣✷✦✧ ✚✼✒✕✧✪✬❚✴✵✔✪✒✦✢✙✚✣◆❋✵ ❹✕❹ ✡✫●
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